Pinnacle Hospital Chargemaster
CDM Code CDM Description
222110 ROOM & BOARD
222210 ICU ROOM
4804 GASTROGRAPHIN 120ML
200014 ADMIN THER.DIAG INJ,INTRAV
3131 LACTATED RINGERS 1000CC INJ
4254 D5 .45 1000ML
5565 D5 LR 1000
5566 D5 LR 500
3130 LACTATED RINGERS 500CC INJ
219301 IV INFUSION <90 MIN
219332 IV INFUSION HYDRATION <31 MIN
219371 INFUSION
219349 THERAPEUTIC INJ IV PUSH SINGLE
219795 THERAPEUTIC PROPHYLACTIC INJ
550360 IV INFUSION HYDRATION 1ST HOUR
219302 IV INFUSION EACH ADDTL 30 MIN
219333 IV INFUSION HYDRATION EACH ADD
219378 INFUSION
8324 RECHARGEABLE IPG ANS NERVE STI
8440 IMPLANTABLE PULSE GENERATOR KiI
8638 IMPLANTABLE PULSE GENERATOR KI
9099 RESTORE ULTRA SPINAL CORD STIM
11471 KIT PRECISION IPG AND CHARGER
11948 PRECISION SPECTRA GENERATOR
12385 PRECISION SPECTRA SPINE CORD S
12566 CHARGING SYSTEM KIT W/IMPLANT
12880 PG 16 CHANNEL RECHARGEABLE
13061 DEMIPULSE GENERATOR-SINGLE PIN
14006 LONGBOW XLIF CAGE 13 X50X 7
14777 LONGBOW 55X15X13X7 CAGE
14952 55 X 9 X 0 DEGREE LONGBOW XLIF
5288 LONG BOW EXPANDABLE XLIF CAGE
5349 LONGBOW XLIF EXPANDABLE CAGE
5534 LONGBOW 11 X 55 EXPANDABLE
6207 LONGBOW 55 X 13 XLIF CAGE
6309 LONGBOW 50 X 11 X 7 EXPANDABLE
6360 IMPLANTABLE PULSE GENERATOR
6470 LONGBOW EXPANDABLE 9 X 50 CAGE
6471 LONGBOW EXPANDABLE 11 X 50
6797 HV GENERATOR
6895 INOGEN EL ICD IS-1/DF-1-DR
6901 ICD-DR DDMB1D1 EVERA MRI XT US
6953 CRTD AMPLIA MRI US DF1
7107 INOGEN EL ICD IS-1/DF-1-VR
7292 SIMMETRY SACROILIAC JOINT

Rev Code
110
200
255
258
258
258
258
258
258
260
260
260
260
260
260
260
260
260
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

Price

2,922.61

6,840.18

97.51

20.82

19.15

14.47

12.32

11.65

10.33

1,888.88

1,888.88

1,888.88

1,888.88

1,830.85

511.21

382.26

382.26

382.26
136,734.57
148,976.75
113,545.25
112,125.00
129,048.40
135,671.25
164,450.00
135,671.25
143,569.34
162,745.70
102,033.75
100,912.50
100,912.50
100,912.50
100,912.50
100,912.50
100,912.50
100,912.50
135,671.25
100,912.50
100,912.50
201,170.94
140,156.25
171,187.67
237,690.05
125,206.25
149,500.00



7308 CRT-D DTBA1D1 VIVA XT IS1/DF1
7310 ICD-VR DVFB1D4 VISIA MRI AF US
7521 CRTD DTMB1Q1 AMPLIA MRI QUAD
7603 CD2411-36Q HV GENERATOR
7673 PRECISION MONTAGE MRI 16
7756 CRTD DTMA1QQ CLARIA MRI QUAD
7888 SPECTRA WAVE WRITER IMPLANTAB.
8454 HV GENERATOR
8484 ACTIVA PC
8535 97715 NEUROSTIMULATOR
8720 ICD-DR DDMB1D4 EVERA MRI XT
8916 WAVE WRITER IPG AND CHARGER
100597 HV GENERATOR QUADRA ASSURA MP
106418 TLX20 12 X 11 X 31 MM 20
106740 PROCLAIM XR 5
107397 MACI AUTOLOGOUS CULTURED
108681 CRTD COBALT HF MRI IS1 DFI
9355 SPINAL CORD STIMULATOR PRIME A
7065 SIMMETRY SACROILLIAC JNT FUS
14468 DYNALINK 32 X 26 X 15 X 15
14478 DYNALINK 32 X 26 X 13 X 12
6184 32X 26 X 13 X 6 DEGREE DYNA
6185 32X 26 X11 X 12 DEGREE DYNA
6469 34 X 24 X 13 X 6 DEGREE
6495 34 X 24 X 15 MM X 12 DEGREE
106708 ACTICOR 7 VR-T DX BIOTRONIK
4977 GENERATOR 16 CHANNEL SPINE STI
7404 SYNERGY NEUROSTIMULATOR
108682 ICD COBALT VR MRI DF4
9055 FLEX HD PLIABLE PERFORATED 16
9356 STRATTICE 20 X 20 FIRM HERNIA
5392 SYNFIX (TM)-LR 26 MM DEPTH/32
13015 INTERSTIM 2 SACRAL
10418 SYNCHROMED Il PUMP
100136 METAL ALTERNATIVE FEMORAL WITH
7690 PULSE GENERATOR
6539 ELITE 10 28 10-14
11384 INTEGRA MESHED BILAYER WOUND M
106786 IDENTI LIF POROUS TI SPACER 8
106997 PROLIFT LAT SM
11795 NO INSERT ISP CONSTRUCT 36MM
13725 LATERAL LUMBAR CAGE
13811 55 X 18 X9 X 7 PLATEAUX CAGE
13900 45 X 18 X 9 XLIF CAGE
13901 50 X 18 X 11 XLIF CAGE
13937 50 X 18 X 11 X 7 CAGE
13945 50 X 18 X 11 XLIF CAGE

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

216,760.05
178,316.13
242,175.05
119,600.00
211,430.38
171,334.48
199,320.88
144,421.72
138,212.75
171,551.25
127,403.90
199,320.88
157,841.81
102,168.30
106,013.75
257,719.83
132,695.63
97,175.00
97,175.00
95,680.00
95,680.00
95,680.00
95,680.00
95,680.00
95,680.00
94,426.50
93,924.32
91,905.13
90,455.90
89,127.05
88,877.05
85,738.25
83,906.88
83,720.00
82,030.65
76,656.13
74,750.00
73,628.75
73,312.50
73,312.50
71,012.50
71,012.50
71,012.50
71,012.50
71,012.50
71,012.50
71,012.50



13946 50 X 18 X 9 XLIF CAGE

13947 55 X 22 X 9 XLIF CAGE

14156 XLIF CAGE 55X 18 X9

14241 55 X 18 X 11 ELIF CAGE

14277 60 X 18 X 11 XLIF CAGE

14530 55 X 18 X 11 PLATEAU X CAGE

14549 60 X 18 X 13 PLATEAU X

14778 50X18X11 PLATEAU X CAGE

14903 50 X 18 X 11 XLIF CAGE PLATEAU

14951 50 X 18 X 8 PLATEAUX XLIF CAGE

15032 50 X 18 X 9 PLATEAUX XLIF CAGE

15147 50 X 18 X 11 PLATEAU X XLIF

15166 50 X 18 X 10 PLATEAU X XLIF

15167 55 X 18 X 10 PLATEAU X XLIF

15168 60 X 18 X 10 PLATEAU X XLIF
5204 12 X 18 X 60 CAGE
5230 60 X 18 X 8 PLATEAU X XLIF
5231 50 X 18 X 8 PLATEAU X XLIF
5232 55 X 18 X 8 PLATEAU X XLIF
5385 45 X 18 X 9 PLATEAU X XLIF
5455 60 X 18 X 11 PLATEAU X XLIF
5579 45X 18 X 8 XLIF
5642 60 X 18 X 9 PLATEAU X XLIF
5710 45X 28 X 13 PLATEAU Z TLIF
5756 55 X 18 X 8 PLATEAU X XLIF
5820 55X 18 X 11 X 7 DEGREE
6944 PLATEAU X 50 X 18 X 13 LATERAL
7301 55X 18 X 13 PLATEAU X CAGE
7381 PLATEAU X 55 X 18 X 8 CAGE
9466 55X 18 X 11 X 7 DEGREE
9705 PLATEAU X 18 X 45X 11

107989 VALITUDE IS-1
107684 FEM CYNDYLE HEMI LF LAT FSH

9437 GREAT WHITE 14MM 7 DEGREE
9291 ENDOSKELETON TT IMPLANT LRG

9564 ENDOSKELETON TT IMPLANT 4 DEG.
9849 ENDOSKELETON TT IMPLANT 4 DEG.
9850 ENDOSKELETON TT IMPLANT 4 DEG.
7855 ASSURITY MRI PACEMAKER UMRI PR

9714 TITAN OTR INFRAPUBIC BIOFLEX

100864 EXPANDABLE INTERBODY WITH SET
100865 EXPANDABLE INTERBODY WITH SET
106249 MOJAVE EXPANDABLE INTERBODY W/

107007 MOJAVE 12-15 MM

107295 MOJAVE EXPANDABLE INTERBODY

6982 CRT CONSULTA CRT-P
14784 RAMPART-0O 25 MM X 12 MM

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

71,012.50
71,012.50
71,012.50
71,012.50
71,012.50
71,012.50
71,012.50
71,012.50
71,012.50
71,012.50
71,012.50
71,012.50
71,012.50
71,012.50
71,012.50
71,012.50
71,012.50
71,012.50
71,012.50
71,012.50
71,012.50
71,012.50
71,012.50
71,012.50
71,012.50
71,012.50
71,012.50
71,012.50
71,012.50
71,012.50
71,012.50
65,688.00
64,749.31
63,411.85
61,960.28
61,960.28
61,960.28
61,960.28
61,691.18
61,295.00
60,196.90
60,196.90
60,196.90
60,196.90
60,196.90
60,144.00
59,800.00



14960 RAMPART-0O 25 MM X 10 MM
7874 SUPERIION IDS 8 MM
8635 SUPERION IDS-16 MM
8638 SUPERION IDS-12 MM
11487 OGEN MESH CATHRODE DETACHABLE
106933 FEMORAL
10739 700 LGX, MS PUMP, PRECONNECT
107270 EVOLUTION STEMMED FEMORAL CS
8015 60 X 18 X 15 PLATEAUX XLIF
9438 GREAT WHITE 14MM 13 DEGREE
8139 CADENCE TALAR DOME SIZE 3
11837 PENILE IMPLANT 15CM CX
11267 ARTISAN LEAD KIT 70CM 2 X 8
12543 SPF-1IB 2/DM
12889 SPF MESH STIMULATOR
6656 TIBOW 11 X 28 X 12 12DGREE
6667 TIBOW CAGE 8 X 28 X 12 DEGREE
6736 TOBOW 11 X28 X 12
6934 TIBOW 11 X36 X 12 M X 12 DEG
8990 "GREAT WHITE" 12MM 7 DEGREE
100684 PLAT-X
106615 TRI TS FEMUR SZ 5 LEFT
107854 ARCOS CON SZ B STD 60 MM
107879 ARCOS CON SZ B STD 80 MM
107748 6 X 22 X 55 MM CAGE
10705 OSS RESURFACING FEMORAL 3CM
12187 OSS RESURFACING FEMORAL 3CM Rl
14723 INFINITY TIBIAL TRAY PLASMA
6815 15 MM X 30 MM CAGE
7016 DIANA IMPLANT 14 MM WIDE
7055 DIANA IMPLANT 17X30
7610 DIANA IMPLANT 13 MM X 30 MM
7611 DIANA IMPLANT 19 MM X 30 MM
10284 PENILE IMPLANT 15CM LGX
6382 VARILIFT-LX EXPANDABLE STAND-
8138 CADENCE TIBIAL TRAY, SIZE 3X,
9964 PENILE IMPLANT 700CX MS PRE CO
13850 INFINITY TIBIAL TRAY TOTAL
9205 EPIPHANY 10 X 45 MM
9206 EPIPHANY 12 X 45 MM
9207 EPIPHANY 5/150 MM X 12 MM
9867 12 X 40 MM EPIPHANY
100119 VALEO INTERBODY FUSION DEVICE
100159 VALEO INTERBODY FUSION DEVICE
100160 VALEO INTERBODY FUSION DEVICE
7502 SPF 60 MINI
14395 SUPERIOR END PLATE MEDIUM 11"

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

59,800.00
59,800.00
59,800.00
59,800.00
59,568.28
58,650.00
58,554.48
58,544.43
58,503.38
57,647.15
57,465.41
57,452.85
56,786.06
56,286.75
56,286.75
56,062.50
56,062.50
56,062.50
56,062.50
55,922.35
55,717.50
55,459.44
55,213.11
55,213.11
54,984.38
53,917.18
53,917.18
53,909.70
53,820.00
53,820.00
53,820.00
53,820.00
53,820.00
53,633.13
53,633.13
53,229.18
53,109.88
52,332.48
52,325.00
52,325.00
52,325.00
52,325.00
52,325.00
52,325.00
52,325.00
51,707.57
51,428.00



14397 INFERIOR END PLATE MEDIUM
9219 LLIF IBFD 18 MM X 50 MM
9596 LLIF IBFD 18 X 60 MM NEUTRAL
9884 LLIF IBFD 18 X 50 MM NEUTRAL
13062 PERENNIAFLEX LEAD SINGLE PIN
10615 LORDOTIC XLF-W 10X55X22
10617 LORDOTIC XLF-W 10X22X50
11114 PRIMALOK 12MM IMPLANT ASSEMBLY
6866 INFINITY TIBIAL TRAY SZ 4
8607 INFINITY TIBIAL TRAY PLASMA
9721 INFINITY TIBIAL TRAY SIZE 3
13144 INFINITY TIBIAL TRAY TOTAL
11119 PEEK HOLLYWOOD VI 10MM
8106 FLEX HD PLIABLE SHAPED
100512 IDENTI TI PC POROUS TI SPACER
100516 IDENTI TI PC POROUS TI SPACER
100656 IDENTI TI PC POROUS TI SPACER
100657 PC9 X 10 X 30 MM 5 DEGREE
106279 IDEN TI PC POROUS TI SPACER 11
106503 IDENTI PC POROUS TI SPACER 11
107322 IDENTI TI POROUS TI SPACER 7 X
107376 IDENTI PS POROUS TI SPACER 7 X
107379 IDENTI TI PS POROUS TI SPACER
107411 PLIFPTIPS7X9X 22 MM 10
107926 IDENTI PC POROUS TI SPACER 10
12852 COFLEX 8
13276 COFLEX SIZE 14
13739 COFLEX SIZE 10
14050 COFLEX SIZE 12
6015 PROLIFT 12 X 28 X 8-13
6027 PROLIFT 10-16 EXPANDABLE TLIF
6455 PROLIFT 8-13,15 EXPANDABLE
6538 PROLIFT 8-13 12 DEGREE
6657 PROLIFT EXSPANDABLE SPACER
6734 EXPANDABLE CAGE SKIP JACK
7293 ELITE 10 X 28 9-13 6 DEGREE
7385 ELITE 10 X 28 10-14 12 DEGREE
7386 ELITE 10 X 28 11-15 6 DEGREE
7994 PROLIFT 15 DEGREE
9307 PROLIFT CAGE 15 DEGREE 12 MM
9645 PRO LIFT SMALL
9647 15 DEGREE EXPANDABLE SPACER
9790 PROLIFT LG
7576 TEMPORARY PACEMAKER EPG MODEL
106495 LUNA 3D GENZ IMPLANT 12 DEGREE
106537 LUNA 3D GENZ IMPLANT 6 DEGREE
106798 LUNA 3D GENZ IMPLANT 6 DEGREE

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

51,428.00
51,069.20
51,069.20
51,069.20
51,039.30
50,732.83
50,732.83
50,082.50
49,910.58
49,910.58
49,910.58
49,903.10
49,559.25
49,069.63
48,614.99
48,614.99
48,614.99
48,614.99
48,614.99
48,614.99
48,614.99
48,614.99
48,614.99
48,614.99
48,614.99
48,587.50
48,587.50
48,587.50
48,587.50
48,587.50
48,587.50
48,587.50
48,587.50
48,587.50
48,587.50
48,587.50
48,587.50
48,587.50
48,587.50
48,587.50
48,587.50
48,587.50
48,587.50
48,463.90
48,327.60
48,327.60
48,327.60



107128 LUNA 3D GENZ IMPLANT 12"
11700 3MM LEAD, 60 CM
9306 BALLAST DBM MESH 85 MM
100658 AFFIX 1l PLATE 55 MM
14117 ALPINE POST PLATE 6-18
14207 ALPINE XC POST PLATE
13220 STR SPACER 12H X 25L X 10W
13799 8MM LUNA 360 IMPLANT
13800 SMM LUNA 360 IMPLANT
13801 10MM LUNA 360 IMPLANT
13802 11MM LUNA 360 IMPLANT
13803 12MM LUNA 360 IMPLANT
13819 LUNA 360 IMPLANT KIT 10 MM X
14301 LUNA 3D LORDOTIC 8" KIT 11MM
14302 LUNA 3D LORDOTIC 8" 12 MM
14323 LUNA 3D LORDOTIC 8" KIT 10MM
14344 LUNA 3D LORDOTIC 8"
5896 LUNA 3D LORDOTIC 8" KIT
6889 LUNA 10 MM IMPLANT
6891 LUNA 12 MM IMPLANT
6892 LUNA 13 MM IMPLANT
9046 AMNION MATRIX THICK 3 CM X 8
13851 INBONE TALAR DOME SIZE 1
9429 REUNION TSA MODULAR HUMERAL
5719 CEMENTLESS TOTAL HIP
9462 SPACER CLYDESDALE 6 X 16 X 50
9532 CLYDESDALE 6DEG X 12 X 50MM
9533 CLYDESDALE 6DEG X 12 X 45MM
11788 TALOS O CAGE 14 X9 28MM
11789 TALOS O CAGE 13 X9 X 28MM
11801 TALOS O CAGE 12 X9 X 32MM
11802 TALOS O CAGE 12 X9 X 28MM
11805 TALOS O CAGE 11 X9 X 32MM
11814 TALOS O CAGE 11 X9 X 28MM
11929 10 X 9 X 32MM ZEUS O CAGE
3110 INFUSE LARGE
3111 INFUSE LARGE Il (X-LARGE)
6586 18 STEM
7379 DEPUY SPINE ENDPLATE
8309 ENDPLATE SIZE 5 7.5 DEG CHER-
100644 INDENTI TI PC POROUS TI SPACER
5319 XENMATRIX 10 X 20 CM SURGICAL
9639 CORENT XL WIDE 8X 22X 55MM
7679 SEVIN SHOULDER SYSTEM HUMERAL
13566 PACEMAKER ESSENTIO DR IS-1
5463 SENTRY 14 MM LATERAL PLATE
5666 TM TOTAL ANKLE LEFT TALUS SIZE

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

48,327.60
47,933.44
47,840.00
47,829.08
47,541.00
47,541.00
47,466.25
47,242.00
47,242.00
47,242.00
47,242.00
47,242.00
47,242.00
47,242.00
47,242.00
47,242.00
47,242.00
47,242.00
47,242.00
47,242.00
47,242.00
46,987.85
46,830.88
46,638.02
46,345.00
46,345.00
46,345.00
46,345.00
46,122.62
46,122.62
46,122.62
46,122.62
46,122.62
46,122.62
46,122.62
45,838.78
45,838.78
45,739.53
45,597.50
45,597.50
45,453.75
45,298.50
45,246.18
45,149.00
44,850.00
44,850.00
44,850.00



5884 SENTRY 16 MM LATERAL PLATE
5961 10 X 30 CALIBER SPACER 10 X 30
5962 10 X 30 CALIBER 9-13 12 DEGREE
6431 SENTRY 12 MM LATERAL PLATE
8036 ACCOLADE DR IS-1
9232 SENTRY 2 LATERAL PLATE 14 MM
9531 SENTRY 2 PLATE 12 MM
9534 SENTRY 2 PLATE 18 MM
9787 SENTRY PLATE 10 M
7678 ACTIVE BARRIER TM 200 AMNIOTIC
9818 COROENT 12 X 18 X 55 XL
14164 16 X 13 PROLINK CAGE 7 DEGREE
7075 PRO LINK TI CAGE 6 MM
7076 16 MM X137D X7 MM
7384 PROLINK LORDOTIC 9 MM
7718 PROLINK LORDOTIC 7 MM
7719 PROLINK LORDOTIC 6 MM
7720 PROLINK LORDOTIC 5 MM
8505 INTERIOR FUSION DEVICE TL 13MM
100163 PROLINK Tl 16 X 13 X6 MM
106004 10 X 18 X 45 MM ALEUTIAN
106171 10 X 16 X 40 MM ALEUTIAN CAGE
106193 12 X 18 X 45 MM ALEUTIAN CAGE
106283 8 X 18 X 50 MM ALEUTIAN CAGE
106370 12 X 18 X 55 MM ALEUTIAN CAGE
106536 10 X 18 X 50 MM ALEUTIAN CAGE
106636 ALEUTIAN CAGE 10 MM
106680 10 X 18 X 60 MM ALEUTIAN CAGE
5883 IPG A2DR0O1 ADVISA MRI DR.
5127 HIP ACCOLADE HIP STEM 6020-033
7816 SHORELINE INTERBODY 18 X 15 X
7817 SHORELINE INTERBODY 18 X 15 X
7844 15 MM BRYAN DISC
8245 TRU PROFILE INTERBODY 18MM X
107763 17 X 19 X 7 MOBI-C IMPLANT
11364 COROLOT PEEK SPACER 12 X 30 10
11492 COROLOT PEEK 10X30X10DEG
11631 COROLOT 12 X 35 10 DEGREE
12691 STAND ALONE ALIF CAGE 32X15X15

13182 GMA STAND ALONE 39X17X15 DEGRE

13813 GMA STAND ALONE ALIF 39 X 15 X

14214 GMA STAND ALONE ALIF CAGE 32 X

14244 GMA STAND ALONE ALIF CAGE 32 X
6366 HIP - FEMORAL STEM ZIMMER
5206 INTERBODY CAGE CRESCENT PEEK

10754 INFERIOR END PLATE

10755 SUPERIOR END PLATE

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

44,850.00
44,850.00
44,850.00
44,850.00
44,850.00
44,850.00
44,850.00
44,850.00
44,850.00
44,812.63
44,686.01
44,603.33
44,603.33
44,603.33
44,603.33
44,603.33
44,603.33
44,603.33
44,603.33
44,603.33
44,603.33
44,603.33
44,603.33
44,603.33
44,603.33
44,603.33
44,603.33
44,603.33
44,286.75
44,154.83
44,102.50
44,102.50
44,102.50
44,102.50
43,987.50
43,855.83
43,855.83
43,855.83
43,728.75
43,728.75
43,728.75
43,728.75
43,728.75
43,355.00
43,227.93
43,168.13
43,168.13



12692 STAND ALONE ALIF PLATE
13183 GMA STAND ALONE 39X17X15
13814 GMA STAND ALONE ALIF PLATE
14215 GMA STAND ALONE ALIF PLATE
14245 GMA STAND ALONE ALIF PLATE 32
10636 13MM BIMETRICAL STEM
7418 OSTEOGEN, BONE STIMULATOR
5315 COFLEX SIZE 16
11720 PRO LINK 7DEG 7MM 16 X 13
6410 16 X 13 PROLINK STAND ALONE
14242 GMA STAND ALONE ALIF CAGE 32 X
5601 CAVUX CERVICAL CAGE-L
13158 DUAL CHAMBER RATE RESPONSIVE
8194 IMWD 4 X 5 1 PACK DOMESTIC
108706 EZ SPAND 27 X9
7018 12X26MM CAPSTORE
107570 IDENTI TI PC POROUS TI SPACER
13030 INBONE TALAR DOME
13146 INBONE TALAR DOME SIZE 3
11546 PEEK 8 X 30 10DEGREE
7857 ETRINSA 8 DR-T
8485 65 CM PADDLE LEAD
3109 INFUSE MEDIUM
100227 VALEO INTERBODY FUSION DEVICE
100434 VALEO TL 14 MM 12 X 33 6 DEGR.
100496 VALEO INTERBODY FUSION DEVICE
100507 10 MM X 40 MM EPIPHANY
100686 VALEO INTERBODY FUSION DEVICE
100962 VALEO 11 TL12 MM 10 X 27
105993 VALEO Il TL APPROACH 12 MM H
106068 VALEO II TL13 MM H 10 X 27
106127 VALEO I TL13 MM H 10 X 33
106229 VALEO Il TL11MM H 10 X 27
106334 VALEO Il TL APPROACH 11 MM H
106678 VALEO Il INTERBODY FUSION
106679 10 X 50 MM EPIPHANY 511
106801 VALEO IITLOS MM 10 X 27 6
107834 LGN OX CONSTRAINED FEM 7 LT

11383 INTEGRA FLOWABLE WOUND MATRIX

5285 LUNA 3D LORDOTIC 8
11025 ALPHA PLATE 4 HOLE 28MM
12956 OSTEOCELL PRO 10 CC
5515 INBONE TALAR DOME SZ 4 SULCUS
12946 OSTEOCEL PRO CELLULAR BONE
4226 DUET ALLOGRAFT 14MM ALPHATEC
4729 DUET ALLOGRAFT 16 MM
4904 DUET ALLOGRAFT 12MM

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

42,878.47
42,878.47
42,878.47
42,878.47
42,878.47
42,786.90
42,268.88
42,030.06
41,906.72
41,906.72
41,860.00
41,860.00
41,845.05
41,785.25
41,641.50
41,590.90
41,324.79
41,299.38
41,299.38
41,112.50
41,112.50
41,112.50
41,058.86
41,055.00
41,055.00
41,055.00
41,055.00
41,055.00
41,055.00
41,055.00
41,055.00
41,055.00
41,055.00
41,055.00
41,055.00
41,055.00
41,055.00
41,055.00
40,888.25
40,866.15
40,701.38
40,528.06
40,510.51
40,372.48
40,252.88
40,252.88
40,252.88



100508 LLIFIBFD 18 X 45 MM NEUTRAL
100667 PEEK LLIF IBFD 18 X 55 MM
7680 SEVIN SHOULDER SYSTEM HUMERAL
107666 TLIF HIVE T INTERBODY SPACER
14007 32MM PLATE X 50MM
7026 COVEREDGE3270CM 4 X 8
100191 22 MM CAYMAN UNITED
100669 24 MM 2 HOLE PLATE CAYMAN
106108 22 MM 2 HOLE CAYMAN PLATE
106635 CAYMAN PLATE 18 MM
13242 LV GENERATOR ASSURITY
5461 INTEGRA MESHED BILAYER WOUND
8105 FLEX HD PLIABLE SHAPED
10999 10 X 34 X 24 PEEK

13022 COROENT XL 12X18X50MM 10DEGREE

13023 COROENT XL 12X18X50MM
13148 COROENT XL, 10X18X55MM
13149 COROENT XL, 10X18X50MM
13269 COROENT XL 14 X 18 X 55 MM
13280 COROENT XL 10 X 18 X 60 MM
13345 12 X 18 X 60 PEEK XL
9169 ESSENTIO MRI SR PACEMAKER
8762 TRINITY EVOLUTION 15CC
8308 IPG W1DRO1 AZURE XT DR MRI
100028 7 MM PRESS FIX STEM
13979 TRINITY ELITE EXTRA LARGE
6104 NEO CORD1K8.0X3.0CM
108652 MODULUS XLW 8 X 22 X 60 MM 10
108653 MODULUS XLW 10 X 22 X 60 MM
7456 LINQ MDT
10914 PEEK 8X9X23
11392 12DEG PEEK 8 X 23
11425 9 X9 X 23 8DEG
8761 COFLEX-F SYSTEM SIZE 8
12903 10X28 TLIF CAGE
12911 10MMX30MM TLIF CAGE
13221 12 X 30 TLIF CAGE
9108 XSTOP IMPLANT 10MM SPINE
14795 12 MM MICRO STEM
107419 BALLAST 85X 17.5 MM DBM MESH
8686 OPTIMESH
13758 15 X 13MM X 7 X 8MM
14243 GMA STAND ALONE ALIF PLATE 32
9290 SP CLAMP 40-45
9556 SP CLAMP 35-40 MM
8699 CERTAS PLUS INLINE VALVE
10022 COROENT LG OBLIQUE 12X10X30

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

40,069.68
40,069.68
39,916.50
39,882.00
39,617.50
39,617.50
39,588.75
39,588.75
39,588.75
39,588.75
39,580.13
39,540.59
39,482.95
39,408.20
39,408.20
39,408.20
39,408.20
39,408.20
39,408.20
39,408.20
39,408.20
39,243.75
39,206.38
39,206.38
39,109.20
38,907.38
38,832.63
38,612.23
38,612.23
38,458.88
38,378.72
38,324.33
38,324.33
38,122.50
38,100.08
38,100.08
38,100.08
38,085.13
37,651.58
37,536.00
37,375.00
37,375.00
37,375.00
37,375.00
37,375.00
37,367.53
36,947.34



10034 COROENT 8 X 10 X 30 5DEG
14957 15 CC CELLENTRA PRIME
9190 STRATTICE 10 X 16 PORCINE GRAF
106601 14 X 13 X 8 MM 7 DEGREE NP
107113 SHORELINE NO PROFILE SPACER 14
107232 SHORELINE NO PROFILE SPACER 14
14380 LEAD DF4 ACTIVE SC SPRINT 62
7757 LEAD 459878 ATTAIN PERFORMA
11691 OSS 79 MODULAR TIBIA

107681 DYNASTY BIOFOAM REVISION SHELL
108354 DYNASTY BIOFOAM REVISION SHELL

100537 PRO DENSE CORE DECOMPRESSION
106094 COROENT LARGE MP TI9 X9 X 23
106587 COROENT LARGEMP TI 8 X9 X 23
10848 COROENT MP 10X9X23 12DEG
10868 PEEK 10 X 9 X 28
10930 PEEK 12DEG 8X9X23
10970 PEEK 10 X9 X 23
10109 OSTEOCEL PLUS 15CC
107779 IDENTIPS9 X9 X 25 MM 5
107959 IDENTI TI PC PROUS TI SPACER
107990 IDENTI TI PC POROUS TI SPACER
108032 9 X 9 X 25 MM IDENTI PS CAGE
108084 IDENTI PC POROUS TI SPACER 12
108137 IDENTI PC POROUS TI SPACER 14
108172 IDENTI TI PC POROUS TI SPACER
108429 10 X 9 X 25 MM PS CAGE
108540 IDENTI PC POROUS TI SPACER 10
9858 AFFIX II S BLADED PLATE 45 MM
108757 Z SPAND 9 X 27 TALL
8773 MAKO Il 13MM SPINE 360/OMNI
5566 SIZE 2 LMH IMPLANT
5725 TOTAL KNEE CEMENTED
100148 ALLOQUENT TLIF 14 MM
12569 CELLENTRA VCBM 15 CC
12752 MONITOR 9529 REVEAL XT USA
11470 NUCEL EX-LARGE
12382 NUCELL 25CC
106623 TRIATHLON SYM CONE AUGMENT
9477 AFFIX PLATE 35MM
10784 BLADE AFFIX 1l 40MM
107503 TLX209 X 11 X 31 MM 20 DEGREE
12817 IPG,SEDRO1, SENSIA, DR, IS-1
11023 ALIF BONE 12X32X26 8 DEGREE
6974 17 MM BRYAN DISC
100030 HUMERAL ADAPTER TRAY +0
14687 TIGE HUMERALE PTC STANDARD

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

36,947.34
36,926.50
36,777.00
36,773.55
36,773.55
36,773.55
36,773.07
36,702.25
36,634.98
36,591.74
36,591.74
36,574.14
36,559.48
36,559.48
36,500.43
36,500.43
36,500.43
36,500.43
36,500.26
36,461.24
36,461.24
36,461.24
36,461.24
36,461.24
36,461.24
36,461.24
36,456.84
36,456.84
36,278.87
36,210.00
36,180.87
36,089.30
35,880.00
35,655.75
35,640.80
35,609.08
35,506.25
35,506.25
35,387.95
35,222.20
35,222.20
35,190.00
34,990.48
34,983.00
34,684.00
34,684.00
34,646.63



9978 AEQUALIS ASCEND FLEX
14978 AEQUALIS ASCEND FLEX STANDARD
8962 TOTAL ANKLE IMPLANT REF400-255
7408 INTERSPINOUS INPLANT
11937 COPELAND HUMERAL S24 TOTAL SHO
8230 DURATATACHY MRI LEADS UMRI PR
15045 50 CM 4 X 8 SURGICAL LEADS
6428 IPG A3SR01 ADVISA SR MRI
15056 PLATEAU Z TITANIUM TLIF CAGE
15094 10 X 28 X 11 PLATEAU Z TLIF
15096 10 X 28 X 14 PLATEAU Z TLIF
15107 10 X 28 X 13 PLATEAU Z TLIF
15175 10 X 28 X 10 PLATEAU Z TLIF
5284 10 X 24 X 12 PLATEAU Z TLIF
5627 10 X 24 X 11 PLATEAU Z TLIF
5667 TM TOTAL ANKLE TIBIA SZ4
5801 10 X 28 X 10 PLATEAU Z
5802 10 X 28 X 11 PLATEAU Z
5862 10 X 28 X 12 PLATEAU Z TLIF
5863 10 X 28 X 12 PLATEAU Z TLIF
5954 10 X 24 X 12 PLATEAU Z
6014 10 X 28 X 12 PLATEAU Z TLIF
6991 TLIF PEEK CAGE H13
7070 TLIF PEEK CAGE
7071 TLIF PEEK CAGE H11
7096 TLIF PEEK CAGE H13
7097 TLIF PEEK CAGE H11
7123 TLIF PEEK CAGE H9
7124 TLIF PEEK CAGE H11
7190 TLIF PEEK CAGE H12
7519 TLIF PEEK CAGE H14
7520 TLIF PEEK CAGE H12
7623 TLIF CAGE H12
7803 TLIF PEEK CAGE H15
8107 10 X 28 X 13 PLATEAU X LATERAL
8125 TLIF PEEK CAGE H14
8528 TLIF PEEK CAGE H14 0 DEGREE
8539 8 DEGREE 11 X 30 TLIF PEEK
9040 TLIF PEEK CAGE H12 8 DEGREE 11
9187 8 DEGREE 11 X 26 TLIF PEEK
9223 0 DEGREE 11 X 28 BI CONVEX
9251 O DEGREE 11 X 32 BI CONVEX
9252 0 DEGREE 11 X 32 BI CONVEX
9270 0 DEGREE 11 X 28 BI CONVEX
9482 0 DEGREE 11 X 32 BI CONVEX
9575 TLIF PEEK CAGE H13
9859 CEZANINE W 11 XL32H15

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

34,646.63
34,646.62
34,639.15
34,571.88
34,385.00
34,299.04
34,270.67
34,148.19
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50
33,637.50



100152 CEZANINE I W 11 X 28 H 14 MM
108542 IDENTI TI CERVICAL POROUS TI
108618 7 X 16 X 14 MM IDENTITI-C
8503 PRESTIGE 6 X 14 MEDTRONIC
9142 AFFIX PLATE Il 45MM
9310 AFFIX Il PLATE 55MM NUVASIVE
8708 INBONE TALAR DOME SZ #3
11932 TPLIF OBLIQUE 15DEG X 12MMX30
11933 TPLIF OBLIQUE 15DEG X 14MMX30
11975 TPLIF OBLIQUE 25MM X 10DEG X 1
12066 T PLIF OBLIQUE 15DEGX14MMX35MM
12112 TPLIF OBLIQUE 150 X 12 X 25MM
12133 TPLIF PEELE 15DEG X 14MM X 25M
12135 TPLIF 10DEG X 12MM X 25MM
12136 TPLIF OBLIQUE 10DEG X 10MM X 3
12162 TPLIF OBLIQUE 15DEG X 10MMX25M
12495 TPLIF OBLIQUE 10X10X25MM
13446 TPLIF OBLIQUE CAGE 15X 14 X
14473 TPLIF OBLIQUE 5 DEGREE X 8 X
100940 INTERBODY FUSION DEVICE 16 MM
5200 HIP BIOMET 9X125 INTEGRAL STEM
6011 HIP 10 STD INTEGRAL STEM BIOME
6790 HIP 12MM INTEGRAL STEM X170312
7498 COLLARED INTEGRAL POROUS STEM
10488 TOTAL HIP FEMORAL STEM TAPERLO
10550 TAPERLOC MICRO FEMORAL STEM PO
10554 TAPER LOC MINI MICRO FEMORAL S
10606 TAPER LOC POROUS FEMORAL STEM
10700 TAPER LOC POROUS FEMORAL STEM
10953 TAPERLOC MICRO FEMORAL
11109 TAPERLOC COMPLETE POROUS FEMOR
11547 INTEGRAL STEM 14MM
11703 INTEGRAL STEM POROUS STANDARD
12017 INTEGRAL STEM 12MM
12233 INTEGRAL STEM 11MM
12647 COLLARD INTEGRAL POROUS STEM
12979 8MM INTEGRAL STEM
13372 COLLARED INTEGRAL POROUS STEM
14114 9 MM INTEGRAP STEM
7147 12 MM TAPERLOC STEM
13661 TRINITY ELITE ORTHOFIX 10 CC
9592 COROENT LG OBLIQUE 12X10X30 5D
10294 COROLOT 12X10X30 5DEGREE
10115 MATRISTEM PLASTIC SURGERY MATR
7298 AMNION MATRIXTHIN 4 CM X 6 CM
7299 AMNION MATRIXTHIN 4 CM X 6 CM
6433 HIP DEPUY - 6 STEM

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

33,637.50
33,606.45
33,606.45
33,263.75
33,263.75
33,263.75
33,151.63
32,890.00
32,890.00
32,890.00
32,890.00
32,890.00
32,890.00
32,890.00
32,890.00
32,890.00
32,890.00
32,890.00
32,890.00
32,880.66
32,770.40
32,770.40
32,770.40
32,770.40
32,770.40
32,770.40
32,770.40
32,770.40
32,770.40
32,770.40
32,770.40
32,770.40
32,770.40
32,770.40
32,770.40
32,770.40
32,770.40
32,770.40
32,770.40
32,770.40
32,658.28
32,583.53
32,583.53
32,548.23
32,306.95
32,306.95
32,298.36



108650 COROENT XL WIDE 10 X 22 X 60
108651 COROENT XL WIDE 8 X 22 X 60 MM
13341 MS PUMP
9114 COPELAND SHOULDER TOTAL IMPLAN
11698 COPELAND HUMERAL RSRF HEAD
12477 SIZE 5 COPELAND HEAD
13624 COPELAND 52 6
8678 MESHED BILAYER WOUND MATRIX
9938 KNEE CREATIONS SCP COMPLETE
8871 FEMUR SMALL RIGHT UNIKNEE VOT
9377 SOLO FEMORAL IMPLANT SMALL

9567 FEMORAL COMPONENT MEDIUM RIGHT

9569 FEMORAL COMPONENT MEDIUM LEFT
11785 NANOSS BONE VOID FILLER 20CC
9885 13 MM TM PRIMARY STEM STANDARD
10543 TOTAL KNEE FEMORAL COMPONENT
108726 DYNASTY BIOFOAM REVISION SHELL
8232 QUARTET LEAD U US
11246 ORTHOGEM 10CC TRIPORE GRANULES
8590 SCP KNEE KIT
107368 ALEUTIAN LAT 18 X 60 X 12
107380 ALEUTIAN LAT 18 X 55 X 14
107500 ALEUTIAN LAT 18 X 50 X 12
107675 ALEUTIAN 55X 18X 10L
107676 ALEUTIAN 55X 18 X 10
108041 ALEUTIAN 18 50 X 12
108189 60 X 18 X 12 L ALEUTIAN
6674 JRNY Il BCS FEMORAL OXIN RT SZ
8696 JRNY Il CR FEM OX NP RT SZ 5
9969 UNIVERS APEX HUMERAL STEM 8 MM
5778 SIZE 8 LEFT OR FEMUR
9901 SPINEJACK CASE KIT 4.2 MM
9902 SPINEJACK CASE KIT 5.0 MM
9903 SPINEJACK CASE KIT 5.8 MM
106904 EDORA 8 DR-T PRO MRI
107009 22 X 10 MM PEEK
107010 22 X 11 MM PEEK
107040 PEEK 22 X 12 MM
107355 PEEK CAGE 13 MM
106855 NORIAN DRILLABLE INJECT 10 CC
100768 IPG WIDRO1 AZURE XT DR MRI
7019 10X22MM CAPSTONE
9332 LARGE OBLIQUE 10X10X30
9371 8 X 10 X 25 L. OBLIQUE SPACER
9656 CORENT OBLIQUE 10 X 25 5DEGREE
10287 CORENT LARGE OBLIQUE
10296 12X9X25 COROLOT

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

32,257.50
32,257.50
32,135.03
32,112.60
32,112.60
32,112.60
32,112.60
32,000.48
31,993.00
31,955.63
31,955.63
31,955.63
31,955.63
31,955.63
31,955.63
31,865.93
31,818.90
31,600.56
31,484.70
31,395.00
31,222.33
31,222.33
31,222.33
31,222.33
31,222.33
31,222.33
31,222.33
31,208.13
31,208.13
31,208.13
31,208.12
31,133.38
31,133.38
31,133.38
31,084.50
30,826.44
30,826.44
30,826.44
30,826.44
30,802.98
30,761.93
30,759.63
30,662.45
30,662.45
30,662.45
30,662.45
30,662.45



10297 14X10X25 COROLOT

10633 COROLOT PEEK 14X10X30

10788 PEEK COROENT 14X10X35

10809 COROENT PEEK 8 X 30MM X 5DEG
10811 COROLOT PEEK 10 X 25MM X 5DEG
10993 COROENT PEEK 12 X 35

11000 SACRAL PLATE 34MM

9360 VANGUARD KNEE LEFT FEMORAL COM
9625 TOTAL KNEE - FEMORAL COMPONENT

14270 12 X 28 X 13 MM PLATEAU V TLIF
14340 12 X 24 X 12 PLATEAU V TLIF
14341 12 X 28 X 13 PLATEAU V TLIF
14343 12 X 28 X 14 PLATEAU V TLIF
14382 12 X 28 X 12 DEGREE TLIF
14383 10 X 28 X 11MM PLATEAU TLIF
14467 12 X 28 X 14 PLATEAU V TLIF
14471 12 X 28 X 13 PLATEAU V TLIF
14507 12 X 24 X 12 PLATEAU V CAGE
5342 12 X 28 X 15 PLATEAU X TLIF
14775 12 X 28 X 15 X 7 DEGREE
12696 TPLIF PEEK CAGE 29X12MM
13045 TPLIF PEEK CAGE 29X14MM
13107 29X10MM TPLIF CAGE
13248 TPLIF CAGE 29 X 13 MM
13344 TPLIF CAGE 29X 11
13916 30 X 14 MM PLIF CAGE
13917 30 X 12 MM PLIF CAGE
13942 27 X 12 TLIF CAGE
14002 29 X 15 TLIF CAGE
14033 29 X 10MM TLIF CAGE
14064 27 X 14 MM TLIF CAGE
14462 10 X 30 X 13 TLIF CAGE
14463 1030 X 11 TLIF CAGE
10330 HUMERAL FRACTURE STEM
106014 9 X 40 MM SAMBA SCREW 006
106015 9 X 35 MM SAMBA SCREW 004
106726 9 X 45 MM SAMBA SCREW
8960 TOTAL ANKLE IMPLANT REF400-262
3108 INFUSE SMALL
10174 KNEE FEMORAL COMPONENT
5088 INTERBODY CAGE PEEK 11X21X6DEG
5089 INTERBODY CAGE PEEK 11X24X9DEG
7639 HOURGLASS PEEK SMM X 21MM X 6
7781 HOURGLASS PEAK SPACER 9X21X6
9387 11 X 21 X 6 HOURGLASS
6630 10 CC PRODENSE
10147 CERVICAL PLATE 6MM SYNTHES SPI

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

30,662.45
30,662.45
30,662.45
30,662.45
30,662.45
30,662.45
30,520.43
30,438.20
30,438.20
30,370.93
30,370.93
30,370.93
30,370.93
30,370.93
30,370.93
30,370.93
30,370.93
30,370.93
30,370.93
30,370.92
30,367.19
30,367.19
30,367.19
30,367.19
30,367.19
30,367.19
30,367.19
30,367.19
30,367.19
30,367.19
30,367.19
30,367.19
30,367.19
30,326.08
30,292.73
30,292.73
30,292.73
30,266.28
30,208.84
30,206.48
30,042.03
30,042.03
30,042.03
30,042.03
30,042.03
29,907.48
29,900.00



7303 12 HOLE CALCANEOUS PLATE

8721 LEAD 6935M55 DF4 ACTIVE SC
12050 BI-OSTETIC SYNTHETIC BONE GRAF
15076 10 CC CELLENTRA PRIME

5682 PLIF CAGE

6812 KNEE DEPUY FEMORAL COMPONENT

7873 KNEE - FEMORAL COMPONENT DEPUY

14118 ALPINE LOCK PLATE
100020 GLENOID PLATE
9393 LAPIPLASTY SYSTEM
6087 DECELLULARIZED DERMIS
6500 SUBCHONDROPLASTY KNEE KIT
106280 40-45 MM BRIDGEPOINT
106934 TIBIAL BASEPLATE
106998 JOURNEY PFJ
108136 45-50 MM BRIDGEPOINT
108760 9 X 18 X 16 MM IDENTI-C
108761 8 X 18 X 16 MM IDENTI-C
13121 EVOLUTION MP CS/CR FEMORAL
13955 EVOLUTION FEMORAL COMPONENT
14271 12 X 24 X 13 MM PLATEAU V
5991 AMNIOX NEOX CORD 1K 6.0 X 3.0
7152 HYDROSET
14319 PATELLAR TENDON ALLOGRAFT SIZE
11474 ALLODERM 6 X 18
100643 15 CC PRIMAGEN BONE GRAFT
107569 15 CC PRIMAGEN
9947 STRAND PLUS 10 CC
106820 STRAND 10 CC
107281 STRAND PLUS W/ SYRINGE 10 CC
108449 VALEO 1115 MM 10X 27 6
8616 STEP DOWN PLATE SIZE 6
8692 8 MM STEP DOWN
9659 10 MM STEPDOWN PLATE
8265 BIOCUE BONE GRAFT CONVENIENCE
10317 PLIF PEEK CAGE 10X 10MM X 22MM
10410 PLIF PEEK CAGE 10DEGXOSMMX22MM
10459 PLIF PEEK CAGE 10 X 12MM X 22
11252 PLIF PEEK CAGE 10 X 14 X 22
11320 PEEK CAGE 12 X 25 X 10 DEGREE
11872 PLIF CAGE 100 X 25 X 10MM
12381 PEEK PLIF 10 X 13 X 25MM
12384 PEEK PLIF 10DEG X 13 X 22MM
12579 PLIF PEEK CAGE 15X14X25MM
12580 PEEK TLIF CAGE 15 DEGREE
12615 PLIF PEEK CAGE 15X 12 X 22
12764 PLIF PEEK CAGE 15X15X22MM

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

29,900.00
29,900.00
29,862.63
29,825.25
29,720.60
29,668.28
29,668.28
29,601.00
29,563.63
29,526.25
29,503.83
29,451.50
29,325.00
29,325.00
29,325.00
29,325.00
29,223.00
29,223.00
29,152.50
29,152.50
29,152.50
29,115.13
29,040.38
29,040.37
29,017.87
28,973.10
28,973.10
28,943.78
28,943.78
28,943.78
28,738.50
28,704.00
28,704.00
28,704.00
28,629.25
28,561.98
28,561.98
28,561.98
28,561.98
28,561.98
28,561.98
28,561.98
28,561.98
28,561.98
28,561.98
28,561.98
28,561.98



12765 PLIF PEEK CAGE 15X14X22MM
12766 PLIF PEEK CAGE 10X12X22MM
12789 PEEK PLIF CAGE 15X10X25
12858 PEEK PLIF CAGE 15X16X22MM
12892 PLIF 15 DEGREE CAGE 16MMX25
13199 PLIF PEEK CAGE 15X 12 X 22
13223 PLIF PEEK CAGE 15 X 11 X 22 MM
13749 PLIF PEEK CAGE 15X 16 X 22
13831 PEEK PLIF CAGE 15 X 13 X 22 MM
9411 PLIF WIDE 5 DEG 8MM X 22
9723 PLIF PEEK CAGE WIDE 5DEG 12 X
9726 PLIF PEEK CAGE WIDE 5DEG 10 X
11473 PLIF PEEK CAGE 10DEG X 11MM X
11825 PEEK CAGE PLIF 10DEG X 14 X 25
12067 PLIF PEEK 10DEG X15MM X25MM
12117 PLIF PEEK CAGE 10DEG X 12MM X
12584 CELLENTRA VCBM-10CC
13253 CELLENTRA UCBM ALLOGRAPH 10CC
14719 ACTISHIELD AMNIOTIC BARRIER
107855 ARCOS 16 X 190 MM SPL TPR DIST
107878 ARCOS 17 X 190 MM SPL TPR DIST
13614 PSN FEM CR CMT CCR NRW SZ10 L
9111 BALLAST DBM MESH 45 X 17.5 MM
100631 VENTURA NM IMPLANT LORDOTIC
100833 VENTURA NM IMPLANT 9 X 24 X 10
100834 VENTURA NM IMPLANT 9X 24 X 8
100836 VENTURA NM IMPLANT 9 X 28 X 14
106065 VENTURA NM IMPLANT 9 X 24 X 11
106066 VENTURA NM IMPLANT 9 X 24 X 12
106250 VENTURA NM IMPLANT 9 X 28 X 12
106867 VENTURA NM IMPLANT 9 X 28 X 10
107280 NANO METALENE IMPLANT
107468 NANO METALENE IMPLANT 11 X 28
7935 HYDROSET 10CC STRYKER ORTHO
100917 PRIMA LOK SP 6 MM
5822 65 FEMORAL COMP HIP

6461 BIOMET FEMORAL COMPONENT 70MM

9861 TOTAL KNEE FEMORAL COMPONENT
10138 VANGUARD 62.5 RIGHT CR POR FEM
14206 75 LT FEMUR
12113 INFINION 16 CONTACT LEAD

107638 ALLOQUENT TLIF 10 MM

107891 AALOQUENT TLIF 12 MM

100421 GRAFT JACKET NOW THICK 4 X 8

106709 PLEXA S DX 65/15

106905 BIOTRONIK PLEXA S 65/15/
14087 GLADIATOR PLASMA CLASSIC

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

28,561.98
28,561.98
28,561.98
28,561.98
28,561.98
28,561.98
28,561.98
28,561.98
28,561.98
28,560.11
28,560.11
28,560.11
28,560.11
28,560.11
28,560.11
28,560.11
28,524.60
28,524.60
28,480.44
28,454.63
28,454.63
28,405.00
28,405.00
28,327.95
28,327.95
28,327.95
28,327.95
28,327.95
28,327.95
28,327.95
28,327.95
28,327.95
28,327.95
28,255.50
28,152.00
28,098.53
28,098.53
28,098.53
28,098.53
28,098.53
28,070.22
27,976.05
27,976.05
27,858.75
27,858.75
27,858.75
27,717.30



14101 GLADIATOR PLASMA CLASSIC STEM
14370 GLADIATOR PLASMA CLASSIC STEM
14561 PROFEMUR GLADIATOR PLASMA
14693 PROFEMUR GLADIATOR PLASMA
7013 GLADIATORS PLASMA CLASSIC STEM
7715 PROFEMUR GLADIATOR PLASMA
100027 GLENOSPHERE 38 MM
11591 AMNION BIODEFENSE ADHESION BAR
9268 OSTEOCELL PLUS 10CC BIOLOGIC
108255 LAPIPLASTY SYSTEM 2
14688 CALOTTE HUMERALE AEQUALIS
9977 FLEX SHOULDER SYSTEM AEQUALIS
14979 FLEX SHOULDER SYSTEM AEQUALIS
10708 OSS 63MM NON-MODULAR LONG
12186 0SS 67MM NON MODULAR LONG TIBI
13786 OSS 67 TIBIA
108494 STANDARD PTC HUMERAL STEM SIZE
9324 ALLODERM 6 X 16CM
11177 GRAFTJACKET 4X8CM REGENERATIVE
100571 COMP PRIMARY STEM 11 MM MINI
107554 COMP PRIMARY STEM 13 MM MICRO
107589 COMP PRIMARY STEM 14 MM MICRO
14152 BIOCLEANSE PATELLAR TENDON
9289 H GRAFT INTERSPINOUS CORTICAL
9557 INTERSPINOUS CORTICAL BLOCK
14314 OSS 83 MOD. TIBIA
7579 PBS SPACER 12X25
11247 SCREW TRIPLE 6.5 X 45MM
11248 SCREW TRIPLE 6.5 X 40MM
7665 TRUFUSE PRE-PACK 2-5.0MM DOWEL
14084 DYNASTRY BIOFOAM SHELL 54 MM
14368 DYNASTY BIOFOAM SHELL 52MM
14558 DYNASTY BIOFOAM SHELL 56 MM
14691 DYNASTY BIOFOAM SHELL 60 MM
7913 SPINE PURE STRIP 16 CC
14405 FUSIONFLEX STRIP ALLOGRAFT 20
10903 HEMISPHERICAL SHELL 56 MM
100464 CEZANINE IIW 11 XL28H 15
100473 CEZANINE Il W 11 X L 28 H 9SMM
100647 CEZANINEIIW 11 XL28XH 11
100685 TLIF PEEK CAGE H16
100824 BI-CONVEX W 11 X L 28 HOMM
100880 PEEK CAGE 26 X 12
100911 PEEK CAGE
106035 SPACER PEEK 11 MM
106128 PEEK CAGE 13 MM
106129 PEKK CAGE 14 MM

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

27,717.30
27,717.30
27,717.30
27,717.30
27,717.30
27,717.30
27,717.30
27,657.50
27,627.60
27,536.18
27,442.60
27,442.60
27,412.89
27,268.80
27,268.80
27,268.80
27,184.28
27,148.98
27,045.09
26,979.00
26,979.00
26,979.00
26,910.00
26,887.58
26,887.58
26,856.18
26,745.55
26,741.81
26,741.81
26,685.75
26,678.28
26,678.28
26,678.28
26,678.27
26,616.98
26,536.25
26,396.67
26,392.50
26,392.50
26,392.50
26,392.50
26,392.50
26,392.50
26,392.50
26,392.50
26,392.50
26,392.50



106146 PEEK CAGE
106253 CEZANINE IIW 11 XL 324 11MM
106639 PEEK CAGE 11 MM
106937 ARTICULAR SURFACE
106986 PEEK CAGE 13 MM
107098 PEEK CAGE 10 MM
107538 ECLIPSE TRUNION 47
108332 OSTEOCHONDRAL CORE FS/A 16 MM
108766 21 MM NOVEL SMALL 14 X 12
10770 COROENT LF CONTOURED IMPLANT 1
13689 TLIF CAGE 24 X 13MM
13723 TLIF PEEK CAGE 24 X 12 MM
12271 CANCELLOUS STRIPS 50MM X 15MM
12653 STERISORB STRIP 10 X 50MM
13449 CANCELLOUS STRIP 44 X 16 X 3
14213 FLEX CANCELLOUS STRIP
5382 50 MM STRIP
6711 50 MM STRIP
8876 50 X 20 X 5MM DBM FLEX STRIP
7641 BONE GROWTH STIMULATOR
14622 CLARIX1007.0X 7.0 CM
15067 AUGMENT BONE GRAFT
10950 ALLODERM 6 X 16
107810 PF KNEE KIT 5 CC ACCUPORT SIDE
107539 ECLIPSE CAGE SCREW MEDIUM
13980 MATRIX STRIP 50 X 20 X 7
14095 ULTRAEXPANSE STRIP
14365 MATRIX O STRIP 50 X 20 X 7MM
107266 EVOLUTION REVISION TIBIAL BASE
13634 PSN FEMUR CEMENTED CR STANDARD
8682 WIDE PLATE POST BODY 8MM LANX
106431 INTERBODY FUSION DEVICE 16MM W
107797 18 MM X 120 MM X 80 CM VENOVO
12794 KNEE SYSTEM FEMUR CEMENTED
13017 LEAD KIT TINED
10655 FEMORAL COMP. 65MM LEFT
7312 PBS ALLOGRAFT 23X10MM
8351 PBS SPACER 10 X 25
8366 PARALLEL BONE SPACER 12MM
8467 PARALLEL BONE SPACER 14 X 25
13164 EVOLUTION FEMORAL COMPONENT
8197 EVOLUTION MP CS/CR FEMORAL
13841 CLARIXCORD 6 X3 CM
6546 CLARIX CORD 1K 6.0 X 3.0 CM
5619 ACTISHIELD 4 X 4 CM
6809 KNEE DEPUY TIBIAL TRAY CEMENTE
7874 KNEE - TIBIAL COMPONENT DEPUY

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

26,392.50
26,392.50
26,392.50
26,392.50
26,392.50
26,392.50
26,392.50
26,392.50
26,346.60
26,274.63
26,237.25
26,237.25
26,203.61
26,203.61
26,203.61
26,203.61
26,203.61
26,203.61
26,203.61
26,125.13
26,125.13
26,125.13
26,078.34
26,011.28
25,952.63
25,900.88
25,900.88
25,900.88
25,841.19
25,799.99
25,788.75
25,600.73
25,571.40
25,564.50
25,527.13
25,437.43
25,415.00
25,415.00
25,415.00
25,415.00
25,415.00
25,415.00
25,377.63
25,377.63
25,271.39
25,196.73
25,190.75



8705 ADAPTA SR 1S-1 213
107363 FIBULOCK NAIL 3.0 X 180 MM

106208 TM PRIMARY STEM 11 MM STANDARD

106684 TM PRIMARY STEM 14 MM
8677 IMWD 2 X 2 1 PACK DOMESTIC
11116 PRIMAGRAFT ISS STABILIZER BIO
100137 OFFSET TIBIAL TRAY CEMENTED
13123 EVOLUTION MP KEELED TIBIAL
13189 EVOLUTION KEELED TIBIAL BASE
13956 EVOLUTION MP KEELED TIBIAL
10360 PEEK CAGE TAPERED 12X20X10 8DE
8620 AVANCE NERVE GRAFT 4-5MM X
9081 2-3 MM X 30 MM NERVE GRAFT
8123 PRO-DENSE 10CC BONE SUBSTITUTE
100041 STRAIGHT 48 MM 6 HOLE PLATE
100042 LAPIDUS LARGE ANGLE W/O
100064 AVID STRAIGHT FIBULA 6 HOLE
100070 AVID STRAIGHT FIBULA 5 HOLE
13852 INFINITY POLY INSERT TOTAL
11304 ARTISIAN LEAD KIT 50CM 2 X 8
5691 STANDARD LAP BAND
5692 LARGE LAP BAND
108723 IPG A2DR0O1 ADVISA DR
4852 ANKLE SALTO TALARIS TALAR COMP
6789 SALTO TALARIS ANKLE LJU201
6866 ANKLE SALTO TALARIS TALAR COMP
11169 GRAFT 10MM BTB PRESHAPED
13953 ALLOGRAFT PATCH4 CM X4 CM
5533 ALLEGRA DUAL LAYER 4 X 4 PATCH
5721 AMNION PATCH
107696 SENTRY PLATE 8 MM
108111 AFFIX 11 S BLADED PLATE 40 MM
107074 GRAFT JACKET NOW THIN 4 X 8 CM
107502 GRAFT JACKET NOW STD 4 X 8 CM
107897 16 X 13 X 5MM 7 DEGREE SPACER
108586 STAND ALONE CERVICAL 14.5 MM X
108588 STAND ALONE CERVICAL 14.5 MM X
6555 57 MM 3-LEVEL PLATE
108201 STANDARD PTC HUMERAL STEM
11440 METATARSAL COMPONENT SIZE -1
108165 16 MM X 120 MM X 80 CM VENOVO
108166 14 MM X 80 MM X 80 CM VENOVO
108167 PRIME A CLASS XLPE LIPPED
100729 GRUVE PLATE 86 MM
106802 GRUVE 4 LEVEL 90 MM
106846 GRAFT JACKET NOW STANDARD 4 X
10928 NUCELL TISSUE LARGE

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

25,160.85
25,096.34
25,072.88
25,072.88
25,056.20
25,041.25
25,008.36
24,914.18
24,914.18
24,914.18
24,876.80
24,854.38
24,854.38
24,824.48
24,817.00
24,817.00
24,817.00
24,817.00
24,757.20
24,739.23
24,719.83
24,719.83
24,709.50
24,667.50
24,667.50
24,667.50
24,667.50
24,667.50
24,667.50
24,667.50
24,633.00
24,633.00
24,603.68
24,603.68
24,498.11
24,486.38
24,486.38
24,480.63
24,465.85
24,293.75
24,292.83
24,292.83
24,292.83
24,163.80
24,163.80
24,134.48
23,920.00



11429 NEOX 1K ALLOGRAFT AMNIOTIC TIS 278 23,920.00

5798 BONE MATRIX 278 23,920.00
6794 OPTISURE LEADSS U US 278 23,920.00
7889 70 CM 16 CONTACT LEAD 278 23,920.00
7912 OSTEOSURGE 300 10 CC 278 23,920.00
106377 DBM PUTTY W/ CHIPS 10 CC 278 23,899.88
13926 GRAFTJACKET 4 X 7CM 278 23,890.10
4976 OCTRODE LEAD KIT - SPINE STIM 278 23,754.29
107624 IPG W1SR01 AZURE XT SR MRI 278 23,747.39
100517 INTERSPINOUS CORTICAL BLOCK 278 23,618.36
7147 KNEE COMPONENT 75 INTERLOCK 278 23,576.15
9514 FEMORAL COMPONENT 62.5 278 23,576.15
10006 72.5 FEMORAL 278 23,576.15
10977 SIGNATURE KNEE FEMORAL 60 278 23,576.15
11297 LEFT FEMORAL 60 278 23,576.15
11560 FEMORAL LT 8OMM 278 23,576.15
11753 LEFT FEMORAL COMPONENT 75MM 278 23,576.15
11771 TOTAL KNEE FEMORAL COMPONENT 278 23,576.15
13789 80 RT FEMUR 278 23,576.15
106862 7 MM TI MULTILOC HUMERAL NAIL 278 23,559.71
108648 XLIF DECADE PLATE 2 HOLE SIZE 278 23,460.00
108649 XLIF DECADE PLATE 2 HOLE SIZE 278 23,460.00
9267 CONRONT LG TAPERED 8X9X20 8' 278 23,411.70
9314 10X9X20 8DEGREE COROENT LARGE 278 23,411.70
9525 CORENT LG TAPERED 12X10X20 278 23,411.70
9553 COROTAP 20 X 10 15DEGREE 278 23,411.70
9709 COROENT LG TAPERED 12X9X20 8DE 278 23,411.70
9865 COROENT LG TAPERED 14 X9 X 20 278 23,411.70
9929 COROENT LG TAPERED 8X10X20 15 278 23,411.70
11264 8 X 15MM PEEK INTERBODY 278 23,411.70
11648 PEEK 15DEG 10X9X20 278 23,411.70
100651 PRIMAGEN 10 CC 278 23,401.35
6155 10 CC BIOSPHERE PUTTY 278 23,396.75
6188 BIOSPHERE 10 CC 278 23,396.75
7189 BONE CEMENT SIMPLEX TOBRAMYCIN 278 23,310.79
7193 CR FEMORAL-NON POROUS 5 LEFT 278 23,209.88
7288 CR FEMORAL NON POROUS 3+ RIGHT 278 23,209.88
7648 CR FEMORAL NON POROUS 6 RIGHT 278 23,209.88
7684 CR FEMORAL COMPONENT CEMENTED 278 23,209.88
7726 CR FEMORAL COMPONENT CEMENTED 278 23,209.88
100139 PS TIBIAL BEARING 278 23,088.78
10173 KNEE MODULAR TIBIA PLATE 278 22,978.15
8648 CONTACT 8 LEAD KIT 50CM 278 22,970.25
13781 26 X 14 MM CAGE 278 22,892.19
13808 CAGE 26 X 10MM 278 22,892.19
13809 CAGE 26 X 12MM 278 22,892.19

6685 SCP FOOT & ANKLE KIT 278 22,873.50



100145 8 X 12 X 14 OPTIO-C ALLOGRAFT
11317 ULTRA EXPANSE BLOCK
12853 CANCELLOUS STRIP 26X19MM
13705 30MM STRIP
13738 CANCELLOUS STRIP 26MM X 19MM
14683 30 MM FLEX STRIP
14961 30 MM STRIP
14977 26 MM STRIP
5758 CANCELLOUS 30 MM STRIP
8296 50 X 10 X 5 STRIP
8358 CANCELLOUS STRIP 50 MM X 10 MM
108553 BATTALION PC SPACER PEEK TI
108619 BATTALION PC SPACER PEEK-TI
108620 BATTALION PC SPACER PEEK-YI 10
100776 5 CC GAMMA BSM KIT
13409 FIBRINET AUTOLOGOUS FIBRIN &
100610 8.5 MM TI MULTILOC HUMERAL
9141 14X 16 X 8 OPTIO C ALLOGRAFT
12955 OSTEOCELL PRO 5 CC
107446 AUGMENT INJECTABLE
108262 AUGMENT 3 CC
12945 OSTEOCEL PRO CELLULAR BONE
9330 OSTEOCELL PLUS 5CC
8680 PLATE LOCKING 8MM LANX SPINAL
9456 VANGUARD CR FEMORAL INT 65CT
9590 FEMORAL COMPONENT VANGUARD 70
9680 VANGUARD P.S. FEMORAL COMP 70
9949 TOTAL KNEE FEMORAL COMPONENT
10068 FEMORAL COMPONENT 70MM
10095 VANGUARD FEMORAL CR 67.5 RT
10753 TOTAL KNEE FEMORAL COMPONENT 6
11017 SCREW POLY 6.5 X 40MM
11091 INTEGRAL STEM 11MM
11697 10MM INTEGRAL STEM
15001 4 LEVEL 90 MM NEO AC PLATE
5400 4 LEVEL 82 MM NEO AC PLATE
6557 13MM TAPERLOC STEM
6665 4 LEVEL 74MM GRAVE PLATE
7066 4 LEVEL 8OMM PLATE
7887 | FACTOR BONE GRAFT
8502 GLADIATOR PLASMA CLASSIC STEM
8504 PROFEMUR GLADIATOR PLASMA
8642 TPRLC 133 T1 PPS HO 15 X 150
8707 PLATE 4 LEVEL 81 MM
8887 67.5 LT FEMUR
9104 4 LEVEL GRUVE PLATE 78 MM
6660 OPTIO-C ALLOGRAFT 12X14X6MM,

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

22,843.60
22,839.86
22,839.86
22,839.86
22,839.86
22,839.86
22,839.86
22,839.86
22,839.86
22,839.86
22,839.86
22,838.31
22,838.31
22,838.31
22,814.85
22,798.75
22,762.07
22,694.10
22,634.40
22,580.25
22,580.25
22,544.60
22,461.69
22,425.00
22,425.00
22,425.00
22,425.00
22,425.00
22,425.00
22,425.00
22,425.00
22,425.00
22,425.00
22,425.00
22,425.00
22,425.00
22,425.00
22,425.00
22,425.00
22,425.00
22,425.00
22,425.00
22,425.00
22,425.00
22,425.00
22,425.00
22,395.10



14514 PEDICLE SCREW 5.5 MM X 40 MM
14515 PEDICLE SCREW 6.5 MM X 40 MM
14785 PEDICLE SCREW 5.5 MM X 35 MM
14786 PEDICLE SCREW 6.5 MM X 45 MM
15142 42 MM INVISIA PLATE
5967 PEDICLE SCREW 6.5 X 35
6540 PEDICLE SCREW 7.0 MM X 40 MM
6541 PEDICLE SCREW 4.0 MM X 45 MM
10186 UNICOMP. KNEE FEMORAL COMPONEN
10185 UNICOMP. KNEE FEMORAL COMPONEN
10321 TOTAL KNEE FEMORAL COMPONENT S
10066 MATRIX HD 5 X 8CM ALLOGRAFT
9611 INTERSPINOUS CORTICAL BLOCK
11261 OCTORDE LEAD KIT 30CM
100592 VIAFLOW FLOWABLE PLACENTAL
106528 ADVANCE Il MODULAR TIBIAL BASE
15026 XEN MATRIX AB 10 X 10 CM
8417 TRIAL LEAD KIT LINEAR ST 50CM
100860 8 MM TI MULTILOC PROX HUMERAL
14211 ALLOPURE BICORTICAL WEDGE 8 MM
14396 POLYETHYLENE INLAY W/
106978 AMNION MATRIX CORD 3 CM X 6 CM
11016 BONE GRAFT EXTENDER INQU 10CC
13024 CLARIX 4X3
5569 ACTISHIELD CF 4 X 4
107373 8.5 X 28 X 11 PEEK
107771 ALEUTIAN 13 X 28 CAGE
107927 ALEUTIAN 28 X 12
6704 PARALLEL BONE SPACER 10MM
8027 PARALLEL BONE SPACER 8MM
108495 AEQUALIS HUMERAL HEAD COCR 0=
12214 AFLEX GRAFT 200
108728 DELTA OPTION HEAD 40 MM
5462 AMNION PATCH 4 X 4
6090 BC ACHILLES SPEEDBRIDGE
6591 32 CERAMIC HD
8350 HYPROCURE DEVICE
9110 STRAND PLUS MEDIUM 5 CC
107565 EVOLUTION REVISION TIBIAL BASE
9236 MDM COCR LINER 42 MM E
13206 ALLOPURE BOCORTICAL WEDGE 12MM
13207 ALLOPURE 10MM EVANS 22 X 20 X
13208 ALLOPURE BIOCORTICAL WEDGE
6473 EVOLUTION MP KEELED TIBIAL
6654 EVOLUTION MP KEELED TIBIAL BAS
8198 EVOLUTION MP KEELED TIBIAL
8615 CONFIDENCE+ SPINAL CEMENT KIT

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

22,387.63
22,387.63
22,387.63
22,387.63
22,387.63
22,387.63
22,387.63
22,387.62
22,356.98
22,350.25
22,350.25
22,346.09
22,151.23
22,022.79
21,987.89
21,987.89
21,976.10
21,868.35
21,847.13
21,789.63
21,714.88
21,700.50
21,677.50
21,640.13
21,640.13
21,578.51
21,578.51
21,578.51
21,565.38
21,565.38
21,531.89
21,490.63
21,455.70
21,338.34
21,303.75
21,303.75
21,303.75
21,303.75
21,278.22
21,199.10
21,176.68
21,176.68
21,176.68
21,176.68
21,176.68
21,176.68
20,978.37



11633 DBM PUTTY 10CC ACELL EVO3C
5261 AMNIOTIC MEMBRANE ALLOGRAFT
6412 10 CC DBM

108633 GLEN 40 MM + 4 OFFSET
100756 TRI TS BASEPLATE SIZE 4
13085 PHASIX MESH 4'X6' MESH
108634 14 PRIMARY EQUINOX HUMERAL
107550 PRIMARY 11 MM STEM
5916 CANCELLOUS SPONGE 50 X 20 X 5
7779 HAWK ONE M 6 FR STANDARD TIP
100777 50 X 10 MM STRIP
100381 47 X 19 X 7 MM STRIP
100382 46 X 19 X 6 MM STRIP
100384 50 X 20 X 7 MM STRIP
100491 50 X 20 MM STRIP
100588 50 X 20 MM STRIP
100757 50 X 20 MM STRIP
100383 47 X 19 X 6 MM STRIP
5262 AMNIOTIC MEMBRANE ALLOGRAFT
100920 INQU MATRIX 5 X 10 CM
106734 JRNY Il CR FEM OX NP LT SZ 4
106935 13 MM X 120 MM STEM
106936 16 MM X 160 MM STEM
107713 ARTHROCELL 5.0CC
4240 DECULLARIZED DERMIS ARTHRO
7563 11 MM /130 DEG TI CANN TFNA
9682 REGENEREX PRI TIBIAL TRAY 79MM
14928 22 MM INVIZIA PLATE
14949 24 MM INVISIA PLATE
106621 NO 4 TRIATHLON TS PLUS TIBIAL
9100 CHARGING SYSTEM SPINAL CORD ST
14985 PROXIMAL LATERAL TIBIA PLATE
106848 3.5 MM VA-LCP PROX TIBIA PLATE
108006 ACUPAC ADVANCED 10 CC ASEPTIC
8794 ANKLE NAIL 15CM

12791 3 LEVEL 54MM CERVICAL PLATE

12811 3 LEVEL 51MM CERVICAL PLATE

13655 3 LEVEL CERVICAL PLATE

13779 3 LEVEL 48 MM PLATE

14442 3 LEVEL GRUVE ANTERIOR

15068 3 LEVEL 64 MM GRAVE AC PLATE
5229 3 LEVEL 55 MM NEO AC PLATE
5426 3 LEVEL 61 MM GRAVE PLATE
5427 3 LEVEL 58 MM NEO AC PLATE
5479 3 LEVEL 61 MM PLATE
6211 3 LEVEL 58 MM GRUVE PLATE
6279 3 LEVEL 61 MM GRUVE PLATE

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

20,930.00
20,892.63
20,892.63
20,841.58
20,810.49
20,743.13
20,742.46
20,742.45
20,691.72
20,630.14
20,561.52
20,559.76
20,559.76
20,559.76
20,559.76
20,559.76
20,559.76
20,556.83
20,556.25
20,527.50
20,527.50
20,527.50
20,527.50
20,527.50
20,503.93
20,429.18
20,361.90
20,294.63
20,294.63
20,278.24
20,257.89
20,249.78
20,234.25
20,187.33
20,182.50
20,182.50
20,182.50
20,182.50
20,182.50
20,182.50
20,182.50
20,182.50
20,182.50
20,182.50
20,182.50
20,182.50
20,182.50



6389 3 LEVEL 64 MM GRUVE PLATE
6392 3 LEVEL GRUVE PLATE 58 MM
6710 3 LEVEL 67 MM GRUVE PLATE
6817 3 LEVEL 74 MM GRUVE PLATE
7028 3 LEVEL 59 MM PLATE
7084 3 LEVEL 61 MM GRUVE PLATE
7812 6 MM 2 HOLE PLATE
7813 7 MM 2 HOLE PLATE
8226 VAN GOGH ANTERIOR CERVICAL
8242 TRU-PROFILE 3 HOLE PLATE 12MM
8877 PLATE 3 LEVEL 51 MM
9116 ADVANTIM DURAMER TOTAL
9408 PLATE 3 LEVEL 45 MM
9646 PLATE 3 LEVEL 57 MM
9735 PLATE 3 LEVEL 60 MM
9745 VAN GOGH Il 3 LVL PLATE 63 MM
9431 REUNION RSA GLENOID BASEPLATE
14700 PERFECTA IMG SLIM NECK
13200 CLAW 1l 4 HOLE 20MM
13031 INBONE POLY INSERT
11799 NAN OSS BONE VOID FILLER 10CC
9478 ALLOGRAFT H2 8 X 30
11007 CAMBRIA PEEK 17 X SMM
8930 E WEDGE 10 MM
9027 E WEDGE 12 MM
9028 E WEDGE 8 MM
13730 TISSUEMEND 5CMX6CM
10101 FALOPE RING REFILL
7305 HUMAN ALLOGRAFT H-GENIN PUTTY
6362 HIP ACETABULAR SHELL- ZIMMER
13836 FUSE FORCE STAPLE 15 X 15
15075 FUSEFORCE STAPLE 18 X 16
10968 STERI SPONGE STRIP, 20 X 30MM
12190 OSS INTERLOK STRIAGN IM STEM W
8014 JETSTREAM XC 2.4/3.4 MM 7F
6131 SIZE 4 ACCOLADE Il 132 DEG.
7955 ACCOLADE 11 127 DEGREE NECK
11441 INFORCE REINFORCEMENT MATRIX
8192 NEURA WRAP NERVE PROTECTOR
15136 VERSASHIELD AMNIOTIC MEMBRANE
11792 MIS SCREW SAVANNAH 6.5 X 35MM
11793 MIS SCREW SAVANNAH 6.5 X 40MM
11812 MIS SCREW SAVANNAH 5.5 X 40MM
11794 MIS SCREW SAVANNAH 6.5 X 45MM
8140 CADENCE INSERT SIZE 3 RIGHT
5438 SUBTALAR WEDGE 12 MM X 6 MM
12971 CLAW Il 4 HOLE T PLATE 20MM

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

20,182.50
20,182.50
20,182.50
20,182.50
20,182.50
20,182.50
20,182.50
20,182.50
20,182.50
20,182.50
20,182.50
20,182.50
20,182.50
20,182.50
20,182.50
20,182.50
20,152.60
20,092.80
20,047.95
20,040.48
20,033.00
20,029.04
19,958.25
19,920.88
19,920.88
19,920.88
19,902.04
19,808.75
19,808.75
19,793.80
19,793.80
19,793.80
19,757.36
19,719.05
19,706.40
19,696.33
19,696.33
19,584.50
19,562.08
19,537.79
19,528.44
19,528.44
19,528.44
19,526.20
19,523.50
19,511.65
19,464.90



12972 CLAW Il 4 HOLE T PLATE 30MM
12522 BIOCLEANSE TIBIALIS POSTERIOR
14907 AMNIOX 100046
6103 CLARIX FLO 100 MG
106251 ALLOGRAFT PATCH4 X 4
107063 ECHO B-MITRC MP FP SO 9
107214 ECHO B-MITRC MP FP SO 12
107253 ECHO B-MTRC MP FP SO 11
107491 ECHO B-MTRC MP FP HO 11
108414 F3D STRAIGHT 26 MM X 10 MM
108415 F3D STRAIGHT 26 MM X 10 MM
108655 30 X 10 X 14 MM 7 DEGREE F3D
108692 30 MM X 10 MM X 12 MM 7 DEGREE
108693 26 MM X 10 MM X 14 MM 7 DEGREE
108708 26 MM X 10 MM X 11 MM 7 DEGREE
108712 26 X 10 X9 MM 7 DEGREE
8901 OSSIMEND BLOCK 10CC
11112 MODULAR CERAMIC HEAD 40MM
107066 CER BIOLOXD OPTION HD 36 MM
14263 SOLANA STAPLE 20 X 20
13477 FUSEFORCE IMPLANT KIT SIZE 25
108020 NEXGEN TM AGMT PATELLA MEDIUM
100014 UNICORTICAL BLOCK 9 MM
14086 CONSERVE A-CLASS BFH HEAD
14371 CONSERVE A-CLASS BFH HEAD 36MM
14560 CONSERVE TOTAL A-CLASS HEAD
7012 BIOLOX DELTA FEMORAL HEAD SIZE
7114 38 MM CERAMIC HEAD
7714 BIOLOX DELTA FEMORAL HEAD SIZE
14695 CONSERVE TOTAL BCH FEMORAL
9626 VIAFLOW PLACENTAL TISSUE
108191 PF F&A KIT 3 CC W/ ACCUPORT
108290 PF F&A KIT 3 CC W/ACCUPORTEND
108349 PF KNEE KIT 3 CC ACCUPORT
8316 GRAFT JACKET 4X7CM HUMAN TISSU
8168 NAIL STRYKER ORTHO 1819-1220S
8465 ANKLE ARTHRODESIS NAIL, RT
12951 8.5 X 34 TIBIAL NAIL
108153 2.5 X 10 GRAFTON
13385 OXFORD SM FEMUR
13388 OXFORD 5 M FEMUR
13731 MEDIUM FEMUR
14718 INFINITY POLY INSERT SIZE 1/1+
7522 LEAD 45988 ATTAIN PERFORMA
8723 LEAD LEAD 439888 ATTAIN
14634 REVISION ULNA BEARING
11094 LORDOTIC IMPLANT 7MM X 17 X 14

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

19,464.90
19,430.00
19,397.63
19,397.63
19,354.50
19,354.50
19,354.50
19,354.50
19,354.50
19,325.18
19,325.18
19,325.18
19,325.18
19,325.18
19,325.18
19,325.18
19,285.27
19,213.74
19,213.74
19,211.50
19,210.75
19,083.84
19,061.25
19,053.78
19,053.78
19,053.78
19,053.78
19,053.78
19,053.78
19,053.77
19,008.93
19,002.60
19,002.60
19,002.60
18,986.50
18,949.13
18,949.13
18,949.13
18,932.22
18,889.33
18,889.33
18,889.33
18,874.38
18,874.38
18,874.38
18,771.28
18,747.30



11096 LORDOTIC IMPLANT 6MM X 17 X 14
12854 COROENT SMALL INTERLOCK
11708 IMPLANT SYSTEM MENISCAL ROOT
13188 EVOLUTION FEMORAL COMPONENT
13621 EVOLUTION MP CS/CR FEMORAL
13684 EVOLUTION FEMORAL COMPONENT
14217 EVOLUTION MP CS/CR FEMORAL
15097 UNID TIROD 5.5 MM 120 MM
5665 PROLONG TIBIAL INSERT SZ 4
5795 UNID ROD
7138 BIODFENCE G3
100011 EVOLUTION MP CS/CR FEMORAL
100188 KNEE CREATIONS SCP FOOT AND
106373 KNEE CREATION SCP FOOT AND
107262 AMNION MATRIX THIN 4 CM X 4 CM
9813 UNIVERS REVERS HUMERAL STEM
10569 ATLANTIS VISION PLATE 77.5MM
9044 MASTERGRAFT STRIPS 20CM
10693 TRIAD BI-PORTAL 10MM X SMM 20M
7742 STABILI T FRACTURE MX FRACTURE
107976 PEEK 13 MM
108086 ACUGRAFT H SPACER 10 MM
108110 ACUGRAFT H SPACER 8 MM
108115 16 MM ACUITY H GRAFT
108541 ACUGRAFT H SPACER 14 MM
108591 ACUGRAFT H SPACER 12 MM
108685 PLATEAU 13 MM
5371 PLACENTAL TISSUE MATRIX
11676 ANTERIOR CERVICAL PLATE 40MM
11921 ANTERIOR CERVICAL PLATE 3L-57M
12754 ANTERIOR CERVICAL PLATE 35MM
13443 PLATE 43 CERVICAL 2 LEVEL
8650 ATLANTIS PLATE 55MM CERVICAL
5402 ANKLE ARTROSDESIS NAIL, LEFT
7930 RIGHT ANKLE ARTHRODESIS NAIL
13482 ALLOPURE BICORTICAL 6 MM
9430 REUNION RSA HUMERAL CUP DIA
9434 REUNION RSA CONCENTRIC
6238 PLATEAU SPACER 14X11X6MM
7067 SPACER 14X11X7 LIFESPINE
7068 SPACER 14X11X8MM LIFESPINE
12039 REDUCTION SCREW 6.5 X 40MM
12655 PRECEPT TULIP, MODULAR
12992 PRECEPT REDUCTION SCREW
10388 32MM CERVICAL PLATE LEVEL 2
9234 TRIDENT PSL HA CLUSTER 50 MM
8721 ACTIFUSE E X FILL PUTTY 10ML

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

18,747.30
18,747.30
18,713.49
18,687.50
18,687.50
18,687.50
18,687.50
18,687.50
18,687.50
18,687.50
18,687.50
18,687.50
18,650.70
18,650.70
18,644.84
18,575.38
18,560.43
18,493.32
18,493.15
18,474.75
18,474.75
18,474.75
18,474.75
18,474.75
18,474.75
18,474.75
18,474.75
18,428.57
18,425.88
18,425.88
18,425.88
18,425.88
18,403.45
18,395.98
18,395.98
18,388.50
18,322.72
18,322.72
18,313.75
18,313.75
18,313.75
18,313.75
18,313.75
18,313.75
18,271.52
18,268.90
18,239.00



9311 H2 EXTENSURE ALLOGRAFT 14 X 30 278 18,208.21

10609 EXTENSURE H2 ALLOGRAFT 12MM 278 18,193.33
108203 CENTERED GLENOIDSPHERE COCR 278 18,154.52
13660 TRINITY ELITE ORTHOFIX 5CC 278 18,134.35
12083 BI-OSTETIC SYNTHETIC BONE 278 18,126.88
12628 AXOGARD NERVE PROTECTOR 278 18,126.88
6873 4 HOLE COMPRESSOR PLATE 278 18,089.50
6874 4 HOLE X PLATE 278 18,089.50
6917 8 HOLE COMPRESSION PLATE 278 18,089.50
6918 6 HOLE COMPRESSOR PLATE 278 18,089.50
7572 7 HOLE STRAIGHT COMPRESSION 278 18,089.50
7573 8 HOLE STRAIGHT COMPRESSION 278 18,089.50
8691 5 HOLE PLATE 278 18,089.50
9416 4 HOLE X PLATE 278 18,089.50
9419 4 HOLE PLATE 278 18,089.50
9662 9 HOLE PLATE 278 18,089.50
107423 PRE SHAPE PATELLA 10 MM FZ ASP 278 18,064.20
12525 7MM 6 CAGE 278 18,052.13
12808 10 DEGREE 7MM CAGE 278 18,052.13
108779 13 PRIMARY STEM 278 18,036.92
7187 MPFL KIT IMPLANT SYSTEM 278 18,014.75
7063 NEO PLATE 44MM 2 LEVEL LIFESPI 278 17,940.00
7606 2 LEVEL 4A0MM NEO PLATE 278 17,940.00
10229 PLATE 39MM CERVICAL 278 17,940.00
11796 INFINION 16 LEAD KIT 278 17,940.00
12736 2 LEVEL 37MM CENTRAL PLATE 278 17,940.00
12738 2 LEVEL 37MM CERVICAL PLATE 278 17,940.00
12941 2 LEVEL 34MM PLATE 278 17,940.00
13194 PLATE 40MM 2 LEVEL 278 17,940.00
13270 2 LEVEL 40 MM PLATE 278 17,940.00
13587 SELF DRILLING 4.0 X 12 MM 278 17,940.00
13701 2 LEVEL 37MM CERVICAL PLATE 278 17,940.00
13754 2 LEVEL CERVICAL PLATE 278 17,940.00
14274 42 MM 2 LEVEL NEO AC PLATE 278 17,940.00
14381 2 LEVEL 46 MM NEO PLATE 278 17,940.00
14412 2 LEVEL GROUP ARTERIOR 278 17,940.00
14788 44 MM 2 LEVEL PLATE 278 17,940.00
5219 2 LEVEL 40 MM GRUVE AC PLATE 278 17,940.00
6293 2 LEVEL 46 MM GRUVE PLATE 278 17,940.00
6299 2 LEVEL 42 MM GRUVE PLATE 278 17,940.00
6316 2 LEVEL 44MM GRUVE PLATE 278 17,940.00
6390 2 LEVEL 40 MM GRUVE PLATE 278 17,940.00
6695 VANGOGH 2 LEVEL 34 MM PLATE 278 17,940.00
7032 2 LEVEL 39 MM PLATE 278 17,940.00
7049 2 LEVEL PLATE 278 17,940.00
7273 PLATE 2 LEVEL 40 MM 278 17,940.00

8150 PLATE 2 LEVEL 36 MM 278 17,940.00



8322 PLATE 2 LEVEL 34 MM
9686 PLATE 2 LEVEL 32 MM
9840 VAN GOGH I 2 LVL PLATE 38 MM
100060 AMNIOTIC MEMBRANE ALLOGRAFT
4181 CHOREOGRAFT ALLOGRAFT 12M
9140 8 MM OPTIO C PLATE
100900 8 X 14 X 16 OPTIO ALLOGRAFT
106889 7 X 14 X 16 OPTIO C ALLOGRAFT
107021 7 X 12 X 14 OPTIO C ALLOGRAFT
107564 OPTIO C12 X 19 X 9 ALLOGRAFT
108585 9 X 14 X 16 OPTIO ALLOGRAFT
10976 ORTHOSPHERE CERAMIC SPHERICAL
11219 IMPLANT ORTHOSPHERE CERAMIC
13040 ORTHOSPHERE CERAMIC SPHERICAL
6387 ORIOS MOLDABLE PLUS BONE
10122 7MM STINGRAY PEEK
10123 8MM STINGRAY PEEK
9711 3.5 MM X 40 MM NERVE WRAP
8490 INFINITY POLY SZ 4 8MM
9158 SIZE 2 8 MM POLY
13145 INFINITY POLY INSERT TOTAL
5611 PRO-DENSE 4 CC
14259 LAPIDUS PLATE 2 MM
9140 ALLOGRAFT H2 10X30MM
11097 EXTENSURE H2 ALLOGRAFT 18MM
12552 LEAD KIT
10987 HYPROCURE SIZE 07 SINUS TARSI
100210 PLATE 4 LEVEL 69 MM
100463 PROFEMUR GLADIATOR PLASMA
100619 PLATE 4 LEVEL 72 MM VAN GOGH
100877 LEGION PS OXIN FEM SZ 3 LT
100926 LEGION PS OXIN FEM SZ 5 LT
106159 PLATE 72 MM
106219 TPRLC 133 T1 PPS HO 14 X 148MM
106255 6.0 Z ROD 300 MM
106285 FEMORAL
106292 PROFEMUR PLASMA Z CLASSIC
106308 PROFEMUR GLADIATOR PLASMA
106312 TPRLC 133 T1 PPS SO 11 X 142MM
106724 FEMORAL
106841 VAN PS OPEN INTL FEM-RT 67.5
107256 LEGION PS OXIN FEM SZ 7 LT
107282 Z-ROD 5.5 MM X 100 MM TITANIUM
107501 ECHO POR FMRL NC 11 X 135 MM
107674 HYPOCURE SIZE 08
107740 ANTHOLOGY SO POROUS SIZE 3
107803 SZ 4 STEM

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

17,940.00
17,940.00
17,940.00
17,902.63
17,827.88
17,812.93
17,806.14
17,806.14
17,806.14
17,806.14
17,806.14
17,790.50
17,790.50
17,790.50
17,790.50
17,753.13
17,753.13
17,753.13
17,693.33
17,685.85
17,678.38
17,678.38
17,664.17
17,663.43
17,663.43
17,653.65
17,595.00
17,595.00
17,595.00
17,595.00
17,595.00
17,595.00
17,595.00
17,595.00
17,595.00
17,595.00
17,595.00
17,595.00
17,595.00
17,595.00
17,595.00
17,595.00
17,595.00
17,595.00
17,595.00
17,595.00
17,595.00



107984 SZ 1 ANTHOLOGY STEM
108184 COROENT LARGE MP T1 10 X9 X
6659 OPTIO-C PLATE 6MM
107911 FIBULOCK NAIL 3.8 X 130 MM
108063 3.0 X 130 LEFT FIBULOCK
7020 6.5X45MM LEGACY PEEK SCREW
7021 6.5X40MM LEGACY PEEK SCREW
7022 7.5X30MM LEGACY PEEK SCREW
12375 LENGTHENING ALLOGRAFT BONE WED
8552 BONE WEDGE 7 MM
8553 BONE WEDGE 6 MM
108212 HUMERAL STEM SIZE 11
7221 ANTERIOR TIBIALIS TENDON FOR
5708 3 LEVEL 58 MM GRUVE PLATE
100623 #3 NAIL
8608 INFINITY POLY INSERT SIZE 2+
13707 60CC BMAKIT
14037 BMA CONCENTRATION SYSTEM
15176 BONE MARROW KIT
10607 MODULAR CERAMIC HEAD 36MM-3
14686 CORTILOC PEGGED GLENOID
9976 AEQUALIS PERFORM CORTILOC
107459 11 MM/ 130 DEG. TI CANN TFNA
9799 ACP PLATE 48MM
106106 VARILIFT 09 MM 12 MM LONG
106107 VARILIFT 10 MM 12 MM LONG
9743 HEMICAP RESURF. SYSTEM 15MM AR
12587 SPEED GRAFT PRE SUTURED TENDON
12960 MIDFLLT OSTEOMTOMY BONE WEDGE
5799 CANCELLOUS SPONGE
6796 QUARTETLEADS U PR
11126 PLATE ATLANTIS ELITE 62.5MM
5379 EVANS WEDGE 10 MM
6963 ORIGIN HIP STEM SIZE 9
7120 ORIGIN HIP STEM SIZE 10
7724 ORIGIN HIP STEM SIZE 13
106785 06AMP 2-HOLE PLATE
107746 LATERAL PLATE 8 MM
107747 LATERAL PLATE 10 MM
5376 MEDIAL SLIDE BEAVER PLATE
9042 77 MM FIBULAR PLATE RIGHT
13166 EVOLUTION INSERT 4+ LEFT 10MM
13623 EVOLUTIONN MP CR INSERT
13640 EVOLUTION MP CR INSERT 5 LEFT
13697 EVOLUTION MP CS INSERT
13957 EVOLUTION MP CR INSERT 6 RIGHT
14218 EVOLUTION MP CS INSERT 4 LEFT

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

17,595.00
17,595.00
17,573.73
17,565.68
17,565.68
17,558.78
17,558.78
17,558.78
17,551.30
17,528.88
17,528.88
17,507.03
17,498.98
17,491.50
17,477.70
17,476.55
17,457.86
17,457.86
17,457.86
17,416.75
17,379.38
17,379.38
17,372.60
17,319.58
17,254.83
17,254.83
17,192.50
17,192.50
17,192.50
17,192.50
17,192.50
17,155.13
17,155.13
17,155.13
17,155.13
17,155.13
17,143.40
17,143.40
17,143.40
17,123.36
17,087.85
17,035.53
17,035.53
17,035.53
17,035.53
17,035.53
17,035.53



5570 EVOLUTION MP CR INSERT 5 RIGHT
107448 GRAFT JACKET NOW THIN 4 X 4 CM
9511 P-L VLP 305 MM M-D TIBIA LK PL

9059 VANGUARD CR TIBIAL BEARING COM
9681 VANGUARD E-POLY PS BEARING 14
9683 VANGUARD OS E-POLY TIBIAL BEAR
9996 VANGUARD TIBIAL BEARING 10X75
10069 TIBIAL BEARING 12 X 71
10856 E1 BEARING 10 X 67
11133 TIBIAL BEARING 18MM X 79MM
11298 E1 AS BEARING 12 X 63
11548 TIBIAL BEARING E1 14 X 63
11561 BEARING E1 12 X 79
11754 TIBIAL BEARING 16 X 75MM
12018 E1 BEARING 18 X 75
12060 TIBIAL BEARING 16MM X 79MM
12178 TIBIAL BEARING E1 14 X 75MM
12272 E1 BEARING 18 X 79
12386 E1 BEARING 18 X 67
12476 14X71 MM ANTERIOR
13666 14 X 83 EL BEARING
14783 12 X 83 EL BEARING
14835 E1 BEARING 10 X 83
5395 16 X 67 E1 BEARING
5951 TIBIAL BEARING 18 X 83
105979 TOTAL KNEE E1 BEARING COMPONEN
107680 GRUVE
13835 CSTS IMPLANT SIZE 8.5 MM
8560 2 X 4 MM TISSUE AMNIOTIC
5560 ALLODERM 4 X 16 CM THICK
6867 ILIAC CREST WEDGE 13 X 26 X 10
7139 ILIAC CREST WEDGE 10 X 30 X 12
7901 PROVIDENT STEM STANDARD
8092 PROVIDENT STEM STANDARD
8266 ILIAC CREST WEDGE 15X 29X 11
8748 ILIAC CREST WEDGE 12 X 28 X 16
9506 ILIAC CREST WEDGE 15X 30X 17
100061 UNICORTICAL BLOCK 7 MM
9463 5.5 X 45 SEXTANT SCREWS
9534 SCREW SEXTANT 6.5 X 50MM
106529 EVOLUTION MP ADAPTIVE CS
8270 TRESTLE PLATE 16MM
115623 ACCELL PUTTY EVO 3C 5CC
9851 IMPLANT SYSTEM PEEK ACHILLES
100780 STRAND PLUS W/ SYRINGE 5 CC
106893 INJECTABLE MACROPOROUS CALCIUM
9235 RESTORATION ADM X3 INSERT ID

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

17,035.53
17,008.50
17,005.63
16,923.40
16,923.40
16,923.40
16,923.40
16,923.40
16,923.40
16,923.40
16,923.40
16,923.40
16,923.40
16,923.40
16,923.40
16,923.40
16,923.40
16,923.40
16,923.40
16,923.40
16,923.40
16,923.40
16,923.40
16,923.40
16,923.40
16,923.40
16,914.66
16,900.98
16,893.50
16,856.13
16,818.75
16,818.75
16,818.75
16,818.75
16,818.75
16,818.75
16,818.75
16,818.75
16,811.28
16,811.28
16,797.36
16,729.05
16,715.25
16,715.25
16,715.25
16,715.25
16,699.15



107606 10 X 24 X 10 MM 7 DEGREE CAGE
107607 10 X 24 X 12 MM 7 DEGREE CAGE
107656 10 X 24 X 11 MM 7 DEGREE CAGE
107753 10 X 20 X 10 MM CAGE
107777 10 X 20 X 12 MM 7 DEGREE CAGE
107548 SMALL REV BASE PLATE
10495 TRIAD PLIG ALLOGRAFT 12MM
10608 TRIAD PLIF ALLOGRAFT 12MM
11098 TRIAD PLIF ALLOGRAFT 14MM
11101 TRIAD PLIF ALLOGRAFT 8MM
8940 "ELEVATE" ANTERIOR AND APICAL
5123 HIP TRIDENT HEMISPHERICAL ACE
106923 6.5 X 40 SCREW
106924 6.5 X 35 SCREW
107348 6.5 X 45 SCREW
107356 5.5 X 40 SCREW
10124 48MM SKYLINE PLATE
10364 AFLEX 100 3.5 X 3.5 ALLOGRAFT
12038 REDUCTION SCREW 6.5 X 45MM
13195 SCREW 5.5 X 45
13246 PRECEPT REDUCTION SCREW 6.5 X
13165 EVOLUTION KEELED TIBIAL BASE
13622 EVOLUTION MP KEELED TIBIAL
13642 EVOLUTION MP KEELED TIBIAL
7137 HAMMER TECH FIXATION SYSTEM
7569 HAMMER TECH FIXATION SYSTEM
100161 EVOLUTION MP KEELED TIBIAL
13203 CLAW Il 2 HOLE 20MM
6460 BIOMET TIBIAL BEARING 10X79
9457 VANGUARD E-POLY BEARING 12 X
9515 E POLY BEARING KNEE 12 X 63/67
14505 10 X 63/67 E1 BEARING
106028 40 MM STRUXXURE 2 LEVEL PLATE
106725 30 MM 2 LEVEL Z PLATE
106125 2 LEVEL 37 MM CERVICAL PLATE
8670 SCREW POLYAXIAL 6.5 X 45MM
8672 SCREW POLYAXIAL 6.5 X 40MM
8673 SCREW POLYAXIAL 7.5 X 45MM
8674 SCREW POLYAXIAL 6.5 X 35MM
11235 PHYSIOMESH 20X25CM OVAL COMPOS
11065 NUCEL TISSUE 1CC
5310 5 CC CELLENTRA PRIME
9044 HOOK PLATE SMALL
6253 BIO D DRY FLEX RESORBABLE
100788 CONTINUUM MULTI HOLE SHELL 56
107114 TRU PROFILE 4 HOLE PLATE 9 MM
108714 SEMI T & GRACILIS

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

16,680.06
16,680.06
16,680.06
16,680.06
16,680.06
16,670.98
16,646.83
16,646.83
16,646.83
16,646.83
16,634.21
16,587.03
16,561.30
16,561.30
16,561.30
16,561.30
16,557.13
16,505.29
16,482.38
16,482.38
16,482.38
16,445.00
16,445.00
16,445.00
16,445.00
16,445.00
16,445.00
16,437.53
16,407.63
16,407.63
16,407.63
16,407.63
16,309.39
16,309.39
16,304.70
16,258.13
16,258.13
16,258.13
16,258.13
16,190.91
16,190.85
16,190.85
16,168.43
16,165.41
16,158.08
16,128.75
16,128.75



6215 TI TROCHANTERIC NAIL KIT 11 X
9252 TOTAL KNEE TIBIAL INSERT ADVAN
100015 TRICORTICAL BLOCK 20-22 MM
108387 CRESCENT PEEK 30 X 14
7419 8X20 TANGENT
7421 10X26 TANGENT
7538 IMPLANT SYSTEM HAND/WRIST
9577 PARS SUTURE TAPE
6708 MINI BIO-PUSHLOCK ARTHREX
12575 MPFL IMPLANT SYSTEM
14536 SUTURE ANCHOR BIOCOMPOSITE
8103 BREAST TISSUE EXPANDER 500 CC
9054 ARTOURA BREAST TISSUE EXPANDER
9053 ARTOURA BREAST TISSUE EXPANDER
100733 PLATE 3 LEVEL 48 MM
106256 PARALLEL TOP SIDE LOADING
106574 PLATE 51MM
106598 PLATE
106607 PLATE 54 MM
107145 PLATE 48 MM
107217 ACT ARTIC E1 HIP BRG 28 X 42MM
107512 PROFEMUR PRESERVE CLASSIC STEM
107516 PROFEMUR PLASMA Z CLASSIC
107853 MONTAGE 5 CC
9740 ATLANTIS TRANSTIBIAL PLATE 35M
8172 28MM REFLEX HYBRID PLATE
8884 CESPACE BONE 6X 14 X11.5
6907 MTP FUSION MEDIUM 5DG LT
106109 1 LEVEL 16 MM CERVICAL PLATE
13072 32MM TWO LEVEL PLATE
6235 22MM NEO PLATE LIFESPINE
7133 NAIL STRYKER ORTHO #3325-0360S
12527 14MM PLATE
12684 5.5 X 45 SCREW
12685 6.5 X 45 SCREW
12686 PROTEXIS GLOVE SIZE 6
12700 14MM CERVICAL PLATE
12841 1 LEVEL 14 MM PLATE
12902 6.5 X 40 SCREW
13044 1 LEVEL 16 MM PLATE
13185 6.5X35 SCREWS
13343 SCREW 4.5 X 45
13571 7.5 X 35 SCREW
13574 GARDNER WELLS TRACTION TONG
13597 4.5 X 40 SCREW
13722 5.5 X 40 SCREW
13858 1 LEVEL 14 MM PLATE

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

16,105.64
16,071.25
16,071.25
16,029.05
16,028.94
16,028.94
15,966.60
15,966.60
15,884.38
15,884.38
15,884.38
15,884.38
15,884.38
15,884.37
15,835.50
15,835.50
15,835.50
15,835.50
15,835.50
15,835.50
15,835.50
15,835.50
15,835.50
15,829.64
15,802.15
15,792.21
15,787.20
15,772.25
15,741.66
15,721.42
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50



13859 7.5 X 45 SCREW
13860 7.5 X 50 SCREW
13918 7.5 X 40 SCREW
14460 1 LEVEL GRUVE 22 MM PLATE
14461 1 LEVEL GRUVE 24 MM PLATE
14962 24 MM 1 LEVEL NEO AL PLATE
15148 6.5 X 50 SCREW
5253 5.5 X 35 SCREW
5709 4.5 X 35 SCREW
5711 7.5 X 55 SCREW
6125 5.5 X 50 SCREW
6273 LEVEL 1 20 MM GRUVE PLATE
6317 1 LEVEL 22 MM GRUVE PLATE
6361 1 LEVEL 20 MM GRUVE PLATE
6411 1 LEVEL 24MM GRUVE PLATE
6513 1 LEVEL 26 MM GRUVE PLATE
6670 6.5 X 30 MM SCREW
6737 AVATAR SCREW
6792 1 LEVEL 22 MM GRUVE PLATE
6818 6.5 X 40 SCREW
6819 6.5 X 45 SCREW

6884 NAUTILUS 6.5 X 50 MM SCREW
6885 NAUTILUS 7.5 X 50 MM SCREW

6931 SCREW 6.5 X 45 MM

6932 SCREW 7.5 X 40 MM

6933 SCREW 8.5 X 50 MM

6994 CLOSED TYPEDG6.5 X L40 MM
7094 CLOSED TYPED®6.5 X L35MM
7116 NAUTILUS SCREW 6.5 X 55
7276 SCREW 7.5 X 45 MM

7302 PLATE 1 LEVEL 14 MM

7373 SCREW 6.5 X 50 MM

7374 SCREW 7.5 X 45 MM

7375 SCREW 6.5 X 55 MM

7378 SCREW 6.5 X 45 MM

7382 CLOSED TYPE D5.5 X L40 MM
7387 SCREW 6.5 X 45 MM

7460 6.5 X 50 MM SCREW

7461 7.5 X 45 MM SCREW

7517 CLOSED TYPE D6.5 X L45 MM
7554 6.5 X 45 MM SCREW

7555 6.5 X 50 MM SCREW

7558 8.5 X 50 MM SCREW

7559 6.5 X 45 MM SCREW

7560 6.5 X 50 MM SCREW

7605 SEMI-CLOSED D6.5 X L40 MM
7607 SEMI-CLOSED D6.5 X L45 MM

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50



7618 6.5 X 50 MM SCREW

7654 6.5 X 40 MM SCREW

7688 SEMI CLOSED D6.5 X 135 MM

7711 5.5 X 40 MM SCREW

7716 SEMI-CLOSED D 5.5 XL 40 MM

7865 SEMI-CLOSED D 5.5 X L 35 MM

7952 SEMI CLOSED D 7.5 X L 40 MM

8154 6.5 X 50 MM EXTENDED TAB

8155 6.5 X 45 MM EXTENDED TAB

8156 7.5 X 40 MM EXTENDED TAB

8159 SEMI-CLOSED D 7.5 X L 45 MM

8330 SEMI CLOSED D 5.5 X L 45 MM

8372 PLATE 1 LEVEL 16 MM

8384 SEMI CLOSED D 6.5 X L 50MM

8603 6.5 X 55 SCREW

9058 SEMI CLOSED D 5.5 X L 50 MM

9505 6.5 X 35 MM SCREW

9685 4.5 X 30 SCREW

9712 NATILUS 5.5 X 45 MM

9816 UNIVERS REVER GLENO 39 +4 LAT

9876 7.5 X 35 MM SCREW

9912 6.5 X 40 MM REDUCTION SCREW

9913 7.5 X 50 MM REDUCTION SCREW

9919 5.5 X 30 MM SCREW

100054 5.5 X 50 MM SCREW

100132 5.5 X 45 MM SCREW

107880 EXTENDED 4 HOLE GTR W/ 4

12755 CELLENTRA VCBM 5CC
9743 PEEK SPEEDBRIDGE

106423 MAX DCM CONST TIB BRG 18 X 63/

10899 UNIFLEX HUMERAL NAIL 8MMX24CM
9217 BUTTRESS PLATE 21 MM

100029 38 + 2.5 HUMERAL LINER
9148 ACP PLATE 30MM
5564 68 MM PLATE

11008 SONOMA PLATE 31MM

10544 TOTAL KNEE TIBIAL COMPONENT
5701 CAMBRIA NW IMPLANT 15 X 13 6MM
5768 CAMBRIA NM IMPLANT 15 X 13 10
6099 CAMBRIA NM IMPLANT 15 X 13 X
6100 CAMBRIA IMPLANT 13 X 12 X5 MM
6225 CAMBRIA NM IMPLANT 13 X 12
6226 CAMBRIA NM IMPLANT 13 X 12 8MM
6504 CAMBRIA NM IMPLANT 13 X 12

106774 ORIGIN HIP STEM 10 STANDARD

12084 PRECEPT SCREW 6.5 X 45MM POLY

107549 36 GLEN REV

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,697.50
15,671.28
15,667.60
15,660.44
15,645.47
15,625.02
15,548.00
15,510.63
15,465.78
15,428.40
15,398.50
15,383.55
15,383.55
15,383.55
15,383.55
15,383.55
15,383.55
15,383.55
15,383.55
15,378.85
15,376.08
15,340.49



100016 UNICORTICAL BLOCK 5 MM
108780 TM PRIMARY STEM 12 MM
108781 TM PRIMARY STEM 14 MM
9242 LEAD KIT FOR SPINAL CORD STIMU
11424 ANTERIOR CERVICAL PLATE 1LEVEL
11497 ANTERIOR CERVICAL PLATE 22MM
10907 ELEVATED RIM INSERT
7130 6 HOLE COMPRESSOR PLATE
12138 COPPERHEAD PEEK CAGE 5MM
14348 CESPACE BONE 6 X 16 X 13.5
8170 7MM ALLOGRAFT BONE STRYKER SPI
8171 6MM ALLOGRAFT BONE STRYKER SPI
7310 32 MM EAGLE PLATE
7311 30MM EAGLE PLATE
11630 SCREW 6.5 X 50
13217 5.5 X 40 MM SCREW
13218 6.5 X 40 MM SCREW
100135 SPLINED KNEE STEM WITH SCREW
100138 SPLINED STEM WITH SCREW
14633 HUMERAL CONDYLE KIT
10558 MODULAR CERAMIC HEAD 28MM STD
5414 MTP PLATE 5 MEDIUM RIGHT
11110 ACETABULAR COVER E1 +3 40MM
107438 EVOLUTION NITRX MP KNEE
6232 PERMACATH DECATHALON GOLD 23CM
7603 15MM 20X30 ARTICULOR COMP
9249 TOTAL KNEE TIBIAL BASE COBALT
9251 TOTAL KNEE FEMORAL COMPONENET
10182 CERVICAL PLATE ANTERIOR DIAMON
10937 DIAMOND ACDF CERVICAL PLATE 22
11049 1-LEVEL PLATE 22MM
11327 PLATE 42MM
12567 50CM 8 CONTACT LEAD KIT
12661 SUTURE ANCHOR 2.9 X 12.5 MM
12988 TITANIUM BONE WEDGE 20X30MM,
12989 TITANIUM BONE WEDGE 20X30MM,
14102 DYNASTY BIOFOAM SHELL SIZE 48
15083 ALLOWEDGE BICORTICAL EVANS 8MM
6677 JRNY Il BCS XLPE ART ISRT SZ
8500 DYNASTY BIOFOAM SHELL 46MM
13083 ACHILLES SPEEDBRIGE KIT
13840 CLARIXCORD 1K2.5X 2.5CM
7961 ZILVER .035 DRUG STENT 6.0 X
7966 ZILVER 7.0 X 120 MM
9388 CROSSLINK
9389 CROSSLINK
14296 TFN 11 X 130

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

15,323.75
15,261.75
15,261.75
15,256.99
15,249.00
15,249.00
15,243.81
15,219.10
15,210.88
15,189.20
15,143.15
15,143.15
15,136.88
15,136.88
15,136.88
15,129.40
15,129.40
15,096.51
15,096.51
15,046.76
15,039.70
15,026.62
14,979.90
14,955.75
14,950.00
14,950.00
14,950.00
14,950.00
14,950.00
14,950.00
14,950.00
14,950.00
14,950.00
14,950.00
14,950.00
14,950.00
14,950.00
14,950.00
14,950.00
14,950.00
14,912.63
14,912.63
14,912.63
14,912.62
14,867.78
14,867.78
14,867.78



8124 PRO-DENSE BONE SUBSTITUTE 4CC
13033 INBONE POLY INSERT
8096 ACCOLADE 11 127 DEGREE NECK
10334 38X19 HEMERAL HEAD
8767 VITOSS BA BIOACTIVE 10CC STRIP
11489 CERAMENT BONE VOID FILLER
9730 HUMERAL HEAD TOTAL SHOULDER
9731 HUMERAL STEM TOTAL SHOULDER
9495 4.75 PEEK DOUBLE LOADED
9729 DBL LOADED 5.5 MM PEEK SWVLK
9679 CESPACE BONE 7 X 14 X 11.5 LOR
13735 CESPACE BONE 11 X 14X 11.5
14183 CESPACE BONE 7 X 16 X 13.5 ROD
6811 KNEE DEPUY TIBIAL INSERT COMP
7875 KNEE - TIBIAL INSERT DEPUY
9516 TRANSLATERAL PLATE 19MM
10627 PLATE ELITE 21MM
12560 3.5MM 90 POLYAX SCREW- 12MM
106382 12 MM X 100 MM STEM
106438 JRF GRAFTLINK XL
106462 10MM PRECUT FRESH
106977 IMPLANT SYSTEM LATERAL ANKLE
107176 3 RIGHT PRIMARY CEMENTED
107258 GIl LNG STEM 10 MM X 100 MM
107416 STENT 82086-01
107785 XACT CAROTID STENT
107801 48 MM MULTI HOLE SHELL
108298 XACT 9-7 MM X 30 MM CAROTID
108691 TACTOSET
9432 REUNION RSA X3 HUMERAL INSERT
107835 LGN POS FEM WDG 5 MM SZ 7-8
12009 MIS ANY PLUS SCREW CANNULATED
13413 MDCO PLATE
6505 3 LEVEL PLATE 54 MM
10553 E1 ACETABULAR LINER 36 MM
10556 ACETABULAR E1 28MM HIWALL
10951 RINGLOC LINER E-1 +3 MROM
14304 BIOREADY DBM PUTTY W/CHIPS 5CC
7849 LONG TROCHANTERIC PLATE
10736 FEMORAL COMPONENT TRIATHLON CR
11068 TOTAL KNEE CRUCIATE RETAINING
11250 RODS 50MM
12243 POSTERIOR STABILIZED FEMORAL S
12899 POSTERIOR STABILIZED FEMORAL
6547 TRIATHLON CRUCIATE RETAINING
6970 TRIATHLON CRUCIATE RETAINING
106649 STEM #7

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

14,837.88
14,830.40
14,817.47
14,807.98
14,800.50
14,800.50
14,763.13
14,763.13
14,763.13
14,763.13
14,744.07
14,744.07
14,744.07
14,698.09
14,698.09
14,688.38
14,688.38
14,683.52
14,662.50
14,662.50
14,662.50
14,662.50
14,662.50
14,662.50
14,662.50
14,662.50
14,662.50
14,662.50
14,662.50
14,656.98
14,656.64
14,646.37
14,636.05
14,636.05
14,613.63
14,613.63
14,613.63
14,603.85
14,591.20
14,576.25
14,576.25
14,576.25
14,576.25
14,576.25
14,576.25
14,576.25
14,574.53



11991 1MM PLATE
8705 INBONE TIBIAL TRAY SIZE #3
11421 ANTERIOR CERVICAL PLATE 2LEVEL
13067 EXTENDED TAB SCREWS 6.5X45
13068 EXTENDED TAB SCREW 6.5X45
13087 PERC EXTENDED TAB SCREW
13159 EXTENDED TAB SCREW 6.5X40MM
13273 EXTENDED TAB MOMAX SCREW 6.5 X
13274 EXTENDED TAB PERC SCREW
13447 EXTENDED TAB PERC SCREW 65 X
13448 EXTENDED TAB MOMAX SCREW 65 X
14119 MD-MAX SCREW 6.5 X 40 MM
14120 MD-MAX SCREW 6.5 X 45 MM
14201 TRIPLE LEAD POLYAXIAL 6.5 X
14295 EXTENDED TAB POLYAXIAL SCREW
108641 ACCOLADE Il 127 DEGREE NECK
10053 CERVICAL PLATE 8 HOLE 52MM
107865 CERVICAL HIVE-C INTERBODY
13032 INBONE TIBIAL TRAY
13034 INBONE TIBIAL TRAY
108170 FLEXI GRAFTLINK TS D 10.5
108609 FLEXIFRAFT GRAFTLINK TS: D =
6366 BIOSPHERE PUTTY
10111 PLATE VECTRA 1 36 MM
10706 OSS POROUS COATED IM STEM W/
11692 POROUS STEM 17.5 X 150
11693 POROUS STEM 14.5 X 90
14034 0SS 14 X 150 POROUS STEM
14315 0SS 18.5 X 150 STEM
13265 PLATE FIXED 1 LEVEL 10MM
5125 HIP TRIDENT POLY INSERT X3
6687 5 CC TENSIX CRUNCHY PUTTY
13710 2 LEVEL CERVICAL PLATE 30MM
5305 53 MM SNOWCAP PLATE
107378 10 CC DBM FIBER
6713 6.5 X 45 LONG SCREW
12640 CESPACE BONE 6X14X11.5 LORD.
13054 LAPIDUS PLATE-O STEP
100659 EXTENSURE Il H2 ALLOGRAFT 20
100875 EXTENSUREH2 ALLOGRAFT 16 MM X
9246 WMT COMPOSITE DBM 4CC
13057 FUSE FORCE 10MMX10MM
14342 INFUSE EXTRA SMALL
14406 SOLANA FUSEFORCE IMPLANT KIT
9071 AXOGUARD NERVE PROTECTOR
14729 SHORT POST SCREW 7.5 X 45 IN
5207 SHORT POST PEDICLE SCREW 7.5 X

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

14,553.83
14,538.88
14,538.88
14,538.88
14,538.88
14,538.88
14,538.88
14,538.88
14,538.88
14,538.88
14,538.88
14,538.88
14,538.88
14,538.88
14,538.88
14,519.87
14,516.45
14,515.88
14,464.13
14,464.13
14,451.36
14,451.36
14,426.75
14,419.28
14,411.80
14,411.80
14,411.80
14,411.80
14,411.80
14,389.38
14,374.43
14,359.48
14,352.00
14,352.00
14,339.93
14,329.58
14,314.63
14,299.68
14,274.77
14,274.77
14,239.88
14,239.88
14,239.88
14,239.88
14,222.62
14,202.50
14,202.50



5286 PEDICLE SCREW 6.5 X 55 MM
6154 PEDICLE SCREW 7.5 X45TL
6186 TL SCREW 6.5 X 50 MM
6850 SCREW 6.5 X 45 MM
9701 TL SCREW 7.5 X 50 MM
100566 COMP RVS TRAY CO 44 MM
7420 X-10 CROSSLINK
7511 CROSSLINK 34-35MM
10781 LEAD KIT SPINAL CORD TRIAL
10783 LEAD KIT SPINAL CORD STIMULATO
11011 LEAD KIT
6363 HIP - LINER ZIMMER
8166 PLATE 4 HOLE
9415 POLY SCREW 5 X 40MM
9416 POLY SCREW 6X40MM
9417 POLY SCREW 6 X 40MM
10740 AMS CONCEAL RESERVOIR, 100ML
106810 ACCOLADE Il 132 DEGREE NECK
100889 PLATE 32 MM
100897 PLATE 30 MM
106000 INFINION 16 70 CM 16 CONTACT
107064 G7 NEUTRAL E1 LINER 36 MM D
107242 ARCOMXL 36 MM RLC LNR HW SZ 24
107318 G7 NEUTRAL E1 LINER 36MM F
107341 PLATE 34 MM
107493 G7 VIT E NEUTRAL LNR 40 MM F
11505 MEDIAL DISTAL TIBIAL PLATE 8HO
13479 DPS STEP PLATE
14629 INCORE LAPIDUS 5.9 MM X 28 MM
6914 HUMAN ALLOGRAFT
107751 FLEXPATCH 3 X 4 CM
107956 FLEXPATCH 3 X 4 CM
108689 FLEXPATCH 3 X4 CM
6771 PAIN PUMP W/ SELECTAFLOW CB004
100017 MATRIX CELLECT 100 DBM PUTTY
8069 MINI IGNITE
6643 M2 4 HOLE PLATE
9719 T-PLATE
100430 7 MM OPTIO C PLATE
107518 7 MM OPTIO C PLATE
14094 CROSS CONNECTOR
7503 7MM PLIF BONE
7504 SMM PLIF BONE
11486 STAGRAFT DBM PLUS 10CC
9353 LEAD KIT MEDTRONIC 3778.60
14697 GLADIATOR BIPOLAR SHELL 45 MM
12085 PRECEPT SCREW 7.5 X 45MM POLY

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

14,202.50
14,202.50
14,202.50
14,202.50
14,202.50
14,163.98
14,157.65
14,157.65
14,147.39
14,147.39
14,147.39
14,142.70
14,127.75
14,127.75
14,127.75
14,127.75
14,122.44
14,097.28
14,076.00
14,076.00
14,076.00
14,076.00
14,076.00
14,076.00
14,076.00
14,076.00
14,075.43
14,075.43
14,064.27
14,053.00
14,046.68
14,046.68
14,046.68
14,015.63
14,015.63
14,000.68
13,993.20
13,993.20
13,976.30
13,976.30
13,933.40
13,885.56
13,885.56
13,873.60
13,870.00
13,858.65
13,828.75



12812 TOV SUBTALAR #1 TI 8MM D BLUE
13999 ESSURE PERMANENT CONTRACEPTIVE
100084 HDL 7.0 MM X 100 MM LONG
100087 HDL 7.0 MM X 75 MM LONG THREAD
100088 HDL 7.0 MM X 70 MM LONG THREAD
8769 CROSS CONNECTORS 45-60MM SPINE
108543 54 MM PLATE
108624 45 MM 3 LEVEL PLATE
106059 VIVIGEN FORMABLE 5 CC
107914
11430 ARTERIOCYTE HARVEST AND IMPLAN
8245 MONOTUBE WRIST FIXATOR STERILE
108493 KEELED GLENOID MODEL S30
6101 2 LEVEL PLATE 24 MM
6102 2 LEVEL PLATE 30 MM
6227 2 LEVEL PLATE 30 MM
106010 STANDARD LEFT VOR PLATE
13908 LINEAR ST 70 CM 8 CONTACT LEAD
9214 PEDICLE CROSS CONNECTOR 45 MM
9215 PEDICLE CROSS CONNECTOR 60 MM
100563 COMP RVRS 25 MM BSPLT HA+
106647 36 X 4 SPHERE
107559 HMRL BEARING 36 MM STD VITE
11885 DISTAL TIBIAL MEDIAL LOCKING P
4933 POSTERIOR TIBIALIS FOR ACL
10187 UNICOMP. KNEE TIBIAL COMPONENT
10308 LEAD KIT
10322 TOTAL KNEE TIBIAL COMPONENT SI
13654 EVOLUTION MP CS INSERT 4 RIGHT
14637 3.5 PEEK PUSH LOCK
5213 5.5 X 40 NAUTILUS REDUCTION
5214 5.5 X 50 NAUTILUS REDUCTION
5215 7.5 X 50 NAUTILUS REDUCTION
5216 6.5 X 50 NAUTILUS REDUCTION
5217 7.5 X 45 NAUTILUS REDUCTION
5218 7.5 X 40 NAUTILUS REDUCTION
6065 EVOLUTION MP CS INSERT SIZE 4
6474 EVOLUTION MP CS INSERT 6 LEFT
6628 EVOLUTION MP CS INSERT 4 RIGHT
6655 EVOLUTION MP CS INSERT SIZE 3
7159 GRACILLIS ALLOGRAFT
7949 2.9 X 12.5 PEEK PUSHLOCK
8199 EVOLUTION MP CR INSERT USE WI
9728 SUTURE ANCHOR PUSHLOCK
14796 SM HYBRID GLENOID
100862 8.5 X 240 MULTILOC SCREW
12654 STERIFUSE DBM PUTTY 5CC

51421

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

13,828.75
13,828.75
13,828.75
13,828.75
13,828.75
13,811.94
13,800.35
13,800.35
13,773.95
13,771.02
13,754.40
13,641.88
13,636.13
13,589.55
13,589.55
13,589.55
13,583.34
13,578.95
13,559.65
13,559.65
13,489.50
13,489.50
13,489.50
13,469.95
13,455.00
13,455.00
13,455.00
13,455.00
13,455.00
13,455.00
13,455.00
13,455.00
13,455.00
13,455.00
13,455.00
13,455.00
13,455.00
13,455.00
13,455.00
13,455.00
13,455.00
13,455.00
13,455.00
13,455.00
13,432.58
13,429.62
13,421.36



15095 FORMA DBM PUTTY SYRINGE 5 CC
15105 FORMA DBM PUTTY VIAL 5 CC
6380 OSTEOLINK DBM 5 CC
6507 DBM
6764 5 CC DBM
7372 DBM
7459 DBM
7557 DBM
7608 5 CC DBM
7617 DBM
9130 CROSS CONNECTOR MEDIUM
9280 CROSS CONNECTOR SMALL
11070 COMP BONE MATRIX 50 X 10 7MM
12405 STS IMPLANT 8.5MM
7959 ZILVER 6.0 X 80 MM
11650 FIXATE TISSUE BAND
6913 CANCELLOUS CRUSHED 1-4 MM 15CC
7140 CANCELLOUS CHIP 1-4 MM 10CC
7568 CANCELLOUS CRUSHED 1-4 MM 10
7821 5 CC DBM
13400 SCREW 6.5 X 40
13794 6.5 X 35 SCREW
13807 SCREWS 6.5 X 45
14017 5.5 X 45 SCREW
14038 5.5 X 40 SCREW
14464 6.5 X 40 SCREW
14465 6.5 X 45 SCREW
8710 INBONE POLY SIZE #3
9814 UNIVERS REVERS SUTURE CUP 39
7506 12MM TRESTLE PLATE
7561 A.C. PLATE 14MM
9673 ACP PLATE 12MM
6869 5 CC DBM PUTTY
13134 6FT LATERAL FIBULA PLATE
14022 DTRAX CERVICAL CAGE T
15164 DTRAX CERVICAL CAGE 8
6666 CAVUX CERVICAL CAGE-B 5MM
9485 ALLOGRAFT WEDGE
9767 CAVUX CERVICAL CAGE-B
9789 ALLOGRAFT WEDGE
107100 ORIGIN HIP STEM SIZE 11
9276 ABC PLATE 6HOLE 37MM
9310 5.5 X 45 POLYAXIAL SCREW
107437 EVOLUTION NITRX MP KEELED
9747 2CVA DISTAL RADIUS L STANDARD
9842 2.4 MM VA-LCP 2-COL DISTL
100841 FGL GRAFTLINK -ZORC FLEXIGRAFT

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

13,421.36
13,421.36
13,421.36
13,421.36
13,421.36
13,421.36
13,421.36
13,421.36
13,421.36
13,421.36
13,417.63
13,417.63
13,417.63
13,417.63
13,417.63
13,380.25
13,380.25
13,380.25
13,380.25
13,380.25
13,361.56
13,361.56
13,361.56
13,361.56
13,361.56
13,361.56
13,361.56
13,342.88
13,342.88
13,312.98
13,312.98
13,312.98
13,305.50
13,283.08
13,268.13
13,268.13
13,268.13
13,268.13
13,268.13
13,268.13
13,267.45
13,253.18
13,208.33
13,196.25
13,156.00
13,156.00
13,126.99



9753 CESPACE BONE5X 14 X11.5MM
10201 CESPACE BONE 7 X 14 X 11.5 PAR
11326 PLATEAU C 7 DEGREE
12698 6 DEGREE 8MM CAGE
12733 10 DEGREE 9MM CAGE
13487 10 DEGREE 8 MM CAGE
13585 10 DEGREE 7MM CAGE
13586 6 DEGREE 7MM CAGE
13700 12 X 14 X 8MM X 6 CAGE
13753 12 X 14 X 7MM 6
13776 12 X 14 X 6MM X 7 CAGE
13778 12 X 14 X 5MM 10 CAGE
13797 6 DEGREE 6MM CAGE
14032 6 DEGREE 6MM CAGE
14272 14 X 11 X 7MM X 7 DEGREE
14273 14 X 11 X 8 X 7 DEGREE
14684 16X13X7MM X 7 DEGREE PLATEAU
14715 16 X 13 X 8 X 7 DEGREE PLATEAU
14787 16 X 13 X9 X 7 DEGREE PLATEAU
14792 16 X 13 X 6 X 7 DEGREE PLATEAU
14976 14 X 11 X6 X 7 DEGREE PLATEAU

5425 14 X 11 XP PLATEAU C CAGE

5704 14 X 11 X 7 PLATEAU C CAGE

5874 11 X 14 X 12 X 7 PLATEAU CAGE

6114 14X 11 X5 X 7 DEGREE PLATEAU

6274 14X 11 X6 X7 DEGREE PLATEAU

6275 14 X 11 X5 X 7 DEGREE PLATEAU

6292 14 X 11 X 12 PLATEAU C CAGE

6526 16 X 13 X 7 PLATEAU C CAGE

6585 16 X 13 X 5 X 7 DEGREE PLATEAU

6694 MATISSE 14 X 12 X 6 X 6 DEGREE

7027 12 X 14 X 6 X 6 DEGREE CAGE

7031 12X 14 X7 X 6 DEGREE CAGE

7105 16 X 13 X 8 X 7 DEGREE PLATEAU

7271 PEEK W17 X L14 HTMM

7272 PEEK W17 X L14 HSMM

8022 PEEKW 14 XL12H7 MM

8184 6 DEGREE PEEK CAGE W 14 X L 12

8373 PEEKW 14 XL 12 H8 MM

8463 0 DEGREE PEEKW 14 X L 12 H

8695 PEEKW 17X L14H6 MM

9400 O DEGREE CONVEX PEEK W17 X L14

9407 6 DEGREE CAGE W14 X L12 H5MM

9841 PEEKW 17 XL 14 H 10 MM

9971 USP Il HUMERAL HEAD 50/21

7309 ENVELOPE CMRM6133 ABSORB

9817 MOZAIK PUTTY 15CC

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

13,088.73
13,088.73
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,081.25
13,068.17
13,059.99



11517 SPEEDBRIDGE WITH BIOCOMPOSITE
14063 ALLOGRAFT PATCH2 CM X3 CM
5757 AMNION 2 X 4
5766 ALLOGRAFT 2 X 4 SINGLE LAYER
7760 ALLOGRAFT PATCH2 CM X4 CM
9920 AMNION PATCH 2 X 3
5779 SIZE 7 LEFT TIBIAL BASEPLATE
6675 JOURNEY TIBIABASE NP RT SZ 4
8697 JOURNEY TIBIA BASE NP RT SZ 4
108019 ANTERIOR TIBIAL
11234 LPS OMM PLATE
106341 VISIONAIRE BLOCKS
9965 PENILE IMPLANT 700 RESERVOIR
108275 GRAFT 81B001LL
13641 EVOLUTION MP KEELED TIBIAL
7689 EVOLUTION MP CS USE W FEMUR
9128 EVOLUTION MP CS IMPLANT 4
100331 EVOLUTION MP CS SIZE 4 LEFT
100607 INJECTABLE MACROPOROUS CALCIUM
106017 5.5 X 45 MM INERTIA REDUCTION
106018 5.5 X 40 MM INERTIA REDUCTION
106019 6.5 X 40 MM INERTIA REDUCTION
106023 5.5 X 50 MM INERTIA REDUCTION
106024 6.5 X 45 MM
106090 RELINE O MOD SHANK 6.5 X 40MM
106113 6.5 X 3.5 MM INERTIA REDUCTION
106368 6.5 X 50 MM
106645 24 MM BASEPLATE
6647 ACHILLES SPEEDBRIDGE
15074 ALLOMATRIX C BONE PUTTY 10 CC
107918 9.5 MM TI MULTILOC PROX
9678 ABC PLATE 6 HOLE X 40MM
9752 CERVICAL PLATE 6 HOLE 34MM
13496 ABC Il PLATE 8 HOLE X 55 MM
9808 UNIVERSAL GLENOID BASEPLATE
14230 STIMUBLAST DBM PUTTY 10 CC
100572 COMP RVSR SHLDR GLNSP + 3.36
107558 COMP RVRS SHLDR GLNSP STD 36
10734 FEMORAL COMPONENT TRIATHALON C
100918 INQU MIX PLUS 10 CC
8989 BLACK WIDOW BUTTRESS PLATE 19M
9439 BLACK WIDOW 23MM BUTTRESS PLAT
10475 "UNIPOLAR" HIP CAP PRICE
9888 CONTINUUM CLUSTER HOLE SHELL
8634 TRIATHLON CRUCIATE RETAINING
9060 KNEE LIGAMENT LATERAL BRACE
10908 FEMORAL HEAD

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

13,006.50
13,006.50
13,006.50
13,006.50
13,006.50
13,006.50
12,969.27
12,969.27
12,969.27
12,961.65
12,946.70
12,932.33
12,931.75
12,914.73
12,903.00
12,903.00
12,903.00
12,903.00
12,903.00
12,903.00
12,903.00
12,903.00
12,903.00
12,903.00
12,903.00
12,903.00
12,903.00
12,903.00
12,900.00
12,894.38
12,889.81
12,864.48
12,864.48
12,864.48
12,819.63
12,819.62
12,815.03
12,815.03
12,798.33
12,785.70
12,782.25
12,782.25
12,782.25
12,782.25
12,772.02
12,767.30
12,732.66



11450 SCREW POLYAXIAL 7.5 X 40MM
11482 REFORM POLYAXIAL SCREW 7.5 X 4
11757 REFORM POLYAXIAL SCREW 4.5X40
12032 REFORM POLYAXIAL SCREW 8.5 X 4
12108 REFORM POLYAXIAL SCREW 7.5 X
11448 SCREW 6.5 C 45MM POLYAXIAL
11449 SCREW POLYAXIAL 6.5 X 50MM
11454 POLYAXIAL SCREW REFORM 5.5X45M
11455 SCREW POLYAXIAL REFORM 7.5X50M
11494 REFORM POLYAXIAL 6.5 X 55MM
115622 SCREW REFORM POLYAXIAL 6.5 X
12033 REFORM POLYAXIAL SCREW 8.5 X 4
12094 REFORM POLYAXIAL SCREW 5.5X50
12106 REFORM POLYAXIAL SCREW 5.5 X
12383 REFORM POLYAXIAL SCREW 6.5 X 3
12890 7.5X55 POLY SCREW
13903 6.5 X 35 SCREW
14366 SCREW POLYAXIAL 7.5 X 40MM
14420 POLYAXIAL SCREW 6.5 X 35
11388 EDGELOCK 2 HOLE CALCANEAL PLAT
15084 SPEED IMPLANT 15X 12 X 12 MM
8880 ABC CERVICAL PLATE 22MM AESCUL
9804 TRIAD LORDOTIC CC 6X11X14
11916 TENFUSE 2.7 X 18MN
11917 TENFUSE 2.7 X 18MM ANGLED
12273 TENFUSE 2.0 X 15MM
12396 TENFUSE 2.0 X 15MM
107143 PEEK CAGE 6 MM
107144 PEEK CAGE 7 MM
7677 4.75 SWIVELOCK PASTA BRIDGE
8770 POLYAXIAL SCREW 6.0 X 40MM
8771 POLYAXIAL SCREW 6.0 X 45MM
8899 POLYAXIAL SCREW 7.0 X 30MM
8948 SCREW POLYAXIAL 6MM X 50MM
8991 POLYAXIAL SCREW 7.0 X 35MM
10833 PLATE DISTAL TIBIAL 6 HOLE LEF
9796 ALPHAGRAFT DBM PUTTY 10CC
4111 CHORUS ALLOGRAFT 8MM ALPHATEC
4110 CHORUS ALLOGRAFT 7MM ALPHATEC
10145 EXPLORE RADIAL STEM 7MM
13386 OXFORD B RT TIBIA
13390 OXFORD B LT TIBIA
13713 TIBIAL TRAX
14115 OXFORD C TIBIA
14500 SZ. F KM TIBIA
5594 OXFORD A TIBIA
6262 OXFORD F TIBIA

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

12,730.07
12,730.07
12,730.07
12,730.07
12,730.07
12,729.93
12,729.93
12,729.93
12,729.93
12,729.93
12,729.93
12,729.93
12,729.93
12,729.93
12,729.93
12,729.93
12,729.93
12,729.93
12,729.93
12,714.98
12,707.50
12,700.03
12,671.79
12,670.13
12,670.13
12,670.13
12,670.13
12,668.40
12,668.40
12,655.18
12,640.23
12,640.23
12,640.23
12,640.23
12,640.23
12,632.75
12,595.49
12,587.90
12,587.90
12,580.43
12,580.43
12,580.43
12,580.43
12,580.43
12,580.43
12,580.43
12,580.43



8202 OXFORD CTIBIA
14159 OXFORD A TIBIA
8772 SET CAP SCREW TALON PEDICLE
9381 7.5 X 35 SOLERA SCREW
9382 7.5 X 40 SOLERA SCREW
9383 6.5 X 45 SOLERA SCREW
9385 6.5 X 50 SOLERA SCREW
9609 SOLERA SCREW 5.0 X 50MM
10146 RADIAL HEAD 14 X 20
9078 FORMAGRAFT BLOCK XL
9205 E POLY TIBIAL BEARING
9651 TIBIAL BEARING 12 X 75 E-1
10978 SIGNATURE KNEE BEARING 12 X 67
11203 TIBIAL BEARING E-1
11665 El BEARING 16 X 67
12185 TIBIAL BEARING E-1 10X 71
13527 14 X 79 E1 BEARING
8618 PS TIBIAL BEARING 10 MM 63/67
108602 FLEX SHOULDER SYSTEM 36 MM
5702 1 LEVEL PLATE 10MM
5769 1 LEVEL PLATE 14 MM
106091 RMM MOD TULIP
9577 PROSTOP 8 X 14
100760 SYNDESMOSIS TIGHTROPE XP
12139 23MM SEMI CONSTRAINED PLATE
12709 RELIEVA SPIN BALLOON SINUPLA
9193 2 MM X 15 MM NERVE CONDUIT
10058 TIBIAL NAIL 8 X 315
107916 GRAFT SEMI T SIZE 5
14103 CERAMIC FEMORAL HEAD SIZE 28MM
11800 NAN OSS BONE VOID FILLER 5CC
6228 2CVA DISTALRADIUS 6 X 3 L
11667 ESCALATE CERVICAL PLATE
7387 MINI IGNITE POWER MIX
10935 GENIN PUTTY 10CC
11439 PHALANGEAL COMPONENT 0.1
12969 1.7MM LAPIDUS PLATE, 4 HOLES
100185 8.5 X 45 SCREW
100209 GRUVE PLATE 38 MM
100211 SEMI CLOSED D 6.5 X L 55 MM
100422 PLATE 1 LEVEL 12 MM
100881 4.5 X 40 SCREW
100882 4.5 X 35 SCREW
100883 5.5 X 40 SCREW
100884 4.5 X 40 SCREW
100908 PLATE 14 MM
100912 6.5 X 50 SCREW

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

12,580.43
12,580.42
12,574.56
12,572.95
12,572.95
12,572.95
12,572.95
12,572.95
12,572.95
12,558.00
12,558.00
12,558.00
12,558.00
12,558.00
12,558.00
12,558.00
12,558.00
12,558.00
12,543.83
12,543.05
12,543.05
12,539.37
12,527.64
12,527.64
12,520.63
12,520.63
12,520.63
12,498.20
12,492.45
12,475.78
12,408.50
12,356.18
12,348.70
12,333.75
12,333.75
12,333.75
12,318.80
12,316.50
12,316.50
12,316.50
12,316.50
12,316.50
12,316.50
12,316.50
12,316.50
12,316.50
12,316.50



100913 6.5 X 40 SCREW
100943 6.5 X 45 SCREW
100957 6.5 X 40 SCREW
100958 6.5 X 45 SCREW
106069 6.5 X 35 SCREW
106329 5.5 X 45 SCREW
106507 7.5 X 45 SCREW
106508 7.5 X 40 SCREW
106534 4.5 X 45 SCREW
107006 SEMI CLOSED D 7.5 L 50 MM
107308 6.5 X 40 SCREW
107344 8.5 X 40 SCREW
107560 HMRL TRAY STD
107586 PROFEMUR PRESERVE CLASSIC STEM
107683 PROFEMUR PLASMA Z CLASSIC
107762 SZ 4 L FEMUR
107869 NANOSS LOADED 5 CC
108179 PROFEMUR PRESERVE CLASSIC
108182 PROFEMUR PRESERVE CLASSIC STEM
108260 LEGION PS OXIN FEM SZ 7 RT
108282 TPRLC 133 T1 PPS HO 12 X 144MM
108386 CRESCENT BONE 14 X 30
108589 NAN OSS LOADED 5 CC
108629 PROFEMUR PRESERVE CLASSIC STEM
6846 TRIATHLON CRICIATE RETAINING
9418 CON WEDGE 8 MM
14294 67 MM 3 HOLEPERI-LOC 3.5 MM
100393 AUGMENT INJECTABLE KIT 1.5 CC
10891 TI SCREW ANCHOR W NEEDLES 3MM
4182 CROSSLINK
4229 CROSSLINK 75MM
106032 8 MM 16 DEGREE CERVICAL
106033 9 MM 16 DEGREE CERVICAL
106112 10 MM/ 6 DEGREE CERVICAL
7270 HYDROSET

11636 BMC KIT BONE MARROW CONCENTRAT

11012 ANCHORS 3.0 BIOCOMPOSITE SUTUR
11491 DBRIII SCREW 6.5 X 45MM
11588 SCREW 6.5 X 40MM
12141 SCREW 7.5 X 45MM
5451 NERVE PROTECTOR 3 MM X 20 MM
106262 LAPIDUS WEDGE 12 DEGREE X 12MM
14904 4.5 X 50 SCREW
14905 SCREW 4.5 X 55
100492 TOROSA TESTICULAR IMPLANT
8715 TOROSA TESTICULAR IMPLANT
5027 OCTRODE TRIAL KIT 60CM LEAD

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

12,316.50
12,316.50
12,316.50
12,316.50
12,316.50
12,316.50
12,316.50
12,316.50
12,316.50
12,316.50
12,316.50
12,316.50
12,316.50
12,316.50
12,316.50
12,316.50
12,316.50
12,316.50
12,316.50
12,316.50
12,316.50
12,316.50
12,316.50
12,316.50
12,285.69
12,273.95
12,259.00
12,257.85
12,229.10
12,229.10
12,229.10
12,199.20
12,199.20
12,199.20
12,184.25
12,163.77
12,146.88
12,146.88
12,146.88
12,146.88
12,124.06
12,111.23
12,075.00
12,075.00
12,052.58
12,052.57
12,038.20



15027 IMPLANT SYSTEM ACUTE AC REPAIR
108767 48 MM PLATE
13071 12X14X7 PEEK CAGE 5 DEGREE
13266 BRECKENRIDGE PEEK 7MM X 12 X
10114 PARALLEL BONE SPACER 6MM
6364 HIP MODULAR NECK 7848-022-00
14732 RIGHT SACRAL PLATE IN & OUT
7920 | FACTOR BONE GRAFT
5199 2.4 MM VA DISTAL RADIUS PLATE
10545 TOTAL KNEE ART. SURFACE SIZE E
9302 TISSUE EXPANDER 550CC 7200 STY
7037 2.4 MM VA DISTAL RADIUS PLATE
11904 DERMA GRAFT 2" X 3"
9331 FORMAGRAF STRIP
106698 4.0 X 30 SCREW
106699 3.5 X 12 SCREW
10490 TOTAL HIP ACETABULAR LINER 32M
9626 TOTAL KNEE - TIBIAL COMPONENT
10573 TIBIAL PLATE 75/ | BEAM
13667 83 TIBIA
6769 DFS - TOTAL WRIST FIXATOR
7464 10CC PROGENIX
9788 POLY SCREW DENALI 5.5 X 50MM
9789 POLY SCREW DENALI 5.5 X 40MM
10574 SCREW POLY 6.0 X 40MM
10575 SCREW POLY 6.0 X 45MM
11072 SCREW 5.5 X 40MM
11545 HYPROCURE IMPLANT SIZE 06
100565 E1 44-36 STD HMRL BRNG
11389 SIDE LOADING ROD CONNECTOR
9970 UNIVERS VAULTLOCK GLENOID
6686 HOOK PLATE
107286 ACELL EVO3CPUTTY 5 CC
5817 DISTAL BICEP IMPLANT
100690 DYNASTY BIOFOAM SHELL 52 MM
106289 PRIME BIOFOAM QUAD SHELL 54MM
106305 PRIME BIOFOAM QUAD SHELL 48 MM
106342 TIBIAL BASEPLATE
106735 JOURNEY TIBIA BASE NP LT SZ 3
107541 ECLIPSE HUMERAL HEAD 47/20
107708 EVOLUTION NITRX MP KNEE
9264 SCREW ARMADA 8.5 X 45MM
10359 SCREW POLYAXIAL 5.5 X 50MM
8188 AUTOPLEX W/VERTAPLEX HV
9741 PROSTOP 9 X 14MM SUBTAYLOR ART
10077 34MM 2 LEVEL HELIX R CERVIAL P
9797 TRIATHLON POSTERIOR STABILIZED

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

12,019.80
12,000.30
11,989.90
11,989.90
11,968.27
11,960.00
11,960.00
11,960.00
11,952.52
11,930.10
11,922.63
11,907.68
11,885.25
11,883.50
11,876.63
11,876.63
11,870.30
11,855.35
11,855.35
11,855.35
11,836.85
11,823.41
11,810.50
11,810.50
11,810.50
11,810.50
11,810.50
11,810.50
11,803.31
11,795.55
11,773.13
11,773.12
11,759.33
11,750.70
11,730.00
11,730.00
11,730.00
11,730.00
11,730.00
11,730.00
11,730.00
11,713.33
11,713.33
11,700.68
11,698.38
11,698.38
11,683.57



8707 INBONE TALAR STEM 10MM LG
10657 TIBIAL BEARING 11X71/75
8912 MESH VENTRIO LARGE OVAL
13169 PROXIMAL LATERAL HUMERAL
13627 PSN NATURAL TIBIA CEMENTED 5
13632 PSN NATURAL TIBIA CEMENTED 5
107369 5.5 X 45 SCREW
10479 TISSUE EXPANDER
9446 PTP 6H RIGHT
106731 5TH MET HOOK PLATE
14938 DISTALRADIUSL6X 3
15198 24 MM VA DIST RADIUS PLATE
10936 PBA CORTICAL SPACER PARALLEL
12638 ABC Il CERV PLATE 4 HOLE
10301 TINTRA C 12 MESH 12.5CM
14256 IMPLANT SYSTEM INTERNAL BRACE
10786 HELIXR PLATE 68MM
9493 PROX TIB PLATE LEFT 4 HOLE
14362 XENMATRIX AB SURGICAL GRAFT
13047 STS IMPLANT 8.5MM
11382 2 X 4CM DERMAL MATRIX
7791 PROCEED MESH PCDH1
9269 ADJUSTABLE CROSS CONNECTOR 50-
13364 PLATE ARCHON 22MM 1 LEVEL
9209 REDUCTION PEDICLE SCREW DOUBLE
9211 REDUCTION PEDICLE SCREW DOUBLE
9212 REDUCTION PEDICLE SCREW DOUBLE
9220 REDUCTION PEDICLE SCREW DOUBLE
9597 6.0 X 55 MM TRIKON PEDICLE
9598 7.0 X 45 MM TRIKON PEDICLE
9869 7.0 X 35 MM TRIKON PEDICLE
9870 5.0 X 45 MM TRIKON PEDICLE
9872 7.0 X 50 MM TRIKON PEDICLE
8083 OBTRYX SLING
12565 INDUX CORTICAL STRIP 14 X 50MM
15077 14 X 50 INDUX STRIP
5596 CELERA ALLOGRAFT DUAL LAYER
107949 OZARK PLATE 81 MM
13457 VENTRALIGHT W ECHO PS 8" X 10"
9301 TISSUE EXPANDER 450CC - 7200
10702 MODULAR HEAD CMPT CERAMIC 32MM
13724 POSTERIOR SHIM
13726 DISPOSABLE PEDICLESCREW PROBE
5344 REVISION POST & NUT
8264 DEMINERALIZED FLEXIBLE SPONGE
9263 SCREW ARMADA 6.5 X 45MM
100389 5TH MET Y-PLATE RIGHT

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

11,675.95
11,675.95
11,654.64
11,610.55
11,610.00
11,610.00
11,592.93
11,586.25
11,578.78
11,542.32
11,541.40
11,541.40
11,511.50
11,511.50
11,485.14
11,481.60
11,466.65
11,436.75
11,412.78
11,406.85
11,399.38
11,397.73
11,371.80
11,339.58
11,332.10
11,332.10
11,332.10
11,332.10
11,332.10
11,332.10
11,332.10
11,332.10
11,332.10
11,330.61
11,302.20
11,302.20
11,251.13
11,238.81
11,223.00
11,212.50
11,212.50
11,212.50
11,212.50
11,212.50
11,212.50
11,210.11
11,202.15



107645 SPEEDBRIDGE W/ SCORPION NEEDLE
10922 TISSUE EXPANDER 450CC
10963 TISSUE EXPANDER MED HEIGHT
13873 VENTRIO ST HERNIA PATCH
9760 CROSS CONNECTOR 45-50 VARIABLE
9834 CROSS CONNECTOR ADJ 50-60
10464 VARIABLE CROSS CONNECTOR 60-70
107395 CLAVICLE PLATE 8 HOLE SUP/ANT
107396 CLAVICLE PLATE 8 HOLE SUPERIOR
107267 EVOLUTION CANAL FILLING STEM
107271 EVOLUTION CANAL FILLING STEM
14092 6.5 X 50 SILVERTON SCREW
12795 KNEE SYSTEM NATURAL TIBIA
107584 GRUVE PLATE
108013 PLATE 57 MM
9007 STRATTICE PLIABLE PORCINE REIN
9524 CROSS CONNECTOR ADJUSTABLE ARC
10869 ADJUSTABLE CROSS CONNECTOR 60-
106022 42-58 MM CROSS CONNECTOR
106027 58-74 MM CROSS CONNECTOR
106116 42-58 MM CROSS CONNECTOR
106172 32-42 MM CROSS CONNECTOR
4206 5.5 BIOCORKSCREW WITH NEEDLES
9370 6.25 DUAL BALL ROD
10634 DUAL BALL RODS 55MM
10994 DUAL BALL ROD 65MM
11207 DUAL BALL RODS 57.5MM
11272 DUAL BALL RODS 80MM
11484 52.5 DUMBALL ROD
11493 DUAL BALL ROD 45MM
108199 REVERSED TRAY 0 MM E CC HIGH
12540 VENTRALITE ST W/ECHO 8X8
12127 CONTOUR PROFILE TISSUE
15099 2CVA DISTAL RADIUS PL L
15186 2.4 MM VA-LCP TWO-COLUMN VOLAR
10176 KNEE TIBIAL COMPT.
10343 DURASEAL EXACT SPINE SEALANT S
9325 SCREW 6.5MM X 45MM NUVASIVE
107216 G7 DUAL MOBILITY LINER 42 MM E
107268 EVOLUTION REVISION POSTERIOR
9262 SCREW ARMADA 6.5 X 40MM
9522 SCREW ARMADA 7.5 X 45MM
9550 SCREW ARMADA 7.5 X 40MM
9708 SCREW ARMADA 5.5 X 45MM
9863 POLYAXIAL SCREW ARMADA 6.5X 3
10168 SCREW POLYAXIAL 6.5 X 50
10169 SCREW POLYAXIAL 7.5 X 50MM

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

11,202.15
11,200.01
11,200.01
11,182.26
11,175.13
11,175.13
11,175.13
11,168.83
11,168.83
11,125.91
11,125.91
11,122.80
11,100.38
11,084.85
11,084.85
11,063.00
11,040.58
11,040.58
11,026.20
11,026.20
11,026.20
11,026.20
11,025.63
11,019.25
11,019.25
11,019.25
11,019.25
11,019.25
11,019.25
11,019.25
11,006.73
11,003.58
10,988.25
10,988.25
10,988.25
10,973.30
10,971.00
10,928.45
10,908.90
10,897.17
10,883.60
10,883.60
10,883.60
10,883.60
10,883.60
10,883.60
10,883.60



10866 SCREW ARMADA 8.5 X 40MM
12296 SCREW 5.5 X 40MM
12453 SCREW POLYAXIAL 7.5 X 30MM
106239 DBM 10 CC
14620 HAMMER LOCK 2 IMPLANT PROXIMAL
14621 HAMMER LOCK 2 IMPLANT PROXIMAL
9394 PLANTAR PYTHON PLATE LEFT
100081 HD 5.5 MM X 46 MM
100082 HD 5.5 MM X 75 MM
100083 HD 5.5 MM X 65 MM
100086 HD 5.5 MM X 38 MM
6847 TRIATHLON TOTAL KNEE UNIVERSAL
10079 HELIXR 20MM CERVICAL PLATE
106687 VERSA DIAL 54 X 21 X 64 HUM
6462 BIOMET 79MM TIBIAL PLATE
7143 KNEE COMPONENT 67 TIBIAL PLATE
7258 BIOMET 75 TIBIAL PLATE
9060 BIOMET CRUCIATE CC PLATE71MM
4973 CROSSLINK 53CM ALPHATEC
7314 ADJUSTABLE BRIDGE 75MM
107298 KNEE CAPSULE REPAIR IMPLANT
6153 PEDICLE SCREW 6.5 X 40 TL
6282 TL SCREW 6.5 X 55 MM
9727 SUTURE ANCHOR PEEK CORKSCREW
9886 BIOLOX DELTA FEM HEAD 36 MM
11395 SCREW 4.5 X 50MM
13079 TEN FUSE PIP ALLOGRAFT
10990 RADIAL HEAD EXPLOR 12 X 22
9697 PLATE 4 HOLE X 12MM
9756 POLYAXIAL SCREW 30MM
9871 POLYAXIAL SCREW 50MM
4144 POLYAXIAL SCREW 6.5 X 40
14611 6X2 HOLE DISTAL RADIUS PL L
106085 6.5 X 45 MM SCREW INVICTUS
106155 6.5 X 50 MM SCREW
106156 6.5 X 55 MM SCREW
107319 6.5 X 40 MM SCREW
107320 6.5 X 35 MM SCREW
107321 8.5 X 80 MM SCREW
107439 PRIME BIOFOAM QUAD SHELL 58 MM
107509 PRIME BIOFOAM QUAD SHELL 52 MM
107513 PRIME BIOFOAM QUAD SHELL 56 MM
9483 CANCELLOUS CRUSHED 5 CC
106001 5 CC DBM PUTTY
9953 ABC CERVICAL PLATE 4 HOLE 24MM
107710 EVOLUTION NITRX MP KEELED
11604 DUAL BALL ROD 62.5

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

10,883.60
10,883.60
10,883.60
10,850.25
10,838.75
10,838.75
10,838.75
10,838.75
10,838.75
10,838.75
10,838.75
10,807.73
10,801.38
10,791.60
10,764.00
10,764.00
10,764.00
10,764.00
10,696.73
10,696.73
10,686.03
10,674.30
10,674.30
10,651.88
10,651.88
10,644.40
10,630.20
10,614.50
10,599.55
10,577.13
10,577.13
10,577.13
10,569.65
10,557.00
10,557.00
10,557.00
10,557.00
10,557.00
10,557.00
10,557.00
10,557.00
10,557.00
10,530.61
10,530.61
10,509.85
10,498.35
10,494.53



11705 DUAL BALL ROD 30MM
11930 60.0 DUAL BALL ROD
9326 25MM OVAL BALL RODS
9654 DBR ROD 30MM
9655 DBR ROD 32.5MM
9707 DUAL BALL ROD 27.5MM
10130 DUAL BALL ROD 350MM
10288 40MM DUAL BALL ROD
10631 DUAL BALL ROD 47.5
10632 50 DUAL BALL ROD
10676 75MM DUAL BALL ROD
10813 DUAL BALL ROD 52.5MM
10818 DUAL BALL ROD 30MM
10870 DUAL BALL ROD 37.5MM
11738 DUAL BALL ROD 60MM
12297 ROD 27.5MM
100032 MERETE MTP PLATE RIGHT LG.
10805 CAGE 12 X 12MM
9881 16 MM PROMUS ELITE DES
106650 36 NEUTRAL CUP
107269 EVOLUTION REVISION PRESSFIT
7459 6.5X45MM POLYAXIAL PEDICLE SCR
7460 7.5X45MM POLYAXIAL PED SCREW
7605 PEDICLE SCREW 6.5X40MM
7783 PEDICLE SCREW 6X5X50 MEDICREA
9764 TIBIAL INSSERT DOUBLE HIGH SZ2
11974 POLYAXIAL SCREW 6.5 X 45MM
12134 S LOCK CANNULATED SCREW 6.5 X
12581 POLYAXEL CANNULATED SCREWS
12582 POLYAXEL CANNULATED SCREW
12613 S-LOC CANNULATED SCREW
12753 S-LOC CANNULATED SCREW 6.5X
12869 POLYAXIAL CANNULATED SCREW
13708 14 X 12MM 6DEG 8MM CAGE
13709 14 X 12 6DEG 7MM CAGE
14540 CROSSLINK 5.5 MM SMALL
14728 SHORT POST SCREW 6.5 X 45
14954 POLY PEDICLE SCREW 5.5 X 50 MM
15133 SHORT POST PEDICLE SCREW 6.5 X
5309 PEDICLE SCREW 7.5 X 50 MM
5796 LONG POST SCREW 5.5 X 40 MM
5797 LONG POST SCREW 7.5 X 55 MM
5860 PEDICLE SCREW 7.5 X 40 SHORT
6123 LP POLY SCREW 5.5 X 45 MM
6124 LP POLY SCREW 7.5 X 40 MM
6284 MED. CROSSLINK
6681 BIO CARTILAGE 1 CC

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

10,494.53
10,494.53
10,479.95
10,479.95
10,479.95
10,479.95
10,479.95
10,479.95
10,479.95
10,479.95
10,479.95
10,479.95
10,479.95
10,479.95
10,479.95
10,479.95
10,477.34
10,472.48
10,469.03
10,469.03
10,469.03
10,465.00
10,465.00
10,465.00
10,465.00
10,465.00
10,465.00
10,465.00
10,465.00
10,465.00
10,465.00
10,465.00
10,465.00
10,465.00
10,465.00
10,465.00
10,465.00
10,465.00
10,465.00
10,465.00
10,465.00
10,465.00
10,465.00
10,465.00
10,465.00
10,465.00
10,465.00



6887 CROSS CONNECTOR 45 MM
6929 CROSS LINK 55 MM

7117 CROSS CONNECTOR

7380 CROSSLINK 45 MM

7389 CROSS CONNECTOR 45 MM
7561 CROSSLINK 55 MM

8157 CROSSLINK 65 MM

4650 SCREW JONES FRACTURE 4.5 40MM
9956 TISSUE EXPANDER 350CC BIODIMEN

11054 BREAST EXPANDER 225-245CC SIEN
11146 BREAST TISSUE EXPANDER 185CC
11277 BREAST TISSUE EXPANDER

12323 INTERNAL BRACE LIGAMENT AUGMEN

13694 ACHILLES SPEEDBRIDGE
5657 CONTOURED CROSSBAR LARGE
5733 CONTOURED CROSSBAR SMALL
9930 ELITE MR 3.50 X 24
6587 56 MM RIB CUP

10552 MODULATED HEAD COMPONENET 36 MM
10555 M/H POROUS ACETABULAR SHELL 46

10701 M/H ACTBLR POROUS SHELL 52MM

11111 ACETABULAR SHELL MALLORY/HEAD

10491 TOTAL HIP M-H ACETABULAR SHELL
100130 CORTICAL SPACER 6 MM
100131 CORTICAL SPACER 7 MM
107420 PLATE 60 MM
107760 3 LEVEL PLATE 60 MM
108145 PLATE 63
108175 PLATE 57
108687 PLATE 57 MM

7164 PLATE 4 HOLE MEDIAL TIBIAL

12570 BIOCLEANSE GRACILIS TENDON

14146 140 MM FULL RING
108263 GRAVITY PLANTAR PLATE

8224 CORTICAL SPACER 5 MM
100193 PLATEAU-C
100525 7 MM CERVICAL SPACER
100726 CORTICAL SPACER 8 MM
100888 C PLUS 7 MM
100896 C PLUS SPACER 6 MM
106002 PLAT C9 MM
106160 PEEK SPACER 6 MM
106161 VA SCREW 14 MM
106162 PEEK SPACER 5 MM
106163 PEEK SPACER 7 MM
106164 PEEK SPACER 6 MM
106492 CORTICAL SPACER 6 MM

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

10,465.00
10,465.00
10,465.00
10,465.00
10,465.00
10,465.00
10,465.00
10,435.10
10,427.63
10,427.63
10,427.63
10,427.63
10,412.68
10,412.68
10,412.68
10,412.68
10,392.04
10,367.83
10,352.88
10,352.88
10,352.88
10,352.88
10,352.87
10,315.50
10,315.50
10,315.07
10,315.07
10,315.07
10,315.07
10,315.07
10,293.08
10,278.13
10,278.13
10,269.62
10,263.75
10,263.75
10,263.75
10,263.75
10,263.75
10,263.75
10,263.75
10,263.75
10,263.75
10,263.75
10,263.75
10,263.75
10,263.75



106869 8 MM CERVICAL SPACER
6563 DVR CROSSLOCK NARROW MINI
4227 POLYAXIAL SCREW 6.5 X 45
100562 2 X 3 XPLUS MEMBRANE
100751 AMNION PATCH STERI SHIELD I
100835 AMNION PATCH 2 X 4
107065 G7 PPS LTD ACET SHELL50 D
107215 G7 PPS LTD ACET SHELL 52E
107317 G7 PPS LTD ACET SHELL 54F
107492 G7 PPS LTD ACET SHELL 54F
13818 RENTAL PHANTOM ALIF RETRACTOR
9798 TRIATHLON TOTAL KNEE UNIVERSAL
8679 4.5 MM LCP T-PLATE 8 HOLES
108660 COTTON WEDGE 8 MM
10931 CPR SCORPION IMPLANT SYSTEM
6238 IMPLANT SYSTEM CPR VIPER
106616 TRIATHLON CEMENTED STEM 15 MM
106622 TRI CEMENTED STEM 12 MM X 50
7081 NEUROFLEX 6.0MM STRYKER ORTHO
9940 8MM GRAFT PLATE SMALL LAMINOPL
9941 GRAFT PLATE MEDIUM 9.5MM LAMIN
11859 BREAST IMPLANT 400CC HIGHLY CO
9101 PATIENT PROGRAMMER SPINAL CORD
5239 ACCELL EVO3 5 CC
10212 CERVICAL TRIAD CORTICAL CC 5X1
10295 CERVICAL BONE 7X11X14
10504 TRIAD CC LORDOTIC ALLOGRAFT 8M
14085 DYNASTY A-CLASS POLY LINER
14369 DYNASTY A-CLASS POLY LINER
14559 DYNASTY A-CLASS POLY LINER
14692 DYNASTY A-CLASS POLY LINER
6848 TRIATHLON X3 TIBIAL BEARING
100673 CONTINUUM CLUSTER HOLE SHELL
106209 CONTINUUM VIVACIT-E ELEVATED
106617 TRI POST AUGMENT SZ5 5 MM
14448 STAGRAFT DBM PLUS
9826 3.0 MM X 16 MM PROMUS ELITE
107825 ALLOSYNC PURE 10.0 CC
9805 HELIX R PLATE 36 MM
10808 HELIX T CERVICAL PLATE 40MM
10815 HELIX T 2 LEVEL PLATE 34MM
10871 HELIX PLATE 2 LEVEL 38MM
10991 HELIX T 50MM
11215 PLATE 32MM HELIX R
11242 HELIX PLATE 38MM
100851 VDU STANDARD RIGHT PLATE
9641 MOZAIK PUTTY 10CC

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

10,263.75
10,240.75
10,225.50
10,205.10
10,205.10
10,205.10
10,205.10
10,205.10
10,205.10
10,205.10
10,184.22
10,174.45
10,166.00
10,161.11
10,151.05
10,151.05
10,139.12
10,139.12
10,091.25
10,091.25
10,091.25
10,091.25
10,086.55
10,071.70
10,061.35
10,061.35
10,061.35
10,046.40
10,046.40
10,046.40
10,046.40
10,043.94
10,029.15
10,029.15
10,020.35
10,016.50

9,970.50

9,970.50

9,941.75

9,941.75

9,941.75

9,941.75

9,941.75

9,941.75

9,941.75

9,905.99

9,897.64



107263 UCL INTERNALBRACE IMPLANT
13927 FLEXIBLE HINGE TOE IMPLANT W/
14200 FLEXIBLE HINGE TOE IMPLANT

5201 HIP BIOMET 49MM BIPOLAR CUP
12896 42MM BIPOLAR
8641 RINGLOC BI POLAR 28 X 53 MM

106322 VINGD ANT STAB BRG 11 X 79

106840 E1 VINGD PS TIB BRG 79/83 X 10

107738 GRUVE 36 MM

107868 GRUVE PLATE 42

8551 AVITUS BONE HARVESTER
10175 MODULAT TIBIAL BEARING
7482 P-LVLP 3.5 MM L-D FIB LK PL

106281 TRIATHLON POSTERIOR STABILIZED
10031 SPARC SLING

100652 12 MM 3.5 X 12 MM SCREW

9803 DUAL BALL ROD 22.5MM
9932 20MM OVAL BALL ROD
11334 PREBENT ROD 17.5MM
9939 ALLOGRAFT SMALL LAMINOPLASTY
12632 8MM SUBTALAR LOK IMPLANT
108038 BONE PIN
9504 CROSS LINK 42MM
9724 CROSS LINK 50MM
10037 CROSSLINK 38MM
12369 REFORM CROSSLINK 40MM
12370 REFORM CROSSLINK 48MM
12379 CROSSLINK 48MM
12767 CROSS CONNECTOR 48MM BLUE
12788 CROSS CONNECTOR 38MM
12790 CROSS CONNECTOR 40MM G
13190 EVOLUTION MP CS INSERT
13367 CROSS CONNECTOR 35MM
13685 EVOLUTION MP KEELED TIBIAL
13904 CROSS CONNECTOR GREEN
14457 EVOLUTION MP CS INSERT 5 LEFT
5955 CREO MIS MODULAR POLYAXIAL
8929 SYNERGY STENT MR 3.00 X 12 MM
8934 SYNERGY STENT MR 2.50 MM X 16
8935 SYNERGY STENT MR 3.00 MM X 16
8977 SYNERGY STENT MR 2.50 MM X 38

100012 EVOLUTION MP CS INSERT USE W/
10764 CROSSLINK 42MM
10765 CROSSLINK 50MM

5386 LIGHT CABLE
7385 JONES SCREW 4.5X45MM
7195 TIBIAL BASEPLATE NON POROUS 6

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

9,882.53
9,881.95
9,881.95
9,867.00
9,867.00
9,867.00
9,853.20
9,853.20
9,853.20
9,853.20
9,847.05
9,837.10
9,829.62
9,826.52
9,792.25
9,782.82
9,777.30
9,777.30
9,777.30
9,747.52
9,739.93
9,721.82
9,717.50
9,717.50
9,717.50
9,717.50
9,717.50
9,717.50
9,717.50
9,717.50
9,717.50
9,717.50
9,717.50
9,717.50
9,717.50
9,717.50
9,717.50
9,717.50
9,717.50
9,717.50
9,717.50
9,717.50
9,714.51
9,714.51
9,699.25
9,680.13
9,680.13



7290 TIBIAL BASEPLATE NON POROUS 4

7647 TIBIAL BASEPLATE NON POROUS

7685 PRIMARY TIBIA BASEPLATE

7727 PRIMARY TIBIA BASEPLATE
10901 22MM HELIX T

4150 32MM EAGLE CERVICAL PLATE

8974 ADVANTAGE FIT URETHRAL SLING
12037 TULIP SCREW

9344 SCREW 6.5 X 40MM

9500 SCREW POLYAXIAL S-LOC 5.5 X 45

9501 SCREW POLYAXIAL S-LOC 5.5 X 40

9503 SCREW POLYAXIAL S-LOC 8.0 X 50

9547 SCREW SLP 6.5 X 45MM

9720 SCREW S-LOK POLYAXIAL 6.5 X 50

9721 SCREW S-LOK POLYAXIAL 6.5 X 45

9722 SCREW POLYAXIAL S-LOK 7.5 X 45

9725 SCREW POLYAXIAL S-LOK 7.5 X 40

9848 PEDICALE SCREW 8.5MM X 50MM

9849 PEDICLE SCREW 7.5 X 50MM
10036 POLYAXIAL SCREW 8.5 X 45MM
10081 POLYAXIAL SCREW 7.5MM X 55MM
10458 SCREW POLYAXIAL 6.5 X 55MM
10641 SCREW PEDICLE 6.5 X 30MM
10642 PEDICLE SCREW 7.5 X 30MM

11513 AMNIOCARE HUMAN AMNION ALLOGRA

5868 RETROFUSION SCREW
12257 3.5 LOCKING POW PLATE
14044 5.5 MM POW PLATE
5918 4.5 PROXIMAL PLATE, POW,
6716 RELINE TULIP
5091 OBTREX SLING BOSTON SCIENTIFIC
7484 14MM EAGLE PLUS PLATE
11510 LARGE GAIT IMPLANT
13210 85 X 32MM MUC SCREW
14212 MUC SCREW HEADLESS 7.0 X 75 X
6386 ORIOS MOLDABLE PLUS BONE
108280 7 X 14 X 14 MM PUROS 52
108281 6 X 14 X 14 MM PUROS 52
13211 SMALL MINI ROD
106686 MD HYBRID GLENOID BASE 4 MM
6128 PRIMARY TRITANIUM HEMI CLUSTER
7953 TRITANIUM HEMISPHERICAL
8902 POLYAXIAL SCREW 7.0 X 40MM
8951 POLYAXIAL SCREW 7.0 X 45MM
9253 SCREW TALON 6.0 X 35MM
9254 SCREW TALON 5.0 X 35MM
9281 TALON SCREW 8.0 X 40MM

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

9,680.13
9,680.13
9,680.13
9,680.13
9,651.67
9,642.75
9,612.97
9,597.90
9,579.96
9,579.96
9,579.96
9,579.96
9,579.96
9,579.96
9,579.96
9,579.96
9,579.96
9,579.96
9,579.96
9,579.96
9,579.96
9,579.96
9,579.96
9,579.96
9,568.00
9,562.77
9,560.53
9,560.53
9,560.53
9,538.10
9,530.63
9,530.63
9,530.63
9,530.63
9,530.63
9,530.63
9,530.63
9,530.63
9,496.99
9,442.65
9,421.87
9,421.87
9,418.50
9,418.50
9,418.50
9,418.50
9,418.50



9380 10CM MASTERGRAFT STRIP
105981 PRO-TOE VO HAMMERTOE LARGE 10
6590 XL LINER
107743 OXINIUM FEM HD 12/14 32 MM +8
107804 32 MM + 4 FEMORAL HEAD
107983 32 MM + 12 OX HEAD
108549 8.5 X 90 MM SCREW
11026 APLIGRAF LIVING TISSUE
13864 SPEED IMPLANT 9 X 10 X 10 MM
5781 SIZE 7-8 9 MM DISHED INSERT
8698 JRNY II ISRT XLPE DD RT SZ
9267 3.50 MM X 12 MM PROMUS ELITE
9268 3.00 MM X 12 MM PROMUS ELITE
100330 2.75 MM X 24 MM PROMUS ELITE
8596 PLATE LISFRANC 4 HOLE WRIGHT M
14984 MICROMATRIX 500 MG
13688 ALLOGRAFT SMT SZ5
11550 OBTRYX Il CURVE SLING
107540 UNIVERS VAULT LOCK GLENOID
9889 CONTINUUM LONGEVITY ELEVATED
107566 EVOLUTION TIBIAL BLOCK AUGMENT
107567 EVOLUTION TIBIAL BLOCK
12075 STANDARD DISTAL RADUIS PLATE L
106619 TRIATHLON STEM EXTENDER 25 MM
10505 24MM HELIX R PLATE
10613 HILIXR PLATE 22MM
11078 PLATE 20MM ONE LEVEL HELIX-T
7848 SHORT TROCHANTERIC PLATE
100755 TRIATHLON PS FEM COMPONENT
107568 EVOLUTION CANAL FILLING STEM
106266 LAPIDUS GRAFT SPAN MEDIUM FOR
107435 PLATE 44 MM
107893 OZRK PLATE 42 MM
108075 2 LEVEL PLATE 42 MM
108569 PLATE 44 MM
12893 NOVASURE
6318 3 HOLE (L) PLATE
7478 RAPID SHORT STRUT
9011 TL RAPID ADJUST STRUT
107588 COMP RVS CNTRL 6.5 X 20 MM
8766 MESH VENTRIO PATCH MEDIUM 11CM
106320 ANTERIOR TIBIALIS
10270 PROSTOP IMPLANT 10 X 14
11562 KNOTLESS TIGHTROPE
106530 ADVANCE CANAL FILLING STEM
106089 RELINE O MOD SHANK 5.5 X 40MM
106585 RELINE-O MOD SHANK 5.5 X 35 MM

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

9,418.50
9,418.50
9,403.55
9,384.00
9,384.00
9,384.00
9,384.00
9,343.75
9,343.75
9,343.75
9,343.75
9,343.75
9,343.75
9,343.75
9,306.38
9,283.95
9,278.19
9,269.00
9,237.38
9,231.63
9,231.51
9,231.51
9,201.73
9,197.79
9,179.30
9,179.30
9,179.30
9,171.82
9,167.11
9,161.13
9,131.81
9,129.63
9,129.63
9,129.63
9,129.63
9,119.50
9,119.50
9,110.53
9,110.53
9,105.41
9,104.61
9,090.75
9,082.13
9,082.13
9,079.02
9,032.10
9,032.10



106586 RELINE-O MOD SHANK 6.5 X 35 MM
5316 ADJ. CROSSBAR MEDIUM
8557 LATERAL TOE IMPLANT SIZE 7
9080 FLEXIBLE HINGE TOE IMPLANT
108202 GLENOID BASE PLATE TI6A14V
5757 TOTAL KNEE INSERT X3 5530-G-51
6912 KNEE TIBIAL INSERT UPGRADE
7761 CROSS LINK 5.5MM ROD, 22 TO 34
8159 TOTAL KNEE X3 INSERT
8294 TOTAL KNEE X3 INSERT STRYKER O
10737 TIBIAL BASEPLATE TRIATHLON
10738 TIBIAL BEARING INSERT CR TRIAT
10795 TOTAL KNEE TIBIAL BASEPLATE
11053 ATTRAX GRANULES
12244 TIBIAL BEARING SIZE 3 16MM
12245 PRIMARY TIBIAL BASEPLATE SIZE3
12898 TIBIAL BEARING INSERT-PS
12987 SINGLE USE EFFI+PRO KIT
13001 SWANSON FLEXIBLE HINGE TOE-5S
13463 FLEXIBLE HINGE TOE IMPLANT W/
6559 52MM R/B CUP
6560 XL LINER
7564 TFNA HELICAL BLADE 100 MM
7725 TRIATHLON X3 TIBIAL BEARING
8090 SIZE 5 SWANSON IMPLANT
9017 FLEXIBLE HINGE TOE IMPLANT
100062 CANCELLOUS CRUSHED 1-4 MM 10CC
108256 LAPIPLASTY 2.5 MM HEADLESS
9627 GRAFT JACKET LOW PROFILE 2 X 4
8593 SCREW LISFRANC 4.5 X 46 MM
8594 SCREW LISFRANC 3.7 X 36 MM
106620 TRI RM/LL TIB AUG S 24 10 MM
106624 TRI LM/RLTIB AUG S 24 10 MM
100190 6.0 X 40 MM TRIKON PEDICLE
100509 5.0 X 50 MM TRIKON PEDICLE
6958 LOGICAL G-SERIES ACETABULAR
7118 ACETABULAR SHELL LOGICAL G-
7514 LOGICAL G-SERIES ACETABULAR
10714 OSS 22MM TIBIAL BEARING
11694 OSS 14MM TIBIAL BEARING
12189 0SS 18MM TIBIAL BEARING
14316 OSS AXLE
14863 0SS 16 MM BEARING
6183 KNEE STRYKER ORTHO KNEE INSERT
107758 6 MM PEEK SPACER
107759 7 MM PEEK SPACER
107947 PEEK SPACER 6 MM

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

9,032.10
9,007.38
8,992.43
8,992.43
8,987.76
8,970.00
8,970.00
8,970.00
8,970.00
8,970.00
8,970.00
8,970.00
8,970.00
8,970.00
8,970.00
8,970.00
8,970.00
8,970.00
8,970.00
8,970.00
8,970.00
8,970.00
8,970.00
8,970.00
8,970.00
8,970.00
8,970.00
8,944.13
8,940.10
8,932.63
8,932.63
8,929.46
8,929.46
8,891.34
8,891.34
8,888.90
8,888.90
8,888.90
8,887.78
8,887.78
8,887.78
8,887.78
8,887.78
8,886.36
8,867.88
8,867.88
8,867.88



107948 PEEK SPACER 6 MM
108089 8 MM PEEK CAGE
108174 ALEUTIAN C 8 MM
108371 ALEUTIAN C5 MM
106458 LYNX SLING SYSTEM
100839 18MM X 80 MM X 80CM VENOUS
100948 VENOUS STENT SYSTEM
106311 CER BIOLOXD MOD HD 28 MM-3 NK
106737 JOURNEY II ISRT XLPE DD LT SZ
107741 R3 3 HOLE ACET SHELL MM48
107482 16 MM X 160 MM X 80 CM VENOVO
10261 CROSS CONNECTOR 40MM FIXED
11496 LORDOTICBONE 7 X 12 X 12
14927 8 X 12 X 12 FORTIS CERVICAL
14948 9 MM LORDOTIC SPACER
15140 7 MM PARALLEL SPACER
5303 6 MM LORDOTIC BONE
5304 5 MM PARALLEL BONE
106252 GRAFT JACKET NOW THIN 2 X 4 CM
108043 INTERNAL IMPLANT SYSTEM
8147 SEPRAMESH 6 X 8 BARD 5959680
14210 ALLOMATRIX C-5 CC
107545 GRAVITY SYNCHFIX SUTURE #5
108046 AFX FEMORAL IMPLANT 10 X 25 MM
13996 BONE GRAFT EXTENDER &
8961 TOTAL ANKLE IMPLANT REF400-140
15120 SWANSON IMPLANT 1S
7476 ULTRA SHORT STRUT HEX
7477 MEDIUM STRUT HEX
10612 CR ALLOGRAFT 8X11X14
10658 TRAID ALLOGRAFT CERVICAL 6X14X
10659 TRIAD ALLOGRAFT 7X14X11 MM CER
8016 SIZE 6 LATERAL FLEXSPAN HINGE
13628 PSN ARTICULAR SURFACE FIXED
13636 PSN ARTICULAR SURFACE FIXED
9018 ALTIS SINGLE INCISION SLING
10572 VANGUARD TIBIAL BEARING PS 10
12269 VENTRIO ST HERNIA PATCH 11.4CM
6868 HUMAN ALLOGRAFT
8924 SYNERGY STENT MR 2.50 MM X 8
107414 5.5 X 35 SCREW
107532 5.5 X 50 MM REDUCTION SCREW
107533 5.5 X 45 MM REDUCTION SCREW
107534 8.5 X 45 MM
107608 6.5 X 50 SCREW
107609 6.5 X 55 SCREW
107610 7.5 X 50 SCREW

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

8,867.88
8,867.88
8,867.88
8,867.88
8,804.71
8,797.50
8,797.50
8,797.50
8,797.50
8,797.50
8,797.50
8,790.60
8,790.60
8,790.60
8,790.60
8,790.60
8,790.60
8,790.60
8,768.18
8,768.18
8,752.19
8,745.75
8,744.72
8,738.85
8,736.41
8,723.33
8,723.33
8,722.43
8,722.43
8,715.85
8,715.85
8,715.85
8,708.38
8,704.11
8,704.11
8,700.90
8,656.05
8,645.63
8,633.63
8,633.63
8,621.55
8,621.55
8,621.55
8,621.55
8,621.55
8,621.55
8,621.55



107625 7.5 X 50 SCREW
107659 7.5 X 50 MM SCREW
107660 7.5 X 45 MM SCREW
107725 6.5 X 50 MM SCREW
107904 5.5 X 40 SCREW
107905 6.5 X 30 SCREW
108001 5.5 X 35 SCREW
108002 6.5 X 40 SCREW
108003 6.5 X 45 SCREW
108416 6.5 X 50 SCREW
108417 7.5 X 50 SCREW
108537 7.5 X 55 SCREW
108538 6.5 X 55 SCREW
108539 6.5 X 60 SCREW
108656 6.5 X 55 MM
3821 MONARC TVT SLING - MANICKAM
108701 PLATE 22 MM
11124 BEARING 14 X 59
6432 HIP DEPUY- 28X47 SELF CENTER
9393 MTP PLATE, SHORT LEFT
11577 RIGHT STANDARD MTP PLATE
12356 METATARSAL PLATE SHORT LEFT
12388 LOW PROFILE T PLATE
12392 T PLATE FOUR HOLE
14070 LISFRANC PLATE SMALL RIGHT
100151 ALLOSYNC 5 CC
11336 2 LEVEL TRANSLATIONAL PLATE 44
11350 PLATE T 46 MM
100461 PLANTAR PYTHON PLATE RIGHT
108617 32 MM 2 LEVEL PLATE
8770 3 HOLE RIGHT NARROW
12621 CAPIDUS PLATE
9775 BEARING PLATE RT 5 HOLE
10396 PLATE STANDARD VOLAR LEFT
10585 RIGHT NARROW VOLAR PLATE
8441 CONTACT EXTENSION KIT 25CM 8
100332 SPEED IMPLANT 13 X 12 X 12 MM
106838 BIOMET FIXED CRUCIATE TIBIAL
7630 SMART TOE IMPLANT
8872 TIBIA SMALL RIGHT UNIKNEE VOT
9378 SOLO TIBIAL IMPLANT SMALL
9568 TIBIAL COMPONENT LARGE RIGHT
9570 TIBIAL COMPONENT MEDIUM LEFT
9597 TIBIAL COMPONENT MEDIUM 6.5
9751 TIBIAL COMPONENT LARGE LEFT
9999 TIBIAL PLATE LEFT 7.5MM
100763 ALLOSYNC PURE 5 CC

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

8,621.55
8,621.55
8,621.55
8,621.55
8,621.55
8,621.55
8,621.55
8,621.55
8,621.55
8,621.55
8,621.55
8,621.55
8,621.55
8,621.55
8,621.55
8,596.25
8,590.76
8,581.30
8,546.17
8,543.93
8,543.93
8,543.93
8,543.93
8,543.93
8,543.93
8,543.93
8,536.45
8,536.45
8,504.25
8,492.52
8,491.60
8,484.13
8,484.13
8,476.65
8,476.65
8,475.26
8,445.60
8,445.60
8,409.38
8,409.38
8,409.38
8,409.38
8,409.38
8,409.38
8,409.38
8,409.38
8,381.09



6322 FLEX HINGE TOE IMPLANT W.GROMM
106602 3.5 X 10 MM SCREW
107842 SET SCREW
7946 MDM LINER-CEMENTLESS 42 MM
10713 0SS (TM) YOKE
12188 0SS YOKE
100134 OFFSET TIBIAL TRAY ADAPTER
11071 SCREW 6.5 X 40MM
15089 MALIBU POLYAXIAL SCREW 6.5 X
15090 MALIBU POLYAXIAL SCREW 7.5 X
15092 LOCKING CAP ADJUSTABLE MEDIUM
15121 MALIBU POLYAXIAL SCREW 5.5 X
15122 MALIBU POLYAXIAL SCREW 7.5 X
15124 ADJUSTABLE SMALL
15137 MALIBU POLYAXIAL SCREW 6.5 X
15138 MALIBU POLYAXIAL SCREW 7.5 X
6365 HIP - FEMORAL HEAD ZIMMER
3725 INTERGRO 100% DBM 10CC
13365 COROENT SM 7 X 11 X 14MM 5"
13435 COROENT SM. 8 X 11 X 14 MM
5242 MONSTER CANNULATED LONG THREAD
5243 MONSTER CANNULATE SHORT THREAD
11368 PLATE 5 HOLE OLECRANON
12833 CATHETER
9852 6.5 X 40 SCREW
100779 CROSSLINK 35 MM
108065 PRIME BIOFOAM QUAD SHELL 50 MM
10773 FIXED CROSS CONNECTOR 50MM
11266 FIXED CROSS CONNECTORS 37.5MM
108099 3.5 MM LCP SUPERIOR CLAVICLE
6649 DISTAL LATERAL FIBULA PLATE 4
14635 OSCAR ULTRASONIC CEMENT
9862 TOTAL KNEE TIBIAL BEARING COMP
10546 TOTAL KNEE PATELLA NEXGEN 32MM
11003 FACET SCREW 5.5 C 24
7473 140 MM TL HEX 5/8 RING
9799 TRIATHLON X3 TIBIAL BEARING
15189 3 HOLE ANATOMIC PLATE RIGHT
9250 TOTAL KNEE PATELLA ADVANCE ONL
106496 AZUR 35D SYSTEM 10 MM X 20 CM
108091 STENT RONYX4501BUX RESOLUTE
107824 OSTEOTOMY WEDGE
8455 MESH COMPOSIX 7.2 X 9.2" L/P
11118 COMPOSITE BONE MATRIX 20X15X5M
106282 TRIATHLON X3 TIBIAL BEARING
100954 LIOFEMORAL VEIN STENT
100955 ILIOFEMORAL VEIN STENT

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

8,327.15
8,313.64
8,313.64
8,299.34
8,297.25
8,297.25
8,279.31
8,267.35
8,267.35
8,267.35
8,267.35
8,267.35
8,267.35
8,267.35
8,267.35
8,267.35
8,252.40
8,238.21
8,229.98
8,229.98
8,228.11
8,228.11
8,222.50
8,222.50
8,222.50
8,211.00
8,211.00
8,170.18
8,170.18
8,141.21
8,140.28
8,082.71
8,073.00
8,058.05
8,058.05
8,051.47
8,047.14
8,028.15
7,998.25
7,996.93
7,978.13
7,976.40
7,965.06
7,960.88
7,941.04
7,917.75
7,917.75



108662 LISFRANC SLANTED-T 3-HOLE
107551 36 MM HUMERAL LINER
108635 40 HUMERAL LINER
9010 140 MM 5/8 TL HEX RING
8653 ASR BLOCK 6X14X11 SPINALGRAFT
8654 ASR BLOCK 6X14X11 SPINALGRAFT
8655 ASR BLOCK 5X14X11 SPINALGRAFT
9520 ACSR CORTICAL BLOCK 5X14X11MM
9802 ACSR BLOCK 6X14X11
10571 ASR CORTICAL CANCELLOUS BLOCK
10630 CORNERSTONE SR 6X11X11
11128 ALLOGRAFT CORNERSTONE 7X11X11
11129 ALLOGRAFT CORNERSTONE 8X11X11
11361 22MM TRANSLATIONAL PLATE
100873 ALLOGRAFT GRAFTLINK
3864 TENSIX DBM CRUSH MIX 2.5 CC
10625 SEMI T GRACILLIS GRAFT 5MM X
11433 EZ STAPLE 10 X 10 X 10MM
11623 MINI MAXLOCK 6 HOLE PLATE ORTH
13690 DTRAX SPINAL SYSTEM
14914 JONES SCREW 4.5 X 35MM
5776 VISIONAIRE BONE MOLD

4184 3.5MM CRKSRW ANCHOR W/ NEEDLE

9436 VITOSS BA BONE GRAFT SUB 5CC

12372 HEADLESS CANNULATED COMPRESSIO

13478 AALLOMATRIX INJECTABLE PUTTY 5
14389 ALLIGATOR GRAFT
12219 ZIPTIGHT ANKLE SYNDESMOSIS
108551 47-66 CROSSLINK BRIDGE
108623 VARIABLE BRIDGE 47-66 MM
10756 POLY INLAY
8267 7.5 X 55 1/3 SCREW
8268 7.5 X 60 SCREW
8269 7.5 X 65 SCREW
9024 7.5 X 85
9025 7.5X 80
9508 6.5 X 50
9509 7.5X 75
9510 7.5 X 85
5329 CANCELLOUS CHIP 1-4 MM 10 CC
108357 PROFEMUR MODULAR NECK SHORT
11410 9 HOLE DISTAL FIBULAR PLATE
14143 TL RAPID STRUT- SHORT
7480 RAPID STRUT MEDIUM
9901 DISTAL FIBULAR PLACE RIGHT
12796 KNEE SYSTEM ARTICULAR SURFACE
9040 NIM STIMULATION

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

7,917.75
7,910.42
7,910.42
7,893.60
7,886.13
7,886.13
7,886.13
7,886.13
7,886.13
7,886.13
7,886.13
7,886.13
7,886.13
7,878.65
7,876.70
7,859.10
7,848.75
7,848.75
7,848.75
7,848.75
7,848.75
7,848.75
7,848.75
7,836.54
7,811.38
7,811.38
7,811.38
7,803.90
7,800.45
7,800.45
7,774.00
7,774.00
7,774.00
7,774.00
7,774.00
7,774.00
7,774.00
7,774.00
7,774.00
7,759.40
7,759.40
7,759.05
7,752.25
7,752.25
7,744.10
7,736.63
7,705.56



9925 ELITE MR 2.50 X 16
9182 ILIAC CREST TRICORTICAL WEDGE
106954 PRE SUTURED LATERAL ANKLE
6209 TULIP OFFSET ANGLED LAMINAR
13420 SCREW HEADLESS 7.032 X 75 MM
10735 TIBIAL COMPONENT TRIATHLON PRI
14699 FEMORAL HEAD 28 MM
8978 SYNERGY STENT MR 3.00 MM X 38
100840 14MM X 100MM X 120 CM VENOUS
107742 R3 20 DEG XLPE ACET LNR 32MM
107802 48/32 MM 20 DEGREE LINER
10421 PHYSIOMESH 15X20
106183 THERASKIN LARGE 2" X 3" 39
9815 HUMERAL INSERT M/39 +3 TO FIT
9685 ATLAS CABLE
11052 BIOSET DBM 2CC
14409 BIOSET IC RT PASTE 5 CC
10537 BARD POWER POINT MRI ISP CATH.
5956 6.5 X 45 MM CANNULATED SCREW
5957 6.5 X 35 SCREW
5958 6.5 X 30 SCREW
100399 CMC MINI 1.1 MM KIT
6130 MDM COCR LINER 42 MM E
108736 6.5 X 40 SCREW
108756 6.5 X 35 SCREW
106742 TRIATHLON X3 TIBIAL BEARING
5126 HIP LEFT FEMORAL HEAD 6260-9-0
6791 HIP BIOMET 47MM BIPOLAR CUP
6979 52MM BIPOLAR
7499 RING LOC BI-POLAR ACETABULAR
9903 1/3 TUBULAR HOOK PLATE 7 HOLE
10639 BIPOLAR CUP 50MM
10703 44MM BIPOLAR
11176 CUP RINGLOC BIPOLAR
11296 RINGLOC BIPOLAR CUP
12842 58MM BIPOLAR
13035 PROPHECY INBONE ALIGNMENT
13084 PHASIX MESH 3'X3' ROUND MESH
13238 BIPOLAR 54MM
13439 BIPOLAR 45 MM
13763 COVER PLATE
14008 VARIABLE SCREWS 6.5 X 40
14104 DYNASTY A-CLASS POLY LINER
5464 5.5 X 55 SENTRY VARIABLE SCREW
5480 5.5 X 60 SENTRY VARIABLE SCREW
5526 MARINER SOLID SCREW 6.5 X 45MM
5527 MARINER SOLID SCREW 6.5 X 50MM

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

7,697.81
7,687.37
7,641.81
7,637.96
7,631.98
7,625.03
7,624.50
7,624.50
7,624.50
7,624.50
7,624.50
7,617.24
7,595.18
7,587.13
7,562.62
7,549.75
7,549.75
7,545.28
7,542.28
7,542.28
7,542.28
7,501.34
7,498.92
7,497.00
7,497.00
7,481.04
7,475.00
7,475.00
7,475.00
7,475.00
7,475.00
7,475.00
7,475.00
7,475.00
7,475.00
7,475.00
7,475.00
7,475.00
7,475.00
7,475.00
7,475.00
7,475.00
7,475.00
7,475.00
7,475.00
7,475.00
7,475.00



5600 DTRAX SPINAL SYSTEM-L

5680 MARINER SOLID SCREW 5.5 X 45MM
5681 MARINER SOLID SCREW 5.5 X 50MM
5732 MARINER SOLID SCREW 7.5 X 50MM
5885 SENTRY VARIABLE 6.5 X 60 SCREW
6175 MARINER SOLID SCREW 7.5 X 45
6310 SENTRY VARIABLE 5.5 X 50 SCREW
6430 SENTRY 5.5 X 40 VARIABLE SCREW

8501 BIOLOX DELTA FEMORAL HEAD 28MM

8503 BIOLOX DELTA FEMORAL HEAD SIZE
8781 5.5 X 45 VARIABLE SCREW
9216 BUTTRESS PLATE SCREW 20 MM
9230 5.5 X 55 VARIABLE ANGLE SCREW
9231 5.5 X 50 VARIABLE ANGLE SCREW
9532 SCREW 4.5 X 60 MM
9535 SCREW 6.5 X 60
9908 SOLID SCREW MARINER 6.5 X 55
5267 STRAIGHT PLATE 7 HOLE
108267 MEDIUM PHALINX
11117 COMPOSITE BONE MATRIX 12X12X12
11143 DESARA SLING SYSTEM
5436 8.0 X 85 CANN. SCREW
10581 ANATOEMIC PROSTHESIS 20MM
10778 ANATOEMIC PHALANGEAL PROSTHESI
12610 TL REMOVAL
7646 TIGHTROPE IMPLANT RT
7751 ACL TIGHTROPE
7868 DOUBLE LOADED TIGHTROPE RT
10722 TRIAD ALLOGRAFT 6X11X14
10785 TRIAD BONE 5X11X14
10804 TRAID 10 X 11 X 14MM
10807 TRIAD 7 X 11 X 14MM
10814 TRAID BONE 11 X 11 X 5MM
11046 TRIAD BONE6 X 11 X 11
11047 TRIAD BONE 7 X 11 X 11
11214 BONE 5X11X11
11322 TRAID BONE 11X14X8
8888 TISSEAL FROZEN 10ML
5064 ANKLE SALTO TALARIS RIGHT INSE
6788 ANKLE SALTO TALARIS LJU235
6867 ANKLE SALTO TALARIS TIBIAL INS
12541 VENTRALITE ST W/ECHO 6X8
108639 BIOLOX DELTA CERAMIC V40
107729 CROSSLINK MED 42-58 MM
108159 8.5 X 35 MM SCREW
108419 CROSSLINK 42-58 MM
108536 CROSSLINK 58 MM-74 MM

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

7,475.00
7,475.00
7,475.00
7,475.00
7,475.00
7,475.00
7,475.00
7,475.00
7,475.00
7,475.00
7,475.00
7,475.00
7,475.00
7,475.00
7,475.00
7,475.00
7,475.00
7,467.53
7,460.28
7,437.63
7,437.63
7,437.63
7,422.68
7,422.68
7,422.68
7,422.68
7,422.68
7,422.68
7,415.20
7,415.20
7,415.20
7,415.20
7,415.20
7,415.20
7,415.20
7,415.20
7,415.20
7,413.76
7,400.25
7,400.25
7,400.25
7,393.07
7,391.83
7,389.90
7,389.90
7,389.90
7,389.90



108546 6.5 X 50 SCREW
108548 7.5 X 50 SCREW
108554 7.5 X 40 SCREW
108555 7.5 X 45 SCREW
106741 TRIATHLON X3 TOTAL STABILIZER
108759 37 MM PLATE
5587 HEADLESS COMPRESSION SCREW 7.0
5589 HEADLESS COMPRESSION SCREW 7.0
5590 HEADLESS COMPRESSION SCREW 7.0
5591 HEADLESS COMPRESSION SCREW 7.0
13387 OXFORD 3 MM BEARING
10387 4.0 PROMUS ELITE DES
9924 ELITE MR 2.50 X 12
9926 ELITE MR 2.50 X 20
9927 ELITE MR 3.00 X 20
9928 ELITE MR 2.50 X 24
9929 ELITE MR 3.00 X 24
9932 ELITE MR 3.00 X 28
9935 ELITE MR 3.00 X 32
100186 2.75 12 PROMUS ELITE STENT
100442 2.25 X 8 PROMUS ELITE DES
100876 GNS Il CMT TIB SIZE 3 LEFT
100927 GNS Il CMT TIB SIZE 5 LEFT
100928 LGN XLPE PS INSERT SZ 5-6 SMM
106286 TIBIAL BASEPLATE
106380 TIBIAL BASEPLATE
107257 GNS Il CMT TIB SIZE 7 LEFT
11728 BREAST IMPLANT GEL 650CC SMOOT
11729 BREAST IMPLANT GEL 600CC SMOOT
11831 BREAST IMPLANT HIGH PROFILE SM
12096 750CC HIGH PROFILE GEL IMPLANT
13773 BREAST IMPLANT
8548 28 KNOTLESS-2.8 MM PEEK CF
8549 2.5 MM MITI SUTURE ANCHOR
6429 HIP-DEPUY 28+5 HEAD
9458 5X 15 X 90 CM RENAL STENT
107866 22 MM TRESTLE LUX Il PLATE
3728 INTERGRO PLUS DBM W/ BONE 5CC
108193 14 MM PLATE
8734 160 MM FULL RING
6242 3.0 X 16 MM PROTOE IMPLANT
6635 3.0 X 13 MM IMPLANT FOR
100578 6.5 X 260 GRAFT FGRACILIS
12035 SHANK 6.5 X 45MM
12036 SHANK 7.5 X 40MM
12088 PRECEPT SCREW SHANK 7.5 X 45MM
12145 MAS PLIF SHANK

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

7,389.90
7,389.90
7,389.90
7,389.90
7,387.32
7,384.80
7,362.88
7,362.88
7,362.88
7,362.88
7,344.00
7,331.25
7,331.25
7,331.25
7,331.25
7,331.25
7,331.25
7,331.25
7,331.25
7,331.25
7,331.25
7,331.25
7,331.25
7,331.25
7,331.25
7,331.25
7,331.25
7,325.50
7,325.50
7,325.50
7,325.50
7,325.50
7,325.50
7,325.50
7,323.11
7,318.84
7,311.90
7,310.53
7,307.79
7,289.91
7,288.13
7,288.13
7,279.81
7,273.18
7,273.18
7,273.18
7,273.18



12656 PRECEPT SCREW SHANK 6.5X45MM
8126 6 HOLE STRAIGHT PLATE
6132 V40 BIOLOX DELTA HEAD 28 MM/
12301 SINGLE JOINT FUSION PLATE LARG
12529 1ST MTP FUSION PLATE LEFT
100672 CONTINUUM LONGEVITY ELEVATED
100789 CONTINUUM LONGEVITY ELEVATED
7186 TIGHTROPE RT
13907 35 CM 8 CONTACT EXTENSION SET
14019 3.5 X 10 MINI SLOK SCREW
5346 3.5 X 10 MM SOLSTICE SCREW
5597 3.5 X 12 MM SOLSTICE SCREW
5770 3.5 X 8 MM SOLSTICE SCREW
6269 4.0 X 12 MM SCREW
8185 SCREW 3.5 X 14 MM
8227 RENOIR POSTERIOR CERVICAL
8252 3.5 X 14 MM SCREW
8586 SCREW 3.5 X 08 MM
9026 6.5 X 60
106799 CONNECT PRE-SUTURED TENDON
100528 CONNECT PRE-SUTURED TENDON
10444 VENTRIO HERNIA PATCH 8CMX12CM
10616 SCREW VARIABLE 5.5X55
6810 KNEE DEPUY DOME PATELLA 38MM
12270 VENTRALEX ST HERNIA MESH 8CM
107153 2 HOLE PLATE STAINLESS STEEL
9877 BREAST IMP GEL 550CC SMOOTH RO
9946 BREAST IMPLANT ROUND HIGH PROF
11307 BREAST IMPLANT GEL 425CC SMOOT
11549 NUCEL SMALL
13410 BACTERIN
7135 POLARIS SCREW 6.5 X 35MM
7886 ARRAY SCREW 8.0 X 40MM
107458 TFNA FENESTRATED HELICAL BLADE
10298 HOOP SHEMS
14402 2.4 MM PLATE 8 HOLE
106715 SWANSON FLEXSPAN FLEXIBLE
108197 REVERSED INSERT 36 MM 6 MM B
7753 PROCEED*SURG MESH/ 15X20CM
106042 R/B RLOC LHOLE SHL 50 MM Sz
106309 ARCOMXL 28 MM RLC LNR HW 5722
106310 R/B RLOC LHOLE SHL 48 MM SZ22
106827 OMEGA 4.75 MM PEEK KNOTLESS
12224 PLATE 4 HOLE FIBULA LEFT
9368 6.25 SCREW TULIP
9757 SCREW TULIP 5.5MM
9931 SCREW TULIP 5.5

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

7,273.18
7,265.70
7,244.45
7,243.28
7,243.28
7,243.28
7,243.28
7,213.38
7,196.85
7,176.00
7,176.00
7,176.00
7,176.00
7,176.00
7,176.00
7,176.00
7,176.00
7,176.00
7,176.00
7,174.65
7,168.79
7,158.46
7,146.10
7,142.36
7,126.10
7,125.98
7,101.25
7,101.25
7,101.25
7,101.25
7,101.25
7,100.50
7,100.50
7,091.49
7,063.88
7,063.88
7,055.60
7,054.19
7,046.56
7,038.00
7,038.00
7,038.00
7,038.00
7,033.98
6,989.13
6,989.13
6,989.13



12147 MAS PLIF TULIP
11419 CORTICAL CANCELLOUS SPACER LOR
11420 CORTICAL CANCELLOUS SPACER PAR
11423 CORTICAL CANCELLOUS SPACER LOR
11515 CERVICAL SPACER 7MM LORDOTIC
11533 CORTICAL SPACER PAR 5
11534 CORTICAL SPACER PAR 6
11688 CORTICAL CANCELLOUS SPACER-LOR
11689 CORTICAL CANCELLOUS SPACER-LOR
11830 BREAST IMPLANT SMOOTH MODERATE
11919 CORTICAL SPACER LOR 8MM
11920 CORTICAL SPACER PAR 6MM
12132 CORTICAL SPACER 7MM PAR
12544 CERVICAL SPACER 8MM PAR
13444 CERVICAL SPACER 8 LORDOTIC
13620 BREAST IMPLANT 405 CC
108668 28 PLATE 4-HOLE STRAIGHT
15059 6 MM WEDGE PLATE RIGHT
11758 LAPIDUS PLATE LONG
11736 BREAST IMPLANT XTRA HIGH PROFI
7642 | FLOW
9873 BREAST IMP. GEL SMOOTH ROUND M
9874 BREAST IMP. GEL SMOOTH ROUND M
9885 BREAST IMPLANT GEL 350CC
13736 CORT/CAN CHIPS 15CC
108601 E1 VINGD ASTIB BRG 11 X 83
8632 SCREW COMPRESSION 7.0 X 70MM
107635 SINGLE STRAND ANTERIOR
107636 SINGLE STRAND SEMITENDINOSUS
108638 RESTORATION ADM/MDM 28 28/48
100764 ALLOSYNC5 CC
8640 FLEX HD ACELLULAR DERMIS HYDRA
12087 PRECEPT TI ROD 55MM PREBENT LO
12264 70MM PRE BENT ROD
12298 SWIVEL LOCK 4.75 BC
14538 IMPLANT SYSTEM BIOCOMPOSITE
4601 BARD PORT A CATH 9.6FR PRE-CON
6712 6.5 X 45 SHANK
13867 VENTRIO ST HERNIA PATCH
8354 PROSTOP ARTHROESIS 7 X 12
7454 10 HOLE PIN CLAMP
106221 CANNULATED REVISION DOWEL ZORC
106220 CANNULATED REVISION DOWEL ZORC
106222 CANNULATED REVISION DOWEL ZORC
106448 PCDXL10 CANNULATED REVISION
7148 BREAST IMP. SILICONE GEL STYLE
10698 BREAST IMPLANT MODERATE PROFIL

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

6,989.13
6,951.75
6,951.75
6,951.75
6,951.75
6,951.75
6,951.75
6,951.75
6,951.75
6,951.75
6,951.75
6,951.75
6,951.75
6,951.75
6,951.75
6,951.75
6,950.03
6,944.28
6,944.27
6,929.33
6,914.38
6,914.38
6,914.38
6,914.38
6,914.38
6,897.24
6,895.69
6,891.38
6,891.38
6,874.31
6,873.78
6,847.10
6,847.10
6,847.10
6,839.63
6,839.63
6,823.27
6,817.20
6,789.47
6,755.04
6,742.45
6,730.09
6,730.08
6,730.08
6,730.08
6,727.50
6,727.50



11599 BIOPRO MEMORY STAPLE 20X20 -
14160 OXFORD 5 MM BEARING
14516 LORDOTIC ROD 35 MM
14517 LORDOTIC ROD 30 MM
14730 SACRAL SCREW 7.2 X45 IN & OUT
14731 SACRAL SCREW 7.2 X 50 IN & OUT
14933 RING ROD 100 MM L
14934 RING ROD 100 MM R
14955 RING ROD 80 MM RIGHT
14956 RING ROD 70 MM LEFT
15134 RING ROD RIGHT 90 MM
15144 RING ROD R 70 MM
5208 RING ROD 50 MM LEFT
5209 RING ROD 50 MM RIGHT
5287 RING ROD 100 MM RIGHT
5345 RING ROD 80 MM LEFT
5529 MARINER POLYAXIAL HEAD
5530 MARINER EXTENDED POLYAXIAL
5595 OXFORD 5 MM BEARING
5655 MARINER SOLID SCREW 7.5 X 55MM
5895 MARINER SOLID SCREW 7.5 X 40
6031 MINI TIGHT ROPE FT 3.5 X 12 MM
6134 MARINER SOLID SCREW 6.5 X 40MM
6542 LORDOTIC ROD 40 MM
8201 OXFORD 6 MM BEARING
9643 MARINER POLYAXIAL HEAD
7142 KNEE COMPONENT SM. PATELLA
7145 KNEE COMPONENT LG PATELLA BUTT
12492 DBM PUTTY 2.5CC
12737 STERIFUSE DBM EVOLVED, 2.5CC
13706 2.5CC BDM
15149 FORMA DBM PUTTY SYRINGE 2.5 CC
5422 2.5 CCDBM PUTTY
100921 DBX PUTTY 5 CC
11316 ULTRAFILL 2.5CC

11580 SMOOTH ROUND MODERATE PROJECTI

12049 465CC COHESIVE GEL BREAST IMPL
12336 BREAST IMPLANT TEXTURED ROUND
12712 SMOOTH ROUND HIGH PROFILE
12907 SMOOTH BREAST IMPLANT
12335 TEXTURED ROUND SILICON LOW PRO
106041 5.5 X 50 MM PT SCREW
106057 PT SCREW 5.5 X 45 MM
107160 8 HOLE LOCKING DISTAL FIBULA
107382 6 HOLE STRAIGHT BRIDGE PLATE
10591 FLEXIBLE HINGE TOE IMPLANT W G
5964 80 MM ROD

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

6,727.50
6,727.50
6,727.50
6,727.50
6,727.50
6,727.50
6,727.50
6,727.50
6,727.50
6,727.50
6,727.50
6,727.50
6,727.50
6,727.50
6,727.50
6,727.50
6,727.50
6,727.50
6,727.50
6,727.50
6,727.50
6,727.50
6,727.50
6,727.50
6,727.50
6,727.50
6,720.03
6,720.03
6,693.86
6,693.86
6,693.86
6,693.86
6,693.86
6,691.97
6,690.13
6,690.13
6,690.13
6,690.13
6,690.13
6,690.13
6,690.12
6,662.64
6,662.64
6,662.64
6,662.64
6,661.72
6,660.23



5965 85 MM ROD
107602 VOLAR BEARING PLT 3 HOLE 7 PEG
7919 EXFUSE PUTTY 3.0 CC
107991 41-50 MM CROSSLINK
106272 28 PLATE 15 MM 2 HOLE LOCKING
107287 EVO3C 2.5 CC ACCELL
6870 DBM PUTTY 2.5 CC
7194 CONGRUENT TIBIAL INSERT CR
7289 CONGRUENT TIBIAL INSERT CR
7650 CONGRUENT TIBIAL INSERT CR
7686 CONGRUENT TIBIAL INSERT CR
7728 CONGRUENT TIBIAL INSERT SIZE 2
6216 TI LAG SCREW 10.5 X 96 MM
8455 LV LEAD
8456 LV LEAD
11682 POWERPORT CLEARVUE 8FR(6/2013)
107781 6.5 X 40 MM SHANK
107782 5.5 X 35 MM SHANK
107793 5.5 X 30 MM SHANK
107901 BEARING PLATE LT. 7 HOLE
108009 5.5 X 45 MM SHANK
108029 5.5 X 35 MM SHANK
108030 6.5 X 40 MM SHANK
108056 5.5 X 40 MM SHANK
108157 7.5 X 35 MM SHANK
108158 8.5 X 40 MM SHANK
108426 7.5 X 40 MM SHANK
7188 BONE CEMENT SIMPLEX P
11829 CERVICAL PLATE FIXED 22MM
8333 OSTEOSET BEADS ANTIOBIOTIC
6078 VENTRALEX MESH LARGE, BARD
5562 SALINE BREAST IMPLANT 425 14.0
5563 SALINE BREAST IMPLANT 525 15.0
7390 THERASKIN 1" X 1"
6133 RESTORATION ADM X3 INSERT ID
9783 ALPHAGRAFT PUTTY 5CC
10391 POWER PORT A CATH TITANIUM 9.6
11130 PASTE GRAFTON PLUS 5CC
12993 PRECEPT TI ROD, 40MM PREBENT
14469 DYNALINK LOCK PLATE
100874 BTB TIGHTROPE
13046 CANCELLOUS CRUSHED 30CC 1-4MM
14419 CANCELLOUS STRIP
15019 CANCELLOUS CHIPS
15106 CANCELLOUS CHIPS
7067 CANCELLOUS CRUSH 1-4MM 30CC
13391 OXFORD 3 MM BEARING

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

6,660.23
6,656.78
6,652.75
6,627.45
6,598.13
6,598.13
6,578.00
6,578.00
6,578.00
6,578.00
6,578.00
6,578.00
6,572.77
6,572.40
6,572.40
6,570.53
6,568.80
6,568.80
6,568.80
6,568.80
6,568.80
6,568.80
6,568.80
6,568.80
6,568.80
6,568.80
6,568.80
6,564.69
6,563.05
6,548.10
6,542.22
6,540.63
6,540.63
6,540.63
6,539.21
6,518.90
6,503.25
6,465.88
6,465.88
6,458.40
6,451.50
6,438.22
6,438.22
6,438.22
6,438.22
6,438.22
6,421.03



13733 OXFORD BEARING
14116 OXFORD 5MM BEARING
14499 LARGE RM 4 MM BEARING
6928 OXFORD 5 MM BEARING
10956 LAPIDUS PLATE
10779 PRIMATRIX 4 X 4
14090 ROD
8685 4.5 MM NARROW LCP PLATE 9
106425 APRFIX Il AM FMRL IMP 10 X 24
9379 GORE BIO-A FISTULA PLUG
11966 BURN MATRIX MESHED 5CM X 5CM
13114 UROLIFT SYSTEM
15145 IMPLANT SYSTEM CMC LIGAMENT
7900 PROVIDENT ACETABULAR APICAL
7926 6 X 12.014 FORMULA RX STENT
7927 6 X16.014 FORMULA RX STENT
7942 STENT 7 X 15 MM STERLING
7943 STENT 7 X 16.014 FORMULA RX
8091 PROVIDENT ACETABULAR APICAL
100063 CANCELLOUS CRUSHED 1-4 MM 5CC
108614 STENT 4.0 MM X 28 MM PROMUS
107315 VNGD ANT STBLZD BRG 10 X 63
4433 ILIAC CREST BONE IMPLANT
6829 KNEE STRYKER ORTHO TIBIAL INSE
14470 5.5 X 20 DYNALINK VARIABLE
6468 5.5 X 20 MM SCREW
6494 5.5 X 25 SCREW
3724 INTERGRO 100% DBM, 5CC
12506 VENTRALIGHT ST MESH WITH ECHO
5783 FLEX HINGE TOE IMPLANT W/ GROM
9668 HAMMERLOCK SMALL ANGLED IMPLAN
9754 HAMMERLOCK IMPLANT MEDIUM ANGL
9755 HAMMERLOCK IMPLANT X TYPE MED
10883 ULNAR OSTEOTOMY COMPRESSION
11024 SCREW 5.5 X 25MM
2610 2.7MM CANNULATED DRILL BIT/QC
9192 RE+LINE 20 MM X 6 MM KIT
8063 STRAIGHT 4 HOLE PLATE
107780 MOO TULIP
107784 BIOLOX DELTA HIP SYSTEM
107828 ALLOSYNC PURE 5 CC
108782 CONTINUUM VIVACIT-E ELEVATED
10592 PLATE FIBULA 5 HOLE
6715 65 MM ROD
11790 MIS ROD 9S0MM
11803 MIS ROD 70MM
11804 MIS ROD 80MM

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

6,421.03
6,421.03
6,421.03
6,421.03
6,413.55
6,376.18
6,368.70
6,361.23
6,358.60
6,357.07
6,353.75
6,353.75
6,353.75
6,353.75
6,353.75
6,353.75
6,353.75
6,353.75
6,353.75
6,353.75
6,353.75
6,334.20
6,327.04
6,313.90
6,279.00
6,279.00
6,279.00
6,239.85
6,226.97
6,166.88
6,166.88
6,166.88
6,166.88
6,166.88
6,166.88
6,166.88
6,163.14
6,159.40
6,158.25
6,158.25
6,158.25
6,104.70
6,092.13
6,047.28
6,036.06
6,036.06
6,036.06



11806 MIS ROD 60MM
11813 MIS ROD NOTCHED 50MM
10551 ACETABULAR POROUS SHELL 54MM
10952 MODULAR HEAD -3 36 MM
108721 E1 VNGD AS TIB BRG 16 X 83
7024 70MM PEEK ROD
10189 UNICOMP. KNEE ARTIC. SURFACE S
10323 TOTAL KNEE ARTICULATE SURFACE
11018 SET SCREW BREAKAWAY
12695 25MM SELF DRILLING SCREW
6875 4.5 X 32 MM COMPRESSION
6876 4.5 X 40 MM COMPRESSION
6924 4.5 X 44 MM 1/3 THREADED
7304 4.0 X 50 MM 1/3 CANNULATED
7571 1/3 COMPRESSION SCREW
7951 4.0 X 20 VARIABLE SCREW
8604 WEDDING BAND 5.5 TO 5.5
8673 4.5 X 16 SCREW
8674 4.5 X 50 SCREW
9555 4.0 X 52 SCREW
9671 4.5X 46
106651 36 +3 HUMERAL CUP
4548 METATARSAL OPENING WEDGE PLT
4555 METATARSAL OPENING WEDGE PLT
4558 METATARSAL OPENING WEDGE PLT
4560 METATARSAL OPENING WEDGE PLT
8736 PLATE LOW PROFILE 35MM LEFT
8737 PLATE LOW PROFILE 35MM RIGHT
11445 POLY SCREW 7.5X50
9561 60 CC BONE CHIP
6278 OSTEOSET BEADS 25 CC
12507 SORBAFIX ABSORBABLE FIXATION
9930 ROD EXT 100 MM 5.5
10281 ROD PREBENT 65MM 5.5EXT
10380 80MM 5.5 EXT RODS
4632 VENTRALEX MESH MEDIUM
9512 PLATE DISTAL FIBULAR 4 HOLE
10024 PPS SHANK 7.5 X 45MM
10025 PPS SHANK 8.5 X 50MM
10064 SCREW SHANK 6.5 X 35MM PPS
10208 SCREW NON CANNULATED 6.5 X 45M
8115 PLASMAX PLUS KIT BIOMET 800-05
107967 FEMORAL NECK SYSTEM PLATE 1
100203 MARINER SOLID SCREW 6.5 X 30
100632 MARINER SOLID SCREW 5.5 X 40
100691 CONSERVE A CLASS BFH HEAD O D
100837 MARINER SOLID SCREW 8.5 X 50

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

6,036.06
6,036.06
6,017.38
6,017.38
5,997.60
5,980.00
5,980.00
5,980.00
5,980.00
5,980.00
5,980.00
5,980.00
5,980.00
5,980.00
5,980.00
5,980.00
5,980.00
5,980.00
5,980.00
5,980.00
5,980.00
5,952.98
5,942.63
5,942.63
5,942.63
5,942.63
5,942.63
5,942.63
5,942.63
5,906.75
5,900.19
5,898.49
5,897.78
5,897.78
5,897.78
5,879.78
5,875.35
5,875.35
5,875.35
5,875.35
5,875.35
5,873.95
5,872.33
5,865.00
5,865.00
5,865.00
5,865.00



100838 MARINER SOLID SCREW 8.5 X 55
100878 LGN XLPE PS INSERT SZ 3-4 11
106287 ARTICULAR SURFACE
106290 PRIME A CLASS XLPE LINER 36 MM
106291 BIOLOX DELTA FEMORAL HEAD 36 MM
106306 BIOLOX DELTA FEMORAL HEAD 32MM
106307 PRIME A CLASS XLPE FC LAT
106343 PATELLA
106344 RIGHT MEDIAL INSERT
106345 RIGHT LATERAL INSERT
106381 ARTICULAR INSERT
106736 JRNY BCS PAT RESRF RD 29 MM
106813 CANNULATED SCREW 6.50 X 45 MM
107260 LGN XLPE PS INSERT SZ 7-8 SMM
107362 FIBULOCK IMPLANT SYSTEM
107441 BIOLOX DELTA FEMORAL HEAD 40
107449 SWANSON LATERAL FLEXSPAN
107469 CANNULATED SCREW 6.50 X 50 MM
107470 CANNULATED SCREW 7.50 X 50 MM
107511 BIOLOX DELTA FEMORAL HEAD 36 MM
107515 BIOLOX DELTA FEMORAL HEAD 36 MM
13932 VENTRALIGHT MESH WITH ECHO
107163 12 HOLE STRAIGHT LOCKING PLATE
10451 PLATE 5 HOLE FIBULAR LEFT
12086 PRECEPT TI ROD 50MM PREBENT
13247 PRECEPT TI ROD 35 MM PREBENT
10917 FIBULA PLATE 3 HOLE LEFT
5328 DBM PURE PUTTY 2.5 CC
5824 X-SMALL PATELLA BUTTON
106449 PCD11 CANNULATED REVISION DOWE
106450 PCD12 CANNULATED REVISION DOWE
106451 PCD13 CANNULATED REVISION DOWE
106452 PCD14 CANNULATED REVISION DOWE
106453 PCD16 CANNULATED REVISION DOWE
106454 PCD18 CANNULATED REVISION DOWE
106206 AUTO GRAFTLINK IMPLANT 2246
108642 CLAMP 1.25
4647 KNEE GENDER TAPER PLUG 5960

8988 BLACK WIDOW SCREW 20MM OMNISUR

5960 MARS 3V USAGE FEE
6731 PICC LINE POWER PICC 5FR DUAL
9465 ROD 45MM
100618 SOLSICE SCREW 3.5 X 10 MM
106881 POLY SCREW 4.0 X 12 MM
107278 FLEX OSTEO ROUND MEDIUM
107562 FLEX FL NARROW
108350 CUP OSTEOTOME MEDIUM

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

5,865.00
5,865.00
5,865.00
5,865.00
5,865.00
5,865.00
5,865.00
5,865.00
5,865.00
5,865.00
5,865.00
5,865.00
5,865.00
5,865.00
5,865.00
5,865.00
5,865.00
5,865.00
5,865.00
5,865.00
5,865.00
5,832.16
5,823.95
5,823.03
5,823.03
5,823.03
5,800.43
5,790.45
5,746.79
5,733.03
5,733.03
5,733.03
5,733.03
5,733.03
5,733.03
5,700.78
5,694.33
5,686.61
5,681.00
5,670.83
5,651.10
5,636.15
5,630.40
5,630.40
5,630.40
5,630.40
5,630.40



108351 CUP OSTEOTOME SMALL 278 5,630.40

8309 LG FROG 7 HOLE BROAD PL 278 5,628.68
7166 PLATE 9 HOLE OLECRANON ACUMED 278 5,606.25
7509 NIM PROBE 278 5,606.25
8310 SLIDING CORE 9.5MM DEPUY SPINE 278 5,606.25
8675 ROD 5.7 X 45MM CURVED APPOLLON 278 5,606.25
8676 ROD 5.7 X 40MM CURVED APPOLLON 278 5,606.25
8677 ROD 5.7 X 50MM CURVED APPOLLON 278 5,606.25
9153 PLATE FIBULA RIGHT 4 HOLE 278 5,606.25
10456 ACELL PLASTIC MATRIX X 278 5,606.25
13103 CANCELLOUS CRUSHED 30CC 278 5,606.25
13403 CANCELLOUS CRUSHED 4-10 MM 278 5,606.25
13698 RF COOL KIT 278 5,606.25
14733 RIGHT RING ROD 90 MM 278 5,606.25
14734 LEFT RING ROD 90 MM 278 5,606.25
5254 RING ROD 60 MM L 278 5,606.25
5289 LORDOTIC RING ROD 40 MM LT 278 5,606.25
5290 RING ROD 40 MM RT 278 5,606.25
5684 RING ROD 278 5,606.25
5685 RING ROD 278 5,606.25
5730 RING ROD 30 MM L 278 5,606.25
5731 RING ROD 30 MM R 278 5,606.25
5861 RING ROD 60 MM RIGHT 278 5,606.25
6244 RING ROD 120 MM R 278 5,606.25
6245 RING ROD 120 MM L 278 5,606.25
6486 RING ROD RIGHT 110MM 278 5,606.25
6487 RING ROD LEFT 278 5,606.25
7902 32 MM HOODED EXP LINER 278 5,606.25
7915 | FACTOR BONE GRAFT 1 CC 278 5,606.25
8093 28 MM HOODED EXP LINER 278 5,606.25
8709 INBONE STEM TIBIAL BASE 16MM 278 5,583.83
106646 25 MODULAR SCREW 278 5,571.75
108208 MOS CENTRAL POST 20 MM SCREW 278 5,571.75
5028 BARD PORT 9.6FR UN-CONNECTED 278 5,551.86
7903 32 MM BIOLOX DELTA FEMORAL 278 5,531.50
8094 28 MM BIOLOX DELTA FEMORAL 278 5,531.50
107682 DYNASTY A CLASS POLY LINER 36 278 5,518.97
108353 DYNASTY A CLASS POLY LINER 36 278 5,518.97
108355 DYNASTY A CLASS POLY LINER 278 5,518.97
7281 PROPEL REGULAR 278 5,496.24
7282 PROPEL CONTOUR 278 5,496.24
7283 PROPEL MINI 278 5,496.24
108637 TRIDENT Il CLUSTERHOLE HA 278 5,484.78
13493 5.5 MM CANNULATED DRILL 278 5,456.75
107953 RESOLUTE ONYX 2.0 MM X 12 MM 278 5,425.13
10489 TOTAL HIP MOD HEAD COMP. 32MM 278 5,419.38

10640 FEMORAL HEAD 28 X 3 278 5,419.38



11092 TOTAL HIP 28 X PLUS 6 HEAD
14149 140 MM FOOT PLATE
7976 IVC FILTER FEMORAL TULIP
108037 SHIM
10303 BONE MULCH SCREW W/ WASHERLOC
14844 RESTORATION ADM/MDM X3 INSERT
13764 3.6 X 14 MM SELF DRILLING
100365 IMPLANT SYSTEM SWIVELOCK
5780 SIZE 38 MM ROUND PATELLA
6676 GNS Il RESURF PAT 32 MM
6849 TRIATHLON X3 ASYMMETRIC
107709 EVOLUTION MP CS 3 LEFT 10 MM
6960 CERAMIC FEMORAL HEAD SIZE
7119 CERAMIC FEMORAL HEAD SIZE 0
7515 CERAMIC FEMORAL HEAD SIZE 0
7723 CERAMIC FEMORAL HEAD SIZE 36
13091 USS MET STRAIGHT PLT 6 HOLE
13097 LESS MET STRAIGHT PLT 4 HOLE
9455 TIGHTROPE SS
9511 TIGHTROPE
108643 3.0 CLAMP
8402 PLATE LARGE MESH CALCANEAL
11390 OFFSET ROD 13.5MM 5.5MM
106067 MARINER EXTENDED POLYAXIAL
107440 PRIME A CLASS XLPE FC LAT
107510 PRIME A CLASS XLPE LIPPED
107514 PRIME A CLASS XLPE LINER 36 MM
100807 T PLATE .8 MM
13972 STRAIGHT TUBULAR PLATE
14042 5 CC IMPLANT MATERIAL CALCIUM
6836 7 HOLE STRAIGHT PLATE
6902 LEAD 5076-58 LEAD BI SIL
108388 SOLERA SCREW 6.5 X 45
7979 VISIPRO STENT 6 X 27 X 135
7984 VISIPRO STENT 8 X 27 X 135
9029 8 X 27 VISIPRO STENT
9367 6.5 X 45MM CANNULATED SCREW
9591 PPS SHANKS 6.5 X 50MM
9593 PPS SHANK 7.5 X 40MM
9653 PPS SHANK 6.5 X 40
9706 PPS CANNULATED SHANK 5.5 X 45M
9785 SCREW SHANK PPS 5.5 X 40MM
9832 PPS SHANK CANNULATED 7.5 X 50M
10205 SCREW NON CANNULATED 6.5 X 45M
10206 SCREW NON CANNULATED 6.5 X 50M
10419 SCREW CANNULATED PPS 7.5 X 45M
10461 PPS CANNULATED SCREW 5.5 X 50M

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

5,419.38
5,419.38
5,419.38
5,415.15
5,407.75
5,387.30
5,382.00
5,366.48
5,362.86
5,362.86
5,358.91
5,337.15
5,318.09
5,318.09
5,318.09
5,318.09
5,314.73
5,314.73
5,292.30
5,292.30
5,291.99
5,284.83
5,284.83
5,278.50
5,278.50
5,278.50
5,278.50
5,249.18
5,247.45
5,239.98
5,232.50
5,202.60
5,202.26
5,195.13
5,195.13
5,195.12
5,157.75
5,157.75
5,157.75
5,157.75
5,157.75
5,157.75
5,157.75
5,157.75
5,157.75
5,157.75
5,157.75



10538 6.5 X 55 NONCANNULATED PPS

10602 SCREW PPS CANNULATED 5.5X35MM

10763 5.5 X 45 SHANK
10810 SHANK 6.5 X 40
11303 6.5 X 40MM SHANK
12142 SHANK 6.5 X 35MM
12251 SCREW SHANK 6.5 X 55
12252 SCREW SHANK 6.5 X 50
7810 ACCELL EVO3
107836 GNS Il CMT TIB SIZE 6 LEFT
108144 TIBIAL BASEPLATE
108261 GNS Il NON-POR TIB SZ 7 RIGHT
108686 TIBIAL BASEPLATE
8702 INBONE STEM TIBIAL TOP 14MM
8703 INBONE STEM TIBIAL MID 14MM
15171 Y-KNOT FLEX 1.0 MM ALL- SUTURE
9584 PLATE 6 HOLE FIBULAR LEFT
6279 KNEE- PATELLA 6642-2-100
6208 MODULAR SCREW 6.5 X 45
6263 MODULAR SCREW 6.5 X 50
6264 MODULAR SCREW 6.5 X 55
6265 MODULAR SCREW 7.5 X 50
8704 INBONE STEM TIBIAL MID 16MM
11721 VARIABLE ANGLE SCREW 14MM
8231 TENDRIL LEAD U PR
9997 PATELLA BUTTON X SMALL
7455 5 HOLE PIN CLAMP
100150 RECONSTRUCTION PIN
9454 PLATE 5 HOLE RIGHT FIBULAR
5897 FIBULA SHAFT 50-75 MM
9695 BICEPS BUTTON
100761 ALLOSYNC PURE 2.5 CC
11076 STIMUBLAST PUTTY 5CC
14537 SUTURE ANCHOR BIOCOMPOSITE
5490 EVO 3

2984 3.5MM LCP RECONSTRUCTION PLATE
8802 MESH PROCEED VENT.PATCH MEDIUM

100026 4.5 X 30 SCREW
107882 CLAVICLE PLATE 7 HOLE LEFT
108061 STENT RONYX27518W RESOLUTE
108372 PROMUS ELITE STENT 4.0 X 20 MM
108455 2.5 MM X 26 MM RESOLUTE ONYX
106926 ROD 65
107349 ROD 2 45 MM

8310 LG FROG 6 HOLE NARROW PL
106416 RELINE-O COCR ROD 5.0 X 30 MM
106417 RELINE-O COCR ROD 5.0 X 35 MM

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

5,157.75
5,157.75
5,157.75
5,157.75
5,157.75
5,157.75
5,157.75
5,157.75
5,157.75
5,131.88
5,131.88
5,131.88
5,131.88
5,127.85
5,127.85
5,124.86
5,120.38
5,101.69
5,091.97
5,091.97
5,091.97
5,091.97
5,083.00
5,080.56
5,077.40
5,068.05
5,053.10
5,053.10
5,045.63
5,045.63
5,045.63
5,032.17
5,030.18
5,023.20
5,020.44
4,996.04
4,989.15
4,985.83
4,985.25
4,985.25
4,985.25
4,985.25
4,970.59
4,970.59
4,963.40
4,938.33
4,938.33



13717 ARTIFICIAL LIGAMENT FIXATION
107783 RANAWAT/BURSTEIN (R) ACTBLR
11786 NAN OSS BONE VOID FILLER 2CC
12000 1CC NAN OSS BONE VOID FILLER
9141 OSTEOCELL PLUS 1CC
9759 SINGLE BALL PREBENT ROD 55MM
6233 FEMORAL SHAFT WHOLE IN CIRC.
6705 KNEE X3 PATELLA COMPONENT
6828 KNEE STRYKER ORTHO PATELLA 10M
12797 KNEE SYSTEM ALL POLY PATELLA
7525 INGEVITY MRI IS-1 POSITIVE FIX
8450 FLEX HD ACELLULAR DERMIS HYDRA
7452 HYBRID RING
106894 10BP DELIVERY KIT
12536 TIGHTROPE RT/W PIN
3597 SCREW ACUTRAK 2 16 MM MINI
100736 12 MM MICRO ACUTRAK 2
106016 MICRO ACUTRAK 2 SCREW 11 MM
106440 MICRO AT2 SCREW 18 MM
106444 MICRO AT2 SCREW 14 MM
106771 LOGICAL G SERIES ACETABULAR
4631 VENTRALEX MESH SMALL
7080 ROD COUPLING 4.5/8 STRYKER
7453 8/8 ROD COUPLING
6644 2.7 X 14 LOCKING SCREW
6645 2.7 X 16 LOCKING SCREW
6877 3.5 X 18 MM FULLY THREADED
6878 3.5 X 20 MM FULLY THREADED
6879 3.5 X 24 MM FULLY THREADED
6915 3.5 X 14 MM NON LOCKING
6916 3.5 X 16 MM LOCKING SCREW
6919 3.5 X 24 MM LOCKING SCREW
6920 3.5 X 26 MM LOCKING SCREW
6921 3.5 X 20 MM LOCKING SCREW
6922 3.5 X 22 MM LOCKING SCREW
6923 4.0 X 26 MM LOCKING SCREW
6925 3.5 X 30 MM LOCKING SCREW
6926 3.5 X 12 MM LOCKING SCREW
7131 2.7 X 14 MM FULL SCREW
7132 2.7 X 10 MM FULL SCREW
7133 2.7 X 16 MM FULL SCREW
7134 2.7 X 18 MM FULL SCREW
7135 3.0 X 12 MM FULL SCREW
7168 3.5 X 10 MM SCREW FULL
7169 3.5 X 14 SCREW FULL
7306 3.5 X 28 MM LOCKING SCREW
7566 3.5 X 28 LOCKING

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

4,933.50
4,926.60
4,896.13
4,896.13
4,873.76
4,873.70
4,858.75
4,858.75
4,858.75
4,858.75
4,858.75
4,850.19
4,836.33
4,821.03
4,806.43
4,786.88
4,785.84
4,785.84
4,785.84
4,785.84
4,780.03
4,763.58
4,761.58
4,761.58
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10



7567 3.5 X 32 LOCKING
8550 4.0X 20
8614 2.7 X 30 SCREW
8615 2.7 X 26 SCREW
8672 3.5 X 14 SCREW
8675 4.5 50 SCREW
8693 2.7 X 24 MM 5 CM
9151 3.5 X 38 XPLANT SCREW
9152 3.5 X 34 XPLANT SCREW
9153 3.5 X 36 XPLANT SCREW
9417 2.7 X 24
9420 3.5X 18
9421 3.5X 20
9422 3.5X 16
9423 3.5X 22
9507 3.5X30
9660 3.0 X 28
9661 3.0 X 26
9663 3.0 X 30
9664 3.0 X 20
9665 3.0 X 22
9666 3.0 X 24
9667 3.0 X 22 NON LOCK
9668 3.0 X 18
9669 SCREW
9720 2.0X 10
13669 SURGICAL ILLUMINATOR
13899 SURGICAL ILLUMINATOR
13938 SURGICAL ILLUMINATORS
13954 SURGICAL ILLUMINATOR
14081 GENTLE THREADS DISPOSABLE KIT
5621 ORTHOLOL 4 HOLE PLATE
7479 5/8 160 MM RING
13994 5.5 MM DRILL BIT
6231 PROGENIX DBM 5CC
10033 EXT ROD 60MM
11931 EXTENSION ROD 5.5
9419 100MM ROD MEDTRONIC
9610 60MM ROD SOLERA
9611 SOLERA ROD 50MM
10511 SM 10 DEG HAMMERTOE IMPLANT
11647 DISTRACTOR 150MM
14043 STIMUBLAST DBM PUTTY 2.5CC
9966 PENILE IMPLANT ACCESSORY KIT
14079 TOGGLELOC INLINE
107377 30 CC CANCELLOUS CHIP
108647 XLIF DECADE PLATE BOLT 5.5 X

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,754.10
4,746.63
4,746.63
4,746.63
4,746.63
4,739.15
4,724.20
4,720.31
4,720.30
4,718.27
4,716.73
4,716.73
4,709.25
4,709.25
4,709.25
4,709.25
4,701.78
4,701.78
4,698.31
4,694.30
4,692.00
4,692.00



7956 H-GENIN PUTTY 1 CC
8324 1 CC TENSIX
9256 MINI HOOK PLATE 5 HOLE
9995 VITAGEL 4.5
9175 COMBO CLAMP
11722 PRO LINK LOCK PLATE
14638 4.75 PEEK FORK SWIVEL LOCK
106613 60 CC CRUSHED CANCELLOUS
106614 60 CC CRUSHED CHIPS
7192 ALL POLY PATELLA 3 PEG 38 MM X
7649 PATELLA 35 MM X 8 MM
7687 ALL POLY PATELLA 3 PEG 29 MM X
2985 3.5MM LCP RECONSTRUCTION PLATE
14026 PROLINK VARIABLE 3.0 X 12 MM
14165 PROLINK VARIABLE 30 X 14 SCREW
14508 PROLINK VARIABLE ANGLE 3.0 X
5424 PROLINK VARIABLE 3.0 X 14 MM
7077 VARIABLE 3.5 X 12MM SCREW
3117 TISSEEL 10CC
6083 ACL TIGHTROPE TR DOUBLE SUTURE
5584 HEADLESS COMPRESSION SCREW
5454 ORTHOSORB K-WIRE/PIN 2.0 X 40
10684 30MM SINGLE BALL ROD
10812 DUAL BALL RODS 25MM
107494 COCR FEM HD 40 MM TYPE 1 -3MM
13747 BIOCOMPOSITE SWIVELOCK C
7539 3.5 X 8.5 PEEK DX SWIVELBACK
7929 FIBERTAK DX
10850 DHS 4 X 135 DEG
12011 MIS ROD 60MM
12012 MIS ROD 50MM
12013 MIS ROD 55MM
5393 FT SCREW
106772 LOGICAL CUP LINER 10 DEGREE
108727 DELTA OPTION NECK SLEEVE
5202 HIP BIOMET 28X6 MODULAR HEAD
6014 HIP 28X STANDARD HEAD BIOMET
6770 PAIN PUMP ON-Q PMO12A 2-DAY
10704 28 X -3 HEAD
12082 FIXATE TISSUE BAND, SINGLE
108772 TIBIAL BASEPLATE
100674 12/14 COCR FEMORAL HEAD 36 MM
100787 12/14 COCR FEMORAL HEAD 36 MM
106685 12/14 COCR FEMORAL HEAD 36 MM
5301 DOUBLE LOADED SWIVELLOCK
100107 3.5 SUTURE ANCHOR
100109 HAND SANITIZER FOAMING PURELL

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

4,679.35
4,679.35
4,671.88
4,661.86
4,656.93
4,653.19
4,649.45
4,634.52
4,634.52
4,634.50
4,634.50
4,634.50
4,634.50
4,625.16
4,625.16
4,625.16
4,625.16
4,625.16
4,619.48
4,617.81
4,604.60
4,603.48
4,589.65
4,589.65
4,574.70
4,562.52
4,544.80
4,544.80
4,537.33
4,527.09
4,527.09
4,527.09
4,522.38
4,519.68
4,493.10
4,485.00
4,485.00
4,485.00
4,485.00
4,485.00
4,462.50
4,457.40
4,457.40
4,457.40
4,455.10
4,455.10
4,455.10



100110 2.5 MM SUTURE ANCHOR
9825 STAPLE 11X15X13 10DEG BACKSLOP
9841 STAPLE BOSS 7 X9
10172 KNEE RESECTION PACK
14929 14 MM VARIABLE SCREW
14950 16 MM SELF DRILLING
15143 16 MM SELF DRILLING SCREW
107862 11 X 71 BEARING
10271 SECURE STRAP 5MM ABSORBABLE FI
13629 PSN ALL POLY PATELLA CEMENTED
9420 PRE BENT ROD 75MM
9421 PRE BENT ROD 65MM
10071 TRINITY EVOLUTION 1CC
6182 KNEE STRYKER ORTHO PATELLA UP-
100437 VOLAR FIXED ANGLE PLATE RT 5
100483 FIXED ANGLE PLATE LT 5 HOLE
5568 LMH REAMER
10014 DHS 5 HOLE PATE 135DEGREE
13219 5.5 X 50 MM ROD
106700 ROD
108763 3.5 X 14 MM SCREW
6757 OSSTAPLE MEDIUM 0S-181815 W2
14078 4.5 X 9.5 SWITCHCUT REAMEX
100170 QUATTRO X ANCHOR 5.5 BB

10381 PHYSIOMESH 10X15CM OVAL COMPOS

14423 Y-KNOT-RC W/ 3 SUTURES
12528 VENTRALIGHT ST W/ECHO 4.5 CIR
10493 45MM 5.5 EXT ROD
107817 HTO PLATE
108094 PLATE WEDGE OSTEOTOMY 12.5 MM
9583 BIO COMPOSITE PUSHLOCK ANCHOR
14255 SUTURE ANCHOR 3.5 X 14.8 MM
7676 2.4 BC PUSHLOCK
14021 CAPSCREW
5348 LOCKING CAP
5997 2.4 X 28 HCS LONG THD
5998 2.4 X 18 HCS SHORT THD
5999 2.4 X 20 HCS SHORT THD
8187 SET SCREW STAR
9309 110 MM CURVED ROD
8803 MESH PROCEED VENT.PATCH SMALL
7702 AR-1593 IMPLANT SYSTEM
107831 RIGHT DISTAL FIBULA PLATE 4
7510 ELECTRODES
7780 TWISTED PAIR 8
7141 KNEE COPONENT TIBIAL BEARING
7146 KNEE COMPONENT TIBIAL BEARING

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

4,455.10
4,447.63
4,447.63
4,447.63
4,447.63
4,447.63
4,447.63
4,433.94
4,430.70
4,413.16
4,410.25
4,410.25
4,407.58
4,406.00
4,402.20
4,398.75
4,384.05
4,380.35
4,365.40
4,310.78
4,299.30
4,298.13
4,298.13
4,298.13
4,292.72
4,290.43
4,283.47
4,283.18
4,281.45
4,281.45
4,275.70
4,275.70
4,275.70
4,260.75
4,260.75
4,260.75
4,260.75
4,260.75
4,260.75
4,260.75
4,252.56
4,252.13
4,252.13
4,238.33
4,238.33
4,230.85
4,230.85



107464 12 MM BONE PLUG 18-25 MM FD
9800 ALPHAGRAFT DBM PUTTY 2.5CC
7278 DOUBLE CABLE

10131 PLUG & PATCH HERNIA REPAIR SYS
2978 8 HOLE LCP PLATE 3.5MM
14330 INTERFERENCE SCREW SMM L-25MM
9306 5.5MM BIO COMPOSITE CORKSCREW
13943 TRINITY ELITE SMALL
5867 RETROFUSION DISPOSABLE KIT
8054 SEPRAMESH

107235 KNOTLESS INSITE FT PEEK 5.5 MM

107261 FIBERSTITCH IMPLANT CURVED W/

107350 TORNIER KNOTLESS INSITE FT

108477 5.5 MM SUTURE ANCHOR PEEK FT

107213 6.5 MM HEADLESS COMPRESSION

107934 PRECISION JMF SCREW CANNULATED

107935 PRECISION JMF SCREW CANNULATED

107936 PRECISION JMF SCREW CANNULATED

11249 TRIPLE SET BLOCKER
8768 ROD PRE BENT OMNI 5.5MM X 40MM
8900 PRE BENT ROD 5.5 X 70MM
8903 PRE BENT ROD 5.5 X 60MM
9642 PRE BENT ROD 5.5MM X 100MM
11791 SET SCREWS
10996 PLAPLE 15MM
14932 ANGULATED CONNECTOR
5656 ROD 5.5 X 250

107259 GEN Il RESURF PATELLA 41 MM

107587 PRIME A CLASS XLPE LINER 36 MM

108066 PRIME A CLASS XLPE FC LAT

108628 PRIME A-CLASS XLPE LINER 40 MM

10526 BIO PUSHLOCK 4.5MM
7983 VISIPRO STENT7 X 57 X 135
7989 VISIPRO STENT 9 X 57 X 135
5667 FIBULA WHOLE BONE 4" (15CM)
7134 LAG SCREW STRYKER ORTHO
13869 VENTRIO ST HERNIA PATCH

108749 NARROW LEFT PLATE

107764 14 MM DISTRACTION PIN
9551 PREBENT ROD 70MM

10260 PREBENT ROD 80MM
9213 PEDICLE SCREW SET CAP
9218 PRE BENT ROD 5.5 MM X 90 MM
9221 PRE BENT ROD 5.5 MM X 60 MM
9595 TRIKON PRE BENT ROD 5.5 MM X
9868 TRIKON PRE BENT ROD 5.5 MM X
9871 5.5 X 100 MM PRE BENT ROD

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

4,222.80
4,204.16
4,200.42
4,195.67
4,188.43
4,186.00
4,178.72
4,178.53
4,157.74
4,153.73
4,152.42
4,152.42
4,152.42
4,152.42
4,146.56
4,134.83
4,134.83
4,134.83
4,126.34
4,118.73
4,118.73
4,118.73
4,118.73
4,118.73
4,111.25
4,111.25
4,111.25
4,105.50
4,105.50
4,105.50
4,105.50
4,076.24
4,076.18
4,076.18
4,073.88
4,073.88
4,073.68
4,054.50
4,017.53
4,006.60
4,006.60
4,006.60
4,006.60
4,006.60
4,006.60
4,006.60
4,006.60



9883 PRE BENT ROD TRIKON 5.5 MM X
100333 TI ELASTIC NAIL 3.5 MM
13078 TENFUSE STERILE PIP INSTRUMENT
9179 SIZE 0 BROACH PROXIMAL
7184 KNEE COMPONENT PATELLA X3
107649 AUTOGRAFT GRAFTLINK
107812 ALLOGRAFT GRAFTLINK IMPLANT
14080 10 X 30 TCP SCREW
7115 CONSERVE MEDIUM NECK SLEEVE
14694 CONSERVE TOTAL NECK SLEEVE
107616 5.0 X 40 H SCREW
107617 5.0 X 36 H SCREW
10741 AMS 700 ACCESSORY KIT

100171 QUATTRO LINK ANCHOR 4.5 MM SP

13009 LEAD 457445 CAPTURE SENSE
8307 LEAD 407452 PACE TRANSV URE
5212 OSS-STAPLE 0S-1108 W1.5
5500 OSSTAPLE OS-0907 W1.5

12451 FIBERSNARE

12616 MICRO NAIL PLATE

100050 TITANEX LAG 4.0 X 30 MM SCREW

13518 BIOADAPT DBM FOAM SMALL STRIP

5986 LOCKING CAP
7602 TEMPORARY PACEMAKER
13363 SCREW ARCHON 4.0 X 15MM
13436 SREW ARCHON 4.0 X 13 MM SELF
14797 REGENEREX POST
3602 SCREW ACUTRAK2 26 MM MINI
8321 CP TI ROD ALPHATEC 62004-05
8883 ABC CERVICAL SCREW 4.0 X 14MM
9005 PCTI ROD 100
9870 CP TI ROD 90MM
4147 70CM CP TI ROD
8271 SELF TAP FIXED ANGLE 4.5 RESCU
100387 4.0 X 32 MM
100388 4.0 X 34 MM
108730 EXPLANT FULL BLADE 54 MM
13863 DRILL KIT FOR CONTINUOUS
100937 6.5 MM HEADLESS COMPRESSION
100938 6.5 MM HEADLESS COMPRESSION
100939 6.5 MM HEADLESS COMPRESSION
108787 VINGD ANT STAB BRG 13 X 71
108005 ALLOSYNC DBM STRIP 15X 40 X 3
11001 SCREW 5.5 X 22MM
11002 SCREW 5.5 X 24MM
106765 2.4 MM HEADLESS COMPRESSION
107210 2.4 MM HEADLESS COMPRESSION

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

4,006.60
4,005.80
3,999.13
3,991.65
3,990.60
3,988.20
3,988.20
3,984.18
3,984.18
3,984.17
3,982.34
3,982.34
3,969.12
3,946.80
3,927.30
3,927.30
3,924.38
3,924.38
3,924.38
3,924.38
3,924.38
3,924.37
3,924.37
3,924.37
3,916.90
3,916.90
3,916.90
3,909.43
3,887.00
3,887.00
3,887.00
3,887.00
3,887.00
3,879.53
3,876.77
3,876.77
3,876.00
3,865.04
3,859.17
3,859.17
3,859.17
3,855.60
3,841.58
3,834.68
3,834.68
3,829.85
3,829.85



107211 2.4 MM HEADLESS COMPRESSION
9833 PRE BENT ROD 100MM
10078 65MM PREBENT CONV ROD

14328 INTERFERENCE SCREW 7 MM L-20MM
14329 INTERFERENCE SCREW 8MM L-25MM

13401 ROD 45MM
13404 ROD 50 MM
13668 40 MM ROD
13795 65 MM ROD
13796 70 MM ROD
14001 80 MM ROD
107827 LOCKING DISTAL FIBULA PLATE
7868 PLATE 2.3MM STRYKER ORTHO #57-
100774 LOCKING CALCANEUS PLATE LG LT
9640 SCREW SHIM KIT NUVASIVE
6648 CANCELLOUS CUBES 30CC
13737 PIONEER CABLE DOUBLE LOOP
9772 1.5 HEADLESS COMP. SCREW 9 MM
8761 MESH ULTRAPRO LARGE
8681 UNIVERSAL SET SCREW LANX
10052 BIO COMPRESSION SCREW 2.7 X 20
11480 PLEXUR P 10X10X20MM
11481 PLEXUR P 20X20X20MM
12659 TEN FUSE STERILE NAIL
13124 ADVANCE ONLAY ALL-POLY PATELLA
13687 ADVANCE ONLAY ALL-POLY PATELLA
13692 DTRAX CERVICAL ALLY BONE SCREW
13693 DTRAX BONE SCREW
13810 12 CM FIXATION PIN
13897 DISPOSABLE NEUROMONITORING
5644 ARTERIOCYTE PLATELET RICH
5844 TRIMANO SYSTEM
6429 LEAD 5076-52 LEAD BI SIL
6952 LEAD BI SIL STEROID SCREW
9854 40 MM ROD
9855 45 MM ROD
9523 PRE BENT ROD 90MM
9652 PREBENT ROD 100MM
9710 PREBENT RODS 110MM
9711 PRE BENT RODS 95MM
10207 ROD PREBENT ARMADA 120MM
10462 PRE BENT ROD 85MM
12326 14MM H PLATE
12514 | PLATE (22)
12518 | PLATE (16)
12658 65MM PRE-BENT RODS
12857 75MM PRE-BENT ROD

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

3,829.85
3,819.73
3,819.73
3,819.73
3,819.73
3,812.25
3,812.25
3,812.25
3,812.25
3,812.25
3,812.25
3,812.25
3,804.78
3,785.86
3,780.34
3,776.09
3,774.88
3,759.93
3,738.02
3,737.50
3,737.50
3,737.50
3,737.50
3,737.50
3,737.50
3,737.50
3,737.50
3,737.50
3,737.50
3,737.50
3,737.50
3,737.50
3,737.50
3,737.50
3,737.50
3,737.50
3,722.55
3,722.55
3,722.55
3,722.55
3,722.55
3,722.55
3,722.55
3,722.55
3,722.55
3,722.55
3,722.55



8738 PLATE LOW PROFILE 40MM LEFT
10939 SCREW DIAMOND ACDF 4.3 X 14MM
14009 LOCK PLATE
14641 TENODESIS SCREW BIOCOMPOSITE

7784 CONVERTING CLAMP RE-ALIGNMENT

8174 14MM FIXED SELF DRILL SCREWS

7426 SIZE 2 PLATE
13865 VENTRIO ST HERNIA PATCH

100693 VARI ANGLE 3.0 X 10

100941 SD SCREW 14 MM
10463 PRE BENT ROD 120MM
10539 70MM PREBENT ROD
11060 PREBENT RODS 85MM

6463 BIOMET MEDIUM PATELLA BUTTON

9061 BIOMET ARCOM AP PATELLA W WIRE
12689 LOCKING SCREWS

6332 LOCKING SET CAP

6822 SET SCREW

6992 SET SCREW

8597 SET SCREW

8617 PATELLA THREE 1/4" PEGS ARCOM

9229 SET SCREW
11644 FOOT RING 140MM

100400 NANO CORKSCREW
106237 BTB TIGHTROPE #827

9712 TITAN KIT PENILE IMP COMPONENT

8800 MESH ULTRAPRO MEDIUM
10712 OSS AXLE

7493 P-LVLP 3.5 MM 1/3 LK TUB PL

9519 SCREW SELF DRILL VARIABLE 16 MM
11637 PRP KIT PLATELET RICH PLASMA
14518 SET SCREW

9936 OATS PLUG 11MM

8720 ROD PRE-BENT 40MM STRYKER SPIN

107857 36 MM COCR MOD HD + 6 MM
12639 ABC Il CERV SCREW 4.0

5241 MONSTER CANNULATED SHORT

5337 MONSTER CANNULATED FULL THREAD

7582 MYNX VASCULAR CLOSURE DEVICE

7583 MYNX VASCULAR CLOSURE DEVICE
10772 PREBENT ROD 5.5MM X 60MM

106863 4.5 MM TI MULTILOC SCREW

106864 4.5 MM TI MULTILOC SCREW

106865 4.5 MM TI MULTILOC SCREW
5809 70/20 COTICAL SCREW

107370 ROD 80

107371 ROD 90

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

3,700.13
3,700.13
3,700.13
3,685.17
3,683.68
3,677.63
3,647.80
3,632.38
3,628.97
3,628.97
3,595.48
3,595.48
3,595.48
3,588.00
3,588.00
3,588.00
3,588.00
3,588.00
3,588.00
3,588.00
3,588.00
3,588.00
3,576.19
3,565.92
3,565.92
3,564.48
3,560.00
3,558.10
3,558.10
3,550.63
3,550.63
3,550.63
3,528.99
3,520.21
3,519.00
3,513.25
3,494.56
3,494.56
3,491.73
3,491.73
3,487.77
3,483.81
3,483.81
3,483.81
3,483.35
3,479.42
3,479.42



12830 SMM FLIP
7079 ROD COUPLING 5/8MM STRYKER
7448 RING CLAMP
10065 ROD PREBENT CONV. 60MM
10528 BIO COMPOSITE 7X10 TENDESIS
8146 PERMASOFT LAPAROSCOPIC 28CM
106093 RELINE O COCR ROD 5.0 X 40 MM
105986 3.0 TEN
106092 RSS LOCK SCREW 4.5/5.0 MM
107302 6.5 MM HEADLESS COMPRESSION
107303 6.5 MM HEADLESS COMPRESSION
13060 20GX10CM W/19G GUIDE
10454 TI SCREW ANCHOR 5MM
10431 VENTRALEX HERNIA PATCH MEDIUM
9517 SCREW SELF DRILL VARIABLE 17MM
9801 SCREW SELF DRILL VARIABLE 13MM
10628 SCREW SELF DRILLING 4 X 12 VAR
106541 VIVIGEN 1 CC
8670 REELX STT 4.5 MM ANCHOR
100541 BIOCOMPOSITE-TENODESIS SCREW
13727 ICONIX 2 W INTELLIBRAID TECH
8801 MESH ULTRAPRO OVAL
100386 COUNTERSINK
8839 PALACOS L.V. CEMENT ZIMMER 40G
11102 PREBENT ROD 45MM
11265 PREBENT ROD 55MM
11064 OSTEOCONDUCTIVE MATRIX PLUS 10
12561 3.5MM X 80MM STRAIGHT RODS
100611 4.5 MM TI MULTILOC SCREW LENG.
100612 4.5 MM TI MULTILOC SCREW LENG.
100613 4.5 MM TI MULTILOC SCREW LENG.
100861 4.5 MM TI MULTILOC SCREW
6236 VARIABLE FAST TURN SCREW 12MM
7445 SIZE 2 PLATE
10091 SCREW TENODESIS3 X 8
11019 BULLETED ROD 50MM
11020 BULLETED ROD 55MM
11683 PLASTIC POWERPORT 8FR SLIM
12377 BIOCOMPOSITE TENODESIS SCREW
12526 4.014MM VARIABLE SCREW
12609 SCREW REMOVAL
12687 75MM ROD
12688 80MM ROD
12699 SELFDRILLING VARIABLE 12MM
12734 SELF DRILLING SCREW 4.0X16MM
12735 SELF DRILLING FIXED SCREW
12809 SELF DRILLING VARIABLE 4.0X14

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

3,475.88
3,468.40
3,468.40
3,468.40
3,467.49
3,460.93
3,456.83
3,442.76
3,442.76
3,441.64
3,441.64
3,438.50
3,431.03
3,428.33
3,416.08
3,416.08
3,416.08
3,413.14
3,411.29
3,395.84
3,393.65
3,391.80
3,389.97
3,387.75
3,386.18
3,386.18
3,378.70
3,373.85
3,366.51
3,366.51
3,366.51
3,366.51
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75



12810 SELF DRILLING FIXED 4.0X14
12900 SELF DRILLING FIXED 4.0X18
12901 SELF DRILLING VARIABLE 4.0X18
12910 45MM ROD
12942 RESCUE VARIABLE SCREW 4.5X14
12943 RESCUE FIXED SCREW 4.5X12
12944 SELFDRILLING VARIABLE SCREW
13010 85MM ROD
13043 SELFDRILLING 4.0X12MM FIXED
13106 70MM ROD
13150 105MM ROD
13151 110MM ROD
13249 90 MM ROD
13271 SELF DRILLING RESCUE VARIABLE
13362 ROD 125 MM
13598 80 MM ROD
13656 SELF DRILLING 4.0 X 14 MM
13702 SELF DRILLING 4.0 X 16
13703 SELF DRILLING 4.0 X 16 FIXED
13755 SELF DRILLING VARIABLE 4.0 X
13756 RESCUE VARIABLE SCREW 4.5 X 14
13757 RESCUE FIXED SCREW 4.5 X 14
13780 SELF DRILLING FIXED 4.0 X 14
13894 115 MM ROD
13895 120 MM ROD
13935 SELF DRILLING 40 X 12 FIXED
13936 SELF DRILLING 40 X 12 VARIABLE
13941 95 MM ROD
13944 150 MM ROD
14158 100 MM ROD
14216 GMA LOCKING CAP 13 MM
14275 4 X 16 MM FIXED ANGLE SCREW
14276 4 X 16 MM VARIABLE ANGLE SCREW
14352 4.0 X 14 FIXED ANGLE SCREW FT
14353 4.0 X 14 VARIABLE ANGLE SCREW
14413 4.0 X 16 MM IRIS VARIABLE
14414 4.0 X 16 MM IRIS FIXED ANGLE
14438 60 MM ROD
14439 65 MM ROD
14443 4.0 X 14 IRIS FIXED ANGLE
14444 4.0 14 IRIS VARIABLE ANGLE
14793 4.0 X 12 MM VARIABLE ANGLE FT
14794 4.35 X 14 MM EMERGENCY ANGLE
15169 135 MM ROD

5311 180 MM ROD

5387 450 MM ROD

5397 4.0X 16 EMERGENCY SCREW

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75



5456 200 MM ROD

5521 4.0 X 18 VARIABLE ANGLE FT
5803 130 MM ROD

5875 4.0 X 18 MM VARIABLE SCREW
6066 ADVANCE ONLAY ALL POLY PATELLA
6164 REELX STT 4.5 MM KNOTLESS
6294 4.35 X 18 EMERGENCY SCREW
6696 VANGOGH 4.0 X 14 MM VARIABLE
6697 VANGOGH 4.5 X 14 MM VARIABLE
6738 LORDOTIC ROD

6765 140 MM ROD

6780 1.8 MM Q-FIX ALL SUTURE-ANCHOR
6820 35 MM ROD

6821 40 MM ROD

6871 160 MM ROD

6886 ROD 90 MM

6930 STRAIGHT ROD 450 MM

6995 CURVED ROD, D6.0 X L5SOMM
6996 CURVED ROD, D6.0 X L55MM
7024 LORDOTIC ROD 115 MM

7029 4.25 X 16 MM VARIABLE SCREW
7030 4.25 X 14 MM VARIABLE SCREW
7033 3.75 X 14 MM VARIABLE SCREW
7034 3.75 X 16 MM VARIABLE SCREW
7038 LORDOTIC ROD 50 MM

7039 LORDOTIC ROD 45 MM

7061 3.75 X 14MM VARIABLE SCREW
7068 CURVED ROD D6.0 X LSOMM
7069 CURVED ROD D6.0 X L95MM
7095 CURVED ROD, D6.0 X L70MM
7122 CURVED ROD,D6.0 X L75MM
7191 CURVED ROD,D6.0 X L80 MM
7274 VA SELF TAPPING SCREW 4.0 X
7275 VA SELF TAPPING SCREW 4.5 X
7277 LORDOTIC ROD 105 MM

7379 LORDOTIC ROD 95 MM

7383 CURVED ROD D6.0 X L110 MM
7458 CURVED ROD,D6.0 XL40 MM
7462 LORDOTIC ROD 70 MM

7518 CURVED ROD D6.0 X L85 MM
7653 CURVED ROD D6.0 X L60 MM
7659 LORDOTIC ROD 90 MM

7717 CURVED ROD D 6.0 X L 100 MM
7737 LORDOTIC ROD 80 MM

7750 CURVED ROD D 6.0 XL 65 MM
7761 40 MM ROD

7801 CURVEDROD D 6.0 X L35 MM

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75



7811 3.5 MM SELF DRILLING 14 MM
7856 CURVED ROD D 6.0 XL 45 MM
7993 LORDOTIC ROD 60 MM
8023 V/A SELF DRILLING SCREW 4.0
8061 LORDOTIC ROD 40 MM
8114 LORDOTIC ROD 85 MM
8151 4.0 X 112 MM SELF DRILLING
8152 4.5 X 114 MM SELF DRILLING
8153 4.0 X L14 MM SELF TAPPING
8200 ADVANCE ONLAY ALL POLY PATELLA
8321 VA SELF DRILLING SCREW 4.5 X
8359 4.5 190 MM ROD
8436 CURVED ROD D 6.0X L 120 MM
8506 VA SELF DRILLING SCREW 4.0 X L
8612 35 MM ROD
8669 ICONIX 2.3 MM ANCHOR
8782 4.0 X L 14 MM FA SELF DRILLING
9791 ROD 150 M
9991 ROD 190 MM
9992 ROD 180 MM
100055 LORDOTIC ROD 55 MM
11978 STRYKER REELX STT 5.5 ANCHOR
106603 LOCKING SCREW
8652 SCREW SELF DRILLING 16 MM ATLAN
9951 RT ACL TROPE
8905 G2 MITEK ANCHOR FEDOR
100192 28 MM CAYMAN SCREW
106126 5.5 X 28 MM CAYMAN SCREW
106637 SCREW 5.5 X 60 MM
100870 CINCH Il
10054 SCREW CERVICAL 4.0 X 14MM
14619 DRILL KIT HAMMER LOCK 2
7474 16 MM BOLT
100967 QUATTRO LINK KNOTLESS ANCHOR
6772 PIVOT NANO TACK FLEX SUTURE
106652 36/24 BASEPLATE
10709 OSS FEMORAL BUSHINGS
12148 PREBENT ROD 45MM
12435 JUGGERKNOT 2.9MM
5220 JUGGERKNOT 1.0 MM MINI 2-0 W/
6661 14 MM SELF DRILLING SCREWS
6663 12 MM OPTIO-C VRBL SELF DRILL
14219 10 HOLE LOCKING ACP 4.5 MM
4691 GROSHONG CATHETER 8FR
106716 SIZE 4 PROXIMAL BROACH
9335 PERFIX LITE PLUG XLARGE
100348 FIBERTAK RC TRIPLOAD TAPE

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,363.75
3,346.64
3,343.05
3,339.76
3,331.11
3,326.85
3,321.06
3,321.06
3,321.06
3,313.73
3,289.00
3,289.00
3,289.00
3,284.40
3,281.53
3,278.54
3,274.05
3,266.58
3,266.58
3,266.58
3,266.58
3,266.58
3,259.10
3,251.63
3,231.62
3,226.01
3,225.75



107104 3.0 KNOTLESS SUTURETAK
8435 15 CC CANCELLOUS CHIP
8613 CANCELLOUS CHIP
8710 CANCELLOUS CHIP
6835 CORTICAL-CANCELLOUS CREUSHED
10250 CURVED ROD 5.5 X 40MM
6115 2.0 BIT
11090 SCREW SOLID 5.5 X 40MM
6001 6.5 CANNULATED SCREW
6002 6.5 X 110 CANNULATED SCREW
8097 UHR UNIVERSAL HEAD BIPOLAR
100358 SUTURE ANCHOR HIP P-LCK 2.9 X
13264 SCREWS VARIABLE 4.0MM X 14MM
13073 4X12MM FIXED SCREW
13074 4X12MM SCREW
8546 LEFT MTP PLATE
9806 VARIABLE SCREWS 4 X 13MM
10080 VARIABLE SCREWS 4 X 15MM
10719 SCREW FIXED 4.0 X 13MM
10720 SCREW FIXED 4.5 X 13MM
10721 SCREW VARIABLE 4.5 X 15MM
10787 SELF TAPPING VARIABLE SCREW 4.
10389 4.0X12MM FIXED CERVICAL SCREW
9222 DURAGEN PLUS 1X 3
10015 LAG SCREW DHS 12.5MM
12694 LOCKING CAP 15MM
13184 GMA LOCKING CAP 17MM
13815 GMA SET SCREW
13816 GMA LOCKING CAP 15 MM
12861 3.5X12MM HEADLESS SCREW
12866 2.5X12MM HEADLESS SCREW
9491 9 X 30 FAST THREAD SCREW
108034 30 CC CANCELLOUS
108545 CANCELLOUS 1-4 MM 30 CC
10529 BIO COMPOSITE TENODESIS SCREW
100666 TRIKON PRE BENT ROD 5.5 MM X
107264 3.5 X 15.8 SWIVELOCK
10125 12MM VARIABLE SCREW
10126 12MM CORSTRAINED SCREW
108114 PIN PLATE RADIAL 3 HOLE
106717 SIZE 4 DISTAL BROACH
106205 FG CINCHLOCK SS ANCHOR W/
108773 TOGGLELOC 2.9 MM WNDLS
108776 TOGGLELOC 2.9 MM WNDLS
11009 SCREW 4.0 X 14MM
13855 HEADED SCREW 4.5 X 50 MM FULL
12010 SET SCREW UNI-2

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

3,225.75
3,219.11
3,219.11
3,219.11
3,218.37
3,214.25
3,214.25
3,206.78
3,199.30
3,199.30
3,194.60
3,184.70
3,184.35
3,181.36
3,181.36
3,176.88
3,169.40
3,169.40
3,169.40
3,169.40
3,169.40
3,169.40
3,167.16
3,165.66
3,161.93
3,158.19
3,158.19
3,158.19
3,158.19
3,154.45
3,154.45
3,154.45
3,149.51
3,149.51
3,143.87
3,143.64
3,143.64
3,139.50
3,139.50
3,137.78
3,131.91
3,122.70
3,118.75
3,118.75
3,102.13
3,102.13
3,089.05



8315 METRX TUBE DISPOSABLE 18X6
107650 TIGHTROPE FIBERTAG
106426 APERFIXII CANN TIBIAL 10 X 30
5846 6.25 SWIVELLOCK ANCHOR
13605 BACTISEAL VENTRICULAR CATHETER
13606 BACTISEAL PERITONEAL CATHETER
13058 MICRO CORKSCREW FT 2.2MM
107304 7.0 X 80 MM CANN SC SS 16THD
107305 7.0 X 75 MM CANN SC SS 16THD
15174 3.0 28 MM NEEDLELESS DARTFIRE
8949 PRE BENT RODS 5.5MM X 90MM
9026 PRE BENT ROD 5.5MM X 110MM
12221 JUGGERKNOT SHORT 1.4
9832 ICONIX 3 WITH INTELLIBRAID
108105 ADVANCED PATELLA ALL-POLY SIZE
4187 BIO-SWIVEL LOCK ANCHOR
14565 Y KNOT 1.3
108352 CANCELLOUS CHIP 30 CC 4-10 MM
108425 30 CC CANCELLOUS CHIP
6229 HIP COMPONENT 36MM CERAMIC HEA
8255 BIOLOX HEAD STRYKER ORTHO
8281 TOTAL HIP BIOLOX HEAD STRYKER
8698 CERAMIC V40 FEMORAL HEAD
9790 ROD CONTOURED 5.5 X 35MM
10577 PREBENT ROD 70MM
12693 SET SCREW
5602 ALLY BONE SCREW-L
6156 NUT
6187 TL NUT
6331 55 TAP 45 MM
6795 TENDRILLEADS U PR
6893 CURVED ROD 100 MM
9644 5.5 MM TAP
9702 PRE BENT ROD 80 MM
108758 VOLAR FIXED ANGLE PLATE LT.
8391 GRAVITY SUTURE ANCHOR #0 SIZE
8399 TI ANCHOR 5.5 MM #2 SUTURE
9672 2.7 MM ANCHOR
8651 SCREW SELF DRILLING 17MM ATLAN
10570 SCREW SELF TAPPING 12MM X 40MM
11127 SCREW 12MM VARIABLE
100513 BONE CHIP 30 CC
106712 6.5 X 90 CANNULATED SCREW
106713 6.5 X 90 CANNULATED SCREW LONG
106714 6.5 X 95 CANNULATED SCREW
10927 OSTEOCONDUCTIVE MATRIX 15CC
9809 JUGGER KNOT

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

3,087.18
3,079.13
3,074.20
3,064.75
3,054.98
3,054.98
3,049.80
3,049.80
3,049.80
3,042.33
3,027.38
3,027.38
3,027.38
3,018.93
3,018.75
3,009.02
3,004.95
3,002.88
3,002.88
2,990.00
2,990.00
2,990.00
2,990.00
2,990.00
2,990.00
2,990.00
2,990.00
2,990.00
2,990.00
2,990.00
2,990.00
2,990.00
2,990.00
2,990.00
2,983.50
2,982.53
2,982.53
2,982.53
2,975.05
2,975.05
2,975.05
2,973.56
2,973.55
2,973.55
2,973.55
2,968.32
2,966.63



13069 ROD 45MM
13222 CURVED ROD 40MM
13263 CURVED ROD 50 MM
13445 CURVED ROD
13466 CORDOTIC ROD 40 MM
13495 CURVED ROD 55 MM
14013 LORDOTIC ROD 70 MM
14121 CURVED ROD 65 MM
9973 6.5 MM CANNULATED SCREW 32 MM
9974 6.5 MM CANNULATED SCREW 32 MM
9975 6.5 MM CANNULATED SCREW 32 MM
8463 QUICK FIX STAPLE SET
7602 9.5 TAPER POST
10183 SCREW DIAMOND VARIABLE 4MM X 1
10228 SCREWS 14MM
10938 SCREW DIAMOND ACDF 4 X 14MM
11051 SCREWS VARIABLE 4.0 X 14MM
11301 ULTRAFILL DBM 1CC
13837 HEADLESS SCREW 30 X 28 MM
6959 LOGICAL CUP LINER 10 DEGREE
7121 LOGICAL CUP LINER 10 DEGREE
7516 LOGICAL CUP LINER 10 DEGREE
4444 MESH PLUG, X-LG
100045 3.5 X 14 MM LOCKING TI
100046 3.5 X 12 MM LOCKING TI
100047 3.5 X 18 MM LOCKING SCREW
100048 3.5 16 MM LOCKING TI
100049 3.5 X 28 MM LOCKING TI
100051 3.5 X 28 MM NON LOCKING
100052 3.5 X 16 MM NON LOCKING
100065 3.5 X 24 MM LOCKING SCREW
100066 3.5 X 20 MM LOCKING SCREW
100067 3.5 X 22 MM LOCKING SCREW
100069 4.2 X 20 MM LOCKING SCREW
12140 SELF DRILLING SCREW 4.0 X 12MM
11075 STIMUBLAST PUTTY 2.5CC
106086 50 MM ROD
106157 45 MM ROD
106588 CORTICAL CANCELLOUS CHIP 15 CC
106629 4.0 MM ROD
107323 35 MM ROD
14093 ROD
4926 MESH SMALL OVAL NON-COMPOSIX
9266 TI ROD 200MM
11609 ROD LORDOTIC COCR 5.5 X 50MM
11635 ROD COCR CURVED 70MM
11690 ROD CURVED 75MM

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

2,960.10
2,960.10
2,960.10
2,960.10
2,960.10
2,960.10
2,960.10
2,960.10
2,960.10
2,960.10
2,960.10
2,956.73
2,952.63
2,952.63
2,952.63
2,952.63
2,952.63
2,952.63
2,952.63
2,948.14
2,948.14
2,948.14
2,945.51
2,942.16
2,942.16
2,942.16
2,942.16
2,942.16
2,942.16
2,942.16
2,942.16
2,942.16
2,942.16
2,942.16
2,939.92
2,939.52
2,932.50
2,932.50
2,932.50
2,932.50
2,932.50
2,930.20
2,915.56
2,907.78
2,907.78
2,907.78
2,907.78



11827 LORDOCTIC ROD CO CR 100MM
11842 LORDOTIC COCR ROD 120MM
11843 LORDOTIC ROD 90MM
11870 LORDOTIC 60 MM ROD
11871 LORDOTIC 60MM
12143 LORDOTIC ROD COCR 110MM
12231 LORDOTIC ROD 80MM
12366 ROD STRAIGHT 200MM COCR
12787 ROD 45MM
12851 LORDOTIC RODS 40MM
12891 100MM ROD
13227 ROD STRAIGHT 400MM
13315 CURVED ROD 120 MM
13316 STRAIGHT ROD 200 MM
13567 LORDOTIC ROD
6168 LORDOTIC ROD 40 MM
6210 RODS 60 MM
6365 LORDOTIC ROD 35 MM
11452 ROD CURVED 90MM TI
12107 LORDOTIC ROD 110MM
106198 ICONIX SELF PUNCHING 2.3 MM
107486 MENISCAL FIBERSTITCH IMPLANT
108093 BONE VOID FILLER 10 X 3 X 30
107968 BOLT FOR FEMORAL NECK SYSTEM
10851 LAG SCREW 85MM
11074 ROD 45MM
15091 PRECONTOURED ROD 5.5 X 80 MM
15123 PRECONTOURED ROD 5.5 X 110 MM
15139 PRECONTORED ROD 5.5 X 50 MM
5308 PRECONTOURED ROD 5.5 X 100 MM
5343 PRECONTOURED ROD 5.5 X 75
5448 PRECONTOURED ROD 5.5 X 65 MM
5528 PRECONTOURED ROD 5.5 X 40
5658 PRECONTOURED ROD 5.5 X 60
5683 PRECONTOURED ROD 5.5 X 90
6135 PRECONTOURED ROD 5.5 X 70
6176 PRECONTOURED ROD 5.5 X 100
6552 PRECONTOURED ROD 5.5 X 120
6714 LOCKSCREW
9311 PRECONTOURED ROD 5.5 X 120
14407 SNAP OFF SCREW 2.7 X 13 MM
106132 6.5 X 85 CANNULATED SCREW
106133 6.5 X 80 CANNULATED SCREW
14286 7.0 X 55MM SCREW 32 PT
4738 BIO PUSHLOCK 4.5MM X 18.5MM
6758 OSSTAPLE MEDIUM 0S-1512 W2
7425 STRAIGHT PLATE

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

2,907.78
2,907.78
2,907.78
2,907.78
2,907.78
2,907.78
2,907.78
2,907.78
2,907.78
2,907.78
2,907.78
2,907.78
2,907.78
2,907.78
2,907.78
2,907.78
2,907.78
2,907.78
2,907.11
2,907.11
2,903.18
2,903.18
2,903.18
2,903.17
2,900.30
2,900.30
2,900.30
2,900.30
2,900.30
2,900.30
2,900.30
2,900.30
2,900.30
2,900.30
2,900.30
2,900.30
2,900.30
2,900.30
2,900.30
2,900.30
2,892.83
2,885.58
2,885.58
2,885.35
2,881.88
2,877.88
2,877.88



7817 PLATE RECTANGLE SIZE 3 STRYKER
10088 PLAPLE 12MM
106824 ICONIX SELF PUNCHING 2.3 MM
107837 GNS Il RESURF PAT 35 MM
11365 ELECTRODE
7562 5.0 MM TI LOCKING SCREW W/T25
100660 7.3 MM CANNULATED SCREW 16 MM
100661 7.3 MM CANNULATED SCREW 16 MM
100662 7.3 MM CANNULATED SCREW 16 MM
6635 PLATE 2.4LCP 5 HOLE 44MM
10113 SCREW LOCKING 18MM
14170 Y NOT FLAT 1.8 MM ALL SUTURE
9321 PERFIX LIGHT PLUG LARGE
10656 DISTAL FEMORAL PEGS
100847 QUATTRO LINK ANCHOR 2.9 MM
5473 SCREW 4.0 X 50MM STAINLESS
6534 SCREW 4.0 CANN 36MM SYNTHES
6538 SCREW 4.0 CANN 40MM SYNTHES
13970 K WIRE 1.4 X 150MM
100885 SET SCREW
106839 BMET ARCOM AP PAT 3PST 37 MM
107168 KNEE SYSTEM PATELLA SINGLE 1/4
9308 CLOSURE TOPS
3740 CANCELLOUS CUBES 20 CCU OF M
7300 50MM BIOTRANSFIX PIN
7633 TRANSFIX PIX
9890 SMALL COUNTERSINK
14168 POPLOK SUTURE ANCHOR 4.5 MM
108626 5.0X 44 MM COMPRESSION FT
10806 VARIABLE SCREW 40 X 15MM
10816 SCREW VARIABLE 4 X 15MM
10817 VARIABLE SCREW 4 X 13MM
10992 SCREW 4.5 X 13MM
11145 VARIABLE SCREW 4.0 MM X 17MM
11201 VARIABLE SCREW 4.0 X 13
14997 DRILL BIT 2.5 X 216 MM
11095 BONE SCREW 4.0 X 14MM
14311 CANNULATED SCREW 7.0 MM X 95MM
14312 CANNULATED SCREW 7.0 MM X 105
5531 MARINER SET SCREW
9642 MARINER SET SCREW
9336 PERFIX LITE PLUG MEDIUM
6496 5.5MM BIO CORKSCREW FULL THREA
107111 FIXED 3.5 MM SELF DRILLING 14
107112 FIXED 3.5 MM SELF DRILLING 16
7596 4.5 CANNULATED SCREW 68 MM
9583 HA PIN 6 MM 40 MMX 150 MM

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

2,877.88
2,877.88
2,873.85
2,873.85
2,871.26
2,870.40
2,867.99
2,867.99
2,867.99
2,855.45
2,855.45
2,855.45
2,844.44
2,825.55
2,821.07
2,818.08
2,818.08
2,818.08
2,818.08
2,815.20
2,815.20
2,815.20
2,810.60
2,805.92
2,803.13
2,803.13
2,803.13
2,788.18
2,785.88
2,773.23
2,773.23
2,773.23
2,773.23
2,773.23
2,773.23
2,767.52
2,765.75
2,765.75
2,765.75
2,765.75
2,765.75
2,759.62
2,754.74
2,744.82
2,744.82
2,743.33
2,735.85



7562 4.0 FIXED ANGLE SELF TAP SCREW
106762 1.3 MM SUTURE TAPE FIBERTAK DX
106021 5.5 X 60 MM PREBENT ROD
106025 5.5 X 130 MM ROD STRAIGHT
106026 5.5 X 140 MM ROD STRAIGHT
106115 5.5 X 60 MM PREBENT ROD
106170 5.5 X 100 MM PREBENT ROD
106173 5.5 X 400 MM ROD
106284 5.5 X 120 MM ROD
106369 5.5 X 90 MM PREBENT ROD

12519 3.5 DRILL
100403 PKG. REELX STT 5.5 MM KNOTLESS
7507 12MM SELF TAP SCREW VAZ
8937 SCREW VAR ANGLE SELF TAP 12MM
13817 GMA SELF DRILLING 4.0 X 25
107410 CANCELLOUS 1-4 MM 15 CC
6170 COAPTITE 1ML SYRINGE 890-300
7812 PLATE LARGE "H" STRYKER ORTHO
13711 CERVICAL SCREW VARIABLE 4.0 X
13712 CERVICAL SCREW FIXED 4.0 X 16
13878 TRIVANTAGE EMG TUBE SIZE 7
106693 VENTIX LINK KNTLS 4.75 MM MACH
108156 VENTIX LINK KNTLS 5.5 MM MACH
107598 ROD 55 MM X 3.5
107843 ROD 3.5 X 65
107950 ROD 65 MM
10680 BIOCOMPOSITE SCREW 11 X 28
9723 11 X 28 PEEK SCREW
9724 8 X 23 PEEK SCREW
13729 PKG. REELX STT 5.5MM KNOTLESS
12040 LOCKING SCREW
7142 CANNULATED SCREW 03 MM, L :
10453 JUGGERKNOT ANCHOR 2.9MM
13092 TI LOCK SCREW 2.4X10MM
13093 Tl LOCK SCREW 2.4X12MM
4180 CP TIROD 80MM
12683 STERIFUSE DBM EVOLVED, 1CC
106618 HRIS FLEXIBLE OSTEO 8 X 80 MM
100654 60 MM CURVED ROD
106890 45 MM CURVED ROD
107243 40 MM CURVED ROD
107460 70 MM CURVED ROD VIRAGE
107520 35 X 25 MM VIRAGE ROD

7922 PLATE RECTANGULAR SIZE 1 STRYK

9864 ROD 70MM

8250 SEMI CLOSED D 7.5 X L 45
100194 ROD 170

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

2,728.38
2,727.23
2,721.36
2,721.36
2,721.36
2,721.36
2,721.36
2,721.36
2,721.36
2,721.36
2,720.90
2,713.79
2,713.43
2,713.43
2,702.06
2,697.90
2,694.74
2,691.00
2,691.00
2,691.00
2,683.53
2,680.08
2,680.08
2,678.84
2,678.84
2,678.84
2,676.05
2,676.05
2,676.05
2,674.85
2,668.58
2,668.58
2,661.10
2,661.10
2,661.10
2,661.10
2,657.36
2,652.45
2,650.98
2,650.98
2,650.98
2,650.98
2,650.98
2,646.15
2,646.15
2,639.25
2,639.25



100228 ROD 140
100886 ROD 70 MM
100890 VA SCREW 14 MM
100909 VA SCREW 12 MM
100914 ROD 45
100915 ROD 40
100944 ROD 80 MM
100959 ROD 60
100960 ROD 65
106034 VA SCREW 16 MM
106147 ROD 55
106158 4.5 SCREW 16 MM
106165 V/A SELF TAPPING 4.0 X L 18MM
106181 16 MM SCREW
106248 ROD 35
106330 ROD 75
106493 VA SCREW 14
106509 ROD 60 MM
106599 VA SCREW 18 MM
106606 OZARK SCREW 16 MM
106816 PRECONTOURED ROD 5.5 X 65 MM
106817 PRECONTOURED ROD 5.5 X 70 MM
107008 ROD 110 MM
107039 ROD 100
107471 PRECONTOURED ROD 5.5 X 40 MM
108690 INJECTABLE BONE SUBSTITUTE
11970 CANNULATED SCREW 6.5 X 70MM
11971 CANNULATED SCREW 6.5 X 80MM
11972 CANNULATED SCREW 6.5 X 85MM
13049 DARLO HEADED SCREW 45MMX40MM
13492 8.0 X 80 MM PT (46MM) SCREW
13995 8.0 X 85 MM SHORT THREAD SCREW
5331 MINI-MONSTER CANNULATED SHORT
5335 MONSTER CANNULATED SHORT
5336 MONSTER CANNULATED SHORT
6527 SCREW 4.0 CANN 14MM SYNTHES
6528 SCREW 4.0 CANN 16MM SYNTHES
12800 HEADLESS TROCAR DRILL PIN
11040 REUNITE ORTHOPEDIC PIN SYSTEM
14446 GENTLE THREADS INTERFERENCE
8559 HEADLESS DARTFIRE SCREW 2.5 MM
5720 X3 INSERT STRYKER ORTHO
6228 HIP COMPONENT X3 INSERT 10DEG
6323 OSSTAPLE 0S-1310 W1.5 BME
7423 STRAIGHT PLATE
7996 BIOCOMPOSITE SCREW 9X35
8142 TOTAL HIP X3 LINER INSERT STRY

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

2,639.25
2,639.25
2,639.25
2,639.25
2,639.25
2,639.25
2,639.25
2,639.25
2,639.25
2,639.25
2,639.25
2,639.25
2,639.25
2,639.25
2,639.25
2,639.25
2,639.25
2,639.25
2,639.25
2,639.25
2,639.25
2,639.25
2,639.25
2,639.25
2,639.25
2,639.25
2,638.68
2,638.68
2,638.68
2,638.68
2,638.68
2,638.68
2,636.81
2,636.81
2,636.81
2,631.20
2,631.20
2,631.05
2,623.73
2,623.73
2,623.73
2,616.25
2,616.25
2,616.25
2,616.25
2,616.25
2,616.25



8143 TOTAL HIP LINER STRYKER ORTHO
8280 TOTAL HIP X3 LINER/INSERT
8678 APPOLLON NUT
8697 TRITANIUM HEMI CLUSTER HOLE
9943 LATERAL SCREW 2.6 X 5MM LAMINO
10731 TRITANIUM HEMISPHERICAL CLUSTE
10733 TRIDENT POLYETHYLENE INSERT X3
12991 CANNULATED SCREW PARTIALLY
14539 TI ROD 180 MM
14555 TI ROD 5.5 180MM
14571 COMPR FT SCREW 2.5 MICRO 8MM
14575 COMPR FT SCREW 2.5 MICRO 12MM
14576 COMPR FT SCREW 2.5 MICRO 16MM
14589 COMPR FT SCREW 2.5 MICRO 14MM
14676 TI ROD 120 MM
3596 SCREW ACUTRAK 2 30MM
3702 SCREW ACUTRAK 4/5 40MM
108636 BTB-3 TIGHTROPE
8056 4 HOLE BANANA PLATE
10601 ALL THREAD ANCHOR 5MM
106020 SET SCREW
106114 SET CAP
106866 4.0 MM TI LOCKING SCREW W T25
107830 ALLOSYNC DBM 2.5 CC
12973 LOCKING CORT SCREW 3.5X20MM
12974 LOCKING CORT SCREW 3.5X28MM
12975 LOCKING COA SCREW 3.5X30MM
13201 3.5 X 18MM LOCKING SCREW
13202 3.5 X 16MM LOCKING SCREW
14010 3.5 X 26 MM LOCKING
14011 3.5 X 24 MM LOCKING
9322 PERFIX LIGHT PLUG MEDIUM
5306 14 MM SELF DRILLING VARIABLE
5565 16 MM SELF DRILLING SCREW
9178 THIRD TUBULAR LOCKING PLATE 6
11073 LOCKING CAP
8366 20 X 14 MM QUICKFIX SCREW
100898 12 MM SCREW
100899 14 MM SCREW
8639 MINI BIO SUTURE TAK WITH NEEDL
7508 12MM SELF TAP FIXED SCREW
106030 4 X 12 MM SELF DRILLING
106031 4.35 X 12 MM SELF DRILLING
106110 4 X 12 MM SELF DRILLING
3723 INTERGRO 100% DBM 2CC
107552 FIXED ANGLE SCREW KIT
9418 SET SCREW DEPUY SPINE

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

2,616.25
2,616.25
2,616.25
2,616.25
2,616.25
2,616.25
2,616.25
2,616.25
2,616.25
2,616.25
2,616.25
2,616.25
2,616.25
2,616.25
2,616.25
2,616.25
2,616.25
2,609.93
2,601.30
2,586.35
2,580.60
2,580.60
2,580.60
2,580.60
2,578.88
2,578.88
2,578.88
2,578.88
2,578.88
2,578.88
2,578.88
2,576.21
2,571.40
2,571.40
2,563.93
2,563.93
2,563.93
2,563.01
2,563.01
2,559.38
2,556.45
2,554.79
2,554.79
2,554.79
2,547.93
2,542.77
2,541.50



11422 VARIABLE SCREW 4.0 X 14MM
11659 VARIABLE SCREW 4.0MM X 16MM
11922 VARIABLE SCREW 4.0 X 14MM
11923 VARIABLE SCREW 4.0 X 18MM
11924 VARIABLE SCREW 4.0 X 12MM
12497 K-WIRE
12612 K-WIRE
14298 5.0 X 40 SCREW
14532 7 HOLE LOCKING PLATE
4151 12MM SCREW FOR EAGLE CERV SYST
107870 VARIABLE ANGLE 3.5 X 14 MM
106236 14 MM CONCAVE BUTTON 14 MM
4446 CP TI ROD 50CM
106985 CANCELLOUS CRUSHED 15 CC
107097 CANCELLOUS CRUSH 1-4 MM 15 CC
107307 CANCELLOUS CRUSHED CHIP 15 CC
10030 CLICK ANCHOR
11453 CURVED ROD 80MM TI
11456 ROD CURVED 110MM
11472 ROD CURVED 5.5 X 70MM TI
11483 REFORM CURVED ROD 100MM TI
11485 REFORM ROD 65MM CURVED
11514 CURVED ROD 60MM
100872 QUATTRO X3 ANCHOR 5.5 MM
11331 MATRISTEM MICROMATRIX 100MG
7449 WIRE POST
8985 BIOCORKSCREW 8X28MM
10319 BIOCOMPOSITE SCREW 9 X 28MM
11056 BIOCORKSCREW 10 X 28
14076 IFIX INTERFERENCE SCREW
14077 IFIX INTERFERENCE SCREW 9 MM X
6514 IFIX INTERFERENCE SCREW 9MM X
8256 7 X 23 MM INTERFERENCE SCREW
5821 COBALT G CEMENT
108364 6.5 MM HEADLESS COMPRESSION
13886 55 MM CROSSFIT SUTURE ANCHOR
10184 DRILL DIAMOND CERVICAL PLATE 1
5996 4.5 X 72 CANNULATED SCREW
6987 4.5 CANNULATED SCREW 68 MM
6647 CANCELLOUS CUBES 15CC
13455 VENTRALEX ST. SMALL 4.3 CM
106531 9 X 30 FAST THREAD SCREW
106892 FAST THREAD BIOCOMPOSITE
106895 3.0 X 30 MM PARTIALLY THREADED
106896 3.0 X 24 MM PARTIALLY THREADED
106897 3.0 X 26 MM PARTIALLY THREADED
107375 TENDON GRAFT SIZER

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

2,541.50
2,541.50
2,541.50
2,541.50
2,541.50
2,541.50
2,541.50
2,541.50
2,541.50
2,541.50
2,539.55
2,533.68
2,526.55
2,525.77
2,525.77
2,525.77
2,522.81
2,520.42
2,520.42
2,520.42
2,520.42
2,520.42
2,520.42
2,515.86
2,515.08
2,511.60
2,511.60
2,511.60
2,511.60
2,511.60
2,511.60
2,511.60
2,511.60
2,509.77
2,508.46
2,504.13
2,500.46
2,496.65
2,496.65
2,495.13
2,478.17
2,475.03
2,475.03
2,475.03
2,475.03
2,475.03
2,475.03



4442 MESH PLUG, MEDIUM
7814 LOCKING COVER 6 MM
8243 TRU-PROFILE LOCKING COVER
9522 PERI-LOCVLP 2.7 MM X 25 MM PF
10867 ROD 25MM
11335 VARIABLE SCREW 4.0 X 14MM
10112 SCREW LOCKING 16MM
6541 SCREW 4.0 CANN 48MM SYNTHES
4441 MESH PLUG, PERIFIX SMALL
115626 SCREW SHORT THREAD 7.0 X 75MM
11527 SCREW SHORT THREAD 7.0 X 50MM
12963 CANNULATED SCREW PARTIALLY
9165 2.5 X 34 MM HEADLESS SCREW
9166 2.5 X 32 MM HEADLESS SCREW
9167 2.5 X 28 MM HEADLESS SCREW
9806 2.5 X 32 MM HEADLESS SCREW
9807 2.5 X 30 MM HEADLESS SCREW
3613 SCREW,ACUTRAK 6/7 60MM
8630 SCREW COMPRESSION 4.3MM X 38MM
8631 SCREW COMPRESSION 4.3MM X 42MM
10604 SCREW BC 10 X 28
100614 4.0 MM TI LOCKING SCREW W/
100615 4.0 MM TI LOCKING SCREW WT25
100616 4.0 MM TI LOCKING SCREW W/
100863 4.0 MM TI LOCKING SCREW W/T25
10320 BIOCOMPOSITE SCREW 9 X 23
10730 RETRO SCREW 8MM
11182 SCREW BIO COMPOSITE 8 X 23
11208 SCREW BIOCOMPOSITE 10 X 23
106691 JUGGERNOTLESS SS SINGLE
12711 RELIEVA SPIN BALLOON
13254 TRUCLEAR PROCEDURE KIT
8890 V40 COCR HEAD 28 MM/-4
7782 ROD 5.5 X 220 MEDICREA
12947 4.0 LONG PILOT DRILL
5472 4.0 44MM SCREW
9394 3.0 X 17 QUICK FIX SCREW
9395 3.0 X 13 QUICK FIX SCREW
10995 SCREW QUICKFIX 3.0
12394 11MM QUICK FIX SCREW
12395 13MM QUICK FIX SCREW
8132 BEAST 100 DEMINERALIZED BONE
10710 OSS TIBIAL BUSHING
6632 3.7 MM COUNTERSINK
108234 3.9 MM KNOTLESS CORKSCREW
10029 ALLOMATRIX INJ PUTTY 1CC
100735 1.5 MM CANNULATED HEX DRIVER

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

2,471.30
2,466.75
2,466.75
2,466.75
2,459.28
2,459.28
2,451.80
2,444.33
2,438.29
2,436.85
2,436.85
2,429.38
2,429.38
2,429.38
2,429.38
2,429.38
2,429.38
2,429.38
2,421.90
2,421.90
2,414.43
2,410.52
2,410.52
2,410.52
2,410.52
2,406.95
2,406.95
2,406.95
2,406.95
2,404.18
2,392.00
2,389.90
2,388.34
2,388.26
2,381.08
2,370.02
2,354.63
2,354.63
2,354.63
2,354.63
2,354.63
2,354.63
2,347.15
2,347.15
2,346.00
2,330.95
2,328.41



108039 5.0 X 48 SCREW
108040 5.0 X 52 SCREW
108276 5.5 X 60 SCREW
108277 5.5 X 56 SCREW
108421 56 MM SCREW
10084 L PLATE
107958 MPFL TEMPLATE
107980 DOUBLE LOADED SELF PUNCHING
100021 4.5 X 34 SCREW
100022 4.5 X 22 SCREW
100023 4.5 X 18 SCREW
100024 4.5 X 22 SCREW
100025 GLEN LOCKING SCREW
3005 LCP ONE-THIRD TUBULAR PLATE WI
13258 DRILL BIT ABC 2.7MM
5396 1 CC DBM PUTTY
10900 5.5 X 140MM STRAIGHT ROD
8028 SERPENTINE 2.3 PLATE
7483 PERI-LOCVLP 2.7 MM X 14 MM PF
107457 5.0 MM TI LOCKING SCREW W/T25
108587 SCREW 3.5 X 14 MM VARIABLE
6652 4.0 X 40 MM TI CANNULATED
106424 JGRKNT 2.9 MM #2 BLUE MB SINGL
6324 OSSTAPLE 0OS-1512 W1.5 BME
7299 TRANSFIX ACL RECONSTRUCTION
7640 ROD 5.5 X 40MM BENT
7918 H PLATE STRYKER ORTHO 40-15021
9782 SCREW HEADLESS COMPRESSION 3.0
11328 VARIABLE SCREW 14MM
11329 FIXED SCREW 14MM
12952 4.5 X 35 SCREW
12953 4.5 X 27.5 SCREW
12954 4.5 X 47.5 SCREW
13812 SOUNDING PROBE
13968 CANNULATED BONE SCREW
13969 CANNULATED BONE SCREW
14624 4.0 X 26 MM SCREW
14916 4.0 X 24 MM SCREW
6157 TI ROD 60 MM
6283 TI ROD CURVED 70 MM
6533 SCREW 4.0 CANN 30MM SYNTHES
9046 ANCHOR SWIFT LOCK REF 1192
6840 4.0 X 46 MM CANNULATED SCREW
7023 SET SCREW
5330 MINI-MONSTER CANNULATED FULL
5409 MINI-MONSTER CANNULATED FULL
8151 ABSORBABLE BIO HERNIA PLUG W/

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

2,324.77
2,324.77
2,324.77
2,324.77
2,324.77
2,317.25
2,316.68
2,316.68
2,309.78
2,309.78
2,309.78
2,309.78
2,309.78
2,309.78
2,308.43
2,298.72
2,291.88
2,279.88
2,272.40
2,270.93
2,269.76
2,257.45
2,246.53
2,242.50
2,242.50
2,242.50
2,242.50
2,242.50
2,242.50
2,242.50
2,242.50
2,242.50
2,242.50
2,242.50
2,242.50
2,242.50
2,242.50
2,242.50
2,242.50
2,242.50
2,240.43
2,240.00
2,235.03
2,227.55
2,223.81
2,223.81
2,223.71



5700 VARIABLE - 4.0 MM SELF
5767 FIXED 4.0 MM SELF DRILLING
6097 VARIABLE 4.0 SELF DRILLING
6098 VARIABLE 4.0 SELF TAPPING
6224 VARIABLE 4.0 MM SELF TAPPING
107265 EVOLUTION REVISION PASS THRU
6585 PLATE 2.0 LCP 5 HOLE 38MM
6586 PLATE 2.0 LCP 6 HOLE 45MM
6936 HATRIC 2MM X 5MM WEDGE BONE
9552 LOCKING SCREW
106789 3 MM CANNULATED COUNTERSINK
106775 BIOLOX DELTA CERAMIC FEMORAL
107101 BIOLOX DELTA CERAMIC FEMORAL
11179 SMM LOW PROFILE REAMER
11180 9.5MM LOW PROFILE REAMER
11181 10MM LOW PROFILE REAMER
100966 5.5 MM PEEK ANCHOR WITH BROAD
10503 HELIX R TEMPORARY TIX PIN
11490 TRAY POWER PICC CATH 5FR DUAL
107739 CHAMPION SLINGSHOT 45 LEFT
3004 LCP ONE-THIRD TUBULAR PLATE WI
14921 CLIK X ANCHOR
7628 40MM RODS
9345 ROD CURVED 60MM
9502 ROD STRAIGHT 5.5 X 200MM
9548 PREBENT ROD 100MM
9727 ROD PRE BENT 120MM
9850 ROD 400MM
9963 ROD CURVED 90MM 5.5MM
10082 STRAIGHT ROD 160MM
10083 STRAIGHT ROD 150MM
10643 ROD STRAIGHT 5.5 X 130
10849 CURVED ROD 40MM
11251 5.5MM X 130MM CURVED ROD
11319 ROD 5.5 X 80MM
6217 T2 F/T LOCKING SCREW 5MM X 35
105978 CURVED ROD 110MM
9410 40MM PREBENT ROD
11063 CURVED ROD 70MM
11976 CURVED ROD 5.5 X 45MM
12111 ROD CURVED
12137 CURVED ROD 55MM
12496 CURVED ROD 65MM
12557 CURVED ROD 50MM
12583 CURVED 75MM ROD
3408 ENTERAL FEEDING PEG INITIAL
108697 FIBERTAK RC 1.3 MM SUTURE TAPE

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

2,220.08
2,220.08
2,220.08
2,220.08
2,220.08
2,205.24
2,205.13
2,205.13
2,205.13
2,205.13
2,199.38
2,197.33
2,197.33
2,192.85
2,192.85
2,192.85
2,192.05
2,190.18
2,188.13
2,187.06
2,182.70
2,182.33
2,181.95
2,179.71
2,179.71
2,179.71
2,179.71
2,179.71
2,179.71
2,179.71
2,179.71
2,179.71
2,179.71
2,179.71
2,179.71
2,179.71
2,179.71
2,175.23
2,175.23
2,175.23
2,175.23
2,175.23
2,175.23
2,175.23
2,175.23
2,174.13
2,170.05



10332 8MM POSITIONING SLEEVE
13402 SET SCREW
14466 G10-07
7352 CANCELLOUS CHIP
7565 CANCELLOUS CHIP
9860 CANCELLOUS CRUSHED 10 CC
12949 3.0 X 1000 BALL TIP GUIDE RED
6651 LOCKING SCREW T10 3.5 X 12 MM
100149 8 MM X 23 MM BIOSTEON SCREW
107421 SCREW 16 MM RESCUE
107761 VA SCREW 14 MM
108176 VA SCREW 12 MM
108497 VA SCREW 16 MM
108498 VA SCREW 14 MM
108570 RESCUE SCREW 12 MM
14711 PERFIX LIGHT PLUG SMALL
9194 3.75 X 34 FULLY THREADED SCREW
7998 ASNIS SCREW 6.5 X 60MM TL20MM
7999 ASNIS SCREW 6.5 X 50MM TL 20MM
8046 SCREW ASNIS CANNULATED 6.5X55
8048 SCREW ASNIS CANNULATED 6.5X40M
8187 ASNIS CANNULATED SCREW 6.5X80M
10653 PEEK TENODESIS SCREW 5X8MM
13131 3.5X12MM LOCKING
13416 3.5 X 30 MM L SCREW
9045 3.5 X 32 MM LOCKING SCREW
5373 TUFFNEK LOCKING PLATE SCREW
5374 TUFFNEK LOCKING PLATE SCREW
5375 TUFFNEK LOCKING PLATE SCREW
107463 IFIX INTERFERENCE SCR 8 X 25MM
12620 2.9 CANNULATED DRILL BIT
11993 SCREW LOCKING 2.7 X 14MM
13967 SCREW LOCKING 2.7 X 16MM
14262 2.7 X 18 MM LOCKING SCREW
9265 LOCKING SCREW ARMADA
100369 LO-PRO SCRW T1 6.7 X 100MM
100370 LOW PR SCRW T1 6.7 X 105 MM
100371 LOW PRO SCRW Tl 6.7 X 95 MM
7915 CANNULATED SCREW 8.0 X 50MM
7916 CANNULATED SCREW 8.0X55MM
8185 ASNIS CANNULATED SCREW 8.0MM X
8269 SCREW CANNULATED ASNIS 8.0 X 6
13018 LEAD INTRODUCER KIT
107342 FORMA DBM PUTTY SYRINGE 3 CC
7632 12X35 SCREW
9159 RESOLUTION 360 DEGREE CLIP
13170 1.6 STD DRILL TIP GUIDE WIRE

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

2,167.75
2,167.75
2,167.75
2,146.07
2,146.07
2,146.07
2,145.33
2,145.33
2,144.43
2,140.02
2,140.02
2,140.02
2,140.02
2,140.02
2,140.02
2,139.20
2,137.85
2,130.38
2,130.38
2,130.38
2,130.38
2,130.38
2,130.38
2,130.38
2,130.38
2,130.38
2,128.51
2,128.51
2,128.51
2,128.29
2,127.37
2,122.90
2,122.90
2,122.90
2,109.59
2,099.67
2,099.67
2,099.67
2,093.00
2,093.00
2,093.00
2,093.00
2,093.00
2,082.08
2,078.05
2,074.83
2,074.31



13137 4.0X52 CANNULATED BONE SCREW
100427 2.5 X 14 MM HEADLESS SHORT
100428 2.5 X 18 MM HEADLESS SHORT

5410 TUFFNEK LOCKING PLATE SCREW
5411 TUFFNEK LOCKING PLATE SCREW
5412 TUFFNEK LOCKING PLATE SCREW
7203 2.3MM LOCKING Y-SHAPE PLATE
13973 2.7 X 10MM LOCKING
13974 2.7 X 12MM LOCKING
6908 LOCKING SCREW 3.5 X 14 MM
7137 SCREW CANNULATED 8.0 X 55MM
7138 SCREW CANNULATED 8.0 X 45MM
107028 HEADLESS SCREW 2.5 MM X 26 MM
107167 HEADLESS SCREW 2.5 MM X 24 MM
107496 HEADLESS SCREW 2.5 MM X 20 MM
107497 HEADLESS SCREW 2.5 MM X 22 MM
107546 DARTFIRE SCRE 2.5 X 18 MM
107444 HEADLESS SCREW 2.5 MM X 16 MM
7462 BREAK AWAY NUT
10148 SCREW CERVICAL 16 MM
14554 NUT
5729 NUT
9326 4 X 50 MM CANNULATED SCREW

14574 COMPR FT SCREW 2.5 MICRO
106263 BEAST 100 DBM 100% INJECTABLE
106484 4.0 X 40 MM HEADLESS SCREW
107711 ADVANCE ONLAY ALL POLY
107992 70 MM ROD
108010 55 MM ROD
108031 30 MM ROD
108033 35 MM ROD
108035 70 MM ROD
108036 65 MM ROD
108057 40 MM ROD
108117 45 MM ROD
108173 50 MM LIPPED ROD
108183 RELINE O COCR ROD 5.0 X 75 MM
108428 60 MM ROD
108547 60 MM ROD
108550 75 MM ROD
108556 35 MM ROD
108621 5.5 X 120 MM ROD
108622 5.5 X 110 MM ROD

9369 6.25 LOCK SCREWS
9758 SCREW LOCKING 5.5
12146 MAS PLIF LOCK SCREW
12071 CRUSHED CANCELLOUS CHIPS 15CC

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

2,070.58
2,068.88
2,068.88
2,064.97
2,064.97
2,064.97
2,063.10
2,063.10
2,063.10
2,063.10
2,060.11
2,060.11
2,058.62
2,058.62
2,058.62
2,058.62
2,058.62
2,058.61
2,055.63
2,055.63
2,055.63
2,055.63
2,055.63
2,052.75
2,052.75
2,052.75
2,052.75
2,052.75
2,052.75
2,052.75
2,052.75
2,052.75
2,052.75
2,052.75
2,052.75
2,052.75
2,052.75
2,052.75
2,052.75
2,052.75
2,052.75
2,052.75
2,052.75
2,048.15
2,048.15
2,048.15
2,040.68



108279 4.6 X 14 MM RESCUE SCREW
107766 6.5 MM X 90 MM SCREW
107767 6.5 MM X 85 MM SCREW
107768 6.5 MM X 80 MM SCREW
107769 6.5 MM X 100 MM SCREW
10926 OSTEOCONDUCTIVE MATRIX 5CC
14020 3.5 X 40 MM ROD
5347 80 MM ROD
6270 120 MM ROD
8186 STRAIGHT ROD D 3.5 X 50 MM
8251 120 MM ROD
8374 STRAIGHT ROD D 3.5 X 60 MM
9788 3.5 MM STRAIGHT ROD L 40MM
108264 SWAP OFF 2.0 X 14 MM
7532 PERI-LOC VLP 3.5 MM X 26 MM
7536 PERI-LOCVLP 3.5 MM X 38 MM
9517 PERI-LOC VLP 3.5 MM X 14 MM
9518 PERI-LOCVLP 3.5 MM X 42 MM
9519 PERI-LOC VLP 3.5 MM X 44 MM
9771 3.5 X 24 MM DARTFIRE
7733 MICRO SUTURE TAK
13839 DRILL 2.0 MM
7908 4.0 40 MM SCREW
7909 4.0 45 MM SCREW
9012 4.0 X 37.5 MM SCREW
9013 4.0 50 MM SCREW
9068 4.0 X 50 MM SCREW
9069 4.0 X 40 MM SCREW
3003 LCP ONE-THIRD TUBULAR PLATE WI
6584 PLATE 2.0 LCP 4 HOLE 31MM
9144 CERVICAL SCREW 14MM
11233 SCREW 18MM
13481 3.5 X 24 MM LOCK SCREW
14209 DARCO LOCK SCREW 3.5 X 22
13241 FALOE-RING BAND
14990 4.0 MM LOCKING SCREW SELF
14991 4.0 MM LOCKING SCREW SELF
14992 4.0MM LOCKING SCREW SELF
14993 4.0 MM LOCKING SCREW SELF
14994 4.0 MM LOCKING SCREW SELF
14995 4.0 MM LOCKING SCREW SELF
14996 DISPOSABLE ORIF DRILL BIT 3.1
107434 SET SCREW
107535 SET SCREW
107612 SET SCREW
107657 SET SCREW
107728 SET SCREW

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

2,029.29
2,024.01
2,024.01
2,024.01
2,024.01
2,018.25
2,018.25
2,018.25
2,018.25
2,018.25
2,018.25
2,018.25
2,018.25
2,005.83
2,003.30
2,003.30
2,003.30
2,003.30
2,003.30
2,003.30
2,001.44
1,995.83
1,995.83
1,995.83
1,995.83
1,995.83
1,995.83
1,995.83
1,995.83
1,980.88
1,980.88
1,980.88
1,980.88
1,980.88
1,977.44
1,973.40
1,973.40
1,973.40
1,973.40
1,973.40
1,973.40
1,972.18
1,970.64
1,970.64
1,970.64
1,970.64
1,970.64



108418 SET SCREW
3008 3.5MM LOCKING SCREW SLF-TPNG W
7839 SCREW CANNULATED 6.5 X 80MM
7936 SCREW ASNIS CANNULATED 6.5X90M
7937 SCREW ASNIS CANNULATED 6.5X75M
8047 SCREW ASNIS CANNULATED 6.5X45M
12827 3.5X32MM SCREW
107969 ANTIROTATION SCREW FOR FEMORAL
5674 3.5 MM ULS ONE-THIRD TUBULAR
7136 SCREW CANNULATED 6.5 X 55MM
7923 CANNULATED SCREW 8.0X40MM
14140 1.8 MM WIRE W/ STOPPER
15191 50 MM CANNULATED SCREW
106600 8-12 MM NO PROFILE LOCKING
107115 LOCKING COVER
107233 NO PROFILE LOCK PLATE 6 MM
7463 5.5X70MM ROD
7500 5.5X50MM ROD
7501 5.5X110MM ROD
7604 RODS 5.5X80MM
108775 JUGGERLOC REAMER 5 MM
12803 4.0 CANNULATED SCREW
14573 COMPR FT SCREW 2.5 MICRO 10 MM
14580 COMPR FT SCREW 3.5 MINI 18MM
10302 SURGIMESH W.N. 5 X 10CM
100700 HEADLESS SCREW 2.5 MM X 36 MM
107445 HEADLESS SCREW 2.5 MM X 28 MM
107498 HEADLESS SCREW 2.5 MM X 30 MM
107499 HEADLESS SCREW 2.5 MM X 34 MM
10059 SCREW 4.0 X 36
10061 SCREW 4.0 X 40MM
8343 SCREW HEADED 2.5 MM X 30 MM
8344 SCREW HEADED 2.5 MM X 32 MM
8367 HEADED SCREW 2.0 MM X 12 MM
8368 HEADED SCREW 2.0 MM X 14 MM
8369 HEADED SCREW 2.0 MM X 16 MM
8375 2.0 MM X 20 MM SCREW DART FE
8954 HEADED SCREW 2.5 MM X 34 MM
9673 2.5 X 36 MM SCREW
5295 DURAGEN PLUS 1X 1
5843 6.5 PILOT REAMER
106683 BUTTON EXTENDER
108552 CANCELLOUS 1-4 MM 15 CC
11428 SCREW LOCKING 4.0 X 26MM
14447 WASHER LOC CANCELLOUS SCREW
106682 11 MM CONCAVE BUTTON
12677 COAXIAL SPRAY KIT

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

1,970.64
1,965.35
1,958.45
1,958.45
1,958.45
1,958.45
1,958.45
1,957.44
1,950.97
1,943.50
1,943.50
1,943.50
1,943.50
1,935.45
1,935.45
1,935.45
1,934.16
1,934.16
1,934.16
1,934.16
1,930.66
1,929.01
1,907.53
1,907.53
1,907.14
1,906.13
1,906.13
1,906.13
1,906.13
1,898.65
1,898.65
1,898.65
1,898.65
1,898.65
1,898.65
1,898.65
1,898.65
1,898.65
1,898.65
1,897.75
1,894.59
1,888.53
1,888.53
1,883.70
1,883.70
1,876.80
1,876.23



15173 2.2 MM DRILL BIT
5415 BONE FENESTRATION PERFERATOR
4648 PALACOS BONE CEMENT WITH GENT
7461 STANDARD CONNECTING CLAMP
9942 LATERAL SCREW 2.6 X 5MM LAMINO
14735 SHORT CONNECTOR 5.5
14736 SHORT ANGULATED CONNECTOR
6116 3.0 SCREW
9853 SET SCREW
8067 1.3 MM DRILL
6540 SCREW 4.0 CANN 46MM SYNTHES

8845 BIOSTINGER HORNET PRELOADED 10

8846 BIOSTINGER HORNET PRELOADED 13
13854 DRILL 2.8 MM
108754 VA SCREW
9450 5.0 X 40 LCP SCREW
9451 LCP SCREW 5.0 X 36
9499 SCREW LCP 5.0 X 48MM
11113 TAPER ADAPTOR -3 NECK
11992 SCREW LOCKING 3.5MM X 26 MM
11996 SCREW LOCKING 2.7 X 14MM
6592 -6 ADAPTOR
8315 5.0 X 50 LOCK SCREW
8681 5.0 MM LOCKING SCREW SLF TPING
8682 5.0 MM LOCKING SCREW SLF TPING
8683 5.0 LOCKING SCREW SLF TPING
8684 5.0 MM LOCKING SCREW SLF TPNG
6443 PLUG BIOMET POLARIS 2000-1005
5917 STIMUBLAST DBM GEL 1 CC
107374 90 ROD
107563 VA SELF TAPPING 4.5 X L 14 MM
107631 ROD 50
107791 ROD 130
107792 ROD 120
107957 TENDODESIS SCREW PEEK VENTED
108188 ROD 85
14613 VA SCREW 2.4X18
14614 VA SCREW 2.4X20
6229 24 X 16 VA SCREW
9427 REUNION RSA PERIPHERAL SCREW
9433 REUNION RSA CENTER SCREW DIA
11995 SCREW LOCKING 3.5 X 16MM
12515 4.5 CANNULATED SCREW (32)
12517 4.5 CANNULATED SCREW (28)
13052 LOCKING SCREW 3.5MMX22MM
13129 3.5X10MM LOCKING
13133 3.5X18MM LOCKING

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

1,875.19
1,874.36
1,868.75
1,868.75
1,868.75
1,868.75
1,868.75
1,868.75
1,868.75
1,865.07
1,861.28
1,861.28
1,861.28
1,861.28
1,860.89
1,853.80
1,853.80
1,853.80
1,853.80
1,853.80
1,853.80
1,853.80
1,853.80
1,853.80
1,853.80
1,853.80
1,853.80
1,850.06
1,849.33
1,847.48
1,847.48
1,847.48
1,847.48
1,847.48
1,847.48
1,847.48
1,846.33
1,846.33
1,846.33
1,835.86
1,835.86
1,823.90
1,823.90
1,823.90
1,823.90
1,823.90
1,823.90



8346 SCREW HEADED 3.0 MM X 24 MM
5413 TUFFNEK NON-LOCKING PLATE
5747 TUFFNEK NON-LOCKING PLATE
5748 TUFFNEK NON-LOCKING PLATE
15080 3.5 X 24 MM LOCKING SCREW
107245 DBX PUTTY 2.5 CC
106081 SCREW HEADED 4.0 MM X 50 MM
107495 HEADED SCREW 4.0 MM X 40 MM
5816 8 MM REAMER LOW PROFILE
7954 V40 FEMORAL HEAD 28 MM OMM
5209 FASTAK SUTURE ANCHOR AR1322752
7319 ANGIOSEAL 6 FR STS PLUS
7450 8X300 CONNECT ROD
106850 3.5 MM VARIABLE ANGLE LOCKING
106851 3.5 MM VARIABLE ANGLE LOCKING
106852 3.5 MM VARIABLE ANGLE LOCKING
106853 3.5 MM VARIABLE ANGLE LOCKING
106854 3.5 MM VARIABLE ANGLE LOCKING
8735 3 HOLE POST
7756 KYPHON CEMENT & MIXER CO1B
14915 3.1 MM DRILL BIT
11668 SCREW 4MM CERVICAL
11669 SCREW CERVICAL 6MM
11670 SCREW CERVICAL 8MM
4443 MESH PLUG, LARGE
8287 SET SCREW ALPHATEC 22015
9521 PROGENIX PLUS 1CC
9718 1.8 MM TITANIUM WIRE BYT
10943 ELECTRODE
6903 HEADED SCREW 3.0 MM X 28 MM
10333 STANDARD HEAD ADAPTER
100215 5.5 X 45 MM SHANK SCREW
100440 SHANK SCREW 5.5 X 35 MM
7025 PAK NEEDLE KIT
13898 DISK SHIM
13939 DISK SHIM
106371 SWANSON FLEX TOE SMALL
5736 3.5 X 12 MM CANN. SCREW
5737 3.5 X 14 MM CANN. SCREW
5738 3.5 X 16 MM CANN. SCREW
5739 3.5 X 20 MM CANN. SCREW
7887 SCREW LOCKING 3.5 X 24MM
8633 SCREW LOCKING 3.5 X 22MM
12618 2.3 15MM SCREW
12673 2.3 SCREW
6499 ACCUMIX MIXING SYSTEM
106427 JUGGERSTITCH CURVED IMPLANT

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

1,816.43
1,810.82
1,810.82
1,810.82
1,808.95
1,807.32
1,806.42
1,806.42
1,804.06
1,796.69
1,794.00
1,787.45
1,786.53
1,782.96
1,782.96
1,782.96
1,782.96
1,782.96
1,782.78
1,779.99
1,778.20
1,775.16
1,775.16
1,775.16
1,771.72
1,771.58
1,771.58
1,771.58
1,768.44
1,764.10
1,759.50
1,759.50
1,759.50
1,756.63
1,756.63
1,756.63
1,753.64
1,752.14
1,752.14
1,752.14
1,752.14
1,749.15
1,749.15
1,749.15
1,749.15
1,745.86
1,745.42



107719 JUGGERTITCH STRAIGHT IMPLANT
7451 8X200 CONNECT ROD
106925 SET SCREW
10711 OSS LOCKING PIN
13728 ICONIX 2.3MM DISPOSABLE DRILL
107794 10 X 30 FAST THREAD SCREW
3014 3.5 LOCKING SCREW 22MM
7301 10X28 MM BIOTRANSFERENCE SCREW
3002 LCP ONE-THIRD TUBULAR PLATE WI
9791 ATR SET SCREW K2M
10576 SET SCREW
11386 NON LOCKING SCREW 4.0 X 22MM
11427 SCREW LOCKING 3.5 X 22MM
106756 1.8 MM VA LOCKING BUTTRESS
106757 1.8 MM VA LOCKING BUTTRESS
106758 1.8 MM VA LOCKING BUTTRESS
7755 9 MM CANNULATED REAMER
108711 130 MM ROD
13849 INBONE NARROW BLADE
7151 1.8 MM OLIVE WIRE
11391 CLOSED LOCK SCREW
8759 5FR VASCADE CLOSURE DEVICE
8760 6-7FR VASCADE CLOSURE DEVICE
106874 1.5 MM LOCK PLATE T-SHAPE
9158 SCREW 4.5 X 60MM CANNULATED
9698 VARIABLE LOCKING SCREW 35MM
9699 FIXED LOCKING SCREW 24MM
9700 FIXED LOCKING SCREW 16MM
14917 3.0 X 18 MM SCREW
14918 3.0 X 30 MM SCREW
9728 STIMUBLAST PUTTY 1CC
7654 S5ML FLOSEAL
10027 STAPLE SMM WRIGHT
106304 CANCELLOUS CRUSHED 10 CC
7298 TRANSFIX GRAFT PASSING SET
7634 TRANSFIX KIT
4256 COMPRESSION SCREW CANNULATED
7505 3.2MM X 200MM DRILL BIT
6738 1 PEDICLE SCREW
9585 SCREW CANNULATED 4.0 X 64MM
9586 SCREW CANNULATED 4.0 X 72MM
13186 ARISTA 3GM HEMOSTASIS
12779 3.5MM CANNULATED SCREW 50MM
100701 DRIVER STAR #10 CANNULATED
12218 CANNULATED SCREW 46MM 4.0
5338 DRILL 2.9 X 140 MM CANNULATED
6937 12MM MINI SCREW

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

1,745.42
1,741.68
1,737.51
1,734.20
1,734.20
1,730.17
1,730.01
1,726.73
1,723.84
1,719.25
1,719.25
1,719.25
1,719.25
1,718.45
1,718.45
1,718.45
1,718.16
1,713.60
1,711.78
1,710.28
1,704.30
1,704.30
1,704.30
1,697.92
1,696.83
1,696.83
1,696.83
1,696.83
1,696.83
1,696.83
1,695.23
1,694.38
1,689.35
1,683.84
1,681.88
1,681.88
1,681.88
1,681.21
1,678.25
1,666.93
1,666.93
1,664.31
1,659.45
1,653.93
1,651.98
1,651.98
1,648.24



7869 PLATE 6HOLE TSHAPE STRYKER ORT 278 1,629.55

10021 DYNAMIC CLIP 278 1,629.55
10035 DYNAMIC STIMULATION CLIP LARGE 278 1,629.55
11230 SCREW 30MM 278 1,629.55
11231 SCREW 45MM 278 1,629.55
11232 SCREW 16MM 278 1,629.55
15042 OLIVE WIRE 278 1,629.55
7526 PERI-LOCVLP 3.5 MM X 10 MM 278 1,629.55
7527 PERI-LOCVLP 3.5 MM X 18 MM 278 1,629.55
7528 PERI-LOCVLP 3.5 MM X 12 MM 278 1,629.55
7529 PERI-LOCVLP 3.5 MM X 16 MM 278 1,629.55
7531 PERI-LOC VLP 3.5 MM X 30 MM 278 1,629.55
7533 PERI-LOC VLP 3.5 MM X 24 MM 278 1,629.55
7534 PERI-LOCVLP 3.5 MM X 20 MM 278 1,629.55
7535 PERI-LOC VLP 3.5 MM X 22 MM 278 1,629.55
7537 PERI-LOCVLP 3.5 MM X 40 MM 278 1,629.55
106419 SET SCREW 278 1,627.54
11343 STENT POLARIS ULTRA 6FR X 24CM 278 1,623.02
10307 WASHERLOC CANCELLOUS SCREW 278 1,618.94
15100 2.4 X 10 VA SCREW 278 1,614.60
15101 2.4 X 14 VA SCREW 278 1,614.60
7847 CRIMP 278 1,614.60
4145 SET SCREW ALPHATEC 278 1,614.60
108133 VPC SCREW 2.5 X 28 MM 278 1,612.88
108134 VPC SCREW 2.5 X 22 MM 278 1,612.88
7806 SCREW DARCO 30 X 2.7 WRIGHT 278 1,607.13
7807 SCREW DARCO 32 X 2.7 WRIGHT 278 1,607.13
7808 SCREW DARCO 34 X 2.7 WRIGHT 278 1,607.13
8683 DMB W/ CORT. CANC CHIPS DIVERT 278 1,607.13
8795 SCREW 38MM BIOMET 278 1,607.13
8796 SCREW 40MM BIOMET 278 1,607.13
8797 SCREW 60MM BIOMET 278 1,607.13
8798 SCREW 28MM BIOMET 278 1,607.13
9448 5.0 X 8.0 CANNULATED SCREW 278 1,607.13
9494 SCREW CANNULATED 5.0 X 75MM 278 1,607.13
9495 SCREW CANNULATED 5.0 X 60MM 278 1,607.13
11015 SCREW CANNULATED 4.0 X 32MM 278 1,607.13
12261 CANNULATED COUNTER SINK 278 1,607.13
12761 4 INCH NEEDLE 278 1,607.13
13896 DOCKING PIN 278 1,607.13
14048 3 X 34 MM SCREW CANNULATED 278 1,607.13
15078 3 X 12 MM CANNULATED SCREW 278 1,607.13
9907 SCREW CANNULATED 4 X 45MM 278 1,607.12
12574 6.6 INCH NEEDLE 278 1,607.12
14231 3 X 28 MM CANNULATED SCREW 278 1,607.12
108740 ROD 50 MM 278 1,606.50

108739 ROD 45 MM 278 1,606.50



108755 ROD 75
108786 ROD 40
12697 12MM DRILL BIT
12732 12MM DRILL BIT
107611 100 MM ROD
107658 70 MM ROD
107726 80 MM ROD
107727 90 MM ROD
107906 400 MM ROD
108004 130 MM ROD
108420 ROD 100 MM
108657 50 MM LORDOTIC ROD
3011 3.5MM LOCKING SCREW SLF-TPNG W
3012 3.5MM LOCKING SCREW SLF-TPNG W
3013 3.5MM LOCKING SCREW SLF-TPNG W
3016 3.5MM LOCKING SCREW SELF TPNG
3023 3.5MM LOCKING SCREW SLF-TPNG W
3024 3.5MM LOCKING SCREW SLF-TPNG W
3025 3.5 LOCKING SCREW SLF TPNG
9384 SOLERA SET SCREW
9386 SOLERA SET SCREW
5408 END CAP, SCN STRYKER ORTHO
7884 CROSS SCREW STRYKER ORTHO

8169 SCREW 80MM STRYKER ORTHO 1896-

8466 LOCKING SCREW, FULLY THREADED
14287 SHORT PLATE TACK
100402 5.5 MM PEEK ZIP
106604 55 MM ROD
107931 3.5 X 22 MM SCREW
9016 SHORT STEM FLEXIBLE TOE RASP
9684 BIOMET TIBIAL LOCKING BAR
6571 SCREW 2.0 LOCKING SELFTAP 10MM

12299 CANNULATED SCREW FULLY THREADE

12535 38MM 3.5 CANNULATED SCREW
12619 3.5 55MM CANN SCREW
12674 3.5 CANNULATED SCREW 46MM
7472 5 MM HALF PIN SCREW
106942 4.0 X 42.5 MM SCREW
10638 LARGE BONE PLUG
12829 RETRO DRILL PIN
6463 2.4 X 18 MM CANNULATED SCREW
6465 2.4 X 16MM CANNULATED SCREW
6466 2.4 12 MM CANNULATED SCREW
100390 TI LOCK SCREW 2.0 X 10 MM
106729 TI LOCK SCREW 2.4 X 8 MM
107952 2.0 X 16 MM LOCK SCREW
108154 TI LOCK SCREW 2.0 X 14 MM

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

1,606.50
1,606.50
1,604.02
1,604.02
1,601.15
1,601.15
1,601.15
1,601.15
1,601.15
1,601.15
1,601.15
1,601.15
1,599.65
1,599.65
1,599.65
1,599.65
1,599.65
1,599.65
1,599.65
1,592.18
1,592.18
1,584.70
1,584.70
1,584.70
1,584.70
1,584.70
1,584.14
1,583.55
1,571.82
1,569.75
1,564.08
1,562.28
1,562.28
1,562.28
1,562.28
1,562.28
1,560.78
1,560.09
1,554.80
1,554.80
1,554.80
1,554.80
1,554.80
1,554.23
1,554.23
1,554.23
1,554.23



106814 2.4 X 16 MM LOCKING SCREW 278 1,554.22

3739 CANCELLOUS CUBES 10CC U OF M 278 1,552.42
106238 ABS TIGHTROPE 278 1,542.50
3021 3.5MM LOCKING SCREW SLF-TPNG W 278 1,542.50
107221 28 MM X 4 3.5 LOCKING SELF 278 1,542.49
9770 3.5 COUNTERSINK 278 1,539.85
12407 4.0 X 22MM LSS 278 1,532.38
9679 3.0 MM X 18 MM CANNULATED LAG 278 1,532.38
13704 DRILL BIT 12MM 278 1,527.64
13752 12 MM DRILL BIT 278 1,527.64
9327 LOCKING SCREWS NUVASIVE 278 1,509.95
8129 2.5 X 16 MM LOCKING SCREW 278 1,509.95
8130 2.5 X 18 MM LOCKING SCREW 278 1,509.95
8131 2.5 X 14 MM LOCKING SCREW 278 1,509.95
3580 3.5MM X 18.0 MM SCREW 278 1,509.95
12623 3.5 14MM LOCKING SCREW 278 1,502.48
12675 3.5MM CORTICAL LOCKING SCREW 278 1,502.48
12775 3.5MM CORTICAL SCREW LOCKING 278 1,502.48
12776 3.5MM CORTICAL SCREW LOCKING 278 1,502.48
14612 VA SCREW 2.4X12 278 1,502.48
6817 KNEE STRYKER ORTHO 11MM INSERT 278 1,495.00
7183 KNEE COMPONENT INSERT X3 278 1,495.00
7405 PLUG ACCESSORY KIT MEDTRONIC 278 1,495.00
8306 TOTAL KNEE INSERT STRYKER ORTH 278 1,495.00
8444 INSERT - STRYKER ORTHO 278 1,495.00
8457 INSERT TOTAL KNEE XESMNE 278 1,495.00
8685 INSERT TOTAL KNEE X3 STRYKER O 278 1,495.00
9643 ORTHOSTAT/HEMOSORB 2CC 278 1,495.00
10732 FEMORAL HEAD 40MM LFIT ANATOMI 278 1,495.00
11495 1CC ALLOFUSE GEL 278 1,495.00
12232 1CC DBM PUTTY 278 1,495.00
14157 10 CM FIXATION PIN 278 1,495.00
5919 3 X 12 MM LOCKING SCREW 278 1,495.00
5921 3 X 14 MM VAL SCREW 278 1,495.00
8531 K WIRE NITINOL 278 1,495.00
8773 7.4 X 20 LOCKING SCREW 278 1,495.00
8774 7.4 X 14 LOCKING SCREW 278 1,495.00
9465 CENTRIC PINS 130 278 1,495.00
9955 K WIRE SHORT 278 1,495.00
3018 3.5MM LOCKING SCREW SLF-TPNG W 278 1,495.00
5513 BONE CEMENT W/ MIXER 278 1,493.69
100034 3.5 X 28 MM LOCKING SCREW 278 1,493.14
100035 3.5 X 30 MM LOCKING SCREW 278 1,493.14
100038 3.5 X 32 MM LOCKING SCREW 278 1,493.14
108155 HEADED SCREW 2.0 MM X 24 MM 278 1,489.71
10771 SPHINX Il WASHER MEDIUM 278 1,487.53

14926 1 CC DBM INTERGRO PASTE 278 1,487.53



5878 POLARIS ULTRA DUAL DUROMETER
7931 LOCKING SCREW PART THRD 5X50MM
7932 LOCKING SCREW FULLY THREADED
7933 SCREW LOCKING FULLY THRD 5X55M
7934 SCREW LOCKING FULLY THREADED 5
100008 4 X 40 MM CANNULATED SCREW
107970 5.0 MM TI LOCKING SCR SLF-TPNG
14289 3.5 X 34 MM LOCKING
14290 3.5 X 24 MM LOCKING
14291 3.5 X 38 MM LOCKING
14292 3.5 X 16 MM LOCKING
14293 3.5 X 18 MM LOCKING
2639 4.0MM TI CANNULATED SCREW SHOR
100919 SYS SMALL BONE FIXATION 1.6 MM
106476 SYS SMALL BONE FIXATION 1.6 MM
106582 SYS SMALL BONE FIXATION 1.1 MM
100600 4.5 X 50 FULLY THREADED
100601 4.5 X 55 FULLY THREADED SCREW
100602 4.5 X 4.5 FULLY THREADED SCREW
106087 SET SCREW
107971 FLUTE TIP GUIDE WIRE LENGTH
12631 3.5MM X 12MM LOCKING SCREW
106273 MINI MONSTER CANNULATED SHORT
106274 MINI MONSTER CANNULATED SHORT
107939 MINI MONSTER CANNULATED SHORT
107940 MINI MONSTER CANNULATED SHORT
4466 W/O WIRE URETERAL STENTS
4467 URETERAL STENTS 6X24 180-222
4468 W/O WIRE URETERAL STENTS
8597 SCREW LOCKING LISFRANC 2.7 X
5959 K WIRE
5741 2.2 X 100 MM CANN. DRILL
107140 IN CORE LAPIDUS POST PLUG
4469 W/O WIRE URETERAL STENTS
13216 SET SCREW
5307 LOCKING CAP
5377 DRILL 2.4 X 140 MM SOLID
11385 SCREW LOCKING 3.5MM X 20MM
11598 NON LOCKING SCREW 4.0 X 24MM
9769 WASHERLOC CANCELLOUS SCREW 6MM
106788 3 X 22 MM CANNULATED HEADED
108410 3.0 X 26 MM DARTFIRE SCREW
107919 4.0 X 34 SCREW
108604 4.0 X 22 LOCKING SCREW
11451 REFORM LOCK SCREW
12611 LOCK SCREW
9447 5.0 X 75 CONNICAL SCREW

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

1,483.52
1,480.05
1,480.05
1,480.05
1,480.05
1,480.05
1,473.87
1,472.58
1,472.58
1,472.58
1,472.58
1,472.58
1,472.58
1,472.12
1,472.12
1,472.12
1,466.25
1,466.25
1,466.25
1,466.25
1,466.25
1,461.36
1,460.39
1,460.39
1,460.39
1,460.39
1,457.90
1,457.90
1,457.90
1,457.63
1,457.63
1,453.14
1,448.66
1,445.84
1,435.20
1,435.20
1,429.60
1,428.47
1,428.47
1,427.73
1,425.20
1,425.20
1,422.21
1,422.21
1,420.25
1,420.25
1,412.78



9496 SCREW CONICAL 5.0 X 65MM
14920 3.0 MM DRILL BIT
108072 PALACOS R PRO
6768 SCREW 80 X 35 EBI/BIOMET
11080 SCREW 3.0 X 32 PT
11238 SCREW CANNULATED 3.0MM
12260 SCREW
12389 CANNULATED SCREW 40MM
106276 MINI MONSTER CANNULATED SHORT
106783 15 MM CENTER
108593 SCREW CENTER 15 MM
108594 SCREW 5.5 X 55 MM
108669 MINI MONSTER CANNULATED SHORT
108670 MINI MONSTER CANNULATED SHORT
106638 SET SCREW
107161 4.0 X 30 MM CANNULATED SCREW
107450 4 X 34 CANNULATED LONG THREAD
107451 4 X 44 CANNULATED LONG THREAD
7154 6 MM HALF PIN SCREW
7838 SCREW CANNULATED 4.0 X 38MM
7840 SCREW CANNULATED 4.0 X 46MM
7841 SCREW CANNULATED 4.0 X 44MM
11337 SLOT HOLE COVER
11338 HOLE COVER ROUND
12559 2.3MM FIXED DRILL BIT-12MM
15192 CUP WASHER 3.5/4.0
14222 4.5 MM CORTICAL LOCKING SCREW
14223 4.5 MM CORTICAL LOCKING SCREW
14224 4.5 MM CORTICAL LOCKING SCREW
14229 4.5 MM CORTICAL LOCKING SCREW
5832 4.0 CANNULATED SCREW 207.622
8460 SCREW 3.5MM CANN EXTR
12625 3.5 28MM LOCKING SCREW
12777 3.5MM CORTICAL SCREW LOCKING
12778 3.5MM CORTICAL SCREW LOCKING
9273 CHIN IMPLANT COSMETIC 250-134S
6564 LOCKING SMOOTH PEG 2.2 MM,
6565 LOCKING SMOOTH PEG 2.2 MM,
6571 LOCKING SCREW 2.7 MM, 18 MM
6572 LOCKING SCREW 2.7 MM, 20 MM
6573 LOCKING SCREW 2.7 MM, 24 MM
6577 LOCKING SCREW 2.7 MM, 12 MM
6578 LOCKING SCREW 2.7 MM, 14 MM
11413 LOCKING SCREW 3.5 X 12MM
100853 3.5 NON LOCKING SCREW 14 MM
100854 3.5 NON LOCKING SCREW 16 MM
106825 5.5 MM PEEK ZIP

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

1,412.78
1,409.62
1,407.60
1,397.83
1,390.35
1,390.35
1,390.35
1,390.35
1,390.01
1,390.01
1,390.01
1,390.01
1,390.01
1,390.01
1,385.61
1,384.14
1,384.14
1,384.14
1,381.38
1,375.40
1,375.40
1,375.40
1,375.40
1,375.40
1,369.49
1,367.93
1,367.92
1,367.92
1,367.92
1,367.92
1,360.45
1,352.98
1,352.98
1,352.98
1,352.98
1,345.50
1,345.50
1,345.50
1,345.50
1,345.50
1,345.50
1,345.50
1,345.50
1,337.22
1,337.22
1,337.22
1,323.14



106826 6.5 MM PEEK ZIP
12617 1.5 DRILL BIT
4630 PROLENE MESH 12X12
9176 CARBON ROD 220MM

9362 CASCADE AUTOLOGOUS PLATELET SY

12555 SURGICAL ILLUMINATOR
14139 1.8 MM BAYONET WIRE
14261 2.7 X 18 MM NONLOCK SCREW
14264 2.7 X 16 MM NONLOCKING SCREW
14232 2.0 MM CANNULATED DRILL
5793 4.5 CANNULATED SCREW FULL
5794 4.5 CANNULATED SCREW FULL
7456 90 DEG POST

2634 4.0MM TI CANNULATED SCREW SHOR
2637 4.0MM TI CANNULATED SCREW SHOR
2638 4.0MM TI CANNULATED SCREW SHOR
2642 4.0MM TI CANNULATED SCREW SHOR

106784 5.5 X 55 MM SCREW
6570 SCREW 2.0 LOCKING SELFTAP SMM
6577 SCREW 2.0 LOCKING SELFTAP 18MM
7447 150X40 HALF PIN
7987 BIOTRAK PIN 30MM ACUMED

7988 BIOTRAK PIN 20MM ACUMED 301703

8826 SCREW LOCKING 3.5 2.7HEAD 16MM
12215 LOCKING SCREW 10MM 4.0
12216 LOCKING SCREW 12MM 4.0
12217 LOCKING SCREW 14MM 4.0
12306 CORTICAL LOCKING SCREW 22MM
12624 3.5 22MM LOCKING SCREW
12626 3.5 30MM LOCKING SCREW
12627 3.5 32MM LOCKING SCREW
12676 3.5MM CORTICAL LOCKING SCREW

6319 3.5 X 12MM LOCK SCREW

6320 3.5 X 14 MM LOCK SCREW

6321 3.5 X 20 MM LOCK SCREW

9190 RE+LINE 2.7 X 14 COMP SCREW

9191 RE+LINE 2.75 X 16 COMP SCREW

9811 CENTRAL SCREW NL UNI REV 6.5 X

9891 3.5 X 46 MM SCREW

100009 3.5 36 MM CANNULATED SCREW
108390 40 MM ROD
108391 35 MM ROD

9346 SET SCREWS
10409 POLYAXIAL SCREW 6.5 X 40MM
10460 CAP SCREW
12965 OLIVE WIRE KIT, MEDIUM
13275 CAP SCREW

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

1,323.14
1,318.85
1,317.20
1,315.60
1,308.13
1,308.13
1,308.13
1,308.13
1,308.13
1,308.12
1,304.64
1,304.64
1,293.18
1,293.18
1,293.18
1,293.18
1,293.18
1,290.30
1,270.75
1,270.75
1,270.75
1,270.75
1,270.75
1,270.75
1,270.75
1,270.75
1,270.75
1,270.75
1,270.75
1,270.75
1,270.75
1,270.75
1,270.75
1,270.75
1,270.75
1,270.75
1,270.75
1,270.75
1,270.75
1,270.75
1,266.84
1,266.84
1,263.28
1,263.28
1,263.28
1,263.28
1,263.28



7132 DRILL BIT STRYKER ORTHO
100624 2.5 X 22 MM SCREW
100625 2.5 X 24 MM SCREW
100856 2.5 X 26 MM BUTTRESS SCREW
14105 CANCELLOUS SELF-TAPPING BONE
108738 SET SCREW
108765 120 MM ROD
108703 TWIST OFF SCR 2.0 X 12 NS
14169 Y-NOT FLAT 1.8 MM DISPOSABLE
8799 END CAP 5MM BIOMET
8719 BLOCKER (END CAP) STRYKER
100567 COMP RVS 2.7 MM DIA DRL
106938 SMART SET HV BONE CEMENT
8843 BIOSTINGER MENISCAL 13MM
6961 ACETABULAR BONE SCREW SIZE 30
6962 ACETABULAR BONE SCREW SIZE 20
11869 CANC LOCKING SCREW 4.0 X 28MM
11874 CANC LOCKING SCREW 30MM 4.0
11875 LOCKING SCREW CANC 32MM 4.0
11876 CANC LOCKING SCREW 42MM X 4.0
11877 LOCKING SCREW CANC 44MM 4.0
11878 CANC LOCKING SCREW 48MM 4.0
12966 VARIABLE ANGLE LOCKING SCREW
12968 VARIABLE ANGLE LOCKING SCREW
5703 TEMP FIXATION PIN
100010 3 X 32 MM CANNULATED SCREW
10400 SCREW LOCKING 2.3 X 18MM
12662 25 QUIKPASS LASSO
12682 QUICK PASS LASSOS RIGHT
107867 14 MM SCREW
108194 14 MM SCREW
108544 16 MM SD VARIABLE SCREW
10192 UNI KNEE TIBIAL TRAY ART SURF
8750 3 HOLE POST
9180 SCREW LOCKING 3.5X10MM
10331 BONE PLUG MEDIUM
11563 LOCKING SCREW 3.5 X 14MM
11564 LOCKING SCREW 3.5 X 12MM
11579 LAG SCREW 3.0 X 30MM
12259 SCREW
12302 CORTICAL LOCKING SCREW 2.7MM
12303 CORTICAL LOCKING SCREW 2.7MM 2
12358 SCREW 3MM X 12MM
12359 LOCKING SCREW 3 X 14MM
12360 SCREW 3 X 14MM
12391 18MM LOCKING SCREW
12393 18MM CORTEX SCREW

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

1,262.88
1,260.98
1,260.98
1,260.98
1,255.80
1,249.50
1,249.50
1,246.31
1,236.07
1,233.38
1,230.53
1,227.54
1,214.06
1,210.95
1,207.21
1,207.21
1,203.48
1,203.48
1,203.48
1,203.48
1,203.48
1,203.48
1,203.48
1,203.48
1,203.48
1,203.48
1,202.08
1,196.00
1,196.00
1,190.60
1,190.60
1,190.60
1,186.67
1,181.64
1,181.05
1,181.05
1,181.05
1,181.05
1,181.05
1,181.05
1,181.05
1,181.05
1,181.05
1,181.05
1,181.05
1,181.05
1,181.05



14045 3 X 20MM LOCKING SCREW
14046 3 X 24 MM SCREW
5920 3 X 16 MM VAL SCREW
8775 7.4 X 24 CORTICAL SCREW
9202 150 MM FIXATION PIN
9449 SCREW LCP 5.0 X 55
9453 LCP SCREW 5.0 X 42
106590 2.0 X 8 MM CANNULATED SCREW
108269 BONE SCREW
10399 SCREW LOCKING 2.3 X 20MM
10587 SCREW LOCKING 2.7MM X 12MM
10588 SCREW LOCKING 2.3MM X 18MM
13405 K-WIRE LONG
14716 DRILL BIT 10 MM
106267 R3CON LOCKING PLATE SCREW 2.7
106268 R3CON LOCKING PLATE SCREW 2.7
106269 R3CON LOCKING PLATE SCREW 3.5
106270 R3CON LOCKING PLATE SCREW 3.5
106271 R3CON LOCKING PLATE SCREW 3.5
108663 R3CON LOCKING PLATE SCREW 3.5
108664 R3CON LOCKING PLATE SCREW 3.5
108665 R3CON LOCKING PLATE SCREW 3.5
9174 SCHANZ PIN 4.0
11635 MATRISTEM MICROMATRIX
2973 1.25MM K WIRE W/TROCAR
6430 HIP- DEPUY 13MM CEMENTRALIZER
12799 KNEE SYSTEM 2.5MM HEX SCREW
8095 PLATE 7 HOLE FIBULA DEPUY 8141
7481 2 HOLE POST
7429 3.5X22 SCREW
7443 3.5X14 SCREW
7844 SCREW LOCKING 3.5 X 40MM
7845 SCREW LOCKING 3.5 X 32MM
7847 SCREW LOCKING 3.5 X 50MM STRYK
7848 SCREW LOCKING 3.5 X 44MM

7920 LOCKING SCREW 3.5X28MM STRYKER
7921 SCREW LOCKING 3.5X26MM STRYKER

8403 LOCKING SCREW 3.5 X 48MM STRYK
15041 GUIDE PIN

9864 2.5 X 36 MM CANNULATED SCREW

9892 2.5 X 44 MM SCREW

9894 2.5 X 34 MM SCREW

9862 2.5 X 42 MM CANNULATED SCREW

9863 2.5 X 38 MM CANNULATED SCREW
10904 PLATE SCREW
10905 PLATE SCREW 6.5MM X 35MM
10906 PLATE SCREW 6.5MM X 40MM

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

1,181.05
1,181.05
1,181.05
1,181.05
1,177.31
1,173.58
1,173.58
1,173.00
1,173.00
1,166.10
1,166.10
1,166.10
1,166.10
1,163.92
1,161.27
1,161.27
1,161.27
1,161.27
1,161.27
1,161.27
1,161.27
1,161.27
1,158.63
1,158.63
1,158.63
1,158.33
1,153.99
1,138.07
1,137.84
1,136.20
1,136.20
1,136.20
1,136.20
1,136.20
1,136.20
1,136.20
1,136.20
1,136.20
1,128.73
1,128.73
1,128.73
1,128.73
1,128.72
1,128.72
1,125.91
1,125.91
1,125.91



10729 SUTURE BUTTON
12255 CANNULATED DRILL BIT
5724 PATELLA X3 STYKER ORTHO
9391 3MM X 20 LAG SCREW
9509 SCREW 2.7 X 12MM LEFT
9510 SCREW 2.7 X 14MM LEFT
5622 NONLOCK SCREW 24 X 14
5623 NONLOCK SCREW 24 X 10
6325 PLATE 100 DEG TUBULAR 6 HOLE
3009 3.5MM LOCKING SCREW SLF-TPNG W
3010 3.5MM LOCKING SCREW SLF-TPNG W
3017 3.5MM LOCKING SCREW SLF-TPNG W

5269 3.5 X 12 MM LOCKING SCREW
5270 3.5 X 20 MM LOCKING SCREW
5272 3.5 X 14 MM LOCKING SCREW
107139 INCORE LAPIDUS 3.5 MM X 42 MM
107141 IN CORE LAPIDUS 3.5 MM X 28 MM
11661 MATRISTEM WOUND MATRIX
108370 CAN 10 CC 1-4 MM MORSEL FD
4265 K-WIRE, STERILE
100653 CLOSURE TOP
8684 DBM W/ CORT. CANCELLOUS CHIPS
11994 SCREW 3.5 X 36 MM LOW PROFILE
13132 3.5X12MM NL LOW PROFILE
13366 SCREW MAXCESS-C 14MM
13480 3.5 X 22 MM NON LOCK SCREW
13848 NONLOCK SCREW 3.5 X 18 MM
6650 BONE SCREW T103.5712 MM
6688 3.5 X 14 MM NL SCREW
9041 3.5 X 26 MM SCREW
10637 CENTRALIZER 13MM
8108 CANCELLOUS CHIP
6431 HIP- DEPUY 4 RESTRICTOR
9154 SCREW LCP 2.7 16 MM
9155 SCREW LCP 2.7 18MM
9156 SCREW LCP 2.7 20MM
11134 SCREW LCP 2.7 14MM
11135 SCREW LCP 2.7 12MM
11639 1.8MM KWIRE
11370 LOCKING SCREW 2.7 X 16 MM
11373 LOCKING SCREW 3.5 X 40MM
11374 LOCKING SCREW 3.5 X 38MM
11375 LOCKING SCREW 3.5 X 22MM
11376 LOCKING SCREW 3.5 X 10MM
11377 LOCKING SCREW 3.5 X 14MM
11411 LOCKING SCREW 3.5 X 10MM
11414 LOCKING SCREW 3.5 X 18MM

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

1,123.93
1,122.80
1,121.25
1,121.25
1,121.25
1,121.25
1,121.25
1,121.25
1,121.25
1,121.25
1,121.25
1,121.25
1,113.78
1,113.78
1,113.78
1,108.49
1,108.49
1,098.83
1,091.83
1,091.35
1,090.89
1,083.88
1,083.88
1,083.88
1,083.88
1,083.88
1,083.88
1,083.88
1,083.88
1,083.88
1,076.40
1,073.04
1,072.81
1,061.45
1,061.45
1,061.45
1,061.45
1,061.45
1,059.16
1,053.98
1,053.98
1,053.98
1,053.98
1,053.98
1,053.98
1,053.98
1,053.98



11415 LOCKING SCREW 3.5 X 20MM
11417 LOCKING SCREW 3.5 X 14MM
13053 NONLOCKING SCREW 3.5MMX18MM
13055 NONLOCK SCREW 3.5MMX16MM
100392 DRIVER STAR 7
7427 3.5X16 SCREW
7428 3.5X34 SCREW
7446 3.5X20 SCREW
7816 SCREW LOCKING 3.5 X 28MM
6689 4.0 X 16 MM CANCELLOUS SCREW
6691 3.5 X 50 MM SCREW
6692 3.5 X 42 MM SCREW
6838 3.5 28 MM CORTICAL SCREW
6839 3.5 X 55 MM CORTICAL SCREW
8619 PATELLA REAMER BLADE WITH
7805 CEMENT SMARTSET MV ENDURANCE
12948 3.2 TIP THREADED GUIDE WIRE
108768 14 MM SD SCREW
106037 4.5 MM CANNULATED TAP
106039 5.5 MM CANNULATED TAP
106776 BATTALION LATERAL INTRADISCAL
106899 COUNTERSINK FOR 3.0
108778 4.5 X 26 SCREW
6314 DRILL PLATE AO 1.9X27MM
6572 SCREW 2.0 LOCKING SELFTAP 11MM
6623 SCREW 2.4 LOCKING SELFTAP 12MM
13619 PATELLA REAMER BLADE WITH
13630 PATELLA REAMING SYSTEM PATELLA
14137 WIRE FIXATION BOLT
5268 OLIVE WIRES
7457 THREADED POST
8642 SCREW 4.0 X 16MM ACUMED CANN E
3585 3.5MM X 28.0 SCREW
9618 FLEX HD 1CM X 2CM .4MM-.8MM TH
100018 2.0 WIRE
7811 SCREW LOCKING 2.7 X 26 MM
8057 2.7 X 10MM LOCKING SCREW
11079 SCREW PT 3.0 X 30
12798 PATELL REAMING SYSTEM/BLADE
100765 2.7 X 16 MM LOCKING SCREW
100766 2.7 X 18 MM LOCKING SCREW
100805 2.7 X 22 MM LOCKING SCREW
100817 2.7 X 18 MM LOCKING SCREW
100818 2.7 X 20 MM LOCKING SCREW
100819 3.5 X 14 MM LOCKING SCREW
100820 3.5 X 18 MM LOCKING SCREW
100821 3.5 X 28 MM LOCKING SCREW

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

1,053.98
1,053.98
1,053.98
1,053.98
1,049.84
1,046.50
1,046.50
1,046.50
1,046.50
1,046.50
1,046.50
1,046.50
1,046.50
1,046.50
1,046.50
1,039.40
1,039.03
1,035.30
1,026.38
1,026.38
1,026.38
1,026.38
1,024.34
1,024.08
1,024.08
1,024.08
1,018.42
1,018.42
1,009.13
1,009.13
1,001.65
1,001.65
1,001.65
986.7
979.22
971.75
971.75
971.75
971.75
967.73
967.73
967.73
967.73
967.73
967.73
967.73
967.73



107832 LOW PROFILE SCREW 4.0 X 40
107561 COMP REV SHLDR 9 IN
13056 NON LOCK SCREW 3.5MMX20MM
13130 3.5X10MM NL LOW PROFILE
13415 3.5 X 30 MM NL SCREW
100808 2.3 MULTISCREW 14 MM
100811 2.3 MULTISCREW 16 MM
100812 1.5 MULTISCREW 14 MM
100813 1.5 MULTISCREW 8 MM
100852 2.3 LOCKING SCREW 14 MM
106011 2.3 LOCKING SCREW 22 MM
106012 2.3 NON LOCKING SCREW 22 MM
106441 2.3 MM NON LOCK SCREW 20 ML
106443 2.3 MM NON LOCK SCREW 12 MM
106916 CORTICAL SCREW 2.3 MM X 20 MM
106917 CORTICAL SCREW 2.3 MM X 24 MM
106918 CORTICAL SCREW 2.3 MM X 26 MM
106919 CORTICAL SCREW 2.3 MM X 28 MM
8066 2.4 MM X 14 MM NL SCREW
6570 LOCKING SCREW 2.7 MM, 16 MM
6558 20MM SCREW
6588 40 MM SCREW
6589 35 MM SCREW
10086 LOCKING SCREW 2.3 X 10MM
11188 CASCADE AUTOLOGOUS PLATELET
10018 ORBITAL PLATE 4 HOLE
7786 KYPHYX SIZE 3 BONE FILLER DEVI
10397 SCREW BONE 2.7 X 16 MM
10586 SCREW 2.7MM X 12MM
107383 1.6 X 10 MM SCREW
107384 1.6 X 12 MM SCREW
107385 1.6 X 8 MM SCREW
107390 2.0 MM X 8 MM SCREW
106003 120 MM FIXATION PIN
106465 100 MM FIXATION PIN
106535 160 MM FIXATION PIN
7156 SCREW LOCKING 4.0 X 32MM
7157 SCREW LOCKING 4.0 X 28MM
7160 SCREW LOCKING 4.0 X 28MM
7175 SCREW LOCKING 3.5MM X 18MM
7176 SCREW LOCKING 3.5MM X 20MM
8548 SCREW 3.5MM LOCKING X 16
11619 LOCKING SCREW 3.5 X 14MM
10549 PALACOS RADIOPAQUE BONE CEMENT
9396 3.0 X 16 LOCKING SCREW
9397 3.0 X 12 LOCKING SCREW
11576 LOCKING SCREW 3.0 X 10MM

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

967.73
964.51
964.28
964.28
964.28
961.86
961.86
961.86
961.86
961.86
961.86
961.86
961.86
961.86
961.86
961.86
961.86
961.86

956.8

955.7
949.33
949.33
949.33
941.85

936.1
935.35
934.38
934.38
934.38
926.67
926.67
926.67
926.67
923.74
923.74
923.74
919.43
919.43
919.43
919.43
919.43
919.43
919.43
915.49
911.95
911.95
911.95



12390 LOCKING SCREW 24MM
14066 3.5 X 18 MM LOCKING SCREW
14067 3.5 X 22 MM LOCKING SCREW
15058 3.5 X 24 MM LOCKING SCREW
8776 3.5 X 14 LOCKING SCREW
2609 1.25MM THREADED GUIDE WIRE 150
12530 2.0 DRILL BIT
7430 1.4 KWIRE
9255 SCREW TALON 8.0 X 45MM
10191 SCREW HEADED UNI KNEE 33MM
9809 UNI GLENOID PERIPHERAL LOCK
9810 UNI GLENOID PERIPHERAL LOCK
108762 SET SCREW
108204 4.5 LOCKING SCREW 26 MM
108205 4.5 LOCKING SCREW 35 MM
11926 MATRISTEM MICROMATRIX 30MG
11967 MICROMATRIX 30MG
13094 TI NON-LOCK SCREW 2.4X10MM
13095 TI NON-LOCK SCREW 2.4X12MM
100366 #2 FIBERSNARE #2 FIBERWIRE 26"
107453 COUNTERSINK 4.0 CANNULATED
107744 REF SPHER HEAD SCREW 25 MM
107805 30 MM CANCELLOUS SCREW
108684 3.5 X 12 L SCREW
7444 4X150 HALF PIN
12976 CLAW Il PLATE TACK
6767 SCREW 70 X 20 EBI/BIOMET
12016 CORTICAL SCREW 80/20MM
13173 3.5 CANNULATED LOCKING SCREW
13174 3.5 CANNULATED LOCKING SCREW
13175 3.5 CANNULATED LOCKING SCREW
11004 WASHER
6631 3.7 X 36 MM LISFRANE SCREW
11621 SCREW NON LOCKING 2.4 X 10MM
11622 LOCKING SCREW 2.4 X 10MM
13212 60/20MM HALF PIN SCREW IMPLANT
12770 TRIALKIT
13176 3.5MM LOCKING SCREW
13177 3.5MM LOCKING SCREW
100168 PEG THREAD MULTIDIR 2.5 X 26
12531 12MM 2.5 LOCKING SCREW
12532 14MM 2.5 LOCKING SCREW
12533 16MM 2.5 LOCKING SCREW
12534 18MM 2.5 LOCKING SCREW
106013 9" PIN
4597 SPIKED LIGAMENT STAPLE
108666 R3CON NON-LOCKING PLATE SCREW

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

911.95
911.95
911.95
911.95
911.95
899.56
898.24
897.35
897
897
897
897
892.5
887.49
887.49
886.54
886.54
882.05
882.05
879.75
879.75
879.75
879.75
879.75
874.58
874.58
870.84
870.84
869.19
869.19
869.19
867.1
867.1
863.36
863.36
863.36
859.63
857.76
857.76
855.89
852.15
852.15
852.15
852.15
850.43
844.68
844.56



108667 R3CON NON-LOCKING PLATE SCREW
100587 CANCELLOUS CHIP CRUSHED 1-4MM
100732 CANCELLOUS CRUSHED 1-4 MM 5 CC
100459 2 X 50 MM CANNULATED SCREW
106790 2.0 X 40 MM CANNULATED
106791 2.0 X 35 MM CANNULATED HEADED
8064 2.0 MM X 16 MM NL SCREW
8065 2.0 MM X 14 MM NL SCREW
6620 SCREW 2.4 LOCKING SELFTAP SMM
6621 SCREW 2.4 LOCKING SELFTAP 10MM
6622 SCREW 2.4 LOCKING SELFTAP 11MM
8461 8MM STAPLE
8464 10MM STAPLE
10190 SCREW HEADED UNI KNEE 48MM
12967 VARIABLE ANGLE NONLOCKING
7490 P-LVLP 5.0 MM X 12 MM
107483 FIXATION PIN
107632 FIXATION PIN 14 MM
108675 2.4 X 16 VAL SCREW
108676 2.4 X 18 VAL SCREW
108677 3.5 X 14 L SCREW
10961 BB TAK
10957 SCREW LOCKING 3.5 X 16MM
12076 CORTICAL SCREW 2.3 X 32MM
12077 LOCKING SCREW 2.3 X 28MM
12078 LOCKING SCREW 2.3 X 26 MM
12079 LOCKING SCREW 2.3 X 24MM
12080 LOCKING SCREW 2.3 X 20MM
12258 BB TAK
12867 1.7 DRILL BIT
11372 CORTICAL SCREW 3.5 X 12MM
11412 3.5 X 10MM CORTICAL SCREW
106730 TI NON LOCK SCREW 2.4 X 10 MM
6939 DRILL BIT
11578 LAGSCREW 3.0 X 36 MM
12319 BONE SCREW T10 2.5 X 18MM
12321 BONE SCREW T10 3.5 X 24MM
12964 DRILL BIT KIT 2.0MMBIT FOR
108753 3.5 X 14 L SCREW
6601 SCREW 2.4 CORT SELF TAP 12MM
6603 SCREW 2.4 CORT. SELF TAP 14MM
105980 PROFYLE BONE SCREW 2.3 X 12MM
3022 3.5MM LOCKING SCREW SLF-TPNG W
7635 2.4MM OVERDRILL
5854 LAG SCREW 3.2 22 MM
6551 LOW PROFILE NON-LOCKING SCREW
6574 LOW PROFILE NON-LOCKING SCREW

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

844.56
841.93
841.93
838.7
838.7
838.7
837.2
837.2
822.25
822.25
822.25
822.25
822.25
822.25
822.25
822.25
821.1
821.1
821.1
821.1
821.1
808.43
807.3
807.3
807.3
807.3
807.3
807.3
807.3
805.59
797.64
797.64
797.64
792.99
784.88
784.88
784.88
784.19
765
762.45
762.45
754.98
754.98
747.5
747.5
747.5
747.5



6576 LOW PROFILE NON-LOCKING SCREW
7291 RETAINING BOLT CONGRUENT OR
5721 CEMENT STRYKER ORTHO
7434 3.2X200 DRILL BIT
11999 PLATE TAC
11446 SCREW SOLID 2.3 X 24MM
10085 SCREW NON LOCKING 2.3 X 10MM
10087 NON LOCKING SCREW 2.3 X 8MM
13138 STEIMAN PIN
108750 2.5 X 22 L SCREW
108751 2.4 X 20 L SCREW
108752 2.4 X 24 L SCREW
4537 2.3MM SOLID FULL-THREAD SCREW
8598 SCREW NON LOCKING LISFRANC 2.7
10886 CORTICAL LAG SCREW
13715 EXPRESSBRAID GRAFT
9887 BONE SCREW 6.5 X 30 SELF TAP
14184 16 MM CORTICAL SCREW
106648 5.5 X 36 LOCKING
108209 4.5 X 32 NON LOCKING SCREW
108210 4.5 X 28 NON LOCKING SCREW
108211 4.5 X 24 NON LOCKING SCREW
15127 1.5 CORTEX SCREW
15128 1.5 CORTEX SCREW
106361 1.5 MM CORTEX SCREW SLF-TPNG
10777 PLAPLE SCREW 2.3 X 12MM
10967 SCREW CORTICAL 2.3 X 22MM
10997 SCREW 23 X 10MM
107508 CANCELLOUS SELF TAPPING BONE
108356 CANCELLOUS SELF TAPPING BONE
108699 CANCELLOUS SELF TAPPING BONE
11371 SCREW CORTICAL 3.5 X 20MM
11378 CORTICAL SCREW 3.5 X 18MM
100044 1.8 SPHEREICAL WIRE
100859 MENISCUS REPAIR SUTURE
6237 LOCK TAB LIFESPINE 111-001
6599 SCREW 2.4 CORT. SELF TAP 10MM
7752 FIBERLOOP
10070 SCREW COVERS
8311 MIDLINE MARKING SCREW DEPUY SP
13215 K WIRE FLEXIBLE
15190 14 MM 3.5 SCREW
100391 TI NON LOCK SCREW 2.0 X 10 MM
108389 SET SCREW
7196 3 SIDED CART
107599 ROD TEMPLATE
100626 2.7 X 12 MM SCREW

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

747.5
747.5
744.06
734.24
732.55
730.96
725.08
725.08
725.08
714
714
714
710.13
710.13
710.13
710.13
710.13
710.12
703.8
703.8
703.8
703.8
697.94
697.94
697.93
695.18
695.18
695.18
692.07
692.07
692.07
680.23
680.23
680.23
674.48
672.75
665.28
665.09
664.54
663.41
657.8
657.8
656.88
656.88
646.62
646.62
645.15



100857 2.7 X 16 MM CORTICAL SCREW
100858 2.7 X 14 MM CORTICAL SCREW
6548 SCREW 2.0 CORT. SELF TAP 10MM
11763 CORTICAL SCREW 3.5 X 22MM
14068 3.5 X 24 MM SCREW
14999 K WIRE W/DRILL TIP 2.0 X 234MM
8777 3.5 X 12 CORTICAL SCREW
8547 SCREW 3.5MM CORTICAL X 16
15060 BB TAK
108733 CANN SCREW PART THRD 4.0 X 60
108734 CANN SCREW PART THRD 4.0 X
8776 LEAD ANCHOR CINCH
11536 MATRISTEM WOUND MATRIX
107856 BALL NOSE GUIDE WIRE 100 CM
6605 SCREW 2.4 CORT.SELF TAP 18MM
10884 CORTICAL HEX SCREW 3.2MM
10885 CORTICAL HEX SCREW 3.2MM
14939 2.4 X 12 CORTEX SCREW
9776 2.3 CORTICAL SCREW 20 MM
9777 2.3 CORTICAL SCREW 24 MM
9778 2.3 CORTICAL SCREW 26 MM
9780 3.2 CORTICAL SCREW 18 MM
7798 STAPLER TA60 3.5 RELOADABLE
108725 CANCELLOUS SELF TAPPING BONE
11620 CORTICAL SCREW 3.5 X 16MM
11881 CORTICAL SCREW 20MM 3.5
14534 18 MM 3.5 CORTICAL SCREW
14535 16 MM 3.5 CORTICAL SCREW
6326 3.5 CORTICAL SCREW 12 MM
6327 CORTICAL SCREW 3.5 X 14 MM
12256 DRILL BIT
10958 SCREW CORTICAL 6.5 X 18MM
10959 SCREW CORTICAL 3.5 X 20MM
10960 SCREW CORTICAL 3.5 X42MM
11759 CORTICAL SCREW 3.5 X 38MM
11760 CORTICAL SCREW 3.5 X 28MM
11761 CORTICAL SCREW 3.5 X 14MM
11764 CORTICAL SCREW 3.5X 12MM
12774 CERVICAL SCREW NON LOCKING

100770 3.5 MM CORT LOCK SCREW 42 MM
100771 3.5 MM CORT LOCK SCREW 44 MM
100772 3.5 MM CORT LOCK SCREW 50 MM
100773 3.5 MM CORT LOCK SCREW 50 MM
100158 NESTER PLATINUM EMBOLIZATION

100697 SCREW PELVIC
107507 CANCELLOUS SELF TAPPING BONE
107603 TORX THREADED PEG 16 MM

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

645.15
645.15
642.85
642.85
642.85
642.85
642.85
635.38
635.38
632.4
632.4
629.36
627.9
621.69
620.43
620.43
620.43
620.43
620.43
620.43
620.43
620.43
602.84
601.8
598
598
598
598
598
598
591.35
590.53
590.53
590.53
590.53
590.53
590.53
590.53
590.53
589.43
589.43
589.43
589.43
586.79
586.5
586.5
586.5



107604 TORX THREADED PEG 18 MM
108611 BALLOON INCEUP 4020X
13491 3.2 X 30 MM TROCAR
6604 SCREW 2.4 CORT. SELF TAP 16MM
14069 2.5 MM DRILL BIT LOCKING
10019 SCREW SELF TAPPING 1.2 X 3MM
12868 2MM DRILL BIT
7432 3.5X50 SCREW
9257 CORTICAL SCREW 2.3MM X 10MM
9258 CORTICAL SCREW 2.3 X 12MM
9259 CORTICAL SCREW 2.3 X 16MM TRIM
14145 115 MM THREADED ROD
12710 RELIEVA SINUS BALLOON
100786 BONE SCREW 6.5 X 25 SELF TAP
12304 3.5MM LOW PROFILE NON OCKING C
12305 3.5MM LOW PROFILE NON LOCKING
9521 PERI-LOC K-WIRE 2.0 MM
7433 3.2X200 KWIRE
12576 FIBER LINK
7700 4-0 FIBERLOOP
106849 3.5 MM CRTX SCREW LOW PROF HD
14220 3.2 MM DRILL BIT
100790 K WIRE LONG
107900 UNTHREADED LOCKING PEG 20 MM
7177 SCREW LOCKING 3.5MM X 45MM
7178 SCREW LOCKING 3.5MM X 12MM
7867 SCREW 2.3 X 14MM STRYKER ORTHO
7870 SCREW LOCKING 2.3 X 12MM STRYK
7871 SCREW LOCKING 2.3 X 15MM STRYK
8029 SCREW LOCKING 2.3 X 13MM
8030 SCREW LOCKING 2.3 X 16MM
8031 SCREW LOCKING 2.3 X 9MM
10457 MICROMATRIX
100157 NESTER PLATINUM EMBOLIZATION
5265 305 X 28 MM CORTICAL SCREW NON
5264 SPIRAL DRILL 3.5 MM X 110 MM
6719 PLATE TUBULAR 100 5 HOLE
8789 PIN 2.5 X 9IN 67
107819 3.5 X 6.5 CANCELLOUS SCREW
107820 4.0 X 6.5 CANCELLOUS SCREW
107821 4.5 X 40 CORTICAL SCREW
107822 4.5 X 46 CORTICAL SCREW
107823 4.5 X 38 CORTICAL SCREW
108092 SCREW CORTICAL 4.5 X 36 MM
15126 1.5 CORTEX SCREW
4629 PROLENE MESH 3 X 6
108206 4.5 MM COMPRESSION SCREW 18MM

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

586.5

586.5
580.98
579.31
577.12
565.56
563.19
560.63
560.63
560.63
560.63
560.63
557.27
557.18
553.15
553.15
549.41
545.68
534.46
534.46
533.71
527.85
527.85
527.85
523.25
523.25
523.25
523.25
523.25
523.25
523.25
523.25
523.25
523.25
515.78
510.83
510.17
503.49
498.53
498.53
498.53
498.53
498.53
498.53
497.09
496.77
494.06



100438 HEX CORTICAL SCREW 3.2 12 MM
100439 TORX CORTICAL SCREW 2.3 22 MM
100487 3.2 CORTICAL SCREW 08 MM
107031 2.3 CORTICAL SCREW 18 MM
107605 HEX CORTICAL SCREW 3.2 11 MM
4532 2.3MM SOLID FULL-THREAD SCREW
4533 2.3MM SOLID FULL-THREAD SCREW
4535 2.3MM SOLID FULL-THREAD SCREW
4542 2.3MM SOLID FULL-THREAD SCREW
4549 2.3MM SOLID FULL-THREAD SCREW
10089 LPS SCREW 2.3 X 14MM
10966 SCREW CORTICAL 2.3 X 18MM
11081 SCREW 2.3 X 12MM LPS
11504 SCREW 2.3 X 16MM
14615 2.7X12 CORTEX SCREW
107462 JUGGERSTITCH HALFPIPE CANNULA

8099 SCREW CORTICAL 16MM DEPUY 8150

6547 SCREW 2.0 CORT. SELF TAP SMM
6549 SCREW 2.0 CORT. SELF TAP 11MM
6938 .035 GUIDE WIRE

6315 NON-LOCKING SCREW 2.3X14MM
6316 NON-LOCKING SCREW 2.3X16MM

7204 SCREW 2.3MM X 12MM STRYKER ORT
7205 SCREW 2.3MM X 13MM STRYKER ORT

11762 CORTICAL SCREW 3.5 X 18MM
5861 BONE CEMENT COBALT BIOMET
7171 SCREW CORTICAL 3.5MM X 26
7172 SCREW CORTICAL 3.5MM X 20
7173 SCREW CORTICAL 3.5MM X 22MM
7174 SCREW CORTICAL 3.5MM X 16MM
7436 6 HOLE PLATE

11882 CORTICAL SCREW 3.5 X 30MM

11883 CORTICAL SCREW 32MM 3.5

11884 CORTICAL SCREW 48MM X 3.5

14150 EXTENDED NUT

14998 4.0 MM CANCELLOUS SCREW
6322 3.5 X 28MM CORT SCREW
6323 3.5 X 70 MM CORT SCREW
6324 3.5 X 30 MM CORT SCREW

14403 1.8 MM PROVISIONAL PIN
6129 6.5 CANCELLOUS BONE SCREW 30
5266 3.5 X 24 MM CORTICAL SCREW NON
5271 3.5 X 14 MM NON LOCKING

100695 SPHERE STERILE
100696 SCREW FEMUR
107442 SCREW PELVIC
6501 SCREW 4.0 CANC FULL THRD 20MM

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

486.8
486.8
486.8
486.8
486.8
485.88
485.88
485.88
485.88
485.88
485.88
485.88
485.88
485.88
485.88
478.58
478.4
474.66
474.66
474.66
470.93
470.93
470.93
470.93
450
448.5
448.5
448.5
448.5
448.5
448.5
448.5
448.5
448.5
448.5
448.5
448.5
448.5
448.5
447.38
444,54
441.03
441.03
439.88
439.88
439.88
434.01



5792 40 X 60 CANCELLOUS SCREW
107899 3.2 CORTICAL SCREW 13 MM
107902 3.2 CORTICAL SCREW 15 MM
108113 2.3 CORTICAL SCREW 28 MM
4816 K WIRE .035 X 6IN
14225 4.5 CORTICAL SCREW 28 MM
14226 4.5 MM CORTICAL SCREW 30 MM
14227 4.5 MM CORTICAL SCREW
14228 4.5 MM CORTICAL SCREW

4273 SCREW 6.5MM X 25MM FULLY THRD
13888 HEX FLEX CANNULA WITH DISP.

2929 3.5MM CORTEX SCREW SELF-TAPPIN
108644 L ANGLED CONNECTING BAR

5740 20 X 150 MM SMOOTH KWIRE

4543 2.3MM SOLID FULL-THREAD SCREW

4545 2.3MM SOLID FULL-THREAD SCREW
107436 BONE CEMENT R 1 X 40US
106837 MAXBRD # 2 MO-6-NDL 2 PK BK/BL

14142 200 MM THREADED ROD
100775 2 MM GUIDE PIN BAYONET PT 3 PK

4759 2-0 FIBERWIRE MENISCUS REPAIR
108785 LONG FEMUR SCREW

8492 3.6 STEINMANN PIN

6141 3.5 CORTICAL SCREW X 20MM SYNT

2921 3.5MM CORTEX SCREW SELF-TAPPIN

2922 3.5MM CORTEX SCREW SELF-TAPPIN

2923 3.5MM CORTEX SCREW SELF-TAPPIN

2924 3.5MM CORTEX SCREW SELF-TAPPIN

9766 WOUND SHEET 3 X 3.5 ONE LAYER

9181 SCREW NON LOCKING 3.5 X 30MM

9182 SCREW NON-LOCKING 3.5 X 24MM

9183 SCREW NON LOCKING 3.5 X 20MM

9505 SCREW 3.5 X 14MM

9506 SCREW 3.5 X 16MM

9507 SCREW 3.5 X 18MM

9904 SCREW CORTEX 3.5 X 26 MM

9905 SCREW CORTEX 3.5 X 10MM

9906 SCREW CORTEX 3.5 X 12MM

9908 SCREW CORTICAL 3.5 X 22

9909 SCREW ORTICAL 3.5 X 14MM

9910 SCREW CANCELLOUS 4.0 X 12MM
100568 COMP LK SCR 3.5 HEX 4.75 X 40
100570 COMP LY SCR 3.5 HEX 4.75 X 35
100573 COMP RVS CNTRL 6.5 X 35 MM
107555 COMP RVS CNTRL 6.5 X 20 MM
107556 COMP RVS CNTRL 6.5 X 25 MM
107557 COMP LK SCR 3.5 HEX 4.75 X 25

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

434.01
434.01
434.01
434.01
433.55
433.55
433.55
433.55
433.55
433.55
427.57
420.99
418.76

418.6
411.13
411.13
410.55

408.2
393.86
390.02
382.64

382.5
377.49
375.36
375.36
375.36
375.36
375.36

373.9
373.75
373.75
373.75
373.75
373.75
373.75
373.75
373.75
373.75
373.75
373.75
373.75
370.97
370.97
370.97
370.97
370.97
370.97



107590 COMP RVS CNTRL 6.5 X 20 MM ST/
107591 COMP NLK SCR 3.5 HEX 4.75 X 20
108640 6.5 MM LOW PROFILE HEX SCREW
10855 COMPRESSION SCREW
11408 PLATE TACK
6000 1.1 K-WIRE
9512 PERI-LOC VLP 3.5 MM X 28 MM
9513 PERI-LOC VLP 3.5 MM X 30 MM
9514 PERI-LOC VLP 3.5 MM X 34 MM
9515 PERI-LOCVLP 3.5 MM X 42 MM
9516 PERI-LOC VLP 3.5 MM X 44 MM
5558 30 DISPOSABLE SUBDERMAL ELECTR
7598 WASHER
2972 WASHER 7.0MM
8349 K WIRE 0.9 X 150 MM BLUNT
106871 NON LOCK SCREW 1.5 X 12 MM
106872 NON LOCK SCREW 1.5 X 10 MM
106875 LOCK SCREW 1.5 X 10 MM
106876 LOCK SCREW 1.5 X 11 MM
106877 LOCK SCREW 1.5 X9 MM
106879 LOCK SCREW 1.5 X 14 MM
106880 LOCK SCREW 1.5 X 12 MM
8860 SCREW HEX 25MM VOT SOLTIONS
8862 SCREW HEX 20MM VOT SYSTEMS
9177 END CAP
14141 10 MM NUT PACK
9680 .045 X 6" PARTIALLY THREADED
11136 SCREW CORTEX 2.7 14MM
2927 3.5MM CORTEX SCREW SELF-TAPPIN
2928 3.5MM CORTEX SCREW SELF-TAPPIN
12622 1.6 K-WIRE
6872 1.0 X 150 MM K-WIRE
8676 K WIRE
108645 CARBON BAR
100040 1.2 X150 MM KWIRE SINGLE
14987 3.5 MM CORTICAL SCREW SELF
14988 3.5MM CORTICAL SCREW SELF
14989 3.5MM CORTICAL SCREW SELF
100043 1.6 X 100 MM SINGLE KWIRE
2920 3.5MM CORTEX SCREW SELF-TAPPIN
2931 3.5MM CORTEX SCREW SELF TPNG
5263 SPIRAL DRILL 2.7 MM X 100 MM
10854 SCREW CORTICAL 4.5 X 44MM
6841 WASHER
8311 4.5 X 30 CORTEX SCREW
8312 4.5 X 34 CORTEX SCREW
8313 4.5 X 36 CORTEX SCREW

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

370.97
370.97
370.61
368.15
366.28
360.67
356.56
356.56
356.56
356.56
356.56
352.44
351.33
343.85

343.1

343.1

343.1

343.1

343.1

343.1

343.1

343.1
336.38
336.38
336.38
336.38
336.38
334,51
330.31
330.31

328.9

328.9

328.9
328.44
319.93
313.95
313.95
313.95
313.95
313.95
313.95
310.37
306.48
306.48
306.48
306.48
306.48



8314 4.5 X 28 CORTEX SCREW
8680 4.5 MM CORTEX SCREW SELF
106336 110 MM NON RIMMED PINS
106337 65 MM NON RIMMED PINS
106338 45 MM RIMMED PINS
106339 6.0 X 27 MM TIBIAL PINS
106340 6.5 MM X 40 MM TIBIAL PINS
12832 SPINAL NEEDLE
15172 .9 X 150
5567 1.1 MM K WIRE
100822 3.5 X 18 MM CORTICAL SCREW
107157 3.5 X 14 MM SCREW
107158 4.0 X 20 MM CANCELLOUS SCREW
107159 3.0 X 18 MM CANCELLOUS SCREW
107165 4.0 X 22 CANCELLOUS SCREW
5670 3.5 MM CORTICAL SCREW SELF-TAP
5671 3.5 MM CORTICAL SCREW SELF-TAP
5672 3.5 MM CORTICAL SCREW SELF-TAP
5673 3.5 MM CORTICAL SCREW SELF-TAP
7491 PERI-LOCVLP 3.5 MM X 12 MM
7530 PERI-LOC VLP 3.5 MM X 14 MM
13889 60 MM X 75 MM DISPOSABLE
6550 SCREW 2.0 CORT. SELF TAP 12MM
12516 1.6 MM K-WIRE
13204 K WIRE 2.5 X 230MM
13483 2.5 MM X 150 MM STEINMAN PIN
13838 4411-2000
13853 K WIRE 1.2 X 150 MM
14208 4 X 4 JUMPSTART
8452 KIRSHNER WIRE STYLE 7 1.6 MM
107910 2.7 X 18 NL SCREW
2943 4.0MM CANCELLOUS BONE SCREW FU
2944 4.0MM CANCELLOUS BONE SCREW FU
2946 4.0MM CANCELLOUS BONE SCREW FU
12439 3.5MM NON LOCKING SCREW 16MM
12440 3.5 NON LOCKING SCREW 20MM
12441 3.5MM NON LOCKING SCREW 18MM
9115 STN PN TRC/PL 3/32 X 9 STER
14199 4 X 4 JUMPSTART
7328 TR BAND REGULAR 24 CM
6542 WASHER 7.0MM FOR 4.0CANN SET
12328 SCREW 18MM
12329 20MM SCREW
12330 16MM SCREW
6159 PASSPORT BUTTON CANN 10MM X 3C
15146 4-0 FIBERWIRE
13209 K WIRE 2.5 X 230MM

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

306.48
306.48
299.12
299.12
299.12
299.12
299.12
299
299
299
293.25
293.25
293.25
293.25
293.25
291.52
291.52
291.52
291.52
291.15
291.15
287.64
284.05
284.05
269.1
269.1
269.1
269.1
269.1
269.1
263.93
261.63
261.63
261.63
254.15
254.15
254.15
250.41
246.67
246.33
242.94
239.2
239.2
239.2
239.2
235.46
231.73



13419 K WIRE 2.5 MM X 230 MM

2947 4.0MM CANCELLOUS BONE SCREW FU

106773 ACETABULAR BONE SCREW 30 MM
107099 ACETABULAR BONE SCREW SIZE 25
6722 SCREW CANC. 4.0 X 16MM DEPUY
6723 SCREW CANC. 4.0 X 18MM DEPUY
6724 SCREW CANC. 4.0 X 20MM DEPUY
8100 SCREW CANCELLOUS 26 MM DEPUY
8101 SCREW CANCELLOUS 10MM DEPUY
10492 BONE SCREW 6.5 X 30MM
13048 K WIRE .9X150MM
5834 3.5 CORITCAL SELFTAP SCREW
2937 3.5MM CORTEX SCREW SELF-TAPPIN

2942 4.0MM CANCELLOUS BONE SCREW FU

4651 K-WIRE 2-0 WRIGHT MEDICAL
10852 SCREW CORTICAL 4.5
10853 SCREW CORTICAL 4.5 X 42MM
13178 3.5 CORTICAL SELF TAP SCREW
11541 SCREW 4.0MM CANCELLOUS BONE
107829 30 X 16 MM CANCELLOUS SCREW
100169 FAST 2.0 MM DRILL BIT
8096 SCREW CORTICAL 18MM DEPUY 8150
8097 SCREW CORTICAL 12MM DEPUY 8150
8098 SCREW CORTICAL 14MM DEPUY 8150
9497 SCREW CORTICAL 4.5 X 60MM
9498 SCREW CORTEX 4.5 X 58MM
108064 WASHER
6720 SCREW CORT. 3.5 X 14MM DEPUY
6721 SCREW CORT. 3.5 X 16MM DEPUY
7026 SCREW CORTICAL 12MM DEPUY
12633 1.8MM GUIDE WIRE
13887 60 MM X 90 MM DISPOSABLE
2643 WASHER 7.0MM
9161 3.0 SCREW 60/20
2936 3.5MM CORTEX SCREW SELF-TAPPIN
7276 SCREW 4.0 CANC FULL THRD 40MM
10013 4.5 CORTICAL SCREW SYNTHES
11239 GUIDEWIRE GOLD .045
15057 2.4 MM GUIDE PIN
7149 SCREW FULL THRD. CANCELLOUS
7150 SCREW PART.THRD. CANCELLOUS
7151 SCREW PART.THRD.CANCELLOUS
7158 SCREW NON LOCKING CORTICAL
7159 SCREW NON LOCKING CORTICAL
7161 SCREW PART.THRD. CANCELLOUS
7162 SCREW PART. THRD. CANCELLOUS
7163 SCREW CORTICAL 3.5 X 36 MM

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

231.73
227.99

227.5

227.5
224.25
224.25
224.25
224.25
224.25
224.25
224.25
220.51
220.51
217.01
216.78
214.91
21491
207.44
205.56
205.28
199.41
196.22
196.22
196.22
192.49
192.49
188.27
186.88
186.88
186.88
186.88
186.88

179.4
171.93
171.93
164.45
162.59
160.71
160.71
156.98
156.98
156.98
156.98
156.98
156.98
156.98
156.98



7437 3.5X28 SCREW
7438 4.0 SCREW
7439 4.0 SCREW
7440 4.0 SCREW
7441 4.0 SCREW
7442 305X24 SCREW
7422 1.4X100 KWIRE

107311 STEINMANN PIN THREADED 3/16" D
107312 STEINMANN PIN THREADED 5/32" D

106199 FORCE FIBER SIZE 2 WHITE/
9779 K WIRE
107544 EBI DYNAFIX SYSTEM DFS DISTAL
107881 SCREW LOW PROFILE LOCKING 2.7
4741 2-0 FIBERWIRE 18" W/ TAPER NDL
7170 KWIRE 2.0MM ACUMED WS2009ST
100156 BENTSON STRAIGHT FIXED CORE
107313 THREADED PIN 3.6
9390 .045 GUIDWIRE
14138 RUBBER WIRE STOPPER
14148 2 MM WASHER
12614 CROSS-CUT FISSURE ROUND TIP
6489 STEINMAN PIN 2.0 TROCAR TIP
13787 BONE SCREW COVERS
4421 JURGANS BALL .054-.062
6490 STEINMAN PIN 2.4
4642 K-WIRE .045 MICROAIRE
14144 12 MM BOLT
4412 K WIRE .054 X 4" NON STERILE
4410 KWIRE .035 4" NON STERILE
11645 12MM BOLT
7475 12 MM BOLT
4411 KWIRE .045 X 4" NON STERILE
2505 CATH, HEMODLYSIS/PERITNL LONG
10134 PLUG AND PATCH HERNIA SYSTEM
108605 MINI POUCH DRAINABLE 1 3/4"
5823 75 TIBIAL COMP
7815 LOCKING SCREW 7 MM
7958 ZILVER .035 DRUG STENT 6.0 X
7962 ZILVER .035 DRUG STENT 7.0 X
7963 ZILVER .035 DRUG STENT 7.0 X
7964 ZILVER .035 DRUG STENT 7.0 X
7965 ZILVER .035 DRUG STENT 7.0 X
7967 ZILVER SELF EXPANDING STENT
7968 ZILVER SELF EXPANDING STENT
7969 ZILVER SELF EXPANDING STENT
7970 ZILVER SELF EXPANDING STENT
7971 ZILVER SELF EXPANDING STENT

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278

156.98
156.98
156.98
156.98
156.98
156.98
149.5
130.79
130.79
128.5
119.6
115
115
114.55
112.13
100.91
75.66
74.75
74.75
74.75
67.8
59.8
48.22
43.84
39.79
38.56
37.38
34.98
28.57
22.43
18.77
12.52
10.07
8.48

~
o
©

O OO OO 00O OoOOoOOo oo



7972 ZILVER SELF EXPANDING STENT
7973 ZILVER SELF EXPANDING STENT
7974 ZILVER SELF EXPANDING STENT
7975 ZILVER SELF EXPANDING STENT 10
7977 IVC FILTER JUGULAR TULIP
7978 IVC FILTER CELECT PLATINUM
7980 VISIPRO STENT 6 X 37 X 135
7982 VISIPRO STENT 7 X 27 X 135
7985 VISIPRO STENT 8 X 37 X 135
7986 VISIPRO STENT 8 X 57 X 135
7987 VISIPRO STENT 9 X 27 X 135
7988 VISIPRO STENT 9 X 37 X 135
100462 CONSERVE TOTAL NECK SLEVE SIZE
107661 SPF PLUS 60/W
107662 SPF-XL 1B 2/DW
108724 EVOLUTION MP CS 5 LEFT 12 MM
7140 DRILL BIT 5.0 DEPUY 14629
7027 DRILL BIT 2.9 CANNULATED
4981 TRIAL STIMULATOR MULTIPROGRAM
7131 KWIRE STRYKER ORTHO 1210-64505
7386 CANNULATED DRILL 3.2
6116 MINI KWIRE RACK STAINLESS 4"
5854 GUIDEWIRE STRYKER ORTHO
7154 DRILL BIT NON LOCKING 2.5MM
8102 DRILL BIT 2.5 DEPUY 8290-29-07
7153 DRILL BIT LOCKING 3.1
7202 DRILL BIT STRYKER ORTHO
7872 DRILL BIT 1.9MM TWIST STRYKER
7028 DRILL BIT SOLID 2.9MM DEPUY
7169 DRILL BIT LONG 2.8MM ACUMED
7167 DRILL BIT 2.8MM ACUMED MSDCSB
7168 DRILL BIT 2.0 ACUMED MSDSCB20
7139 GUIDE WIRE 3.2MM DEPUY 14012-9
7155 K WIRE 2.0MM STRYKER ORTHO
37133 HIV GENOTYPING
300520 CROSSMATCH ANTIGLOBULIN
300590 TRANSFUSION REACTION CONSULT
301951 LEUKOCYTE TRANSFUSION
300475 BLOOD TYPING ABO
300038 HLA(TYPING FOR CELIAC DIS)
300960 BK VIRUS QUANT/AMP PROBE TECH
37131 HEPATITIS B PCR (QUAL)
3300017 URINE BENCE JONES
300301 DIRECT COOMB/ANTIGLOBULIN
300470 RH TYPE
301000 TYPE AND CROSS MATCH
3710021 TESTOSTERONE, TOTAL

278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
278
290
290
290
290
290
290
290
290
290
290
290
290
290
290
290
290
290
290
300
300
300
300
300
300
300
300
300
300
300
300
300

O OO OO0 O0OO0OO0OO0OOoOOoOOoOOo oo

3,314.51
2,981.08
2,548.60
1,806.97
1,778.82
1,733.07
1,638.38
1,405.38
1,374.31
844.7
800.99
800.99
728.18
582.56
364.11
364.11
194.81
130.95
3,128.10
1,460.51
1,460.51
1,460.51
1,074.51
782.25
426.5
426.5
356.62
324.13
324.13
324.13
313.74



37134 HUMAN LEUKOCYTE AG (HLAB-27)
3700120 TESTOSTERONE FREE S
300197 CA-125
301985 CA19-9 TUMOR MARKER

310100 DEHYDROEPIANDROSTERONE-SULFATE

300196 CEA-CARCENOLMBYONIC ANTIGEN
300028 PROGESTERONE
210 ARTERIAL BLOOD GAS
300039 PROLACTIN(SERUM)
37025 ERYTHROPROEITIN
300106 GONADOTROPIN FOLLICLE (FSH)
37010 AMETREPTYLINE
3300019 PROTEIN ELECTNOPHORESIS
330007 S.FOLATE
330002 HOMOCYSTEINE
3300015 THYROID PROFILE
3300014 ALPHA FETA PROTEIN
37018 PRIMIDONE
37022 TOBRAMYCIN
300103 THYROID ANTIBODIES
300104 THYROID GLOBULINS
370116 ANTIPHOSPHOLIPID (ACRD)
370117 PROTEIN C FUNCTIONAL
300820 HCV ANTIBODY RIBA
301960 B-12
37013 CARBAMAZEPINE
37015 HALOPERIDOL
300410 DRUG SCREEN SERUM EA. PHASE
310103 RUBELLA
370112 HERPES VIRUS AB
330004 CORTISAL
300575 BLOOD COMPONENT MANAGMENT
37021 THEOPHYLLINE
37028 LEAD
330005 ANA ANTINUCLEAR ANTIBODY
301965 STOOL CULTURE OVA & PARASITE
300225 CANNABINOID
300415 DRUG SCREEN, URINE EA. PHASE
300805 DRUG SCREEN IMMUNO
37020 FK 506 (TACROLEMUS)
37017 NORTRIPLYLINE
37150 PROTEIN S
37014 CYCLOSPORINE
300302 MYCOPLASMA PNEUNONIAL
219702 NON ROUTINE BLOOD DRAW
300034 HEPATITIS A ANTIBODY
300036 HEPATITIS B CORE ANTIBODY

300
300
300
300
300
300
300
300
300
300
300
300
300
300
300
300
300
300
300
300
300
300
300
300
300
300
300
300
300
300
300
300
300
300
300
300
300
300
300
300
300
300
300
300
300
300
300

313.57
309.43
290.75
290.75
266.32
265.09
253.51
241.78

235.5
228.44
225.86
217.52
216.72
205.47
204.98
204.14
203.79
201.65
195.83
193.26
193.26
193.26
193.22
188.17
183.16
176.93
176.93
176.69
174.92
174.92
173.58
173.27
171.93

169.1
168.91
167.66
167.35
167.35
167.35
166.78
164.61
162.02
161.12
160.94
155.25
150.56
146.48



310104 STREPTOCOCCUS GROUP A 300 145.8

3300010 LEGIONELLA ANTIGEN 300 142.89
330006 LYME DISEASE (BORRELIA) 300 142.89
370119 HERPES SIMPLEX AB TYPE 2 300 142.35
300026 CHLAMYDIA, SERUM 300 141.4
300033 PHENOBARBITAL 300 139.14
300201 ANA 300 135.63
300303 24 HR URINE CREATININE CLEAR 300 131.97

3300016 24HR URINE FOR HEAVY METAL 300 131.97

37027 HAPTOGLOBIN 300 123.43
300032 THROAT CULTURE 300 120.3
300161 CLOT INHIBIT PROTEIN 300 112.75
300029 ANCA(INFLAMMATORY BOWEL DIS. 300 111.92
300304 AMIKACIN PEAK AND TROUGH 300 104.6
370009 SPUTUM GRAM STAIN 300 104.6

3300011 STOOL-C-DIFF 300 104.14

37029 HDL CHOLESTEROL 300 99.53
301970 QUANTITATIVE 300 99.3

37031 OSMO (SERUM) 300 92.36
300162 CLOT INHIBIT PROTEIN 300 88.41
300095 CRYSTALS, SYNOVIAL FLUIDS 300 86.89

37019 SALICYLATE 300 86.22
300031 T4 TOTAL 300 83.48

37143 DRVVT 300 83.26

37016 LITHIUM 300 80.32

37024 CRYO GLOBULIN 300 78.64
370118 HERPES SIMPLEX AB TYPE 1 300 75.18

37032 OSMO (URINE) 300 66.75
310102 ALANINE AMINO ALT 300 64.32
300027 ALK 300 62.93
330001 MONO SCREEN 300 62.93
300775 SUSCEPTIBILITY, BETA LACTIMASE 300 57.71
300785 SUSCEPTIBILITY, GRADIENT STRIP 300 57.71
330003 RPR 300 57.35
300037 HEPATITIS BE ANTIBODY 300 56.51
301980 QUALITAVE/ACETONE 300 54.83
300101 DUKE BLEEDING TIME 300 54.68

37108 BLEEDING TIME, IVY 300 54.68

37030 PROTHROMBIN GENE MUTATION 300 46.36

37023 CO 2 300 42.02

3300012 STOOL SMEAR FOR WBC/CULT/SEN. 300 39.54

3300031 VDRL 300 32.42
300955 VENIPUNCTURE COLLECTION 300 28.7
300900 HB ELECTROPHORESIS-HBF/RBC 301 2,767.22
300441 CYP2C19 GENE COM VARIANTS 301 1,651.95
300901 MOLECULE NUCLEIC AMPLIFICATION 301 940.78

300887 THYROTROPIN RECEPTOR ANTIBODY 301 816.57



300860 HEPATITIS PANEL

37178 IMMUNOGLOBULIN FREE LIGHT CHAI

300830 PTH HORMONE INTACT
300003 ASSAY URINE CITRATE
37151 SERUM ALDOSTERONE
300017 ALPHAFETA PROTEIN B
37102 ACTH
37164 VITAMIN D 125
300163 F5 GENE
300311 TSI
37188 ANDROSTENDIONE SERUM
37165 VITAMIN D 25
37187 17 HYDROXYPROGESTERONE
3000062 DHEA
300164 F2 GENE
300021 VASOPRESSION, ADH
300825 NATRIUERTIC PEPTID (BNP)
300888 HB ELECTROPHERESIS-NOS
300889 HB ELECTROPHORESIS- AGAR
37177 SEROTONIN, ASSAY
37123 E2 ESTRIDIOL
37125 ESTRADIOL
200231 WELLNESS PROFILE
300532 ALUMINUM
37112 CATACHOLAMINES
300995 MANGANESE
300250 CONTININE/NICOTINE
300534 CADMIUM
300001 ALKALINE PHOS ISOENZYMES
300008 RENIN ACTIVITY PLASMA
37152 SEX HORMONE BINDING CAPACITY
300178 VITAMIN B1
37120 C-PEPTIDE
300190 ACETAMINOPHEN
37144 METHALMYLONIC ACID SERUM
300004 ASSAY OF URINE OXALATE
300025 PROCALCITONIN
300533 ARSENIC
300102 LUTEINIZINF HORMONE(LH)
37011 BENZODEAZEPINE
300170 PSA TOTAL
301025 PROINSULIN
37179 GASTRIN
300892 HB ELECTROPHORESIS-QUANT/HPLC
301020 THIOPURINE METHYLTRANSFERASE
37142 LEVETIRACETAM LEVEL (KEPPRA)
300455 DIGOXIN LEVEL SERUM

301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301

610.91
578.19
501.55
499.55
495.19
473.81
469.37
467.69
449.51
449.51

431.3
413.63
404.48
383.86
361.94
352.77
352.77
352.77
352.77
345.85
339.56
339.56
312.09
309.57
306.82
298.76

287.8
281.21
271.72
267.31
264.06
258.07
252.84
245.92
243.44
235.92
234.77
230.52
225.02
224.68
223.46
216.45
214.29

211.7

211.7

211.7
211.36



300255 BLOOD GASES ART. OR VEIN
301045 MYELIN BASIC PROTEIN
300971 REVERSE TRANSCRIPTION
300450 TSH, SERUM
300009 CORTISOL, FREE URINE
37130 GROWTH HORMONE
37154 SOMATOMEDIN-C
300536 MERCURY
300897 COAG CX THROMB HYPER MUTATION

300898 COAG CX THROM HYPER SIGNAL AMP

300975 AMPLIFICATION TARGET
300460 FERRITIN
300180 GENTAMICIN ASSAY
300395 VANCOMYCIN
300016 ASSAY OF COPPER
300306 FRUCTOSAMINE
37138 INTRINSIC FACTOR ANTIBODY
3000308 PORPHYRINS 24 URINE
310101 ANGIOTESIN I- CONVERTING ENZYM
37158 THYROID PEROXIDASE ANTIBODY
300391 ASSAY FOR OCCULT BLOOD FECAL
37155 T3 REVERSE
300856 VITAMIN E
300396 IMMUNOASSAY TUMOR CA
300350 HIV ANTIBODY TEST
300985 THYROTROPIN RECEPTOR ANTIBODY
300011 ALPHA-1-ANTITRYPSIN, SERUM
300230 LIPID PANEL
301015 CK ISOENZYMES
37121 DEPAKENE
300275 PHENYTOIN (DILANTIN) SERUM
301945 IMMUNOASSAY NOS
37174 MYOGLOBIN (URINE)
37163 ASSAY OF 5-HIAA
300891 HB ELECTROPHORESIS-QUANTITATIN
3710023 2 HOUR GLUCOSE TOL.
301090 FOLATE, RBC
300360 TRANSFERRIN
300198 PROTEIN; ELECTROPHORETIC SERUM
37115 CERULOLASMIN
300980 CARBON MONOXIDE-QUANTITATIVE
300850 CHEMISTRY PANEL 14 (COMP)
37100 24 HR URINE 17 KETOHYDROXYSTER
300171 ASSAY OF PSA TOTAL
300200 AMMONIA
300920 FAT-FECES QUANTITATIVE
37160 TOTAL PROTEIN

301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301

210.21
208.05
205.29
204.14
203.12
202.57
200.89
197.58
193.96
193.96
193.96
190.34
189.32
189.32
185.81
183.16
183.16
178.66
177.34
176.85
175.61
173.87
172.25
170.07
166.59
164.21

163.2
162.87
162.78
161.37
161.12
157.38
156.96
156.71
156.46
156.46
156.04
155.12
150.08
150.08
149.82
145.48
143.41
142.04

141.4

141.4
140.91



300154 TTG ANTIBODY SERUM
300176 ANCA-MPO
300177 ANCA-PR3
37137 INSULIN
300370 TROPONIN
300400 HGB A1C GLYCOHGB
301091 FATTY ACID PROFILE
37109 BLOOD ALCOHOL
300310 LACTIC ACID PLASMA
300179 MURAMIDASE
300007 24 HOUR VMA
300835 T3, FREE TRIODOTHYRONIINE
300840 T4, FREE
300796 CLO TEST-H.PYLORI
300014 24 HR URINE CALCIUM
37139 IRON/TIBC
37156 T3 TOTAL
300035 ISTAT TROPONIN
300185 TROPONIN 1 POCT
300309 PORPHYRINS, 24 URINE
37176 ALDOLASE
300024 G-6-PD
37140 LDL DIRECT MEASURE
300394 QUANT ASSAY DRUG
300855 RENAL PANEL
300902 TOPAMAX LEVEL
300392 QUAN LEVETIRACETAM
37135 IGA
300325 MAGNESIUM SERUM
300260 CPK
300205 AMYLASE
300300 IRON SERUM
37157 T3 UPTAKE
300845 CHEMISTRY PANEL(BASIC MET PAN)
300865 LIVER PANEL
37185 MUCIN FLUID
300285 GGT
300295 CALCIUM IONIZED
300893 HB ELECTROPHORESIS UNSTABLE HB
300445 HCG SERUM
300965 BETA HCQ-QUANT/GONADOTROPIN
300006 24 HOUR URINE METANEPHRINES
300425 TRIGLYCERIDES PROFILE
371300 ASSAY OFALBUMIN
300175 HCG, URINE
300315 CKMB
300305 LDH

301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301

140.24
140.24
140.24
138.9
137.54
135.6
132.33
131.33
129.74
127.94
126.67
126.05
126.05
124.26
122.33
122.21
119.84
119.59
119.59
118.09
117.91
117.82
115.95
111.92
105.54
105.4
102.41
101.86
93.59
91.02
90.57
90.57
90.44
89.3
89.3
89.06
87.47
85.88
85.88
84.87
84.87
814
80.41
78.64
76.91
74.74
73.31



300235 MICROALBUMIN URINE
300210 BILIRUBIN DIRECT
37175 PREALBUMIN
37167 ZINC
300355 POTASSIUM-BLOOD
300886 THYROTROPIN RECEPTOR ANTIBODY
300405 CREATININE URINE
300375 AST (SGOT)
300390 URIC ACID BLD
300045 ISTAT CALCIUM
300220 CALCIUM SERUM
300265 CREATININE
300270 CREATININE POC
37181 1GG4 IMMUNOGLOBULIN SUBCLASSES
300215 BILIRUBIN TOTAL
301055 HEMOSIDERIN, URIN
300153 2 HR PP GLUCOSE
300307 GLUCOSE, POST PRANDIAL
300335 PHOSPHORUS
300320 LIPASE
300020 ISTAT SODIUM
300365 SODIUM (POC)
300245 CHOLESTEROL
300195 ALBUMIN, SERUM
300105 RETICULOCYTE COUNT
300380 BUN SERUM
300385 BUN POC
300290 GLUCOSE LEVEL, BLOOD
300435 GLUCOSE, CSF
300880 GLUCOSE LEVEL BLOOD WHOLE POCT
300895 COAG CX THROM HYPER DNA EXT PU
300896 COAG CX THROM HYPER NUCLEIC AC
300899 COAG CX THROMB HYPER INT/REPOR
301005 MOLECULAR ISOLATION/EXTRACTION
300430 PROTEIN QUANTITATIVE CSF
37101 PROTEIN SERUM
300841 ONE TOUCH , GLUCOSE
300894 ASSAY PH BODY FLUID
300047 POTASSIUM, URINE
300040 ISTAT CHLORIDE
300046 CHLORIDE, URINE
300240 CHLORIDE POC
300420 SODIUM, RANDOM URINE
300705 OCCULT BLOOD DIAG
300710 CLIENT OCCULT BLOOD
300885 GLUCOSE BLOOD, REAGENT STRIP
37162 UREA NITROGEN (URINE)

301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301
301

70.31
70.16
69.82
66.32
64.12
63.17
62.93
62.86
62.86
62.66
62.66
62.26
62.26
62.23
61.02
58.25
57.71
57.71
57.71
53.31
53.11
53.11
52.92
49.86
48.67
47.92
47.92
47.68
47.68
47.68
46.36
46.36
46.36
46.36
44.53
44.53
44.31

43.7
42.31
42.02
42.02
42.02
42.02
39.54
39.54
38.54
34.95



300119 URINE DIP AUTOMATED W/O MICRO
3710024 GLUCOSE TOLERANCE TEST ADDTL
300704 OCCULT BLOOD SCREENING
300915 SPECIFIC GRAVITY /EXCEPT URINE
9300119 URINE DIP AUTOMATED W/O MICRO
300905 IRRADIATED RED BLOOD CELLS
300913 TUMOR IMMUNOHISTOCHEM
301030 HIV VIRAL LOAD
301035 CD4/CD8 ABSOLUTE COUNT W/RATIO
301040 CD4 T CELL TOTAL COUNT ICP
300146 SERUM IMMUNO ELETROPHERESIS
300935 INSULIN ANTIBODY
300147 CA27.29
370114 ANTI ENA ANTIBODY
300818 PHOSPHATIDYLSERINE ANTIBODIES
300930 ISLET CELL/GAD-65 AB
300151 RNP AUTOANTIBODIES
300149 IMMONOGLOBULIN E (IGE)
301831 HIV 1AG W/HIV 1 AND HIV 2 AB
37103 ANTI DNA AB
300150 CYTOMEGALOVIRUS IGG
300814 TOXOPLASMA ANTIBODY IGG
300942 WEST NILE VIRUS-CSF
300815 HEPATITIS C VIRUS ANTIBODY
300166 SERUM CYSTICERCOSIS
300169 ANTI-CCP
300152 ENDOMYSIAL ANTIBODIES IGA
37104 ANCA-SCREEN
37106 ANTI SMOOTH MUSCLE
37107 ANCA - TITER
300940 CRYPTOCOCCUS-CSF
300809 VARICELLA ANTIBODY
300145 HEPATITIS B SURFACE ANTIBODY
300165 CYTOMEGALOVIRUS IGM
300167 BLASTOMYCES ANTIBODY, SERUM
300168 COCCIDIOIDES ANTIBODY, SERUM
300816 TOXOPLASMA ANTIBODY IGM
300941 WEST NILE VIRUS - CSF
300945 DIPTHERIA
37180 H.PYLORI
300811 CRYPTOCOCCUS,LATEX AGGLUTINATE
37183 ASO/ANTISTREPTOLYSIN O TITER
300340 HIV ANTIBODY TESTING
300801 TREPONEMA PALLIDUM
37001 ASO TITER
300817 CRP HIGH SENSITIVTY
37182 RUBEOLA IGG

301
301
301
301
301
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302
302

31.37
30.28
24.69
13.58
13.12
2,266.31
1,460.51
1,040.26
572.15
468.1
271.46
260.23
252.84
250.56
243.95
240.42
217.87
200.15
196.85
191.98
174.92
174.92
174.92
173.47
158.06
157.38
146.48
146.48
146.48
146.48
142.39
142.26
130.49
124.26
124.26
124.26
124.26
124.26
124.26
124.26
123.86
115.87
107.85
102.25
102.02
98.35
97.84



300813 LUPUS ANTICOAGULANT ANTIBODY

300155 RHEUMATOID FACTOR

300148 B2 GLYCOPROTIEN ANTIBODIES

300812 ANTIPHASPHALIPID ANTIBODIES
37105 ANTICARIOLIPIN AB

301050 HEPARIN INDUCED ANTIBODY

301085 RAST

300810 C REACTIVE PROTEIN INFLAMMATIO

300970 ALLERGEN SPECIFIC IGE/EACH ALL

3000051 BONE MARROW SMEAR INTERPRET

37117 CHROMOSOME, ROUTINE

301065 CYTOGENICS-INTERPHASE SITU HYB

301001 C DIFF PROBE

300800 PLATELET AGGREGATION ADP
37127 FACTOR V ASSAY

301070 CYTOGENICS INTERPRETATION
37128 FACTOR XI ASSAY
37186 VISCOSITY, BLOOD

301060 CYTOGENICS DNA PROBE, EACH

300950 FACTOR Il ASSAY

300903 LUPUS ANTICOAGULANT SCREEN

300115 ANTI THROMBIN I1I

300530 PLATELET FUNCTION ANALYSIS

300160 D-DIMER QUANTITATIVE

300022 BLOOD SMEAR INTERPRETATION

317189 ASSAY ACTIVATED PROTEIN

300050 CBC WITH AUTO DIFFERENTIAL

300280 FIBRINOGEN, QUANTITATIVE

300070 HEMOGRAM

300130 PARTIAL THROMBOPLASTIN TIME

300012 COAG CONSULT THROMBOISIS/HYPER

300013 COAG CONSULT THROBOISIS/HYPER
37153 SICKLE CELL TEST

300700 GRAM STAIN

300080 PLATELET COUNT

300110 SEDIMENTATION RATE

300055 BLOOD SMEAR, MANUAL DIFF

300030 ISTAT PROTHROMBIN TIME

300120 PROTHROMBIN TIME (POC)

300125 PROTROMBIN TIME

300060 HEMATOCRIT

300075 HEMOGLOBIN

300100 HEMOGLOBIN

300010 ISTAT HEMAGLOBIN

300015 ISTAT HEMATOCRIT

300065 HEMATOCRIT (POC)

300135 COAGULOPATHY CONSULT

302
302
302
302
302
302
302
302
302
305
305
305
305
305
305
305
305
305
305
305
305
305
305
305
305
305
305
305
305
305
305
305
305
305
305
305
305
305
305
305
305
305
305
305
305
305
305

83.26
79.34
79.21
79.21
79.21
72.83
72.83
72.36
63.39
5,632.13
1,514.45
499.33
271.01
261.07
246.59
228.87
217.52
177.35
176.85
157.78
146.9
143.98
143.53
142.13
129.02
118.38
108.62
99.88
90.44
83.85
70.22
65.61
62.93
59.62
54.35
49.58
48.02
47.81
47.81
47.81
33.14
33.14
33.14
28.78
28.78
28.78
28.55



300108 SED RATE AUTO
300209 GROSS & MICRO V
301080 HCV GENOTYPE-HEP C VIRUS
300208 GROSS & MICRO IV
300199 FROZEN SECTION
300681 HEP C-PCR
300206 GROSS & MICRO I
300207 GROSS & MICRO I
301075 HCV AMPLIFICATION(GENOTYPE)
37172 NEISSEREA GONORRHOEAE
37173 CHLAMYDIA TRACHOMATIS
300204 GROSS & MICRO |
30202 SPECIAL STAIN B NON-ORGANISM
301071 HSV PCR
3300032 ENTEROVIRUS PCR
300002 MALARIA SMEAR
300707 BCID PANEL
37146 OLIGOCLONAL GAMMA
37116 CHLAMYDIA AND GC PROBE
37170 RICKETTSIN
37171 TYPHUS FEVER
37124 EB VIRUS AB
300755 CULTURE VIRAL
37184 INFLUENZA A B BLOOD
300107 VON WILLEBRAND ANTIGEN
371010 FLU A AND B
37118 COMPLEMENT C3
37119 COMPLEMENT C4
300750 CLOSTRIDIUM DIFFICILE TOXIN
37136 INFLUENZA A & B SWAB
37141 LEGIONELLA ANTIGEN, URINE
37149 PARVO VIRUS
2190269 TOTAL COMPLEMENT 50 (SERUM)
3710022 F.T.A
300675 CULTURE, ACID FAST
37147 PARIETAL CELL AB SCREEN
37148 PARIETAL CELL AB TITER
300760 FA STAIN VARICELLA ZOSTER
300770 CRYPTO GIARDIA
300797 RAPID STREP A DIPSTICK
301010 CRYPTOCOCCUS EIA
370115 ROTA VIRUS
37132 HISTOPLASMA ANTIGEN (URINE)
300795 CULTURE ROUTINE BLOOD
300794 RSV TEST
37110 BORDETELLA PERTUSSIS AB
37145 MUMPS AB

305
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306

22.05
5,632.13
3,328.79
2,767.22
1,460.51

520.44
514.45
514.45
426.5
426.5
426.5
324.13
324.13
266.59
266.59

258.2
245.46
244.33
243.59
235.15
235.15
218.39
216.95
205.99
202.86
176.04
167.77
167.77
167.66
167.66
167.66
166.84
154.32
153.28
151.01
146.48
146.48

145.8

145.8

145.8

145.8

145.8

145.8

144.21
133.34
124.26
124.26



37166 WEST NILE VIRUS
37168 CHLAMYDIA, IGG
37169 CHLAMYDIA, IGM
300715 CULTURE AEROBIC
300725 CULTURE
300730 CULTURE FLUID
300735 CULTURE RESPIRATORY
300740 CULTURE, URINE
300702 ENTAMOEBA HISTOLYTICA
37111 BRUCELLA ABORTUS
300793 STREP PNEUMONIAL AG URINE
300690 CULTURE, FUNGUS
300780 SUSCEPTIBIITY PANEL
300720 CULTURE CSF
301002 PARA SCREEN
300741 URINE CULTURE ONLY
300790 AEROBIC ORGANISM I.D. EACH
310105 STREPT B
300745 CULTURE DERMATOPYTE
300685 CULTURE ANAEROBIC
37129 FEBRILE AGGLUTININS
300765 SUSCEPTIBILITY AEROBIC
300140 HEPATITIS B SURFACE ANTIGEN
300680 SMEAR ACID FAST BACTERIA
300695 SMEAR FUNGAL
300703 O&P SCREEN
37159 TISSUE HOMOGENIZE CULTURE
300791 STOOL CULTURE SALMONELLA
300792 STOOL CULTURE COMPYLOBACTER
300202 URINE CULTURE
300716 EOSINPHIL COUNT URINE
300682 CULTURE ANAEROBE
300701 SPECIMEN CONCENTRATION
37161 TRICHOMONAS (STD)
300706 CULTURE TYPE IMMUNOLOGIC
2190268 TB PPD TEST
3000061 COLLAGEN CROSSLINK URINE
300005 UA AUTOMATED WITH MICROSCOPY
300416 PROTIEN
300440 URINALYSIS W/ MICROSCOPY
300085 CELL COUNT CSF
300090 CELL COUNT BODY FLUID
300910 IMMUNOCYTOCHEMISTRY
300211 SPECIAL STAIN - GROUP 1
301975 CYTOPATH, CELL ENHANCE
300911 IMMUNOHISTOCYTOLOGY EA SPECIME
300912 IMMUNOHISTOCYTOLOGY EA ADDTL

306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
306
307
307
307
307
309
309
310
310
310
310
310

124.26
124.26
124.26
120.3
120.3
120.3
120.3
112.84
109.53
108.59
106.05
105.29
105.01
104.6
100.07
98.37
98.2
97.7
93.69
87
84.81
83.79
77.98
75.01
75.01
72.69
71.47
70.7
70.7
70.09
64.81
62.45
59.03
51.84
42.29
10
283.88
91.16
44.53
44.31
66.9
66.9
1,460.51
514.45
514.45
498.43
385.41



300213 PATH OR CONSULT
300086 LEUKOCYTE IN STOOL
301990 SURG PATHOLOGY DECALCIFICATION
301095 FREE BETA CHAIN
301062 CHROMOSONE ANALYSIS KARYOTYPES
300159 HPV VAGINAL
300157 ADDITIONAL FROZEN SECTION
301061 CHROMOSONE ANALYSIS ADDTL KARY
300158 THIN PREP PAP SMEAR
370113 GROSS ONLY
300156 PAP SMEAR - CYTOPATHOLOGY
30022 STONE ANALYSIS
37189 MORPHOMETRIC ANAL EACH ADTL ST
37126 FACTORS
30100 ELECTROLYTES
453020 VEIN XRAY TRUNK
452975 XR-DILATION, NEPHROSTOMY
450970 DISKOGRAPHY CER OR THOR S&l
450975 DISKOGRAPHY LUMBAR S&l
452165 XR-DISCOGRAM LSP EA LVL
452170 XR-DISCOGRAM LSP PRO FEE
453015 XR-VENOGRPHY,EXTREM,BILAT
453730 PICC CATH PLACEMT>AGE 5
481111 COMPLETE PICC REPLACEMENT
450955 MYELOGRAM CERV
450960 MYELOGRAM LUMBAR
450965 MYELOGRAM 2< MORE REGIONS S&l
451115 CERVICAL MYELOGRAM KIT
451116 LUMBAR MYELOGRAM KIT
451117 TOTAL MYELOGRAM
451118 THORACIC MYELOGRAM KIT
452095 XR-MYELOGRAM,CERVICAL
452115 XR-MYELOGRAM,LUMBAR
452120 XR-MYELOGRAM,LUMBAR
453005 XR-VENOGRPHY,EXTREM,UNLAT
451223 LUMBAR PUNCTURE
480611 FINE NEEDLE ASP W/US
451025 X-RAY ABSCESS/FIST
453110 XR-FISTULAGRM/SINUS TRACT
453150 XR-MAMMO GUIDANCE,NDL PLC
452215 XR-ARTHROGRM,SHOULDER
452265 XR-ARTHROGRAM ELBOW
452315 XR-ARTHROGRM WRIST,COMPL
452465 XR-ARTHROGRAM, KNEE
452895 XR-UROGRAPH,RETROGRAD KUB
452915 XR-CYSTOGRAPHY, MIN 3 VWS
453035 FL-FLUORO TUBE PLACEMT

310
310
310
310
311
311
311
311
311
311
311
311
314
314
314
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320

324.13
125.89
95.86
80.83
1,364.96
310.27
235.77
193.84
179.12
173.27
128.33
106.27
1,460.51
214.45
89.3
26,651.00
17,556.26
16,463.68
16,463.68
16,463.68
16,463.68
11,036.10
11,036.10
11,036.10
6,980.63
6,980.63
6,980.63
6,980.63
6,980.63
6,980.63
6,980.63
6,980.63
6,980.63
6,980.63
6,256.68
6,042.74
5,846.27
5,020.30
5,020.30
5,020.30
3,894.02
3,894.02
3,894.02
3,894.02
3,894.02
3,894.02
3,853.09



480616 FNA W/O IMAGING

452965 FL-STENT PLCMNT,URETER
452999 XR-HYSTEROSALPINGOGRAM KIT
453315 XR-JOINT,LG,INJ/ASP

450875 FLUOROSCOPY PHYS TIME <1 HR
452645 XR-UGI W/SBFT W/MULT FILM
452925 XR-CYSTOGRAM RETROGRADE
452930 XR-CYSTOGRAM RETROGRADE
452935 XR-VOIDING CYSTOURETHGRAM
453055 FL-FLUOROSCOPY UP TO 1HR
453060 FL-FLOUROSCOPY UP TO 1HR
452730 XR-BA ENEMA, THERAPEUTIC
452595 XR-ESOPHAGRM,PHARYNX/CERV
452605 XR-ESOPHAGRAM

452625 XR-UGI W/O KUB

452630 XR-UGI W/O KUB

452635 XR-UGI W/KUB

452655 XR-UGI AIR CONTRST,WO KUB
452665 XR-UGI W KUB

452670 XR-UGI AIR CONTRAST W KUB
452675 XR-UGI W SBFT

452705 XR-COLON,BA ENEMA W KUB
452715 XR-COLON,BA ENEMA W/AIR
452875 XR-PYELOGRAM,INTRAVENOUS
452135 XR-EPIDUROGRAM

452001 MRI SHOULDER ARTHRO
452678 XR SM INT F-THRU STD

453045 FLUORO GUIDE VEIN DEVICE
452007 MRI ANKLE ARTHRO KIT

452002 WRIST ARTHROGRAM KIT
452004 MRI ELBOW ARTHRO KIT
453065 FL-FLUORO/RAD >1 HOUR
450100 X-RAY FACIAL BONES 3+ VIEWS
450115 X-RAY ORBIT COMP 4+ VIEWS
450130 X-RAY SKULL < 4 VIEWS

450360 X-RAY C-SPINE 4+ VIEWS
450365 X-RAY C-SPINE COMP

450375 X-RAY T-SPINE 2 VIEWS

450380 X-RAY T-SPINE 3 VIEWS

450400 X-RAY L-SPINE 2-3 VIEWS
450405 X-RAY L-SPINE 4+ VIEWS

450410 X-RAY L-SPINE COMP W/BENDING
450505 X-RAY PELVIS 1-2 VIEWS

450540 X-RAY SI JOINTS < 3 VIEWS
450610 X-RAY HAND 1-2 VIEWS

450715 X-RAY KNEE 4+ VIEWS

450820 X-RAY ABDOMEN AP/DECUB

320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320

3,169.46
2,502.50
2,500.76
2,497.39
2,326.63
2,326.63
2,326.63
2,326.63
2,326.63
2,326.63
2,326.63
2,059.82
2,035.81
2,035.81
2,035.81
2,035.81
2,035.81
2,035.81
2,035.81
2,035.81
2,035.81
2,035.81
2,035.81
2,035.81
1,660.24
1,593.67
1,571.65
1,552.78
1,500.04
1,489.64
1,479.22
1,435.21
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37



451575 XR-MANDIBLE MIN 4 VW
451625 XR-FACIAL BONES, MIN 3 VW
451655 XR-ORBITS,COMPL,4 VWS
451695 XR-SKULL, <4 VWS

451705 XR-SKULL, MIN 4 VWS

451825 XR-CHEST 4 VW MIN

451865 XR-RIBS,UNILAT,3 VWS MIN
451875 XR-RIBS,BILATERAL,3 VWS
451885 XR-RIBS,BILATERAL,MIN 4VW
451945 XR-SPINE,CERVICL,4 VWS MN
451955 XR-SPINE,CERV,OBLIQ+FLEXN
451975 XR-SPINE,THORACIC,2 VWS
451980 XR-SPINE,THORACIC,2 VWS
451985 XR-SPINE,THORACIC 3 VWS
451995 XR-SPINE,THORAC,4 VWS MIN
452015 XR-SPINE,LUMBAR,2-3 VWS
452025 XR-SPINE,LUMBAR, 4VWS MIN
452035 XR-SPINE,LUMBAR,W BENDING
452040 XR-SPINE,LUMBAR,W BENDING
452045 XR-PELVIS 1 OR 2 VWS

452055 XR-PELVIS 3 VWS

452065 XR-SACROILIAC JNTS<3VWS
452075 XR-SACROILIAC JNTS >=3VWS
452185 XR-SCAPULA

452285 XR-UPPER EXT,INFANT,2 VWS
452325 XR-HAND, 2VWS

452350 CT UPPER EXT. W/O CONTRAST
452375 XR-HIPS,BILAT W AP PELVIS
452445 XR-KNEE,COMPL, >=4 VWS
452530 ABD XRAY 3 OR MORE VIEWS
452575 XR-ABDOMEN 2 VWS

452585 XR-ABD SERIES W/PA CHEST
452685 XR-SMALL BOWEL SERIES
453090 DXA BONE DENSITY

453205 XR-BONE AGE STUDIES

453225 XR-BONE SURVEY,COMPLETE
452855 FL-FLUORO ESOPH DILATATIN
453425 XR-INJ, ARTHROGRMS

452006 KNEE ARTHRO KIT

453201 XRAY STRESS VIEW

453195 FL-FLUOR DX/THER INJ GUID
450880 FLUOR.GUIDANCE & LOC NEEDLE
450095 X-RAY FACIAL BONES < 3 VIEWS
450105 X-RAY NASAL BONES COMP 3+V
450160 X-RAY NECK / SOFT TISSUE
450350 X-RAY SPINE SINGLE VIEW
450355 X-RAY C-SPINE 2-3 VIEWS

320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320

1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,054.81

802.87

764.59

708.54

686.57

653.88

628.68

628.68

628.68

628.68

628.68



450550 X-RAY SACRUM & COCCYX
450555 X-RAY CLAVICAL COMP

450565 X-RAY SHLD 1 VIEW

450570 X-RAY SHLD COMP 2 VIEWS
450585 X-RAY ELBOW 2 VIEWS

450590 X-RAY ELBOW COMP 3+ VIEWS
450595 X-RAY FOREARM 2 VIEW
450600 X-RAY WRIST 2 VIEWS

450605 X-RAY WRIST 3+ VIEWS
450615 X-RAY HAND 3+ VIEWS

450620 X-RAY FINGERS 2+ VIEWS
450705 X-RAY KNEE 1-2 VIEWS

450710 X-RAY KNEE 3 VIEW

450720 X-RAY KNEE AP STANDING BILAT
450725 X-RAY TIB FIB 2 VIEWS

450730 X-RAY ANKLE 2 VIEWS

450735 X-RAY ANKLE 3+ VIEWS
450740 X-RAY FOOT 2 VIEWS

450745 X-RAY FOOT COMP 3+ VIEWS
450750 X-RAY CALCANEOUS 2+ VIEWS
450755 X-RAY TOES 2 + VIEWS

451555 XR-EYE, FOREIGN BODY
451560 XR TMJ UNILATERAL

451561 XR TMJ BILATERAL

451565 XR-MANDIBLE <4 VWS

451615 XR-FACIAL BONES<3 VWS
451620 XR-FACIAL BONES<3 VWS
451635 XR-NASAL BONES,COMP,3 VWS
451665 XR-SINUSES <3 VWS

451675 XR-SINUSES,COMP,MIN 3 VWS
451745 XR-NECK SOFT TISSUE

451775 XR-CHEST 1 VW, FRONT
451820 CHEST XRAY 3 VIEWS

451855 XR-RIBS, UNILAT, 2 VWS
451860 XR-RIBS,UNILAT,2 VWS
451895 XR-STERNUM MIN 2 VWS
451905 XR-STERNOCLVCLR JNT,3VWS
451925 XR-SPINE 1 VW,AP OR LAT
451930 XR-SPINE,1 VW, AP OR LAT
451935 XR-SPINE,CERVICLE,2-3VWS
451940 XR-SPINE CERVICLE, 2-3VWS
452085 XR-SACRUM/COCCXY,2VWS MIN
452090 XR-SACRUM/COCCXY,2VWS MIN
452175 XR-CLAVICLE

452195 XR-SHOULDER 1 VW

452205 XR-SHOULDER MIN 2 VWS
452225 XR-ACROMIOCLAVICULAR

320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320

628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68



452235 XR-HUMERUS, MIN 2 VW
452245 XR-ELBOW, 2VWS

452255 XR-ELBOW, MIN 3 VWS
452275 XR-FOREARM, MIN 2 VW
452295 XR-WRIST, 2 VWS

452305 XR-WRIST, MIN 3 VWS
452335 XR-HAND MIN, 3 VWS
452345 XR-FNGR,MIN 2 VWS

452355 XR-HIP,UNILATERL, 1VW
452365 XR-HIP,UNILAT,MIN 2 VWS
452415 XR-FEMUR,MIN 2 VWS
452425 XR-KNEE, 1 OR 2 VWS
452435 XR-KNEE, 3 VWS

452455 XR-KNEES,BOTH,AP,STANDG
452475 XR-TIBIA/FIBULA,2 VWS
452485 XR- LO EXT, INFANT,2 VWS
452495 XR-ANKLE , 2 VWS

452505 XR-ANKLE,COMPL, 3 VWS MIN
452525 XR-FOOT, 2 VWS

452535 XR-FOOT,COMPL,3 VWS MIN
452545 XR-CALCANEUS, MIN 2VWS
452555 XR-TOE,MIN 2 VWS

452565 XR-ABDOMEN 1 VW AP
452615 XRAY FEMUR 1 VIEW

453095 XR-DEXA HIP,PELVIS,SPINE
453615 TRAY,PARACENTESIS,P1G1260
453336 INJECTION FOR BLADDER XRAY
453655 NEEDLE,BX,DBBN-13-10.0
451065 X-RAY ABDOMEN COMPLETE
451845 XR-CHEST, LATERAL DECUBIT
452755 XR-CHOLANGIOGRM,INTRAOPER

451060 XR-CHOLANGIOGRAPHY INTRAOP R&l

452775 XR-T-TUBE CHOLANGIOGRAM
453575 TRAY,ARTHROGRAM,4325S
453070 FL-FLUORO/RAD>1 HOUR
452395 XR-HIP, IN OR

452765 XR-CHOLANGIOGRM,ADDL SET
453200 FL-FLUOR DX/THER INJ GUID
453190 FL-FLUORO GUIDED NDL
453385 XR-BARIUM SUSP, AC, 1900
453580 TRAY,BIOPSY,4382S

450685 X-RAY HIP BILAT 4 VIEWS
450680 X-RAY HIP UNILAT COMP 2+ VIEWS
453560 GASTROGRAFIN 120 ML
450700 X-RAY FEMUR 2 VIEWS

453585 TRAY,BIOPSY,CMS-200-1
450810 X-RAY ABDOMEN SINGLE VIEW

320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320
320

628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
628.68
538.94
520.62
401.34
361.27
337.87
334.86
322.47

3204
304.95
247.19
208.05
208.05
203.39
196.77
172.28
157.34
128.78
122.87

114.8
110.95
100.56

97.09



452380 XR-HIPS,BILAT W AP PELVIS
450675 X-RAY HIP UNILAT 1 VIEW
453645 NDL,TOUHY,20GX3-1/2,18312
453650 NDL,TOUHY,22GX3-1/2,18310
451780 XR-CHEST, 1 VW, FRONT
452360 XR-HIP,UNILATERAL,1 VW
450999 PROCEDURE CANCELLED
451111 XR- NO CHARGE X-RAYS
490043 NO CHARGE X-RAY

221060 CONTRAST EXAM THORACIC AORTA

221055 AORTOGRAPHY ABDOMINAL
21057 ARTERY XRAY EXTREMITIES
221053 ARTERY XRAY EACH VESSEL
451055 INJ ARTHRO INTERMEDIATE JOINT
452003 MRI HIP ARTHRO
453185 FL-FLUORO GUIDED NDL
450295 X-RAY RIBS UNILAT CHEST 3+ VIE
450300 X-RAY RIBS BILAT 3 VIEWS
450305 X-RAY RIBS BILAT CHEST 4+ VIEW
450260 X-RAY CHEST 2 VIEWS
450310 X-RAY STERNUM 2+ VIEWS
451785 XR-CHEST 2 VWS, PA, LAT
451795 XR-CHEST 2VW W/APICAL
450265 X-RAY CHEST W/APICAL
450250 X-RAY CHEST SINGLE VIEW
490013 LIVER IMAGING SPECT
490014 LIVER / SPLEEN W/FLOW
490016 LUNG VENTILATION AERSOL
219557 HEPATOBILIARY SYSTEM IMAGING
490007 LYMPH NODE IMAGING
490022 RENAL SCAN W/FLOW
490023 RENAL SCAN W/INTERVENTION
490002 BONE MULTIPLE AREAS
490003 BONE SCAN WHOLE BODY
490004 3 PHASE BONE, COMPLETE
490008 CHOLESCINTIGRA W/CCK
49001 BONE LIMITED
490011 GASTRIC EMPTYING
490012 Gl BLEEDER
490018 MECKEL
490019 MYCARDIAL
490021 PARATHYROID
490024 TESTICULAR
490026 TECH THYROID
490006 CHOLESCINTIGRAM
490017 LUNG PROFUSION PARTICULATE
490028 MAG, 3

320
320
320
320
320
320
320
320
320
321
321
321
321
322
322
322
324
324
324
324
324
324
324
324
324
341
341
341
341
341
341
341
341
341
341
341
341
341
341
341
341
341
341
341
341
341
341

94.22
91.16
86.19
86.19
65.61
63.62

0

0

0
39,642.13
26,656.24
26,656.24
4,075.31
2,497.39
1,949.41
788.62
1,135.37
1,135.37
1,135.37
628.68
628.68
628.68
333.04
152.56
85.2
12,405.98
12,405.98
12,405.98
4,596.77
4,596.77
4,596.77
4,596.77
3,567.16
3,567.16
3,567.16
3,567.16
3,567.16
3,567.16
3,567.16
3,567.16
3,567.16
3,567.16
3,567.16
3,567.16
1,406.83
1,200.76
1,200.45



490027 CARDIOLITE
490039 TC PY
490029 TC CHOLOTEC
490031 TC DPTA
490032 TC DPTA, AERSOL
490033 TC MDP
490036 TC 04
480116 CTA CHEST/ABD/PEL W OR W/WO
480774 CT CHEST W ABD W/WO PELVIS W
480033 CT HEART SCAN W/WO W QUANT
480023 HEART SCAN WO QUANTITATIVE
480999 CT CHEST/ABD W
451525 MYELO LUMB-FULL
480888 CT CHEST/ABD WO
480556 CT BILATERAL HIPS
480022 HEART SCAN WITH QUANTITATIVE
480114 CTA ABD PELVIS W/WO
481125 CTA HEAD/NECK W/WO

48333 CT CHEST/ABD/PELVIS
480135 CTA-HEAD W W/O
480145 CTA-NECK W W/O
480125 CT- ST NECK W/WO0
480035 CT-HEAD W/WO
480065 CT-ORBIT,SELLA,FOSS,W/WO
480095 CT-MAXILLOFACIAL W/WO CON
480055 CT-ORBIT,SELLA,FOSS,WITH
480085 CT-MAXILLOFACIAL W/CONT
480115 CT-ST NECK W
480025 CT-HEAD W/CONTRAST
480040 CT-HEAD W/WO CONTRAST
480105 CT-ST NECK WO
480075 CT-MAXILLOFACIAL WO
480015 CT-HEAD W/O
480045 CT-ORBIT,SELLA,FOSS,WO
480600 ABD/RETROPERI PERC BX
480580 CT-LUNG BIOPSY
480901 PERITONEAL DRAINAGE
480323 CT CHEST/ABD/PEL W/WO
480223 CT CHEST/ABD/PEL W
480123 CT CHEST/ABD/PEL WO
480775 CT CHEST/ADOMEN W/WO
480113 CT ABD PELVIS W/WO
480331 CT CHEST/NECK W/WO
480777 CT ABD W/WO PELVIS W
480455 CTA-AAA LWR EXT RUNOFF
480112 CT ABDOMEN PELVIS W
480332 CT CHEST/NECK W

341
341
341
341
341
341
341
350
350
350
350
350
350
350
350
350
350
350
350
351
351
351
351
351
351
351
351
351
351
351
351
351
351
351
352
352
352
352
352
352
352
352
352
352
352
352
352

640.81
493.06
405.7
405.7
405.7
405.7
287.13
10,489.89
7,931.11
5,825.39
4,953.57
4,641.85
4,202.61
3,949.17
3,191.49
2,035.81
2,035.81
2,035.81
1,135.37
3,661.67
3,655.42
3,146.22
2,767.07
2,752.53
2,710.90
2,322.53
2,320.53
2,316.77
2,311.01
2,035.81
1,926.56
1,901.58
1,864.12
1,135.37
13,880.51
13,880.51
13,880.51
8,429.50
7,301.76
5,879.49
5,692.25
5,617.35
5,565.32
5,175.60
4,891.26
4,640.92
4,630.53



480525 CT-GUIDE FOR NDL,BX,ASP

480790 CT-LIVER BIOPSY

480333 CT CHEST/NECK WO

480205 CT-SPINE CERVICAL W

480265 CT-SPINE LUMBAR W

480286 CTA ABD/PELVIS W/WO

480335 CT-UPPER EXTREMITY W CONT

480343 CT RT WRIST W/CONTRAST

480344 CT LT WRIST W/CONTRAST

480346 CT RT HAND W CONTRAST

480347 CT LT HAND W CONTRAST

480111 CT ABDOMEN PELVIS WO

480465 CT-BX/ASP W/CATH PLCMNT

480275 CT-SPINE LUMBAR W/WO
48022 CTA ABDOMEN W OR WO

480285 CTA-PELVIS WW/O

480435 CTA-ABD W/WO

480021 CTA CHEST W/CONTRAST

480185 CTA-CHEST W WO

480215 CT-SPINE CERVICAL W/WO

480175 CT-CHEST W/WO

480245 CT-SPINE THORACIC W/WO

480610 CT-ABS DRN PERITONEAL

480355 CTA-UPPER EXT WW/O

480395 CTA-LOWER EXT W/WO

480425 CT- ABDOMEN W/WO CONTRST

480315 CT-PELVIS,W/WO CONTRAST

480415 CT-ABDOMEN W/CONTRAST

480165 CT-CHEST W/CONTRAST

480305 CT-PELVIS, W/CONT

480235 CT-SPINE THORACIC W/

480345 CT-UPPER EXTREMITY W/WO

480195 CT-SPINE CERVICAL WO

480385 CT-LOWER EXTREMITY W/WO

480375 CT-LOWER EXTREMITY W CONT

480225 CT-SPINE THORACIC WO

480255 CT-SPINE LUMBAR WO

480170 CT-CHEST W/CONTRAST

480380 CT-LOWER EXTREMTY W/CONTR

480430 CT-ABDOMEN W/WO CONTRAST

480460 CTA-AAA,LWR EXT RUNOFF

480155 CT-CHEST WO

480405 CT-ABDOMEN WO/CONTRAST

480295 CT-PELVIS, W/O CONT

480321 CT-RT FOREARM

480324 CT-LT WRIST WO

480325 CT-UPPER EXTREMITY WO CON

352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352

4,614.56
4,531.35
3,919.67
3,894.02
3,894.02
3,894.02
3,894.02
3,894.02
3,894.02
3,894.02
3,894.02
3,886.36
3,853.09
3,569.72
3,503.56
3,503.56
3,503.56
3,482.78
3,482.78
3,255.96
3,253.91
3,203.96
3,164.44
3,089.52
2,929.35
2,862.76
2,754.61
2,677.29
2,660.84
2,659.78
2,615.17
2,570.17
2,514.60
2,385.53
2,315.81
2,180.37
2,169.98
2,035.81
2,035.81
2,035.81
2,035.81
1,993.11
1,955.69
1,930.70
1,656.08
1,656.08
1,656.08



480326 CT-RT ELBOW WO

480327 CT-LT ELBOW

480328 CT-RT WRIST WO

480329 CT-LT FOREARM

480341 CT-RT HUMERUS

480444 CT-LT SHOULDER WO

480232 CT-RT FOOT WO

480342 CT-LT FOOT WO

480365 CT-LOWER EXT WO

480401 CT-LT HIP WO

480411 CT-LT KNEE WO

480422 CT-LT ANKLE WO

480433 CT-RT ANKLE WO

480500 CT-RT HIP WO

480511 CT-RT KNEE WO

480551 CT-RT SHOULDER WO

480505 CT-RECONS W WRKSTATION

480495 CT-RECONS WO WRKSTATION

480795 CT-ABD/RETRO BX,PRO FEE

480200 CT-SPINE,CERVICAL W/O CON

480230 CT-SPINE,THORACIC,WO CONT

480260 CT-SPINE,LUMBAR WO/CONTR

480370 CT-LOWER EXTREMTY WO CONT

480410 CT-ABDOMEN WO CONTRAST

480665 CT-LYMPH NODE BX,38505

480635 CT-CHEST TUBE PLACEMT

480695 CT-PARACENTESIS,49080

480700 CT-THORACENTESIS,32000

480710 CT-ABS DRN,LUNG 32201

480032 CT CARDIAC SCORING

480117 LOW DOSE CT LUNG CANCER SCREEN

480585 CT-LIVER BIOPSY

480530 CT-GUIDE FOR NDL,BX,ASPRN

480005 CT-CARDIAC SCORING

480575 CT-POWER INJ SYRINGE PACK

480555 LOCM,300-349 MG/ML, EA ML

215625 NEUROSTIM IMPLANT LAMINECTOMY

215635 INS/REP NEUROSTIM GEN/RECEIVER

215647 INS/REPL CRANIAL NEUROSTIM

215920 IMPLANT NEUROELECTRODES-PERIPH

215940 IMPLANT NEURO-GEN/RECEIVER

216461 EXT. FIXATION/STEROTACTIC UNIL

216885 OPEN TMT HUM FX W/EXT

218800 IMP/REPL INFUSION PUMP-PROGRAM

218856 TOTAL DISC ARTHROPLASTY-CERVIC
2190214 INSERTION PENILE IMPLANT
2190228 PENILE IMPLANT

352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
352
360
360
360
360
360
360
360
360
360
360
360

1,656.08
1,656.08
1,656.08
1,656.08
1,656.08
1,656.08
1,595.76
1,595.76
1,595.76
1,595.76
1,595.76
1,595.76
1,595.76
1,595.76
1,595.76
1,577.21
1,296.15
1,250.38
1,248.31
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,104.45
1,008.07
990.71
990.71
990.71
628.68
628.68
608.61
417.76
416.12
101.05
64.81
161,356.79
238,905.12
238,905.12
161,356.79
161,356.79
132,852.42
132,852.42
138,587.71
132,852.42
140,762.69
140,762.69



219147 PERC D-E COR STENT CATHETER
219249 REVISE SPINE ELTRD PLATE
219277 REPLACE PROSTEHETIC PENIS
219293 REVISE SPINE ELECTR PLATE
219379 INS CRANIAL NERVE NEUROSTIM
219392 REM/REPL PENIS CONTAIN PROS
219576 INSJ STABL DEV W/DECOMP LUMB
219616 ARTHRODESIS SI JOINT

219627 FEM POPL REVASC STENT

219633 INSRT INTERLAM/SPIN DEVICE

219640 RECONSTRUCTION BREAST INTERMED

219751 TREAT LOWER LEG FRACTURE

219769 OSTEOCHONDRAL KNEE ALLOGRAFT

219786 REVISE KNNECAP WITH IMPLANT

219788 INS/REP SUBQ DEFRIBRILLATOR

219796 REVIS/RECONST SHOULDER JOINT
2190292 TIB/PER REVASC W/ATHERECTOMY

219305 INS PACEMAKER PULSE GEN

219461 INSERTION DEFIB GENERATOR

219581 RMV/RPLCMNT DEFIB GEN MLT LD

219593 RMV/RPLCMT DFB GEN 2 LEAD

219601 INSJ/RPLCMT DEFIB

219798 PERQ CARD STENT/ATH/ANGIO

212155 EXC BN CYST/TUMR FEM E/ALLOGRA

212380 REVISION OF KNEE JNT

212395 REVISION OF KNEE JNT

212400 TOTAL KNEE REPLACE

213095 INCOF TIB & FIB

213215 OPEN TIB FX W/IMPLANT

213220 TX TIB FX INTRMEDLLRY IMPLANT

213320 TREAT LOWER LEG FX

213410 FUSION OF ANKLE JOINT

214290 FUSION FOOT BONE TRIPLE

214295 FUSION FOOT BONE SUBTALAR

214300 FUSION FOOT BONES MIDTARSAL

214305 FUSION FOOT BONES MIDTAR W/OST

214310 REVISION OF FOOT BONES

214775 TIBL ARTHROSCOPY

214885 KNEE ARTHROSCOPY

216470 APPL MULTIPLANE,UNILAT.EXTRNAL

216745 RECON MED COLL LIG W/TEN GRFT

216800 RECONST RADIAL HEAD W/IMPLANT

216855 OPEN TREAT HUMERUS FX

216860 TREAT HUMERUS FX W/IMPLANT

216905 OPEN TMT HUM FX W/WO FIX

216920 OPEN TX HUM CONDYL FX WW/O FIX

217435 NECK SPINE FUSION BELOW C2 ANT

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

137,466.98
161,356.79
140,762.69
161,356.79
238,905.12
140,762.69
132,852.42
132,852.42
132,438.74
132,852.42
104,601.46
102,637.02
102,643.62
102,643.62
278,437.77
102,632.23
132,438.74
152,488.59
264,423.62
264,423.62
189,728.32
264,423.62
137,466.98
92,411.53
92,411.53
92,411.53
92,411.53
92,411.53
92,411.53
92,411.53
92,411.53
92,411.53
92,411.53
92,411.53
92,411.53
92,411.53
92,411.53
92,411.53
92,411.53
92,411.53
92,411.53
92,411.53
92,411.53
92,411.53
92,411.53
92,411.53
92,411.53



217475 LUM SPINE FUSION POSTERIOR
217940 RECONSTRUCT SHLD JNT
217950 REINFORCE SHLD BONES
218035 OPEN HUMERUS FX-PROXIMAL
218550 RECONST LUANATE JNT W/PROS
2190249 NECK SPINE FUS AND REMOV ADTL
219115 LIG RECONSTRUCTION KNEE
219478 REVISION OF TOTAL ELBOW
219572 REV ARTIF DISC LUMBAR
219637 REVISION CERV ARTIFICIAL DISC
2190354 INSERT PACEMAKER LEADS
219393 INSERT NEW/REPLC PERM PACEMAKE
219584 REM/REPLMT PACEMAKR GEN LEAD
219598 INS/REPL PACEMAKER W/ELECTRODE
219140 PERC DRUG-EL COR STENT SING
219629 ILIAC REVASC W/STENT
219638 FEM/POPL REVASC W/TLA
219704 FEM POPL REVASC W/ STENT
219706 OPEN/PERC PLACE STENT SAME
219711 OPEN/PERQ PLACEMENT STENT SAME
219718 VASC EMBOLIZE OCCLUDE ARTERY
219719 PRQ REVASC BYP GRAFT 1 VESSEL
219731 VASC EMBOLIZE/OCCLUDE VENOUS
2190291 REVASC, ENDO OPEN OR PERC TIBI
219328 PRQ CARD STENT W/ANGIO 1 VESSL
221058 VASC EMBOLIZE/OCCLUDE ORGAN
219664 REVI RECONST SHOULDER JOINT
219743 REVISION OF KNEE JOINT
2190095 INSERT POST SPINUS PRO DISTRAC
210028 LAP INC HERNIA REPAIR
212998 LAP REPAIR PARAESOPHAGEAL HERN
2190071 LAPAROSCOPIC PARTIAL NEPHRECTO
219020 LAP FUNDOPLASTY
2190223 LAP PARAESOPHAG HERNIA REPAIR
219025 LAP HYST W/REM TUB & OVARIES
219165 LAP GASTRIC BANDING
219370 LAP GASTRIC BAND KIT
219509 LAP SUPRACERVICAL HYSTERECTOMY
219539 LAP SURG REPAIR RECURRENT HERN
219547 TAH W/REM OF TUBES AND/OR OVAR
219960 LAPARSCOPIC SX REPAIR INC/HERN
219975 LAP INC HERN REPAIR W/MESH INS
219364 CYSTO IMPL 4 OR MORE
219799 INS SUBQ CARD RHYTHM MONITOR
218925 MAMMAPLASTY W/PROSTH IMPLANT
2190060 MAMMAPLASTY W/O IMPLANT
219308 DELAYED INSERTION BREAST PROST

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

92,411.53
92,411.53
92,411.53
92,411.53
92,411.53
92,411.53
92,411.53
92,411.53
92,287.14
89,232.47
85,213.29
85,213.29
85,213.29
85,213.29
83,399.36
83,399.36
83,399.36
83,399.36
83,399.36
83,399.36
83,399.36
83,399.36
83,399.36
83,399.36
83,399.36
83,399.36
74,640.08
71,085.79
67,350.70
66,774.68
66,774.68
66,774.68
66,774.68
66,774.68
66,774.68
66,774.68
66,774.68
66,774.68
66,774.68
66,774.68
66,774.68
66,774.68
65,989.08
65,903.63
64,249.17
64,249.17
64,249.17



219372 INS TRANSVNS ELECTRODE

219394 REMOVAL PERM PACEMAKER PUL GEN

219459 INSERTION 2 ELECTRODES TRANVEN
219493 INSERT PULSE GEN SINGLE LEAD
219620 REMOVE REPLC PM GEN SINGLE
219759 REVISE HIP JOINT REPLACEMENT
219768 RMVL/REINSERT SINUS TARSI IMPL
219359 REM PERM PACEMAKER GEN ONLY
2190293 TIB/PER REVASC W/ATHER ADD ON
219548 COLPOPEXY, EXTRAPERITONEAL
219607 REMOVAL OF COLON
219773 TREAT HUMERUS FRACTURE
219784 TREAT FOREARM BONE LESION
219787 TREAT KNEECAP DISLOCATION
219747 REPAIR OF KNEE CARTILAGE
215620 NEUROSTIM PERC IMP ELECTRODES

215900 IMPLT PERCUT NEUROSTIM-PERIPHE

2190148 REVISE SPN ECTRODE PERQ
219034 IMPLANT NEUROELECTRODES
219599 REV/REM CRANIAL NEUROSTIM
210055 TX OPEN ULNA W/WO FIX
210075 TX OPEN FX RAD/ULNA
210095 OPEN DISTAL RAD FX W/WO FIXATI
210140 OPEN TX OF ULNAR STYLOID
210750 HAND TENDON RECONSTRUCTION
210940 LENGTHEN METACARPAL/FINGER
212190 REPAIR OF KNEECAP TENDON
212200 REPAIR OF THIGH MUSC
212300 REPAIR OF KNEE LIGAMENT
212315 REVISION OF UNSTABLE KNEECAP
212320 REVISION OF UNSTABLE KNEECAP
212335 RECONST KNEE EXTRAARTICUL
212350 REVISION OF THIGH MUSCS
212465 SURGERY TO STOP LEG GROWTH
212630 OPEN PATELLAR FX W/FIXATION
212855 REMOVE/GRAFT LEG BONE LESION
212895 REPAIR/GRAFT ACHILLES TENDON
212900 REPAIR OF ACHILLES TENDON
212915 REPAIR OF LEG TENDON EACH
212920 REPAIR OF LEG TENDON EACH
212925 REPAIR OF LEG TENDON EACH
213000 REV LWR LEG TENDON SUPERFICIAL
213005 REV LWR LEG TENDON DEEP
213015 REPAIR OF ANKLE LIGAMENT
213020 REPAIR OF ANKLE LIGAMENTS
213025 REPAIR OF ANKLE LIGAMENT
213030 REVISION OF ANKLE JNT

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

63,863.43
63,863.43
63,863.43
63,863.43
63,863.43
59,714.33
59,534.70
58,038.30
55,800.53
54,723.10
52,709.78
51,594.31
51,594.31
51,594.31
51,590.94
51,575.86
51,575.86
51,575.86
51,575.86
51,575.86
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27



213085 INC OF TIB

213110 REPAIR OF TIB

213210 TX TIB FX W/SKEL FIX

213235 OPEN MALLEOLUS FX W/WO FIX
213265 OPEN DISTAL FIB FX W/WO FIX
213280 OPN BIMALLEL ANK FX W/WO FIXAT
213295 OPEN TRIMALL ANK FX WO FIX
213300 OPEN TRIMALL FX W/FIX LIP

213330 TREAT LOWER LEG JNT

213365 BIOPSY BONE OPEN LUMB/CERVICAL
213395 OPN ANK DISL W/WO FIX WO REPAI
213400 OPN ANK DIL W/WO FIX W/REPAIR
213650 REMOVE/GRAFT FOOT LESION
213800 REPAIR/GRAFT OF FOOT TENDON
213810 REPAIR/GRAFT OF FOOT TENDON
213850 REVISION OF FOOT TENDON

213875 REVISION OF FOOT AND ANKLE
213945 CORR BUNION LAPIDUS PROCEDURE
213950 CORR BUNION PHALANX OSTEO
213960 INC OF HEEL BONE

213970 INC OF MIDFOOT BONES

213980 INC METATARSAL 1ST JNT

213995 INC METATARSALS MULPL

214025 REPAIR OF METATARSALS

214065 PERC SKEL FIX CALCAN FX W/MAN
214070 OPN CALCAN FX W/WO INT FIX
214115 TREAT MIDFOOT FX EACH

214135 OPEN NT FX W/WO INTRL/EXT FIX
214200 OPN TARSAL BN DISL W/WO FIXATI
214220 OPN TALOTARSAL DISL W/WO FIX
214240 OPN TARSOMT DISLCO W/WO FIX
214315 FUSION OF FOOT BONES

214320 FUSION MTP JOINT

214325 FUSION IP JOINT

214330 FUSION EXT HALLUCIS TRANSF
214635 SURG ARTHROSCOPY - SHLD

214640 SLAP LESION - BANKART

214655 SHLD ARTHROSCOPY PARTIAL SYNO
214690 ARTHROSCOPY SHLD WITH ROTATOR
214750 WRIST ARTHROSCOPY

214770 TIBL ARTHROSCOPY

214880 KNEE ARTHROSCOPIC ACL RECONSTR
214895 ANKLE ARTHROSCOPY

214925 ARTHROSCOPY ANKLE

214945 REPAIR FIBULA NONUNION/INT FIX
215190 LAMINECTOMY EXPL/DECOMP-CERVIC
215200 LAMINECTOMY EXPL/DECOMP-LUMBAR

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27



215205 LAMINECTOMY EXPL/DECOMP-SACRAL
215210 LAMINECTOMY W/ REMOVAL-LUMBAR
215225 LAMINECTOMY EXPL/DECOMP-LUMBAR
215230 LAMINOTOMY DECOMP-CERV INTERSP
215235 LAMINOTOMY DECOMP-LUMB INTERSP
215245 LAMINOTOMY DECOMP-CERV INTERSP
215250 LAMINOTOMY DECOMP-LUMB INTERSP
215265 LAMINECTOMY DECOMPRESSION-CERV
215270 LAMINECTOMY DECOMPRESSION-THOR
215275 LAMINECTOMY DECOMPRESSION-LUMB
215290 TRANSPEDICULAR DECOMP-LUMBAR
215310 DISCECTOMY CERVICAL-SINGLE
216465 APPLY OF UNIPLANE UNILAT EXTRN
216625 RESCTN TMR,SHFT HUMERS-RADICAL
216715 REPAIR OF BICEPS TENDON @ELBOW
216720 REPAIR TNDN/MUSCL UP ARM/ELBOW
216725 REPAIR RUPTURED TENDON/BI/TRIC
216875 PERC TMT HUM FX W/WO EXT
216980 TX OPEN RADIUS FX WW/O FIXATIO
217000 TX OPEN ULNAR FX WW/O FIXATION
217155 REM BONE FOR GRFT MINOR/SMALL
217160 REM BONE FOR GRAFT MAJOR/LARGE
217285 REMOVE PART OF NECK VERTEBRA
217855 INC OF TENDON & MUSCLE-SINGLE
217865 REPAIR ROTATOR CUFF OPEN ACUTE
217870 REPAIR ROTATOR CUFF OPEN/CHRON
217875 RELEASE OF SHLD LIGAMENT
217880 REPAIR SHLDR CUFF AVUL CHRONIC
217885 REPAIR BICEPS LONG TENDON
217895 REV COLLAR BONE W/WO FIXATION
218000 OPEN CLAVICLE DISLOC
218005 OPEN CLAVICLE DISLOC W/GRAFT
218020 OPEN TRMT SHLD BLADE FX
218415 REPAIR/REVISE WRIST JNT
218445 REVISION OF ULNA
218465 SHORTEN RADIUS OR ULNA
218495 REPR RADIUS OR ULNA W/GRAFT
218585 TX OPEN FX RADIUS W/WO FIXATIO
218996 LAMINECTOMY
2190079 REPLACE TISSUE EXPAND/PROSTHES
2190227 ARTHROSCOPY BICEPS TENODESIS
219114 REPAIR TORN LIG KNEE
219122 TX FIBULAR FRACTURE
219160 OPEN TX DIST RAD FX W/INT FIX
219192 TX OF THIGH FX
219194 REPAIR SHOULDER CAPSULE
219269 MILD PROCEDURE

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27
49,161.27



219285 OPEN TX W/INT FIX RADIAL FX 360 49,161.27

219312 ABLATION BONE TUMOR 360 49,161.27
219425 ADJ BONE FIXATION DEVICE 360 49,161.27
219481 PERCUTANEOUS VERTEBRAL AUGMENT 360 49,161.27
219514 PERQ VERTEBRAL AUGMENTATION 360 49,161.27
219525 REPAIR RADIUS OR ULNA 360 49,161.27
219563 ARTHRODESIS GREAT TOE IPJ 360 49,161.27
219573 HALLUZ RIGIDUS CORRECTION W/IM 360 49,161.27
219586 HIP ARTHROSCOPY W/LABRAL REPAI 360 49,161.27
219587 ARHTROSCOPY W/ FEMOROPLASTY 360 49,161.27
219639 DECOMPRESSION OF LEG 360 49,161.27
219649 REPAIR NONUNION HAND 360 49,161.27
219654 EXTRAOSSEOUS JNT STABLIZATION 360 49,161.27
219665 TREAMENT THIGH FRACTURE 360 49,161.27
219673 OPEN TX CLAVICULAR FX INT FIX 360 49,161.27
219674 HIP ARTHROSCOPY W/DEBRIDEMENT 360 49,161.27
219703 REMOVE SPINE LAMINA 1/2 THORAC 360 49,161.27
219709 TREAT HUMERUS FRACTURE 360 49,161.27
219724 HIP ARTHRO ACETABULOPLASTY 360 49,161.27
219757 AUTOCHONDROCYTE IMPLANT KNEE 360 49,161.27
219758 REPAIR DEGENERATED KNEECAP 360 49,161.27
219911 OPEN REDUCT.INTERN.FIX.TIBIA 360 49,161.27
219913 CALCANEAL OSTEOTOMY 360 49,161.27
219914 FDL TRANSFER 360 49,161.27
222747 OPEN REDUCTION INTER.FIX.WRIST 360 49,161.27
219652 PERQ SACRAL AUGMTN BIL INJECT 360 49,161.27
219742 TX WRIST BONE FRACTURE 360 49,161.25
219807 REPAIR SHOULDER CAPSULE 360 47,764.35
219591 TOTAL DISC ARTHRP ANT APPR 2ND 360 46,143.61
217125 REPLANT HAND COMPLTE AMPUTATIN 360 45,410.48
2190015 SINUS ENDDOSCOPY SURGICAL 360 44,399.87
2190043 NASAL/SINUS ENDOSCOPY 360 44,399.87
219106 NASAL ENDOSCOPY 360 44,399.87
219715 REVISION ETHMOID SINUS 360 44,399.87
219755 ETHMOIDECTOMY TOTAL 360 44,399.87
219760 REMOVAL TISSUE MAXILLARY SINUS 360 44,399.87
219352 LOOP RECORDER IMPLANT 360 43,057.37
219783 TRANSLUML BAL ANGIOPLASTY 1ST 360 42,727.47
219797 PERQ CARD STENT W/ANGIO ADDL 360 42,725.49
218890 REMOVAL LYMPH NODES GROIN 360 42,395.67
2190092 PROSTHESIS BREAST IMMED INSERT 360 42,395.67
219015 MASTCTMY MOD RADICAL NODE REM 360 42,395.67
2190162 EXCISION OF EXCESSIVE SKIN ABD 360 42,395.67
219200 RECONSTRUCTION BREAST-REVISION 360 42,395.67
219455 MASTOPEXY 360 42,395.67
219475 MASTECTOMY SIMPLE COMPLETE 360 42,395.67

219565 MAMMOPLASTY REDUCTION 360 42,395.67



219630 MASTECTOMY PARTIAL W/LYMPHAD
219675 RECONSTRUCTION BREAST OTHER TQ
219767 RECONSTRUCTION OF NOSE
219762 ILIAC REVASC W/STENT ADD-ON
219772 TREAT ECTOPIC PREG W/SALP OOPH
219166 ILIAC REVASC
2190352 FEM POPL REVASC W TLA
219811 PERQ CARDIAC ANGIOPLAST 1 ARTE
218720 LAPAROSCOPY VENT/ABD HERNIA RP
218780 THYROIDECTOMY
218825 LAP. REPAIR INTIAL ING. HERNIA
218830 LAP CHOLECYSTECTOMY
218950 EXC THYROGLOSSAL DUCT OR SINUS
218960 LAP CHOLECYSTECTOMY W/CHOLANG
218965 LAPROSCOPIC PROCEDURE LIVER
2190075 LAPOROSCOPIC SLING OPERATION
2190093 REMOVAL ARMPIT LYMPH NODE
2190175 THORACOSCOPY OF LUNG AND PLEUR
2190185 PARTIAL REMOVAL THYROID
2190212 LAPARO PROCEDURE OVIDUCT-OVARY
2190253 LAPAROSCOPY STOMACH
2190256 REMOVAL BLADDER CYST
2190279 LAPEOSCOPY LYMPH NODE BIOPSY
219032 LAPS SURG CHOLECYSTECTOMY EXP
219035 REPAIR INCISIONAL/VENTRAL HERN
219070 LAP APPENDECTOMY
219120 UNLISTED PROCEDURE LAP HERNIA
219124 LAPAROSCOPY GASTROSTOMY
219175 REPAIR HERNIA RECURRENT REDUCE
219195 LAPAROSCOPY ABDOMEN
219220 LAPAROSCOPY W/LYSIS ADHESIONS
219224 LAP VENT/ABD HERN PROC COMP
219248 REMOVAL THYROID DUCT LESION
219255 LAPAROSCOPY WITH BIOPSY
219260 INCISIONAL HERNIA REPAIR
219275 LAP REMOVAL OF ADNEXAL STRUCT
219340 LAP ENTEROLYSIS INTEST ADHES
219380 LOBECTOMY THYROID TOTAL UNILAT
219390 LOBECTOMY THYROID PARTIAL UNI
219395 LAP W/FULGURATION OVIDUCTS
219413 LAP URETHRAL SUSPENSION
219490 LAP WITH FULGRATION OVARY
219519 LAPAROSCOPIC PROC UTUERUS
219660 LAP W/OCCLUSION OVIDUCTS
219670 LAP W/ASPIRATION CAVITY
219904 LAPAROSCOPY ABN/PERIT/OMENTUM
219989 LAPAROSCOPY MYOMECTOMY

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

42,395.67
42,395.67
41,837.78
41,699.68
41,690.74
40,354.21
40,354.21
40,354.21
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06
39,641.06



219748 ARTERY XRAYS PELVIS
221061 PLACE CATH VERTEBRAL ARTERY
216420 NERVE PEDICLE TRANSFER-STAGE 2
218905 REMOVAL OF INFUSION PUMP
218930 IMP/REV TUNNELED CATH W/O LAMI
2190106 REPLACE/REVISE BRAIN SHUNT
219119 NERVE GRAFT ARM/LEG <4CM
219121 REPAIR ARM/LEG NERVE
219137 NERVE GRAFT FOOT/HAND
219197 NERVE RPR W/NRV ALLOGRAFT 1ST
219198 NERVE GRAFT LIMB <4CM
219199 NERVE REPAIR WITH ALLOGRAFT
219350 REPAIR TRANSPOSE NERVE
2190641 PARTIAL REMOVAL OF COLON
2190642 REMOVAL RECTUM AND COLON
219761 REMOVAL OF HIP PROSTHESIS
219131 LAP COLECTOMY PART W/ILEUM
212505 RESECTION PALATE/EXT RES LESIN
2190048 REMOVAL TONSILS AND ADENOIDS
219009 EXCISION PAROTID GLAND LESION
2190099 UVULOPALATO PHARYNGOPLASSTY
219014 REMOVAL OF ETHMOID SINUS
2190146 EXCISE PAROTID GLAND LESION
2190152 GENIOPLASTY
2190186 REPAIR EARDRUM
2190195 REPAIR SALIVARY DUCT
2190236 EXCISION NECK CYST
2190261 TREATMENT EYE SOCKET FX
219103 REPEAT THYROID SURGERY
219204 REPAIR OF WINDPIPE
219211 GRAFT BONE NASAL
219222 EXPLORATION OF FRONTAL SINUS
219245 PARATHYROIDECTOMY/EXPL PARATHY
219278 EXCISE MAX/ZYGOMA BENIGN TUMOR
219292 REPAIR UPPER JAW FISTULA
219297 GLOSSECTOMY,<1/2 TONGUE
219421 EXC MAX/ZYGOMA MALIG TUMOR
219432 REPAIR NASAL VESTIBULAR STENOS
219434 THYROIDECTOMY
219533 EXC LINGUAL TONSIL
219549 SINUSOTOMY SPHENOID W W/O BX
219556 PHARYNOPLASTY
219625 TONSILLECTOMY
219631 NASAL ENDO TUBE
219740 SEPTO RHINOPLASTY
219805 RECONSTRUCTION EXT EAR CANAL
219860 SPHENOID SINUS SURGERY

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

39,639.59
39,637.74
39,384.11
39,384.11
39,384.11
39,384.11
39,384.11
39,384.11
39,384.11
39,384.11
39,384.11
39,384.11
39,384.11
38,349.87
38,349.87
38,349.87
38,235.67
38,160.77
38,160.77
38,160.77
38,160.77
38,160.77
38,160.77
38,160.77
38,160.77
38,160.77
38,160.77
38,160.77
38,160.77
38,160.77
38,160.77
38,160.77
38,160.77
38,160.77
38,160.77
38,160.77
38,160.77
38,160.77
38,160.77
38,160.77
38,160.77
38,160.77
38,160.77
38,160.77
38,160.77
38,160.77
38,160.77



219888 EXCISE PAROTID GLAND/LESION
219940 RECONSTRUCTION OF NOSE
219950 EXCISION OF SUBMANDIBULR GLAND
2190109 AV FUSION/FOREARM VEIN
219365 INS TUNNEL CVA DEVICE W/PUMP
219417 INS ENDOVAS VENA CAVA FILTER
219513 INSERT TUN IP CATH PERC
221051 CATHETER PLACEMENT CAROTID
221052 CATHETER PLACEMENT CAROTID
221056 ANGOIGRAPHY VISCERAL
4851 ANKLE SALTO TALARIS - TIBIAL
219467 CHOLECYSTOTOMY OPEN
2190032 REPAIR OF BLADDER & VAGING
219007 HYSTEROSCOPY,ABLATION
2190125 REMOVAL OF OVARIAN CYST
2190174 VAGINAL HYSTERECTOMY
219381 VAG HYST W/REMOVAL TUBE AND OV
219429 EXTENSIVE REPAIR VAGINA
219431 ENDOMETRIAL ABLATION THERMAL
219435 COLPORRHAPHY
219443 HYSTEROSCOPY REM LEIOMYOMATA
219472 HYSTEROSCOPY FALLOPIAN CANNULA
219780 HYSTSC WITH LYSIS ADHESIONS
219865 REOPEN FALLOPIAN TUBE
219908 REPAIR BLADDER DEFECT
219923 CYSTOCELE/RECTOCELE REPAIR
219996 ABDOMINOVAGINAL VESICAL NCK
2190029 CYSTOSCOPY AND TREATMENT
2190058 CYSTOURETHROSCOPY W/ LITHCOTR
2190141 PROSTATE LASER ENUCLEATION
2190176 RECONSTRUCTION OF FEMALE URETH
219130 LASER SURGERY OF PROSTATE
219339 CYSTO/URETERO W/LITHOTRIPSY
219388 REPAIR OF MULTI COMP PENILE IM
219471 CYSTOURETHROSCOPY W/FRAG CALCU
219508 CYSTOURETERO W/EXCISE TUMOR
219790 CSTO/PYELOSCOPY BX/FULG LESION
219886 PROSTATECTOMY (TURP)
219651 BONE MARROW HARVESTING
219776 REPAIR/GRAFT FEMUR HEAD/NECK
219128 ESTABLISH BRAIN CAVITY SHUNT
219567 OSTEOTOMY POSTERIOR SPINE
219608 DECOMPRESSION SM BOWEL
219644 COLECTOMY/COLOPROCTOSTOMY
215550 BIOPSY/EXCISE THORACOLUMBAR-IN
2190290 REVASC ENDO OP OR PERC ADDON
219779 REALIGNMENT OF KNEE

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

38,160.77
38,160.77
38,160.77
37,749.24
37,749.24
37,749.24
37,749.24
37,749.24
37,749.24
37,749.24
37,002.98
35,603.74
35,586.95
35,586.95
35,586.95
35,586.95
35,586.95
35,586.95
35,586.95
35,586.95
35,586.95
35,586.95
35,586.95
35,586.95
35,586.95
35,586.95
35,586.95
34,678.78
34,678.78
34,678.78
34,678.78
34,678.78
34,678.78
34,678.78
34,678.78
34,678.78
34,678.78
34,678.78
33,833.14
33,235.00
32,236.67
31,983.58
31,515.69
31,268.99
31,090.01
29,287.11
28,367.63



217505 FUSION POSTR SPINE 13 OR < SEG
219310 REMOVAL IMPLN DEFRIL PULSE GEN
219373 REMOVAL TRANSVNS ELECTRODE
219382 REPAIR SNGLE TRANVENOUS ELECTR
219396 RMV TRANSVNS PM ELTRD DUAL LEA
217491 LUMBAR SPINE FUSION POSTEROLAT
219778 EXCHANGE BILIARY DRAINAGE CATH
219634 INSRT INTERLAM/SPIN DEV ADDTL
215100 INSJ BIOMECHANICAL DEVICE
219733 CYSTO WITH INSERTION PERM ADIJ
217485 LUM SPINE FUSION POSTERIOR
218810 ABD HYSTERECTOMY
219442 VAG HYST

52320 CYSTOSCOPY & TREATMENT

215280 LAMINECTOMY DECMP-CERV/THOR EA

217445 LUM SPINE FUSION ANTERIOR
217525 KYPHECTOMY 1-2 SEGMENTS
219793 GRAFTING AUTOLOG LIPO 50CC/<
218735 REPAIR INT HERNIA >5 YEAR OLD
218770 REPAIR INGUINAL HERNIA RECURR
219000 REPAIR UMBILICAL HERNIA >5YRS
2190031 APPENDECTOMY
219005 REPAIR INCISIONAL HERNIA
2190090 REMOVAL OF TESTIS
2190122 REMOVAL HYDROCELES - BIL.
219030 REPAIR UMBILICAL HERNIA
219045 REPAIR EPIGASTRIC HERNIA
219145 REPAIR INITIAL INSC/VENT HERN
219357 ORCHIOPLEXY INGUINAL APPROACH
219485 EXCISION UMBILICUS
219512 INCSION GALLBLADDER
219532 REPAIR UMB HERNIA >5 YEARS RED
219560 EXC HYDROCELE UNILAT
219579 REPAIR ING HERNIA BLOCKED
219600 REPAIR INITIAL FEMORAL HERNIA
219680 REPAIR HERNIA EPIGASTRIC
219730 REPAIR INITAL INGUNAL HERNIA
219993 PERCUT DRAIN, LIVER LESION
2190039 REVISE SPERMATIC CORD
2190052 CYSTOSCOPY AND TREATMENT
2190062 CYSTOSCOPY & TREATMENT
2190065 CYSTOCOPY & TREATMENT
2190100 ENDOSCOPIC INJECTION/IMPLANT
2190121 EXCISE LESION TESTIS
2190155 CYSTO W UP STRICTURE TX
2190193 PENIS PLASTIC SURGERY
219214 CYSTO W/ TX URETERAL STRICTURE

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

28,313.83
27,002.09
27,002.09
27,002.09
27,002.09
26,975.01
26,818.06
26,769.32
26,769.30
26,675.99
26,628.24
26,404.10
26,212.92
25,816.88
25,797.11
25,750.29
25,690.08
25,679.12
25,421.82
25,421.82
25,421.82
25,421.82
25,421.82
25,421.82
25,421.82
25,421.82
25,421.82
25,421.82
25,421.82
25,421.82
25,421.82
25,421.82
25,421.82
25,421.82
25,421.82
25,421.82
25,421.82
25,421.82
25,245.34
25,245.34
25,245.34
25,245.34
25,245.34
25,245.34
25,245.34
25,245.34
25,245.34



219284 PROSTATIC RF THERMOTX
219341 CYSTOSCOPY TX
219361 SCROTAL EXPLORATION
219407 CYSTOSCOPY AND BIOPSY
219428 CYSTOSCOPY REMOVAL OF CLOTS
219477 REMOVE BLADDER STONE LARGE
219534 CYSTO INSERTION URETRAL WIRE
219541 REVISION OF PENIS
219750 VASOVASOTOMY
219800 LITHOLPAXYSMPL/SM <2.5CM BLDDR
219825 REVISION OF BLADDER NECK
219850 SCOPE/BLADDER URETER REM STONE
219870 FRAGMENTING OF KIDNEY STONE
222748 BLADDER CYSTOSCOPY/STENT REMOV
219468 LARYNGOPLASTY
219517 HEMIGLOSSECTOMY
215640 REV/REM NEUROSTIM GEN/RECEIVER
215935 REVISE/REMOVE NEUROSTIM ELECTR
2190272 REMOVAL SPINE ETTRD PLATE
217500 FUSION POSTR SPINE 7-12 SEG
219296 EXPLANTATION OF GASTRIC LAPBAN
219463 ENDOSCOPIC CHOLANGIOPANCREATOG
219561 ERCP W/SPHINCTEROTOMY
219562 ERCP REMOVAL CALC/DEBR FROM DU
217420 PERC VERTEBROPLASTY LUMB
215130 EXC OF CYSTIC HYGROMA
218975 BIOPSY/REMOVAL LYMPH NODES
218990 OPEN INCISION BIOPSY BREAST
219010 MASTECTOMY
2190208 RECONSTRUCTION BREAST
2190239 SURGERY OF BREAST CAPSULE
2190276 BIOPSY/REMOVAL LYMPH NODE
2190284 INVERTED NIPPLE CORECTION
219080 BIOPSY LYMPH NODES OPEN
219180 EXC LESION BREAST OPEN
219185 BIOPSY LYMPH NODES DEEP AXIL
219325 MASTECTOMY PARTIAL
219410 EXC LESION BREAST W/RAD MARKER
219470 MASTECTOMY SUBCUTANEOUS
219540 REMOVAL MAMMARY IMPLANT MAT
219580 REMOVAL MAMMARY IMPLANT
219595 PERIPROSTHETIC CAPULECTOMY
219685 BIOPSY OR EXCISION LYMPH NODE
219139 L HRT ARTERY/VENTRICLE ANGIO
219575 R&L HRT CATH W/VENTRCLGRPHY
219603 CORONARY ARTERY ANGIO S&lI
219212 TX CHEEK BONE FRACTURE

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

25,245.34
25,245.34
25,245.34
25,245.34
25,245.34
25,245.34
25,245.34
25,245.34
25,245.34
25,245.34
25,245.34
25,245.34
25,245.34
25,245.34
25,107.79
25,107.79
24,839.44
24,839.44
24,839.44
24,560.33
24,364.10
24,364.10
24,364.10
24,364.10
24,355.99
24,289.23
24,289.23
24,289.23
24,289.23
24,289.23
24,289.23
24,289.23
24,289.23
24,289.23
24,289.23
24,289.23
24,289.23
24,289.23
24,289.23
24,289.23
24,289.23
24,289.23
24,289.23
24,240.92
24,240.92
24,240.92
24,121.41



219752 REM ENDOVAS VENA CAVA FILTER
219754 PLACE CATH THORACIC AORTA
210027 SKIN TISSUE REARRANGEMENT
210029 SKN SPLT A-GRFT FAC/NCK/HF/G
217190 REMOVAL OF TISSUE FOR GRAFT
2190014 MUSCLE SKIN GRAFT TRUNK
2190101 SUCTION ASSISTED LIPECTOMY
2190102 REMOVAL/WRINKLES CHIN/CHK/NECK
2190205 REVISE GASTRIC PORT, OPEN
2190252 FOREHEAD FLAP W/VASC PED
219138 MUSC MYOQ/FSCQ FLP H&N PEDCL
219205 LIPECTOMY TRUNK SUCTION ASSIST
219210 LIPECTOMY LOWER EXT SUCT ASSIS
219489 DERM AUTOGRAFT HEAD, FACE ADDT
219511 MUSCLE SKIN GRAFT LEG
219262 RAD MAST
2190055 LARYNOSCOPY W/EXC OF TU
2190088 LARYNGOSCOPY W/BIOPSY
2190163 LARYNOSCOPY W/TUMOR EXCISION
2190233 LARYNGOSCOPY WITH BIOPSY
2190260 LPARYNGOSCOPY W/BX AND OP SCOP
219108 BILATERAL MAXILLARY SINUS
219202 LARYNGOSCOPY FLEXIBLE W/LESION
219439 LARYNGOSCOPY W/VC INJ AND SCOP
219498 BRONCHOSCOPY FLUORO GUIDANCE
219571 BRONCHOSCOPY WITH DILATION
219930 BRONCHOSCOPY/ LUNG BX
219774 EXPLORE/TREAT WRIST JOINT
219782 HIP ARTHROSCOPY W/SYNOVECTOMY
219791 RELEASE ELBOW JOINT
219003 EXCISION,GRAFT,ABDOMEN
2190072 LAPAROSCOPIC PARTIAL COLECTOMY
219491 MASTECTOMY RADICAL
217515 FUSION ANTER SPINE 4-7 SEGMENT
2190056 LIGATION LEG VIENS - OPEN
2190128 LIGATE/STRIP LONG LEG VIEN
2190210 REVISE LEG VEIN
219105 INSERT CVA DEVICE W/ PORT
219127 ANGIOGRAPHY EXTEREMITY UNILAT
219136 PLACE CATH CAROTID/INOM ART
219155 INSERT TUNNELED CV ACCESS DEV
219311 STAB PHLEB VEINS XTR 10-20
219397 REPLACE TUNNELED CV CATH
219415 ARTERY VEIN FUSION
219441 ENDOVENOUS RADIOFREQENCY 1ST
219458 LIGATION ARTERIES ETHMOIDAL
219476 PHLEB VEINS EXTREM 20+

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

23,900.73
23,900.73
23,858.99
23,858.99
23,858.99
23,858.99
23,858.99
23,858.99
23,858.99
23,858.99
23,858.99
23,858.99
23,858.99
23,858.99
23,858.99
23,646.47
23,639.30
23,639.30
23,639.30
23,639.30
23,639.30
23,639.30
23,639.30
23,639.30
23,639.30
23,639.30
23,639.30
23,610.50
23,610.50
23,610.50
23,323.23
23,166.19
23,088.67
23,020.84
22,784.17
22,784.17
22,784.17
22,784.17
22,784.17
22,784.17
22,784.17
22,784.17
22,784.17
22,784.17
22,784.17
22,784.17
22,784.17



219516 LIGATION UPPER JAW ARTERY
219624 AORTOGRAPHY ABDOMINAL/ILOIOFEM
219700 INSERT TUNNEL CV CATH

219741 INS CATH RENAL ART 2ND+ BILAT
221057 CATH PLCMT RENAL ARTERY FLUORO
470571 ENDOVENOUS ABLATION THER INCOM
219611 REPOSITION PACING-DEFIB LEAD
210090 PERQ FIX DIST RAD W/MAINPULATI
210330 DECOMPRES FASCIOTOMY OPEN
210360 RELEASE OF PALM CONTRACTURE
210365 REL PALM W/REL 1 DIGIT

210435 PARTIAL REMOVAL OF HAND BONE
210485 REPAIR FINGER/HAND TENDON
210510 REPAIR FINGER/HAND TENDON
210520 REPAIR FINGER/HAND TENDON
210615 REPAIR FINGER TENDON

210640 RELEASE HAND/FINGER TENDON
210745 REVISION OF FINGER

210790 RELEASE KNUCKLE CONTCTURE
210800 REVISE KNUCKLE JNT

210855 REPAIR HAND JNT

210860 REPAIR HAND JNT WITH GRAFT
210880 RECONSTRUCT FINGER JNT

210955 RECONSTRUCT EXTRA FINGER
211000 PERC TX MC FX

211005 OPEN TX MC FX W/WO INRTL FIX
211020 PERQ SKEL FX THUMB W/MANIPUL
211025 OPEN TX FX THUMB W/ MANIPULATI
211040 PIN HAND DISLOCATION

211100 PIN KNUCKLE DISLOCATION

211105 TREAT KNUCKLE DISLOCATION
211120 PERQ PHALANGEAL FX W/MANIPUL
211125 OPEN PHALANGEAL FX W/WO FIXATI
211140 TREAT FINGER FX EACH

211155 PIN FINGER FX EACH

211160 TREAT FINGER FX EACH

211175 PIN FINGER DISLOCATION

211280 AMP OF FINGER/THUMB

211285 AMP OF FINGER/THUMB

211295 DRAINAGE OF PELVIS LESION

211470 REM HIP FB DEEP

212060 EXPLORATION OF KNEE JNT

212105 EXPLORE/TREAT KNEE JNT

212110 REMOVAL OF KNEE CARTILAGE
212130 REMOVAL OF KNEECAP BURSA
212135 REMOVAL OF KNEE CYST

212140 REMOVE KNEE CYST

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

22,784.17
22,784.17
22,784.17
22,784.17
22,784.17
22,784.17
22,784.17
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37



212145 REMOVAL OF KNEECAP

212150 REMOVE FEMUR LESION

212170 PARTIAL REMOVAL LEG BONE(S)
212330 LATERAL RETINACULAR RELEASE
212640 CLSD TIB FX W/WO MANIPULATION
212750 DECOMP OF LOWER LEG

212755 DECOMP OF LOWER LEG

212760 DECOMP OF LOWER LEG

212780 INC ACHILLES TENDON GEN ANESTH
212790 EXPLORE/TREAT ANKLE JNT
212795 EXPLORATION OF ANKLE JNT
212825 EXPLORE/TREAT ANKLE JNT
212830 REMOVE ANKLE JNT LINING
212835 REMOVE ANKLE JNT LINING
212845 REMOVE LOWER LEG BONE LESION
212860 PARTIAL REMOVAL OF TIB

212865 PARTIAL REMOVAL OF FIB

212880 EXTENSIVE ANKLE/HEEL SURGERY
212890 REPAIR ACHILLES TENDON

212910 REPAIR OF LEG TENDON EACH
212930 REPAIR LOWER LEG TENDONS
212975 RELEASE OF LOWER LEG TENDON
212980 RELEASE OF LOWER LEG TENDONS
212985 REV LOWER LEG TENDON SNGL
212995 REVISION OF CALF TENDON
213080 REMOVAL OF ANKLE IMPLANT
213405 FIX ANKLE JT W/GEN ANESTHESIA
213490 TREAT FOOT BONE LESION

213495 INC OF FOOT FASCIA

213590 BX FOOT JT LINING METATARSAL
213600 PARTIAL REMOVAL FOOT FASCIA
213605 REMOVAL OF FOOT FASCIA
213610 REMOVAL OF FOOT JNT LINING
213615 REMOVAL OF FOOT JNT LINING
213630 EXCISE FOOT TENDON SHEATH
213645 REMOVAL OF ANKLE/HEEL LESION
213660 REMOVAL OF FOOT LESION
213680 PART REMOVAL OF METATARSAL
213685 PART REMOVAL OF METATARSAL
213690 PART REMOVAL OF METATARSAL
213700 REMOVAL OF METATARSAL HEADS
213705 REVISION OF FOOT

213710 REMOVAL OF HEEL BONE

213715 REMOVAL OF HEEL SPUR

213720 PART REMOVAL OF ANKLE/HEEL
213725 PARTIAL REMOVAL OF FOOT BONE
213730 PARTIAL REMOVAL OF TOE

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37



213735 PARTIAL REMOVAL OF TOE

213740 REMOVAL OF ANKLE BONE

213750 REMOVAL OF TOE

213755 PARTIAL REMOVAL OF TOE

213760 PARTIAL REMOVAL OF TOE

213770 RAD RESEC TUMOR MT BN

213795 REPAIR OF FOOT TENDON

213805 REPAIR OF FOOT TENDON

213860 REVISION OF FOOT FASCIA

213885 RELEASE OF FOOT CONTCTURE
213900 REPAIR OF HAMMERTOE

213905 REPAIR OF HAMMERTOE

213910 PARTIAL REMOVAL OF FOOT BONE
213915 REPAIR HALLUX RIGIDUS

213925 CORR BUNION MAY TYPE

213940 CORR BUNION W/METATAR 0OS
213955 CORR BUNION DBL OSTEOT

213990 INC METATARSAL NOT 1ST MT
214000 REVISION OF BIG TOE

214005 REVISION OF TOE

214010 REPAIR DEFORMITY OF TOE

214015 REMOVAL OF SESAMOID BONE
214040 REPAIR EXTRA TOE(S)

214130 PERCUT SKEL FIX MT W/MANIP
214170 OPN PHALANX EXT GT TOE W/WO
214235 PERQ TARSOMAT DISL W/MANIPULAT
214255 PERQ SKEL FIX MTP W/MANIPULATI
214260 OPEN METATARSOPHAL DISLOCATION
214340 AMP THRU METATARSAL

214345 AMP TOE & METATARSAL

214350 AMP OF TOE

214355 PARTIAL AMP OF TOE

214650 SHLD ARTHROSCOPY W/REM BODY
214660 SHLD ARTHROSCOPY COMP SYNOVEC
214665 SHLD ARTHROSCOPY DEBRIDEMENT
214670 SHLD ARTHROSCOPY DEBRIDEMENT
214675 ARTHROSCOPY CLAVICULECTOMY
214680 SHLD ARTHROSCOPY W/LYSIS
214700 ELBOW ARTHROSCOPY REM FGN BDY
214715 ELBOW ARTHROSCOPY

214735 WRIST ARTHROSCOPY

214745 WRIST ARTHROSCOPY

214785 HIP ARTHROSCOPY W/REM FB
214800 KNEE ARTHROSCOPY DX

214805 KNEE ARTHROSCOPY/DRAINAGE
214810 ARTHROSCOPY KNEE W/LAT RLS
214815 KNEE ARTHROSCOPY

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37



214820 KNEE ARTHROSCOPY

214825 KNEE ARTHROSCOPY W/SYNOVECTOMY

214830 KNEE ARTHROSCOPY DEBRIDEMENT
214835 KNEE ABRASION ARTHROPLASTY
214840 KNEE ARTHROSCOPY W/MENISECTOMY
214845 KNEE ARTHROSCOPY W/MENISECTOMY
214850 KNEE ARTHROSCOPY

214855 KNEE ARTHROSCOPY

214860 KNEE ARTHROSCOPY

214870 KNEE ARTHROSCOPY

214890 ANKLE ARTHROSCOPY EXC OSTEOCHO
214900 SCOPE PLANTAR FASCIOTOMY
214905 ANKLE ARTHROSCOPY

214910 ANKLE ARTHROSCOPY

214915 ANKLE ARTHROSCOPY AND DEBRIDEM
214920 ANKLE ARTHROSCOPY

215670 INS OF WIRE/PIN SKEL TRCTN/REM
216540 EXPLORE/TREAT ELBOW INT

216545 REMOVE ELBOW JNT LINING

216550 REMOVAL OF ELBOW BURSA

216570 EXCISION BENIGN TUMOR RADIUS
216605 EXCISION HUMERUS BONE-PARTIAL
216730 REPAIR COLLATERAL LIGAMENT/ELB
216770 DEBRDMT ELB W/REPAIR/REATTACHM
216777 BUNIONECTOMY PROCEDURE

217085 DRAINAGE OF FOREARM LESION
217290 REMOVE PART T-SPINE VERTEBRA
217650 EXPLOR GLENOHUMERAL JT

217710 PARTIAL REMOVAL COLLAR BONE
217715 REMOVAL OF COLLAR BONE TOTAL
217720 REMOVE SHLD BONE PART

217725 REM BONE LES CLAV/SCAP

217740 REMOVAL OF HUMERUS LESION
218180 INC OF WRIST CAPSULE

218195 REMOVE WRIST JNT LINING

218240 EXC OF BONE CYST RADIUS/ULNA
218275 PARTIAL REMOVAL OF ULNA

218300 PARTIAL REMOVAL OF RADIUS
218335 REPAIR FOREARM TENDON/MUSC
218350 REPAIR FOREARM TENDON/MUSC
218360 REPAIR FOREARM TENDON/MUSC
218365 REPAIR TENDON SHEATH

218395 TRANSPLANT FOREARM TENDON
218420 REVISE WRIST JNT

218565 REPAIR WRIST JNT(S)

219111 DRAINAGE TENDON SHEATH DIGIT
219117 EXPLORATION HIP JOINT

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37



219134 EXC LESION TENDON SHEATH

219146 RELEASE OF BIG TOE

219181 REMOVE KNEE JNT LINING

219189 REALIGNMENT OF TENDONS

219191 RELEASE MUSCLE HANDS

219329 PARTIAL REMOVAL OF ELBOW

219457 TENOTOMY ELBOW, DEBRIDEMENT

219495 ELB ARTH REM FOREIGN/LOOSE BOD

219614 EXC TROCHANTERIC BURSA/CALC

219619 TREATMENT BIG TOE FX

219622 REVISE FINGER JOINT

219623 FUSION

219641 CORRECTION HALLUX VALGUS

219656 PERCUTANEOUS VERTEBROPLASTY

219683 TRANSPLANT FOREARM TENDON

219684 OPEN BONE BIOPSY

219690 LENGTH/SHORT TENDON ANKLE/LEG

219694 WRIST ARTHROSCOPY

219732 CORRECT FINGER DEFORMITY

219737 ELBOW ARTHROSCOPY

219739 REPAIR FINGER/HAND TENDON

219744 REPAIR ELBOW PERC

219749 INCISION OF FIBULA

219763 REVISION OF ARM TENDON

219912 POST.TENDON EXCISION

211590 REVISE HIP JNT REPLACE

219804 REMOVE WRIST/FOREARM LESION

219808 TRANSPLANT HAND TENDON

219734 CYSTO W/INSERTION PERM ADJ EA

219771 TUBAL LIGATION BY DEVICE

219456 CHOLECYSTECTOMY W/CHOLANGIOGRA

218999 CHOLECYSTECTOMY OPEN

217430 NECK SPINE FUSION C1-C2 ANTERI
2190040 REMOVAL OF STOMACH, PARTIAL

214685 SHLD ARTHROSCOPY DECOMPRESS
2190037 REMOVAL OF ETHOID SINUS
2190044 REMOVAL ETHMOID SINUS

217510 FUSION ANTER SPINE 2-3 SEGMENT

217465 NECK SPINE FUSION BELOW C2 POS

219801 REMOVE FOREIGN BODY SHOULDER

210031 EXC OF CYST OF AURICLE OF EAR

210032 EXC NECK TUMOR DEEP = 5CM

210820 DEBRIDEMENT SKIN/MUSC/BONE FX

211210 EXC MAL LESION >4CM

211370 REM HIP/PELVIS LES SUBQ

212000 DRAIN THIGH/KNEE LESION

212080 BX THIGH SOFT TISSUE DEEP

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,627.37
22,404.71
21,615.60
21,615.60
21,576.77
21,546.11
21,339.34
21,246.37
21,164.68
21,012.58
20,928.48
20,897.98
20,897.98
20,775.73
20,674.87
20,520.08
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71



212090 REM THIGH LESION DEEP

212095 REMOVE TUMOR THIGH/KNEE

212185 REM FB THIGH/KNEE AREA

212765 DRAIN LOWER LEG LESION DEEP

212810 REMOVE TUMOR LOWER LEG

212820 REM LWR LEG LESION DEEP

213120 BIOPSY MUSCLE DEEP

213140 BIOPSY BONE OPEN SUPERFICIAL

213145 BIOPSY BONE OPEN DEEP

213385 REM FB MUSC/TENDON DEEP

213575 EXC FOOT LESION DEEP

213580 RESECTION OF TUMOR FOOT

216460 REM OF SUPPORT IMPLANT DEEP

216525 EXCISION ARM/ELBOW LES DEEP

217615 REMOVE ABDOMINAL WALL LESION

217635 |&D SHLDR DEEP ABSC/HEMATOMA

217675 REM SHLDR TISSUE DEEP

217680 REMOVE TUMOR OF SHLD

218680 EXCISION EXCESS SKIN/TISSU LEG

218700 EXC MAL LESION F/E/E/N/L/M >4C

218880 EXC BEN LESION OVER 4.0 CM
2190070 BIOPSY OF TESTIS
2190133 EXCISION EXCESSIVE SKIN THIGH
2190147 REMOVAL PILONIDAL LESION
2190149 REMOVAL EAR CANAL LESION
2190160 DERMABRASION TOTAL FACE
2190217 EXC BACK TUM DEEP <5CM
2190237 EXC FOREARM TUM DEEP 3+CM
2190241 EXC NECK LESION SC 3+ CM
2190270 EXC LEG/ANKLE LES SC 3+CM
2190271 EXCISE EXCESSIVE SKIN TISSUE
2190282 EXC TUMOR HIP 3CM OR>

219235 EXCISION EXCESS SKIN/SUB Q HIP

219246 REMOVAL OF TISSUE EXPANDER

219279 EXC TUMOR SOFT TISSUE THIGH/KN

219287 EXCISION LESION 3CM ABD WALL

219290 EXC PILONIDATY CYST/SINUS

219345 EXC CHEST WALL TUMOR INCL RIBS

219346 EXC TUMOR SOFT TISSUE 5CM

219354 EXC TUMOR SOFT TISSUE FOOT

219363 EXC TUMOR SOFT TISSUE UPPER AR

219366 1&D COMPLEX

219389 | AND D DEEP ABSCESS NECK/THOR

219398 EXC ABDL TUMOR DEEP

219447 REMOVAL SWEAT GLAND LESION

219484 BX CERVIX

219521 EXC FACE TUM DEEP 2CM>

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71



219635 EXCISION EXCESS SKIN/TISSU ARM
219645 EXC PILONIDAL CYST-COMPLICATED
219672 EXC THIGH/KNEE TUMOR DEP 5CM
219895 EXCISION HIDRYADENTITIS-AXLLY
219903 REMOVAL TUMOR DEEP IM SUBFASCL
219919 EXC BEN LESION FACE >4.0CM
219988 EXC SOFT TUMOR
219998 REMOVAL FORGEIGN BODY
217470 T-SPINE FUSION POSTERIOR
2190182 BREAST RECONSTR W LAT FLAP
210012 VULVECTOMY BILATERAL
2190018 SURGERY FOR VULVA LESION
2190091 DIVISION OF FALLOPIN TUBE
2190094 CONIZATION OF CERVIX
2190116 BIOPSY OF CERVIX W/ SCOPE
2190140 PELVIC EXAM UNDER ANESTHESIA
2190144 REPAIR OF PERINEUM
2190151 CONIZATION OF CERVIX
2190165 CLOSURE RECTOVAGINAL FISTULA
2190169 REMOVAL OF RESIDUAL CERVIX
2190203 CONIZATION OF CERVIX
2190226 DESTRUCTION VAGINAL LESIONS
2190277 EXC VAGINAL CYST/TUMOR
219208 DESTRUCTION VAGINAL LESION
219228 DRAIN PELVIC ABSCESS
219231 PARTIAL VULVECTOMY
219261 REPAIR OF BOWEL BULGE
219289 REPAIR OF VAGINA
219304 REVISE VAG GRAFT
219483 HYSTEROSCOPY DIAG SEPARATE PRO
219499 PARTIAL HYMENECTOMY/REV HYMENA
219530 HYSTEROSCOPY W/BIOPSY
219550 DILATION & CURETTAGE
219574 EXC VAG GLAND LESION
219582 HYSTEROSCOPY REM IMP FORN BODY
219985 REMOVAL/REVISION OF SLING FOR
219986 MYOMECTOMY OF UTERUS
219987 DILATION CERVICAL CANAL
212480 REVISE/REPLACE KNEE JNT
215330 VERTEBRAL CORP-CERVICAL/ANTERI
211890 INTERTROCH FEM FX W/IMP
215015 REPAIR BLOOD VESSEL LESION
210011 REPAIR ANORECTAL FIST W/PLUG
218970 EXCISIONAL ANAL LESION
218980 HEMORRHOIDOPEXY
218995 HEMORRHOIDECTOMY INT/EXT SIM
2190024 LIGATION OF HEMORRHOIDS

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,513.71
20,431.19
20,388.98
20,366.91
20,366.91
20,366.91
20,366.91
20,366.91
20,366.91
20,366.91
20,366.91
20,366.91
20,366.91
20,366.91
20,366.91
20,366.91
20,366.91
20,366.91
20,366.91
20,366.91
20,366.91
20,366.91
20,366.91
20,366.91
20,366.91
20,366.91
20,366.91
20,366.91
20,366.91
20,366.91
20,366.91
20,339.43
20,238.44
20,196.50
20,173.73
20,136.70
20,136.70
20,136.70
20,136.70
20,136.70



2190110 LIGATION OF HEMMRRHOIDS
2190154 ANOSCOPY
2190231 REMOVE HEMORRHOID W/FISTULA
2190246 HEMORRHOIDECTOMY
2190286 LASER DESTRUCTION LESION ANUS
219060 SPHINCTEROTOMY
219095 HEMORRHOIDECTOMY W/FISSURE
219100 HEMORRHOIDECTOMY INT & EXT
219110 FISTULECTOMY/FISTULOTOMY ANAL
219280 EXC EXT HEMORRHOID TAGS
219295 REM ANAL FISTULA COMPLETE
219320 FISSURECTOMY
219334 EXC RECTAL TUMOR TRANSANAL APP
219343 INCISION RECTAL ABSCESS
219356 SURG EXAM ANORECTAL
219360 REM ANAL FISTULA
219377 ANOSCOPY W/ REMOVAL OF LESIONS
219494 REMOVE IN/EX HEM GRPS AND FISS
2195532 PLACEMENT OF SETON
219956 BIOPSY OF RECTUM
419421 1&D INTRAMURAL INTRAMUSC ABSCE
219794 SHOULDER PROSTHESIS REMOVAL
2190248 C LAMINOPLASTY W/GRAFT/PLATE
2190220 PARTIAL REMOVAL OF COLON
219668 DRAIN APPENDIX OPEN
219585 ILEOSTOMY/JEJUNOSTOMY
210026 CLOSED TX OF NOSE FRACTURE
212996 INTRAORAL I&D
218920 EXC LESION MOUTH W/SIMPLE REP
218998 SEPTOPLASTY
2190012 REPAIR/EXC MOUTH LESION
2190019 REMOVAL VENTILATING TUBE EARS
2190096 RADIOFREQUENCY TONGUE SUBMUCOS
2190098 OTOPLASTY, PROTRUD. EAR REPAIR
2190107 PARTIAL REMOVAL OF LIP
2190120 REPAIR OF TYMPANIC MEMBRANE
2190137 CLOSED TX PALATAL/MAX FX W/FIX
2190142 EXCISION OF INFERIOR TURBINATE
2190150 BIOPSY OF THROAT
2190168 CLOSED TX FX OF NASAL SEPTAL
2190177 REMOVAL OF ADNOIDS
2190183 EXCISION LESION MOUTH
2190187 EXCISION OF UVULA
2190216 REMOVAL OF ADENOIDS
2190235 EXC/DEST INTRANASAL LESION
2190240 EXPLORATION MAXILLARY
2190247 REMOVAL OF SALIVARY STONE

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

20,136.70
20,136.70
20,136.70
20,136.70
20,136.70
20,136.70
20,136.70
20,136.70
20,136.70
20,136.70
20,136.70
20,136.70
20,136.70
20,136.70
20,136.70
20,136.70
20,136.70
20,136.70
20,136.70
20,136.70
20,136.70
20,000.42
19,754.08
19,572.59
19,555.24
19,270.71
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61



2190258 DRAINAGE SALIVARY CYST
2190266 RECONSTRUCTION OF CHIN
2190289 BIOPSY OF THE NASOPHARYNX
219102 TONSILECTOMY & ADENOIDECTOMY
219203 EXCISION LESION MOUTH ROOF
219213 TREATMENT NASAL FX AND SEPTUM
219221 RECONSTRUCTION TONGUE
219252 EXCISION OF NECK CYST
219253 ADENOIDECTOMY
219300 TONSILLECTOMY PRIMARY
219306 EXC SUBLINGUAL SALIVARY CYST
219314 EXC LESION TONGUE
219326 EXC LESION PHARNYX
219337 LARYNGOTOMY W/REM TUMOR
219347 BIOPSY OF SALIVARY GLANDS
219376 EXCISION OF LIP TRANSVERSE WED
219423 CLOSURE TRACHEOSTOMY/FISTULA
219433 EXC NASAL POLYP EXTENSIVE
219606 FX NASAL TURBINATES THERAPEUTI
219710 RESECTION INTERIOR TUBINATES
219920 EXCISION-LESION MOUTH W/O CLOS
219921 EXCISION-LESION TONGUE W/CLOS
219965 EXCISION BENIGN TUMOR/CYST MAN
219990 EXCISION LESION TONGUE
219997 EXPLORATION OF MIDDLE EAR
22100 GEN ANES- MYRINGOTOMY W/ TUBES
219116 ADJ TISSUE TRANS/REARRANGEMENT
215710 DURAL GRAFT OF SPINE
217440 T-SPINE FUSION ANTERIOR
2190046 REMOVAL OF OMENTUM
219570 RESECT TIBIA TUMOR
219648 REMOVE KNEE IMPLANT
219430 REMOVAL OVARY/TUBE(S)
217355 DISCECTOMY OF LUM SPINE
219809 RESECT BACK TUMOR <5CM
2190126 REVIS FALLOPIAN TUBE
219112 SEC ART THROMBECTOMY ADD ON
2190049 LAPAROSCOPIC NEPHRECTOMY
2190053 LAPAROSCOPIC NEPHRECTOMY
222400 OR LEVEL 4 - FIRST 30 MIN
219689 HIP ARTHRO WITH SYNOVECTOMY
219650 EXP CHEST FOR HEMORHGE THROMB
216425 UNLISTED NERVOUS SYSTEM SURG.
217890 RECONST SHLDR TOTAL
2190202 PARTIAL REMOVAL LIVER
217550 INSERT POSTR SPINE FIX DEV 3-6
217601 INSERTION BIOMECHANICAL DEVICE

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
19,245.61
18,881.78
18,801.76
18,703.70
18,436.40
18,427.13
18,275.95
17,870.70
17,845.60
17,843.55
17,796.20
17,711.58
17,569.25
17,569.25
17,495.49
17,405.66
17,364.91
17,304.67
17,183.93
17,093.34
17,007.21
17,007.21



217540 INSERT SPINE FIXATION DEVICE
215320 DISCECTOMY THORACIC-SINGLE
217535 EXPLORATION OF SPINAL FUSION
2190234 REMOVAL OF LYMPH NODES, NECK
219770 REVISION OF GASTRIC BYPASS
2190136 SKIN FULL GRAFT EY/EAR/NOSE/LI
219907 UNLISTED PROC. - EXTERNAL EAR
217395 TREAT SPINE FX CERVICAL OPEN
217565 INSERT ANTER SPINE FIX 2-3 SEG
219714 HEART FLOW RESERVE MEASURE
211545 TOTAL HIP REPLACE
5562 NERVE MONITORING
217400 TREAT T-SPINE FX OPEN
219206 NASAL/SINUS ENDOSCOPY W/REPAIR
219646 LAPRAROSCOPIC PROC
212475 REVISE/REPLACE KNEE JNT
2190051 PARTIAL REMOVAL OF KIDNEY
219507 REPAIR TUNICA VAGINALIS HYDROC
217390 TREAT SPINE FX LUMBAR-OPEN
219901 OPEN APPENDECTOMY
2190191 REPAIR ECTROPION; SUTURE
2190200 REPAIR BROW DEFECT
2190207 REVISION EYELID
219399 REVISION OF EYELID
215470 EXCISE/EVAC LUMBAR-EXTRADURAL
2190050 EXCISION OF BOWEL POUCH
217495 FUSION POSTR SPINE UP TO 6 SEG
214950 ARTHROSCOPY OF JNT
2147779 WRIST CLOSED PROCEDURE
219384 FULL THICKNESS GRAFT TRUNK
219460 LIPECTOMY SUCTION ASSIST U.E.
215120 MEATOTOMY EXCEPT INFANT/SEP PR
218775 VASECTOMY UNI/BILATERAL
218945 EPIDIDYMECTOMY; UNILATERAL
218997 ADULT CIRCUMCISION
2190017 BIOPSY OF PROSTATE
2190026 CYSTOURETHROSCOPY W/BIOPSY
2190028 CYSTOSCOPY AND TX
2190034 EXCISION LOC.LESION EPDIDYMIS
2190047 CYSTOURETEROSCOPY AND OR PYEIO
2190069 REMOVAL EPIDIDYMIS LESION
2190078 REMOVAL OF BLADDER STONE
2190132 CYSTO W/URETER STRICTURE DIL
2190232 CIRCUMCISION W/REGIONAL BLOCK
2190263 REMOVAL OF TESTES
2190287 INCISE AND DRAIN BLADDER
219055 EXC LESION SPERMATIC CORD

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

17,003.77
16,989.03
16,968.68
16,936.44
16,778.71
16,775.54
16,671.07
16,660.42
16,622.13
16,587.31
16,485.03
16,468.63
16,384.15
16,260.61
16,131.12
16,082.45
16,072.37
15,876.77
15,855.50
15,751.03
15,635.09
15,635.09
15,635.09
15,635.09
15,597.43
15,512.01
15,424.21
15,362.97
15,257.72
15,161.43
15,161.43
15,006.05
15,006.05
15,006.05
15,006.05
15,006.05
15,006.05
15,006.05
15,006.05
15,006.05
15,006.05
15,006.05
15,006.05
15,006.05
15,006.05
15,006.05
15,006.05



219207 PARTIAL ORCHIECTOMY
219219 PROSTATE SATURATION SAMPLING
219233 SLITTING OF PREPUCE
219242 CYSTOSCOPY HYDRODISTENTION
219254 DRAINAGE OF SCROTUM
219256 REMOVAL OF SCROTUM
219258 CYSTOSCOPY REMOVAL LESIONS
219265 EXC HYDROCELE SPERM CORD UNILA
219412 DRAIN BLADDER W/CATH INSERTION
219438 REMOVAL FOREIGN BODY SCROTUM
219464 LYSIS PENILE CIRCUMIC LESION
219552 CYSTOSCOPY AND TREATMENT
219564 CHEMODENERVATION BLADDER
219597 INCISE BLADDER/DRAINAGE
219720 CYSTOSCOPY TREATMENT
219735 CYSTOSCOPY AND TREATMENT
219855 REVISION OF URETHRA
219994 TREATMENT OF URETHA LESION
222746 BLADDER CYSTOSCOPY URETEROSCOP
217585 REINSERT SPINAL FIXATION
219764 DSTR NULYT AGNT GNCLR NERVE
219602 L VENTRIC PACING LEAD
221054 INTRODUCTION OF CATHETER AORTA
213155 REPAIR/GRAFT OF TIB

2190077 SUTURE OF SMALL INTESTINES
211530 RECONSTRUCTION OF HIP SOCKET
211895 TX INTERTROH FX W/WO IMPL
214765 KNEE ARTHROSCOPY

2190016 FLAP GRAFT OF EAR
219725 COLECTOMY- PARTIAL
215700 REPAIR SPINAL FLUID LEAK
219281 HYSTEROSCOPE PROCEDURE

2190036 PARTIAL HYSTERECTOMY
211610 INC OF HIP BONE

2190123 WEDGE BIOPSY OF LIVER
219040 REPAIR HERNIA WITH MESH
213525 REMOVAL OF FOOT NERVE
213530 DECOMP OF TIB NERVE
215610 STIMULATION OF SPINAL CORD
215985 DEST NEURO-CERV/THOR SINGLE
215995 DEST LUMB/SACRAL SINGLE
216025 NEUROPLASTY HAND/FOOT NERVE
216030 NEUROPLASTY MAJ PERIPH-ARM/LEG
216055 NEURO/TRANSPOSE ULNAR ELBOW NE
216060 NEURO/TRANSPOSE ULNAR WRIST NE
216065 NEURO/TRANSPOSE MEDIAN CARPAL
216070 DECOMPRESSION UNSPECIF. NERVE

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

15,006.05
15,006.05
15,006.05
15,006.05
15,006.05
15,006.05
15,006.05
15,006.05
15,006.05
15,006.05
15,006.05
15,006.05
15,006.05
15,006.05
15,006.05
15,006.05
15,006.05
15,006.05
15,006.05
14,997.81
14,828.45
14,815.77
14,815.77
14,677.48
14,663.78
14,648.33
14,598.55
14,571.12
14,569.41
14,562.77
14,470.31
14,430.37
14,415.97
14,338.06
14,240.53
14,230.35
14,072.17
14,072.17
14,072.17
14,072.17
14,072.17
14,072.17
14,072.17
14,072.17
14,072.17
14,072.17
14,072.17



216075 DECOMP/PLANTAR DIGITAL NERVE
216090 INCISION OF INFRAORBITAL NERVE
216110 INCISION FACIAL NERVE
216155 INCISION EXTRADURAL CRANIAL NE
216160 INCISION EXTRADURAL SPINAL NER
216165 EXCISION NEUROMA-SURG. IDENTIF
216180 EXCISION NEUROMA-HAND/FOOT
216220 BIOPSY OF NERVE
2190170 REMOVAL NEUROSTIM ELECTRODE
219404 REVISION OF SCIATIC NERVE
219695 REVISE FINGER/TOE NERVE
2190041 REPAIR OF STOMACH LESION
2190273 SINUS ENDOSCOPY W/CONCHA BULLO
213470 LEG/ANKLE SURGERY PROCEDURE
217590 REMOVE SPINE FIXATION DEVICE
212515 SPLIT GRAFT TRUNK 100 SQ CM
217570 INSERT ANTER SPINE FIX 4-7 SEG
219506 COLECTOMY PARTIAL W/COLOSTOMY
211875 OPEN TX FEM FX PROX END W/FIX
212650 OPEN TIB BICONDYLAR W/WO FIXAT
219777 SMALL BOWEL ENDOSCOPY
210006 GRAFT SKIN FULL SCLP/ARM/LEG
212495 CMPLCTD 2ND CLOSE SX WND/DEHIS
212500 ADJ TISS TRF OTHR 10 CM/LESS
212940 FULL GRAFT SCLP ARM/LEG FREE
212945 FULL THICK GRAFT 20 SQ CM OR L
212950 FORMTN FLAP HEAD/GENIT/HND/FT
213065 EXPLR WOUND ABD/FLANK/BACK
216435 SKIN TISSUE REARRANGEMT/ARM/LG
217180 REMOVAL FASCIA FOR GRAFT/INCIS
218740 ADJ TISS TRF OTHER 10.1-30.0SC
2190064 ADJ TISS TRF OTHER 10.1-30SQCM
2190080 ADJ TISS TRF OTHER <10.0 SQCM
2190087 LASER SURGERY PENIS
2190113 REVISION OF LOWER EYALIDS
2190114 ADJ TISSUE TRF, HEAD/ARM <10SC
2190117 REVISION OF UPPER EYELID
2190118 SKIN TISSUE REARRANGEMENT
2190127 DESTROY VULVA LESION
2190134 REMOVAL OF FORHEAD WRINKLES
2190198 WOUND PREP TRUNK/ARM/LEG
2190201 APPLICATION SKIN XENOGRAFT
2190211 DESTRUCTION PENIS LESION
2190224 APPLY ACELLULAR EXOGRAFT
2190225 DESTRUCTION VULVA LESIONS
2190274 ACELLULAR DERMAL ALLOGRAFT
219216 ADJACENT TISSUE TRANSFER, TRUN

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

14,072.17
14,072.17
14,072.17
14,072.17
14,072.17
14,072.17
14,072.17
14,072.17
14,072.17
14,072.17
14,072.17
14,060.67
13,931.99
13,794.26
13,721.09
13,627.79
13,587.30
13,550.48
13,460.77
13,448.74
13,432.58
13,360.40
13,360.40
13,360.40
13,360.40
13,360.40
13,360.40
13,360.40
13,360.40
13,360.40
13,360.40
13,360.40
13,360.40
13,360.40
13,360.40
13,360.40
13,360.40
13,360.40
13,360.40
13,360.40
13,360.40
13,360.40
13,360.40
13,360.40
13,360.40
13,360.40
13,360.40



219234 ELECTRODESICATION LESION ANUS

219239 DESTRUCTION LESIONS PENIS

219291 GRAFT COMPOSITE

219294 TRANSFER SKIN PEDICLE FLAP

219299 APPLY SKIN ALLOGRAFT

219488 HARVEST CUTLURED SKIN GRAFT

219669 REMOVE SUTURES DIFF SURGEON

219945 SKIN GRAFT/EYELID/EAR/NOSE/LIP

219995 FORMTN FLAP EYELID/NS/EAR/LIP

219596 RELOCATION SKIN POCKET FOR IMP

219632 RELOCATION OF SKIN POCKET PCMK

213930 CORR BUNION W/IMPLANT

219405 EXC DRAINAGE RECTAL ABSCESS

217600 REM SPINE FIX DEV POSTERIOR
2190288 LUMBAR ARTIFICIAL DISC REPLACE

219268 LAMINOPLASTY CERVICAL

219568 OSTEOTOMY POST SPINE EA ADDTL

213920 CORR BUNION SIMPL EXOSTEC

213040 RECONST ANDKLE JT TOTAL
2190059 PARTIAL REMOVAL OF BLADDER
2190074 ESOPHAGUS ENDOSCOPY & LIGATION
2190129 OPERATION UPPER GI ENDOSCOPY
2190145 ESOPH ENDOSCOPY W/DILATION
2190161 UPPER GI ENDOSCOPY W/DILATION
2190230 PLACE GASTROSTOMY TUBE

219109 PEG TUBE INSERTION

219223 ESOPHAGEAL ENDOSCOPY, DILATION

219244 SMALL BOWL ENDOSCOPY

219313 ENDOSCOPIC BX ILEUM

219335 UPPER GI ENDOSCOPY W/REM LES

219338 EGD BALLOON DIL ESO 30MM

219342 EGD LESION ABLATION

219362 ESOPHAGOSCOPY RIGID DIAG

219400 ESOPHAGUS ENDO DILATION

219452 EGD US FINE NEEDLE BX/ASP

219688 SMALL BOWEL ENDOSCOPY BIOPSY

219890 EGD WITH BX SINGLE/MULTIPLE

219925 ESOPHAGUS ENDOSCOPY

219955 UGI ENDO W/REMOVAL TUMOR/POLYP

219991 UPPER ENDOSCOPY W/BAND LIGATIO

217605 REM SPINE FIX DEV ANTERIOR

219604 CRANIAL STEREOTATIC NAVIGATION

211540 PARTIAL HIP REPLACE

219924 DEBRIDEMENT OF ABD WALL

215395 LAM W/ RHIZOTOMY ONE/TWO SEGME

213100 REALIGNMENT OF LOWER LEG

210950 THYROIDECTOMY W/SUBSTERNAL DIS

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

13,360.40
13,360.40
13,360.40
13,360.40
13,360.40
13,360.40
13,360.40
13,360.40
13,360.40
13,360.40
13,360.40
13,353.03
13,315.52
13,284.31
13,269.85
13,269.85
13,269.85
13,210.63
13,146.95
13,030.06
12,794.50
12,794.50
12,794.50
12,794.50
12,794.50
12,794.50
12,794.50
12,794.50
12,794.50
12,794.50
12,794.50
12,794.50
12,794.50
12,794.50
12,794.50
12,794.50
12,794.50
12,794.50
12,794.50
12,794.50
12,788.39
12,761.76
12,723.11
12,650.36
12,516.08
12,381.00
12,336.57



215705 REPAIR SPINAL FLUID LEAK/PSEUD
217480 SPINE FUSION EXTRA SEGMNT POST
217492 LUMBAR FUSION POSTLAT ADTL SEG
2190229 PARTIAL REMOVAL OF COLON
219444 SALPINGECTOMY
2190184 EXP/INCISION PARATHYROID GLAND
219267 MYOMECTOMY ABD APPROACH INPT
219553 REPAIR OF ESOPHAGUS
219666 REPAIR BLOOD VESSEL LESION
219125 ABDOMEN WOUND EXPLORATION
219319 EXC FOREARM LESION 3CM>
219318 EXC SHOULDER LESION 3CM>
219282 REMOVE NAIL BED/DISTAL PHALANX
219031 LIGATION OF VAS DEFERENS
219316 THORACOTOMY WITH EXPLORATION
217602 INSJ BIOMECH DEV VRT CORP DEF
210009 EXC H-F-NK-SP B9 MARG 0.5<
210016 EXC ABD LESION SC< 3 CM
210024 EXC FACE-MM MALIG+MARG 3.1-4.0
210025 REMOVAL HAND LESION SUBQ
210030 REMOVAL HAND LESION DEEP
210535 REMOVE FOREIGNBODY-COMPLICATED
210540 | & D HEMATOMA/FLUID
210845 DEBRIDEMENT TISSUE/MUSC/BONE
211085 EXC BEN LES TRUNK 3.1CM-4.0CM
211090 EXC BEN LESION OVER 4.0 CM
211200 EXC BEN LESION SCALP NECK <.5C
211205 EXC BEN LESION 1.1 TO 2.0 CM
211360 BS SOFT TISSUES SUPERF
212075 BX THIGH SOFT TISSUE SUPERFICI
212085 REM THIGH LESION SUBQ
212800 BIOPSY LOWER LEG SOFT TISSUE
212815 REM LWR LEG LESION SUBQ
213115 BIOPSY MUSCLE SUPERFICIAL
213125 BIOPSY MUSCLE PERC NEEDLE
213130 BIOPSY BONE TROCR/NDL SUPERFIC
213135 BIOPSY BONE TROCR/NDL DEEP
213380 REM FB MUSC/TENDON SIMPLE
213570 EXC FOOT LESION SUBCUT
213785 REM FOOT FB DEEP
216455 REM OF SUPPORT IMPLANT SUPERF
216520 EXCISION ARM/ELBOW LESION SUBQ
216660 REMOVAL FB UPPER ARM/ELB SUBQ
217105 BX FOREARM/WRIST S.TISSUE SPFC
217280 EXC TUMR SFT TISSUE BACK/FLANK
217660 BIOPSY SHLDR TISSUES SUPERFICI
217670 REMOVAL SHLDR TISSUE SUBCUT

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

12,335.36
12,213.06
12,213.06
12,193.12
12,161.80
12,102.11
12,102.11
12,102.11
12,102.11
12,101.92
12,068.74
12,068.70
12,017.63
12,007.48
11,942.87
11,934.69
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24



218130 DRAINAGE UPPER ARM/ELBW ABSCES

218135 DRAINAGE UPPER ARM BURSA
218155 BX ARM/ELBOW SOFT TISSUE SUPER
218165 REM FOREARM LESION SUBQ
218170 REM FOREARM LESION DEEP
218655 BONE MARROW BIOPSY
218670 REMOVAL TUMOR SFT TISS NECK/TH
218815 EXC BEN LESION 3.1-4.0 CM
2190038 EXC MAL LESION HEAD 2.1-3.0 CM
2190045 BIOPSY OF NECK AND CHEST
2190063 MG BX BREAST 1ST LESION
2190067 GEN ANES-CLEAN EXT. EAR CANAL
2190083 BIOPSY OF PENIS
2190178 TEMPORAL ARTERY BX
2190190 EXC MAL LESION 3.1-4.0 CM
2190194 INCISION OF BREAST LESION
2190209 EXC H,F,NK, SP MLG+MARG 2.1-3
219118 BONE MARROW ASP DX (NOT SPINES
219170 EXC BEN LESION FACE 2.1 -3CM
219209 EXCISION SOFT TISSUE FACE 2CM<
219215 EXC MAL LESION >4CM TRUNK/ARMS
219227 EXC FACE LES SC <2CM
219247 BIOPSY OF BREAST
219251 BIOPSY SOFT TISSUE BACK-SPRFCL
219288 EXCISION 3CM> LESION AXILLA
219309 DRAINAGE EXT EAR ABSCESS COMPL
219315 EXC BEN LESION 2.1-3.0 CM
219409 REMOVAL OF FOREIGN BODY FOOT
219418 IMAGE GUIDED DRAINAGE PERITONE
219427 DRAIN ABSCESS SCROTAL WALL
219465 BIOPSY LIVER NEEDLE PERCT
219482 EXC HAND LESION
219523 UG BX RIGHT BREAST 1ST LESION
219524 MAGNETIC BX BREAST 1ST LESION
219526 UG BX LEFT BREAST 1ST LESION
219642 DIAGNOSTIC BONE MARROW BX/ASP
219765 EXC BEN LESION FACE 3.1-4.0CM
219835 BX FLOOR OF MOUTH
219915 EXCISION MASS OF FOOT
219980 BX SOFT TISSUE BACK/FLANK-DEEP
470624 NEEDLE BIOPSY, LYMPH NODE
219746 REMOVAL IPLANT FROM FINGER
2190010 LARYNOSCOPY/BIOPSY VOCAL CORD
2190086 NASL/SINUS ENDOSCOPY
2190158 NASAL/SINUS ENDOSCOPY
219321 BRONCHOSCOPY W/BX
219492 BRONCHOSCOPY

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,864.24
11,863.25
11,810.68
11,810.68
11,810.68
11,810.68
11,810.68



2195523 DX BRONCHOSCOPE/BRUSH
2195524 BRONCHOSCOPY, CLEAR AIRWAYS
219610 DX BRONCHOSCOPY W/LAVAGE
219841 LARYNGOSCOPY WITH MICROSCOPE
219899 LARYGOSCOPY
219922 BRONCHOSCOPE & THORACOTOMY
216900 PERC TRMT HUM FX W/MAN
219753 OPEN TX FEMORAL FX DISTAL END
211965 FUSION OF SACROILIAC JOINT
219420 SUTURE LARGE INTESTINE
219840 REVISE ESOPHAGUS AND STOMACH
219655 EXCISION EXCESS SKIN/SQ TISSUE
213035 RECONST ANKLE JNT W/IMPLANT
210005 EXP/TRT HAND IP JNT
210065 TX CLSD FX RAD/ULNA W/MANIPUL
210085 TX CLSD FX DIST RAD W/MANIPULA
210120 CLSD CARPAL FX W/MANIPULATION
210325 DECOMPRES FASCIOTOMY PERCUT
210335 INCISE FINGER TENDON SHEATH
210340 INC OF FINGER TENDON
210385 REVISE SYNOVECT IP JNT EA
210390 TENDON EXC PALM/FINGER
210395 REMOVE TENDON SHEATH LESION
210405 REMOVAL OF FINGER TENDON
210415 REMOVE HAND BONE LESION
210425 REM FNGRLESION DIST PHALANGE
210570 REPAIR HAND TENDON
210590 REPAIR FINGER TENDON
210610 REPAIR FINGER TENDON
210655 INC OF FINGER TENDON
210795 RELEASE FINGER CONTCTURE
210915 REPAIR OF WEB FINGER
211015 CLSD TX CMC FX THUMB W/MANIP
211135 CLSD ARTIC FX MCP IN W/MAN
211955 CLSD HIP FX/DISL W/ANESTHESIA
211960 MANIP OF HIP JNT
212560 CLSD FEM W/MANIP W/WO TRACTION
212705 FIXATION OF KNEE JNT
213205 TX TIB FX W/MANIP W/WO TRACTIO
213245 CLSD FIB FX W/MANIPULATION
213275 CLSD TX ANKLE FX W/MANIP
213310 CLSD DIST TIB FX W/TRAC & MANI
213355 CLD ANK DISL W. ANES W/WO FIX
213480 TX FOOT INF 1 BURSA SPACE
213505 INC OF TOE TENDONS
213520 EXPLORATION OF TOE JNT
213620 REMOVAL OF FOOT LESION

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

11,810.68
11,810.68
11,810.68
11,810.68
11,810.68
11,810.68
11,740.79
11,689.49
11,682.53
11,480.84
11,443.28
11,369.54
11,359.77
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09



213635 REMOVAL OF FOOT LESION
213640 REMOVAL OF TOE LESIONS
213675 REMOVAL OF TOE LESIONS
213840 INC OF TOE TENDON
213880 RELEASE OF MIDFOOT JNT
213890 RELEASE OF TOE JNT EACH
214755 WRIST ENDOSCOPY
214760 KNEE ARTHROSCOPY
216480 REM BONE FIXATION W/ANESTHESIA
216675 MANIP OF ELBOW WITH ANES
216850 TREAT HUMERUS FX W/MANIPULATIO
216870 CLDS HUMERUS FX W/MANIPULATION
216915 CLSD TX HUM CONDYLAR FX W/MANI
216945 TX CLOS ELB DISLOC W/ANESTHESI
216955 TX CLSD MONTEGGIA FXS W/MANIPU
216975 TX CLSD RADUS FX W/MANIPULATIO
216995 TX CLSD ULNAR FX W/MANIPULATIO
217055 INC OF TENDON SHEATH-WRIST
217090 DRAINAGE OF FOREARM BURSA
217410 MANIP SPINE W/ANESTHSIA
218030 CLSD HUMERUS FX W/MANIPULATION
218095 FIXATION OF SHLDR UNDER ANESTH
218210 REM TENDON LESION GANGLION
218215 REM TENDON LESION RECURRENT
218230 EXCISE WRIST TENDON SHEATH
218615 TX CLSD FX RADIUS W/MANIPULATI
219123 BUTTOCK FASCIOTOMY W/DEBRIDE
219143 INCISION FOOT TENDON
219653 INCISION OF FOOT TENDON
219657 REVISION OF FOOT TENDON
219802 MANIPULATE FINGER W/ANESTH
211355 EXC OF HIP INT/MUSC
212575 OPEN FEM SHAFT W/IMPLANT
2190025 ADJ TISS TRF ANY AREA >30SQCM
2190280 1&D ABSCESS POSTERIOR SPINE
2190173 THORACOSCOPY, SUGRICAL WITH PL
2190020 TYMPANOSTOMY
2190167 EXCISION OF NASAL POLYP
2190245 BIOPSY EXTERNAL EAR CANAL
2190257 DILATION SALIVARY DUCT
2190262 TREATMENT NOSE FX
2190267 ABLATION TURBINATES
219107 FRONTAL SPHENOID
219322 DRAINAGE OF SALIVARY GLAND
219437 LAVAGE BY CANNULATION SPHENOID
219569 TRACHEOSTOMY EMERGENCY PROCEDU
219577 INCISE INNER EAR

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,328.09
11,327.56
11,307.08
11,236.09
11,176.78
11,165.93
11,146.67
11,032.76
11,032.76
11,032.76
11,032.76
11,032.76
11,032.76
11,032.76
11,032.76
11,032.76
11,032.76
11,032.76



219588 INSERTION NASAL SEPTAL PROTHES
219926 BX ROOF OF MOUTH
219135 REPAIR BOWEL-SKIN FISTULA
211995 PELVIS/HIP JNT SURGERY
2190206 MUSCLE SKIN GRAFT HEAD/NECK
218885 BONE MARROW COLLECTION
2190278 HARVEST STEM CELLS
211340 DRAINAGE OF HIP JNT
219536 RESECTION OF SMALL INT EACH AD
2190283 REPAIR ABD WALL
219643 INDUCTION NEEDLE/CATH EXT ARTE
213420 AMP OF LOWER LEG
219522 ENTERECTOMY RESECTION SMALL IN
212645 OPEN FIB FX UNICON W/WO FIXATI
214990 REPAIR BLOOD VESSEL LESION
2190030 EXPLORATION BEHIND ABD
219324 EXPLORATORY LAP CELIOTOMY
217595 APPLY SPINE PROSTH DEVICE
217830 REM SHLDR FB COMPL
211335 INC OF HIP/THIGH FASCIA
219916 ANT/POSTERIOR SPINAL FUSION
217555 INSERT POSTR SPNE FIX DEV 7-12
222300 OR LEVEL 3 - FIRST 30 MIN
219838 PERCUT VERTEBRAL AUGMENT-THORA
215295 TRANSPEDICULAR DECOMP-EACH ADD
212660 OPEN INTRACON KNEE FX W/WO FIX
218685 ENTEROLYSIS (FREE BOWEL ADHSN)
212745 UNLISTED PROCEDURE FEMUR/KNEE
210050 TX CLSD ULNA W MANIPULATION
218625 TUBE THORACOSTOMY
218650 PICC LINE PLACEMENT
218651 PICC INSERTION
219303 REPAIR CVA
212715 AMP THIGH THRU FEM ANY LEVEL
11873 CANCELLATION FEE AFTER PROCEDU
2190066 EXC MAL LESION 2.1-3.0CM
2190061 EXC MAL LESION 3.1-4.0 CM
219466 BILE TRACT SURGERY
218730 REPAIR OF HIATAL HERNIA-OPEN
217450 ADD SPINAL FUSION ANTERIOR
213440 AMP FOLLOW-UP SURGERY
2190219 MOBILIZATION OF COLON
219022 REOPENING OF ABD
219368 BOWEL TO BOWEL FUSION
219369 INCISION OF LARGE BOWEL
219617 INCIS 1 VERTEBRAL SEG LUMBAR
219618 INCIS ADDTL SPINE SEGMENT

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

11,032.76
11,032.76
10,978.08
10,874.15
10,802.53
10,755.88
10,755.88
10,725.15
10,669.67
10,450.58
10,380.34
10,349.01
10,330.75
10,299.86
10,236.59
10,230.47
10,106.41
10,000.07
9,957.51
9,950.95
9,879.35
9,832.45
9,815.78
9,713.38
9,586.92
9,530.48
9,522.32
9,497.41
9,457.22
9,433.00
9,433.00
9,433.00
9,433.00
9,289.39
9,263.61
9,246.16
9,243.63
9,162.29
9,080.38
9,005.94
8,996.96
8,996.96
8,996.96
8,996.96
8,996.96
8,996.96
8,996.96



219984 EXP AND EVAC POSTOP HEMATOMA 360 8,996.96

216000 DESTR NEURO LUMB/SACRAL EACH 360 8,961.33
219981 DRAIN ABD ABSCESS 360 8,912.53
216510 REPAIR BOWEL OPENING W/RESECTN 360 8,877.54
219487 DERM AUTOGRAFT HEAD,FACE,NECK 360 8,865.50
2190156 OPEN DRAINAGE LIVER LESION 360 8,766.67
217490 LUM SPINE FUSION EXTRA SEGMENT 360 8,753.35
219681 INSERTION INTRA-AORTIC BALLOON 360 8,702.64
2190139 EXPLORE ABD VESSELS 360 8,608.90
2147780 TOTAL ANKLE REPLACEMENT 360 8,516.04
212015 CMPLX CLOS TRNK 2.6-7.5CM 360 8,508.91
216485 REMOVAL OF SUTURES UNDER ANEST 360 8,482.83
218710 ANOSCOPY WITH DILATION 360 8,451.09
218985 REMOVAL HEMORRHOID CLOT 360 8,451.09
2190124 COLONOSCOPY / COMNTROL BLEEDIN 360 8,451.09
2190188 DESTRUCTION OF INT HEMORRHOIDS 360 8,451.09
219190 COLONOSCOPY THRU STOMA W/BIOP 360 8,451.09
219230 COLONOSCOPY WITH BIOPSY 360 8,451.09
219286 ANOSCOPY AND BIOPSY 360 8,451.09
219327 COLONOSCOPY SUBMUCOUS INJ 360 8,451.09
219391 COLONOSCOPY W/DECOMPRESSION 360 8,451.09
219408 SIGMOIDOSCOPY W/TUMOR REMOVAL 360 8,451.09
219416 FLEX SIGMOIDOSCOPY W/BAND LIGA 360 8,451.09
219419 COLONSCOPY ABLATION TUMOR/POLY 360 8,451.09
219426 COLONOSCOPY FLEX DIAG COLLECTI 360 8,451.09
219450 REMOVE RECTAL OBSTRUCTION 360 8,451.09
219505 COLONSCOPY W/EXC BY SNARE 360 8,451.09
219510 COLONOSCOPY W/REMOVAL SNARE 360 8,451.09
219545 COLONOSCOPY W/REMOVAL LESION 360 8,451.09
219546 FLEXIBLE SIGMOIDOSCOPY DIAGNOS 360 8,451.09
219583 COLONOSCOPY POLYPECTOMY STOMA 360 8,451.09
219659 REMOVAL OF RECTAL MARKER 360 8,451.09
219663 COLONOSCOPY W/FB REMOVAL 360 8,451.09
219687 COLONOSCOPY ENDO MUCOSAL RESEC 360 8,451.09
210370 REL PALM W/REL EA ADD DIGIT 360 8,318.00
212735 AMP THIGH THRU FEM ANY LVL REA 360 8,275.18
212265 CMPLX EYE/NOSE/LIPS 1.0 OR LES 360 8,139.56
215315 DISCECTOMY CERVICAL-EACH ADDIT 360 8,137.43
219336 IMPLANTATION OF BIOLOGIC IMP 360 8,076.48
219387 C MOTOR EVOKED UPR LWR LIMBS 360 7,873.19
219385 REPAIR AND REVISE NERVE ADDON 360 7,840.30
219636 EA ADDTL THOR/LUM VERTEBRAL BO 360 7,811.08
21900631 BX BREAST ADDTL LESION US IMAG 360 7,761.36
219351 REM IMP TOOTH W/ MUCOPER FLP 360 7,755.78
215822 ANEST.BRACHIAL PLEXUS, SINGLE 360 7,718.19
217275 MUSCULOSKELETAL SX UNLISTED 360 7,628.86

2190164 ANOSCOPY CONTROL BLEEDING 360 7,628.86



219900 UROLOGY SURGERY PROSTATE
108783 BIOLOX DELTA FEM HEAD 36MM+3.5
218865 AUTOTRANSPLANT PARATHYROID
211290 HAND/FINGER SURGERY

219789 TAP BLOCK UNIL BY INJECTION
219792 TAP BLOCK BI INJECTION

219344 REMOVAL PROSTHETIC MAT ABD WAL

219259 EXCISION OF EYELID LESION
21900630 STEREOTACTIC BREAST BX EA ADDT

2190115 PERCUTANEOUS KYPHOPLASTY-LUMBA

213050 INCIS ABSCESS DEEP/COMPLICATED
221050 INS CATH ABD/EXT ARTEERY 1ST
210013 INJ PARAVERT FJNT L/S 1 LVL
210022 INJ PARAVERT F JNT C/T 1 LEVEL
215775 INJ AXILLARY NERVE BLOCK

215790 INJ INTERCOSTAL NERV BLK-MULTI
215845 INJECT TRANS CERVICAL/THORACIC
215855 INJECT TRANS LUMBAR/SACRAL
215875 INJ SYMPATHETIC-STELLATE GANGL
215880 INJ SYMPATHETIC-LUMB/THORACIC
216010 DEST NEURO AGENT OTH PERIPHERA
218940 PERC LYSIS EPIDURAL ADHESIONS
219612 N BLOCK INJ HYPOGASTRIC PLEXUS
550055 EPID INJ NEURO SUBST-CERV/THOR
550060 EPID INJ NEURO SUBST-LUMB/SACR
210023 OPERATIVE UPPER Gl ENDOSCOPY

214645 ESOPHAGOSCOPY RIG/FLEX/DX W/WO

218994 ESOPHAGOGASTRODUODE
219004 DILATE ESOPHAGUS
2190054 OPERATIVE UPPER GI ENDOS
2190108 UPPER GI ENDOSCOPY/GUIDE WIRE
2190131 UPPER GI ENDOSCOPY
219240 UPPER GI ENDOSCOPY W/BIOPSY
219274 ABD PARACENTESIS
219411 ESOPHAGUS SURGERY PROCEDURE
219454 PERITONEAL LAVAGE W/GUIDANCE
219480 ILEOSCOPY THROUGH STOMA
219647 REPLACE G/C TUBE PERC
219677 UPPER GI SCOPE W/SUBMUC INJ
219905 UNLISTED STOMACH SURGERY
2190112 DRAIN PILONIDAL CYST-COMPLICAT
2190033 COLON CA. SCRN NOT HIGH R ISK
2190081 INCISION OF ANAL ABCESS
2190084 PROCTOSIGMOIDOSCOPY
2190085 LIGATION OF HEMORRHOIDS
2190089 COLOOSCOPY THROUGH STOMA
2190105 SIGMOIDOSCOPY AND BIOPSY

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

7,524.17
7,481.25
7,405.07
7,009.22
7,003.93
7,003.93
6,969.98
6,963.20
6,934.21
6,763.05
6,756.61
6,688.01
6,597.06
6,597.06
6,597.06
6,597.06
6,597.06
6,597.06
6,597.06
6,597.06
6,597.06
6,597.06
6,597.06
6,597.06
6,597.06
6,568.69
6,568.69
6,568.69
6,568.69
6,568.69
6,568.69
6,568.69
6,568.69
6,568.69
6,568.69
6,568.69
6,568.69
6,568.69
6,568.69
6,568.69
6,550.63
6,424.98
6,424.98
6,424.98
6,424.98
6,424.98
6,424.98



2190111 COLORECTAL SCREENING HIGH RISK
219225 COLONOSCOPY, DIAGNOSTIC
219257 ANOSCOPY
219355 COLORECTAL CANCER SCREENING
219358 CA SCREENING FLEXIBLE SIGMOID
219501 ENDO EVAL SMALL INTESTINE
219544 COLONOSCOPY THRU STOMA
219551 SIGMOIDOSCOPY AND POLYPECTOMY
219555 SIGMOIDOSCOPY FLEXIBLE
219662 SIGMOIDOSCOPY W SUBMUC INJ
219882 UNLISTED ANAL/RECTAL PROCEDURE
219686 ILIAC REVASC ADD ON
219712 OPEN/PERQ STENT EACH ADDITIONA
215630 REV/REM NEURO ELECT/PLATE/PADD

2160242 BIOPSY OF SALIVARY GLAND
219518 GUIDE CATHETER FLUID DRAINAGE
215325 DISCECTOMY THORACIC-EACH ADDIT
215335 VERTEBRAL CORP-CERVICAL-EACH A
217545 INSERT SPINE FIX DEVICE-INTRNL
213070 EXPLR PENTETRAT WOUND EXTREM
219414 MYELOGRAPHY LUMBAR INJ
219728 MYELOGRAPHY LUMBAR INJECTION
219729 MYELOGRAPHY LUMBER INJECTION
219626 SEL CATH PLCMINT ARTERIAL LOWER
216080 DECOMP/INTERNAL NEUROLYSIS
219445 UNLISTED VASCULAR PROCEDURE

2190250 ADTL NECK SPINE FUSION

2190021 INSERTION MESH/PELVIC

2190103 VISUALIZATION OF WINDPIPE

2190104 AIRWAYS SURGICAL PROCEEDURE
219500 REMOVAL TUNNELED CV CATH
211115 OPEN TX PLAHALNGEAL FX W/WO TR

2190351 INSERT EPI CARTD ELECTRODE END
215240 LAMINOTOMY DECOMP-LUMB/CERV EA
219705 INJ EXT VENOGRAPHY
219133 SKIN SUB GRAFT ADDTL
211080 EXC BEN LESION 2.1-3.0CM
218675 EXC BEN LESION 0.6-1.0 CM

2190011 EXC MALIGNANT LESION NOSE

2190013 EXC OF MALIG LESION

2190254 EXC MAL LESION 0.5CM OR LESS

2190265 EXC H,F,NK,SP MALIG MARG .6-1
219150 EXC MAL LESION 1.1-2.0CM
219270 EXC BEN LESION FACE 1.1-2 CM
219605 EXC MAL LESION HEAD 1.1-2.0CM
219766 SI JOINT INJECTION
219781 NJX AA & STRD GNCLR NRV BRANCH

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

6,424.98
6,424.98
6,424.98
6,424.98
6,424.98
6,424.98
6,424.98
6,424.98
6,424.98
6,424.98
6,424.98
6,415.33
6,415.33
6,393.70
6,240.51
6,240.51
6,203.65
6,203.65
6,203.65
6,061.50
5,966.63
5,966.63
5,966.63
5,818.10
5,782.66
5,731.72
5,682.81
5,680.95
5,642.81
5,642.81
5,581.69
5,581.36
5,559.40
5,543.61
5,467.18
5,462.98
5,445.14
5,445.14
5,445.14
5,445.14
5,445.14
5,445.14
5,445.14
5,445.14
5,445.14
5,391.32
5,391.05



218875 TREATMENT OF COLLAPSED LUNG
219050 REMOVAL CVA - PORT
219317 ASPIRATE PLEURA W/IMAGING
219917 REMOVAL CHEST TUBE
210990 CLSD TX MC FX W/MANIPULATION
222200 OR LEVEL 2 - FIRST 30 MIN

2199901 CYSTOSCOPY
211750 REPAIR INTRMED WOUND 7.6-12.5C
211840 REPAIR INTMD WND FACE 2.6-5CM
211495 INJ SI JOINT W/ARTHROGRAPHY
215160 EPIDURAL INJECTION-BLOOD PATCH
215765 INJ CERVICAL PLEXUS NERVE BLOC
215795 INJ ILIOINGUINAL NERVE BLOCK
215810 INJ SCIATIC SINGLE NERVE BLOCK
215815 INJ FEMORAL SINGLE NERVE BLOCK
215820 INJ OTH PERIPHERAL NERVE BLOCK
218640 INJ SI JOINT W OR W/O ARTHRO
219537 NJX INTERLAMINAR CERV/THOR
219538 NJX INTERLAMINAR LUMBOSACRAL
219542 NJX INTERLAMINAR LUMBAR/SACRAL
219594 INJECTION INTERLAMINAR W/O IMA
219609 ARTHROCENTESIS INTERMED JNT/BU
550035 DIAGNOSTIC SPINAL PUNCTURE-LUM
550040 THERAP SPINAL PUNCT-DRAIN CSF
215175 INJ SINGLE SUBSTANCE-CERV/THOR
215180 INJ SINGLE SUBSTANCE-LUMB/SACR
217300 REMOVE EXTRA SPINE SEGMENT
218645 ARTHRO LOOSE BODY + CONDRO
210565 DEBRIDEMENT/REMOV FOREIGN MATR
211065 EXC BEN LESION 0.5CM OR LESS
211075 EXC BEN LESION EXC 1.1-2.0CM
213780 REM FOOT FB SUBQ
215665 ASPIR/INJECT TX BONE CYST
218870 EXC BEN LESION FACE <.5CM
218900 EXC BEN LESION FACE 0.6-1.0CM

2190073 DRAINAGE PILONIDOL CYST SIMPLE

2190143 DRAINAGE EXTERNAL EAR

2190180 US GUIDE CYST ASP RIGHT BREAST

2190181 US GUIDE CYST ASP LEFT BREAST

2190251 EXC MAL LESION 0.6-1.0 CM
219126 INTERDISCAL PERQ ASP DIAGNOSTI
219217 1&D EXT AUDITORY CANAL ABSCESS
219479 ASPIRATION HYDROCELE TUNICA VA
219527 US GUIDE PLACE LOC DEVICE BILA
219528 US GUIDE PLACE LOC DEVICE RIGH
219529 US GUIDE PLACE LOC DEV LEFT
219613 PERQ DEVICE BREAST 1ST IMAGING

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

5,347.85
5,347.85
5,347.85
5,347.85
5,342.33
5,340.19
5,327.49
5,202.34
5,195.67
5,164.98
5,164.98
5,164.98
5,164.98
5,164.98
5,164.98
5,164.98
5,164.98
5,164.98
5,164.98
5,164.98
5,164.98
5,164.98
5,164.98
5,164.98
5,149.47
5,149.47
5,085.90
5,085.90
4,997.04
4,997.04
4,997.04
4,997.04
4,997.04
4,997.04
4,997.04
4,997.04
4,997.04
4,997.04
4,997.04
4,997.04
4,997.04
4,997.04
4,997.04
4,997.04
4,997.04
4,997.04
4,997.04



219615 ASP/INJ RENAL CYST/PELVIS
219667 FNA BX W/CT GDN 1ST LESION
219810 BX OF NAIL BED
219543 ENDOCERVICAL CURETTAGE
219906 EXAM UNDER ANTHESIA
219935 LESION REMOVAL COLONSCOPY
219756 CORRECT METACARPAL FLAW
219132 DEB BONE ADD
218630 MICROSURGICAL TECHNIQUE
210007 LESION SKIN SHAVE 0.6-1.0CM
210008 ANOSCOPY DIAGNOSTIC
210018 SHAVE SKIN LESION <0.5
210280 REMOVE FOREIGN BODY SIMPLE
210285 DRAINAGE FINGER ABSC SIMPLE
210545 PUNCTURE ASPIR/ABSCESS,CYST,
211060 REMOVAL OF SKIN TAGS 15 OR <
211145 CLSD DISTAL PHALANGEAL FX WO
211225 REMOVAL NAIL PLATE SNGL SMPL
211580 EXC WEDGE OF NAIL FOLD
211725 SIMPLE REPAIR SCLP/TRNK <2.5CM
211735 TX WOUND DEHISCENCE W/PACK
211810 REPAIR INTMD WOUND 2.6-7.5CM
211835 REPAIR INTMD WND FACE <2.5CM
211845 REPAIR INTMD WND FACE 5.1-7.5C
212970 DES FLAT WARTS TO 14 LESIONS
213045 INCIS ABSCESS SUPERFICIAL
213535 INJ TENDON/LIGAMENT/CYST
213545 INJ TRIGGER POINT 1-2 MUSC GRP
213550 INJ TRIGGER POINT 3 + MUSC
213565 INJ ARTHRO MAIJOR JOINT
214125 CLSD TX MT FX W/MANIPULATION
214145 CLSD GT TOE FX W/MANIPULATION
214165 CLSD FX PHALANX EX GT TOE W
214595 REMOVAL/REVISION OF CAST
214600 REMOVAL/REVISION OF CAST
215760 INJ SPINAL ACCESSORY NERV BLOC
217265 ELECTRIC STIM BONE HEAL NONINV
218125 SHLD SURGERY PROCEDURE UNLISTD
218695 INJ SI JINT ARTHR ANES/STEROID
218745 REPAIR WOUND TRUNK 7.6-12.5CM
2190027 CONTROL OF NOSEBLEED
2190119 DESTRUCTION OF LESION
2190130 SHAVE SKIN LESION 0.6CM-1.0CM
2190135 INJ SQ MAT (COLLAGEN) >10.0CC
2190166 ENDOCERVICAL CURETTAGE W/SCOPE
2190171 DEBRIDEMENT SKIN PARTIAL THICK
2190213 EXC TR, EXT MLG+MARG 1.1-2 CM

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

4,997.04
4,997.04
4,997.04
4,813.33
4,813.33
4,796.02
4,721.81
4,695.32
4,650.75
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45



2190215 BX EXTERNAL EAR 360 4,644.45

2190238 CHANGE OF BLADDER TUBE 360 4,644.45
2190244 DEBRIDEMENT MASTOID CAVITY 360 4,644.45
2190255 INJECTION THERAPY VIEN 360 4,644.45
2190285 REPAIR WOUND FACE 7.6-12.5CM 360 4,644.45
219104 ENDOSCOPIC SINUS SURGERY 360 4,644.45
219196 INJECTION SPIDER VEINS 360 4,644.45
219201 CHEMICAL PEEL FACE EPIDERM 360 4,644.45
219218 REMOVAL FOREIGN BODY EYE 360 4,644.45
219226 SHAVE SKIN LESION 360 4,644.45
219229 DEBRIDEMENT GENATALIA/PERINEUM 360 4,644.45
219236 1&D VULVA/PERINEUM 360 4,644.45
219263 BIOPSY LIP 360 4,644.45
219266 DRAINAGE GUM LESION 360 4,644.45
219271 INJECTION PLATELET RICH PLASMA 360 4,644.45
219272 INJ INTRALESIONAL >7 360 4,644.45
219276 SURGICAL REMOVAL TEETH 360 4,644.45
219283 CONTROL OF NOSEBLEED 360 4,644.45
219307 DIAGNOSTIC LARYNGOSCOPY 360 4,644.45
219330 INJ PROCEDURE SENTINEL NODE 360 4,644.45
219374 DESTRUCTION MALIGNANT LESION 360 4,644.45
219406 TX METATARSAL FX 360 4,644.45
219422 REMOVAL OF IUD 360 4,644.45
219436 LAVAGE BY CANNULATION MAXILLAR 360 4,644.45
219449 ARTHRO ASPIR&INJ MAJOR JT BURS 360 4,644.45
219451 REMOVAL OF FOREIGN BODY EYE 360 4,644.45
219462 RESET DISLOCATED JAW 360 4,644.45
219496 DESTRUCTION PREMALIGNANT LESIO 360 4,644.45
219502 REPAIR EAR,EYE,NOSE,FACE<2.5CM 360 4,644.45
219503 REPAIR EAR,EYE,NOSE 2.5-5.0CM 360 4,644.45
219504 REPAIR EAR,EYE,NOSE 5.1-7.5CM 360 4,644.45
219515 1&D ABSCESS SIMPLE OR SINGLE 360 4,644.45
219531 DECLOT VASCULAR DEVICE 360 4,644.45
219535 DRESSINGS/DEBRIDEMENT BURN 360 4,644.45
219566 REP LAC TONGUE, FLOOR OF MOUTH 360 4,644.45
219578 INCISION OF EARDRUM 360 4,644.45
219589 REMOVAL IMPACETED CERUMEN 360 4,644.45
219590 INSERT TEMP BLADDER CATH 360 4,644.45
219592 INCISE EXTERNAL HEMORRHOID 360 4,644.45
219679 TREATMENT OF HUMERUS FRACTURE 360 4,644.45
219682 CLOSED TX DISTAL PHAL FX W/MAN 360 4,644.45
219692 N BLCOK INJ PLANTAR DIGIT 360 4,644.45
219716 N BLOCK SPENOPALATINE GANGLION 360 4,644.45
219717 INCAL BX SKIN SINGLE LESION 360 4,644.45
219726 INJ TENDON ORIGIN/INSERTION 360 4,644.45
219727 INJ W/FLUORO EVAL CV CATH 360 4,644.45

219775 DEBRIDEMENT OF NAILS >6 360 4,644.45



219830 BLADDER IRRIGATION
219885 NEG PRESS WOUND TX < 50 CM
219902 DRAINAGE PERITONITIS
219910 DIFFICULT INTUBATION CART & SC
219983 COMPLEX FOLEY INSERTION
550125 ELECTRONIC ANALYSIS W/O REPROG
453305 DRAIN/INJ JOINT/BURSA
211805 REPAIR INTMD WOUNDS 2.5CM/LESS
214360 FOOT/TOES SURGERY PROCEDURE
217215 SPINAL BONE AUTOGRAFT BI/TRICO
2190042 INJECTION FOR SACROLIOC JOINT
219678 CARDIOVERSION ELECTRIC INT
215990 DEST NEURO CERV/THOR EACH
550340 DEST NEURO-CERV/THOR EACH ADDI
2190076 TONGUE & MOUTH SURGERY
217210 SPINAL BONE AUTOGRAFT MORSELIZ
212270 COMPLX EYE/NOSE/LIP 1.1-2.5CM
219486 BX TONGUE ANTERIOR
212997 DRAINAGE ABSCESS INTRAORAL
2190035 LOC./TOPICAL ANES-TYMPANOSTOMY
2190196 CLEAN OUT MASTOID CAVITY
2190264 DRAINAGE MOUTH LESION
2190281 BIOPSY LESION OF MOUTH
219820 OTOLARYNGOLOGIC EXAM GEN ANEST
210555 DEBRIDE INFECTED SKIN TO 10%
211570 REPAIR OF NAIL BED
211730 TX DEHISCENCE WOUND SIMPLE
212010 CMPLX CLOS TRNK 1.1-2.5 CM
212025 CMPLX SCLP ARM/LEG 1.1-2.5 CM
212030 CMPLX SCLP ARM/LEG 2.6-7.5 CM
212255 CMPLX FACE/OTHER 2.6 - 7.5 CM
212275 CMPLX EYE/NOSE/LIP 2.6-7.5 CM
218715 MOHS MICROGRAPH 1ST STAGE 5
2190138 DEBRIDE TISSUE/MUSCLE
2190192 INJ SQ MAT(COLLAGEN)1.1-5.0CC
2190218 DEBRIDE SKIN
2190243 CHEMICAL PEEL FACIAL
2190275 SURGICAL PREP WOUND SITE
219323 INTMD RPR N-HF/GENIT7.6-12.5CM
222100 OR LEVEL 1 - FIRST 30 MIN
215165 INJECTION FOR DISCOGRAPHY-LUMB
215860 INJECT TRANS LUM/SACRAL EACH
210980 HIP CORE RECOMPRESSION/NON MC
219658 LAP MOBIL SPLENIC FL ADD-ON
219386 SOMATOSENSORY TESTING
211745 REPAIR INTMD WOUND 2.6 -7.5CM
218855 1&D ABSCESS MULTI/COMPLICATED

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,644.45
4,643.62
4,596.11
4,575.31
4,548.10
4,541.20
4,429.83
4,429.83
4,371.94
4,353.16
4,318.96
4,278.98
4,201.70
4,201.70
4,201.70
4,201.70
4,201.70
4,201.70
4,165.13
4,165.13
4,165.13
4,165.13
4,165.13
4,165.13
4,165.13
4,165.13
4,165.13
4,165.13
4,165.13
4,165.13
4,165.13
4,165.13
4,165.13
4,117.14
4,114.49
4,114.49
4,068.72
3,937.07
3,926.89
3,880.23
3,832.66



2190259 BIOPSY VULVA/PERINEUM
4189 NERVE MONITORING BY BIOTRONIX
219353 INSERTION OF IUD
213350 CLSD ANK DISL WO ANESTHSIA
211555 REMOVAL NAIL & MATRIX PERM
211070 EXC BEN LESION TRUNK .06-1. CM
217200 SPINAL BONE ALLOGRAFT STRCT

219232 DEBRIDE GENATALIA/PERINEUM/ABD

211740 REPAIR INTRM WOUNDS 2.5CM OR >

219713 PLACE CATHETER IN VEIN

219909 ENDOSCOPE SINUS SURGERY

210835 DEBRIDEMENT SKIN/SQ TISSUE

221045 INS CATH ABD/L-EXT ART ADDL
2190189 DIAGNOSTIC LARYNGOSCOPY

215745 INJ GREATER OCCIPITAL NERV BLK

219621 TX OF ANKLE FX

215260 LAMINOTOMY DECOMP-LUMB EA ADDI

214505 APPL OF LONG LEG CAST
218790 BIOPSY SKIN LESION-SINGLE

215910 INPLT PERCUT NEUROSTIM-MUSCULA

550085 ESI CERV/THORACIC
550090 ESI LUM/SAC
219520 INTRO NEEDLE INTRA CATH
2190068 THORACENTESIS FOR ASPIRATION
4186 BIO-CRKSCRW FIBERCHAIN ANCHOR
2190222 NEG PRESS WND TX <= 50 SQ CM
212250 CMPLX FACE/OTHER 1.1-2.5 CM
2190221 NEG PRESS WOUND TX >50CM
214445 APPLY LONG ARM SPLINT
210019 INJ PARAVERT F JNT C/T 3 LEVEL
210021 INJ PARAVERT F JNT C/T 2 LEVEL
210014 INJ PARAVERT FJNT L/S 2 LVL
210017 INJ PARAVERT FJNT L/S 3 LVL
2190172 BIOPSY SKIN ADD-ON
217620 ABDOMEN SX PROCEDURE-UNLISTED
5549 NERVE MONITORING 1ST HR BIOTRO
2190082 SKIN TISSUE PROCEDURE UNLISTED
219375 BIOPSY LIVER NEEDLE W/MAJ PROC
213555 DRAIN/INJ JNT/BURSA
215830 INJ PARAV FACET CERV/THOR EACH
215840 INJ PARAVERT FACET LUM/SAC EA
219671 DEB SUBQ TISSUE ADD ON
215170 INJECTION FOR DISCOGRAPHY-THOR
215185 INJ CONTIN/INTERM-LUMB/SACRAL
217270 ELECTRIC BONE STIM INVASIVE
214420 APPL OF SHLD CAST
214525 APPLY SHORT LEG CAST

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

3,818.79
3,814.42
3,801.18
3,741.01
3,718.70
3,674.57
3,589.69
3,556.64
3,537.24
3,505.29
3,491.46
3,344.51
3,344.00
3,333.72
3,326.96
3,317.46
3,285.31
3,185.49
3,116.04
3,051.55
2,966.77
2,966.77
2,937.72
2,804.54
2,776.93
2,755.91
2,709.07
2,709.07
2,694.17
2,644.69
2,631.96
2,590.16
2,542.95
2,403.06
2,382.72
2,225.09
2,202.23
2,156.42
2,134.62
2,133.66
2,133.66
2,083.89
2,080.14
2,080.14
2,064.88
2,031.97
2,031.97



214530 APPLY SHORT LEG CAST
214535 APPLY SHORT LEG CAST
219383 GENITAL SURGERY
215825 INJ PARAVERT FACET CERV/THOR
215835 INJ PARAVERT FACET LUM/SAC
217610 SPINE SX PROCEDURE-UNLISTED
219473 DEBRIDEMENT ADDITIONAL
5551 NERVE MONITORING PER HOUR 175.
2190199 LAP BAND ADJUSTMENT
4266 DRILL, OBLIQUE
212260 CMPLX FACE/OTHER ADDL 5 CM
219348 SALIVARY SURGICAL PROCEDURE
219367 DENTAL SURGERY
219469 LARYNX SURGERY PROCEDURE
219815 ACCESSORY SINUS UNLISTED PRCDR
219845 UNLISTED PROCEDURE LARYNX
218725 ABLATION TUMOR/LESION COLON
2190023 FINE NEEDLE ASP/IMAGE GUIDANCE
222415 OR LEVEL 4 - EAADD'L 15 MIN
8219515 I&D ABSCESS SIMPLE OR SINGLE
437013 NEG PRESSURE WOUND THERAPY
217195 SPINAL BONE ALLOGRAFT MORSELIZ
217205 SPINAL BONE AUTOGRAFT SAME INC
221040 OCCLUSIVE DEVICE IN VEIN/ART
4185 ARTHROWAND, SMALL JOINT
218705 GRAFT FULL THICK FREE ADD 20SQ
2190057 CHANGE IN GASTROSTOMY TUBE
222315 OR LEVEL 3 - EAADD'L 15 MIN
550470 TEST ESI
2190204 EXC, ADDTL BREAST LESION
219554 NEEDLE ELECTROMYOGRAPHY
214435 APPLY HAND/WRIST CAST
214560 APPL LOWER LEG SPLINT
214575 STRAPPING ANKLE
212020 CMPLX CLOS TRNK EA ADD 5 CM
8219503 REPAIR EAR,EYE,NOSE 2.5-5.0CM
8219504 REPAIR EAR,EYE,NOSE 5.1-7.5CM
219875 SKIN FULL GRAFT ADD'L 20SQCM
4141 KNIFE LT CARPAL TUNNEL KNIFE
219241 ASST SURG NAVIGATION IMAGE
222215 OR LEVEL 2 - EACH ADD 15 MIN
219129 PLACE PERM PACING CARDIOVERT
222115 OR LEVEL 1 - EAADD'L 15 MIN
2190159 NEUROSTIM ANALYSIS

550370 NEUROSTIM COMPLX PROG-1ST HOUR

211490 INJ FOR HIP X-RAY
214450 APPLY HAND/FOREARM SPLINT STAT

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360

2,031.97
2,031.97
1,996.09
1,981.08
1,981.08
1,941.50
1,914.91
1,907.21
1,907.21
1,863.09
1,806.32
1,778.04
1,778.04
1,778.04
1,778.04
1,778.04
1,744.56
1,537.27
1,525.80
1,521.96
1,521.96
1,462.20
1,462.20
1,393.34
1,352.79
1,288.56
1,286.72
1,271.47
1,210.92
1,206.65
1,172.63
1,161.16
1,161.16
1,161.16
1,151.04
1,146.93
1,146.93
1,144.37
1,144.37
1,140.21
1,089.87
1,072.87
1,029.28
1,013.83
1,013.83

942.62

918.44



214455 APPLY HAND/FOREARM SPLINT DYNA

214480 STRAPPING OF SHLD

219474 CLEAR OUTER EAR CANAL W/O ANES

219785 MONITORING OF SPINE STIMULATOR

215125 BONE MARROW ASPIRATION

219880 REPAIR CMPLX 5CM ARM/LEG/SCALP

219497 DESTR PREMALIGNANT LESION 2-14

210830 DEBRIDEMENT SKIN FULL THICKNSS

219970 FUL/THK GRAFT/FREE/DIRCLSR ADD

221048 SEL CATH PLCMNT ARTERIAL SYS

219238 SKIN GRAFT EACH ADDTL

3868 T5 ZIPPER TOGA WIH PEEL

200012 REMOVAL IMPACTED CERUMEN
2190097 IRRIGATION IMPLANTED VENOUS

214590 APPL OF FOOT SPLINT

219298 AVULSION NAIL, EACH ADDTL
2190197 BONE MARROW ASPIRATE AND BX

3866 REMORAL CANAL PRESSURIZER

370005 ANS.SUPPLIES MAC,LOC,SPIN,BLK

480241 CT GUIDED LIVER BIOPSY

480601 CT-RETROPERITONEAL DRAINAGE

480650 CT-PANCREAS,NDL BX

480900 RENAL BIOPSY PERCUTANEOUS

453280 PICC INSERTION

453285 PICC CATH PLACEMT>AGE 5

470630 US-PARACENTESIS INT

470625 US-THORACENTESIS

451550 INJ SI JOINT W OR W/O ARTHRO

470623 ASP/INJ THYROID CYST

460299 PERCT AUTO VAC ASST BIOPSY MR

453310 XR-JOINT,MED,INJ/ASP

451545 INJ FOR MYELOGRAPHY/TOMOGRAPHY

219193 BIOPSY UTERINE LINING

481112 XR-CATH & CONTRAST HYSTERO

470900 US-CATH & SALINE HYSTERO

450040 INJ - ARTHROGRAM HIP

453112 DIAGNOSTIC SINOGRAM

450030 INJ ARTHROGRAM SHOULDER

450050 INJ - ARTHROGRAM KNEE

450035 INJ - ARTHROGRAM WRIST

450031 INJ FOR ARTHRO ELBOW

450580 X-RAY HUMERUS 2+ VIEWS

214666 TREATMENT ROOM CHARGE

215823 ANEST.FEMORAL NERVE, SINGLE

215814 ANEST.THORACIC SPIN & CORD

215813 ANET.MAJOR VESSELS OF NECK

215821 ANEST.NON INVASIVE IMAGE/RAD

360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
360
361
361
361
361
361
361
361
361
361
361
361
361
361
361
361
361
361
361
361
361
361
361
361
361
370
370
370
370

918.44
918.44
918.44
918.44
829.01
788.33
750.59
691.67
656.97
646.45
637.99
539.11
482.16
482.16
461.01
398.61
356.02
277.18
242.19
13,880.51
13,880.51
13,880.51
13,880.51
11,036.10
11,036.10
7,685.00
6,256.68
6,042.74
5,846.27
3,418.26
2,497.39
2,232.37
1,674.45
1,651.94
1,651.94
1,198.38
977.82
842.59
764.59
738.59
728.18
628.68
495.35
6,042.74
1,931.90
1,486.06
1,040.26



215819 ANEST.VASCULAR SHUNT/REVISION

215811 ANEST FOR ACC.CENT.VENOUS CIR.

215816 ANEST.COLPOTOMY,VAG,COLPORRHAP

215817 ANEST.HIP ARTHROSCOPIC

215818 ANEST. CLOSED HUMERAL HEAD/NEC
3700083 UMBILLICAL HERNIA REPAIR

215812 ANEST PROCEDURES ON VEINS
3700000 AN-ANESTH-1ST HOUR FOR GENERAL
3700001 ANEST. FOR SPINAL/EPID 1ST HR
3700005 ANESTH- GENERAL ADDITIONAL 15

470008 LEVEL 1 LOCAL ANES ADD 15 MIN

470088 LEVEL 3 GEN ANES ADD 15 MIN

301955 TRANSFUSION BLOOD

300660 PLATELET PHERESIS

300904 BLOOD PRODUCT WBC

300505 ANTIBODY ID

300540 ANTIGEN TYPE

300635 REF ANTIBODY PANEL

300990 RED CELL ANTIGEN NOT ABO/RH(D)

300610 RED BLOOD CELLS LR

300510 ANTIBODY ELUTION ACID

300511 COMPATABILITY TEST

300515 CROSSMATCH ABO

300525 CROSSMATCH, SALINE REPLACEMENT

300570 FFP, THAW & SETUP PER UNIT

300890 RED BLOOD CELLS

300485 ABO BLOOD TYPING

300595 FRESH FROZEN PLASMA

300490 ANTIBODY SCREEN, RBC

300495 ANTIBODY SCREEN

300480 RH TYPE

300550 RH PHENOTYPE

300645 DIFFERENTIAL ABSORPTION

301952 BLOOD PRODUCT/IRRADIATED

300585 BLOOD COMPONENT MANAGEMENT

219745 BLOOD TRANSFUSION SERVICE

301950 TRANSFUSION BLOOD/COMPONENTS

8664 PROMOD, PROTEIN SUPPLEMENT

219448 ULTRASOUND, TRANSRECTAL

480334 CT SCAN LUNG CANCER SCREENING

219722 MAMMARY DUCTOGRAM SINGLE DUCT

219723 MAMMARY DUCTOGRAM MULT DUCTS

219721 BREAST INJECTION

479050 3D MAMMOGRAM DIAGNOSTIC

479052 MAMMOGRAM DIAGNOSTIC DIGITAL

479053 MAMMOGRAM DIAGNOSTIC

470005 US-TRANSCATH THER,EBOL

370
370
370
370
370
370
370
370
370
370
370
370
381
390
390
390
390
390
390
390
390
390
390
390
390
390
390
390
390
390
390
390
390
390
390
391
391
399
400
400
401
401
401
401
401
401
402

891.66
594.42
594.42
594.42
594.42
594.42
445.8
364.11
343.29
215.35

0

0
1,337.46
4,907.37
3,591.78
2,767.22
2,767.22
2,767.22
2,767.22
1,864.66
1,460.51
1,460.51
1,460.51
1,460.51
1,460.51
1,451.69
1,074.51
721.83
514.45
514.45
324.13
324.13
324.13
288.33
173.27
3,863.94
3,863.94
371.37
1,135.37
128.37
2,326.63
2,326.63
1,319.63
738.99
619.57
483.55
19,637.84



470316 US-PROSTATE BX W/O IMAGING
219424 ULTRA GUIDE LIVER CYST ASP
470111 BIOPSY OF LIVER US GUIDE
470660 TUBE THORACOSTOMY

470664 TREAT PLEURODESIS W AGENT
470622 BIOPSY THYROID,PER CORE
480612 FINE NEEDLE ASP ADDTL LESION
470015 US-GUIDE,PERC CATH PLCMT
470572 SECOND SUBSEQUENT VEINS
470901 US-SONOHYSTEROGRAM KIT
470525 US-ARTERIAL UPPER/WBI
470505 US-ARTERIAL LOWER/ABI

44700 ECHOCARDIOGRAPHY TRANSTHORACIC

44702 LIMITED ELECTROCARDIOGRAPH
470165 US-OB<14 WKS, DETAILED
470480 US-DUPLX,CAROTID,BILATERL
470510 US-DUPLX,LWR EXT,BILATERL
470550 US-DUPLX,EXT VEINS,COMPLT
470575 US-ABDOMINAL AORTA
470999 DOPPLER RENAL ARTERY
470919 US GUID VASCULAR ACCESS
470710 US-BX,NECK,SFT TISSUE
470515 US-ARTERIAL LOWER UNILAT
470555 US-VENOUS RT LWR
470556 US-VENOUS LT LWR
470557 US-VENOUS RT UPPR
470558 US-VENOUS LT UPPR

44701 DOPPLER ECHO COLOR FLOW VELO.

470535 US-ART DOP UP EXT UNILAT
470585 US-ABD AORTA, LIMITED
47150 LIVER ELASTOGRAPHY (FIBROSCAN)
479057 ECHOCARDIOGRAM LEVEL II
470405 US-GUIDE, NDL PLACEMENT
470918 US GUIDED ASP/BIOPSY
470690 US-THORACENTESIS,PROFEE
44704 US ABD AORTA SCREENING
470035 US-THYROID/SOFT TISS,NECK
470045 US-CHEST
470055 US-BREAST UNILAT OR BILAT
470058 US RIGHT BREAST UNILAT
470059 US LEFT BREAST UNILAT
470065 US-ABDOMINAL COMPLETE
470075 US-ABD LTD,SINGLE ORGAN
470085 US-AORTA
470095 US-RETROPERITONEAL,LTD
470105 US-RENAL TRANSPLANT
470125 US-OB<14 WEEKS

402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402

17,556.26
13,880.51
13,880.51
11,036.10
6,256.68
5,846.27
4,721.99
3,853.09
3,449.48
2,446.68
2,405.05
2,334.33
2,326.63
2,326.63
2,326.63
2,326.63
2,326.63
2,326.63
2,326.63
2,055.54
2,027.96
1,835.99
1,654.00
1,597.83
1,597.83
1,597.83
1,597.83
1,473.00
1,452.20
1,433.45
1,371.92
1,371.16
1,366.90
1,301.80
1,183.90
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37



470145 US-OB COMPLETE,SINGLE
470205 US-OB LTD, >=1 FETUS
470224 US TRANSPL KIDNEY W/DOPPLER
470225 US PREG TV
470245 US-FETAL BIOPHYS WO NON
470265 US-TRANSVAGINAL
470285 US-PELVIC COMPLETE
470295 US-PELVIS LIMITED,F/U
470305 US-SCROTUM & CONTENTS
470315 US-TRNS PROSTATE W/ IMAGING
470520 US-DUPLX,LWR EXT,UNILATRL
470800 US PELVIS/TRANSVAG

47151 US LIVER ELASTOGRAPHY

47155 ULTRASOUND OF LIVER
479004 US-THYROID/SOFT TISS,NECK
479005 US LMTD JNT NONVASC XTR STRUCT
479009 US LIMITED RETROPERITONEAL
479056 US NON VASCULAR EXT
479058 ULTRASOUND OF RENAL
470621 FINE NEEDLE ASP/IMAGE GUIDE
470395 US-GUIDANCE,VISCERL
470425 US-NDL GUIDANCE, ASP OVA
470460 US-GUIDANCE, INTRAOPERTV
470120 US OB ADDTL FETUS
470057 US BREAST LIMITED
470061 US RIGHT BREAST LIMITED
470062 US LEFT BREAST LIMITED

220 BLADDER SCAN FOR MEASURING

470620 US-THYROID CORE BX
470325 US-EXTREMITY,NON VASC
470330 US-EXTREMITY, NON-VASCLR
470455 US-GUIDANCE,INTRAOPERTIVE
470020 US-GUIDE, NDL PLACEMENT
470375 US-GUIDE VASC ACCESS
470001 HOLTER MONITOR SET UP
470410 US-NDL GUIDANCE, THORACENT
470605 US-THORACENTESIS TRAY
470000 UTRASOUND NO CHARGE
479054 MAMMOGRAM SCREENING
479051 MAMMOGRAM SCREENING 3D
219264 ASPIRATE PLEURA W/O IMAGING
490050 VENTILATOR MGMT FIRST DAY
490055 VENTILATOR MGMT SUBSEQUENT DAY
490035 MDI SUBSEQUENT
490065 CPAP/BIPAP CONT POS AIRWAY PRE
490070 HEATED AEROSOL TX INITIAL
490075 OXYGEN AEROSOL

402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
402
403
403
410
410
410
410
410
410
410

1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
1,135.37
975.75
911.27
863.41
709.04
630.71
628.68
628.68
628.68
564.1
557.27
503.29
503.29
443.75
430.74
282.33
250.21
247.19
199.24

0
511.13
156.24
6,256.68
5,146.24
5,146.24
1,933.48
1,933.48
1,933.48
1,933.48



490080 NEBULIZER TX INITIAL
490090 AEROSOL TX SUBSEQ. NEBULIZER
490095 NEBULIZER TX SUBSEQUENT
490140 DEMONSTRATION AND EVALUATION
490165 CLEARANCE OF AIRWAYS
490210 VENTILATION PER DAY
490100 SPUTUM INDUCTION
490190 EMERGENCY ROOM CALL OP UC
490195 OXYGEN TRANSPORT
2600 RESP.CONTINOUS INITIAL TX
490034 MAXIMAL VOLUNTARY VENTILATION
490115 CHEST PHYSIOTHERAPY TX
490120 CHEST PHYSIOTHERAPY SUBSEQUENT
2601 RESP ADDITION HOUR CONTINOUS
490010 THER EX RESP MUSCLES - 15MIN
490110 AEROSOL TX SUBSEQUENT
437010 REMOVE DEVITALIZED TISSUE
437011 REMOVE DEVITALIZED TISSUE
437012 RMVL DEVITAL TISSUE/WHIRLPOOL
214570 STRAPPING OF KNEE
9271 PHYSICAL THERAPY 1
215890 NEUROSTIM APPLY SURFACE-TRANSC
4370005 PT NEUROMSC RE-EDUCT
437009 THERAPEUTIC ACTIVITY 1ON 1
4370004 THERAPEUTIC EXERCISE-15 MINS
4370006 THERAPEUTIC GAIT TRAINING
437014 WHIRLPOOL THERAPY
505528 MANUAL THERAPY TECHNIQUE
437006 APPLY MODALITY-IONTOPHORESIS
437017 CPM OTHER THAN KNEE DAILY CHG
437018 CPM KNEE DAILY CHARGE
437008 THERAPEUTIC PROCEDURE 1 OR MOR
550523 UNLISTED THERAPEUTIC PROCEDURE
437005 APPLY MODALITY-ELECTRICAL STIM
437001 APPLY MODALITY-TRACTION(MECH.)
437003 APPL.MODALITY 1 OR MORE AREAS
437002 APPL.MODALITY MORE THAN 1 AREA
437007 APPLY MODALITY-ULTRASOUND
550524 APPLY MODALITY-PARAFFIN BATH
4370003 PT HOT/COLD PACKS
437004 APPL.MODALITY 1 OR MORE AREAS
4370013 PT EVAL HIGH COMPLEXITY
4370012 PHYS THERAPY EVAL MODERATE
4370001 PT EVAL LOW COMPLEXITY
4370002 PHYSICAL THERAPY RE-EVALUATION
4370014 RE EVAL PT
4370016 OT EVAL HIGH COMPLEXITY

410
410
410
410
410
410
410
410
410
410
410
410
410
410
410
410
420
420
420
420
420
420
420
420
420
420
420
420
420
420
420
420
420
420
420
420
420
420
420
420
420
424
424
424
424
424
434

1,933.48
1,933.48
1,933.48
1,933.48
1,933.48
1,933.48
1,460.51
1,371.92
1,371.92
1,074.51
1,074.51
1,074.51
1,074.51
416.12
324.13
208.05
1,780.61
1,780.61
1,780.61
1,074.51
465.47
432.75
275.26
245.82
234.47
203.19
188.7
187.2
176.85
166.44
158.52
145.64
141.17
117.73
104.6
99.88
89.15
83.23
68.32
57.5
33.28
235.73
214.29
193.8
90.4
90.4
303.99



4370015 PT EVAL MODERATE COMPLEXITY
4370007 OCCUPATIONAL THERAPIST EVAL
4370008 SELF CARE MANAGEMENT TRAINING
4370017 RE EVAL OT

214460 APPLY FINGER SPLINT-STATIC
4370011 ORAL FUNCTION THERAPY
4370010 SPEECH HEARING EVAL
4370009 SPEECH SWALLOW EVAL

8211737 NERVE BLOCK INJ
219178 SIMPLE REPAIR SUPERFICIAL WND
8211555 REMOVAL NAIL & MATRIX PERM
8211725 SIMPLE REPAIR SCLP/TRNK <2.5CM
8211730 | & D SKIN ABSCESS
8219502 REPAIR EAR,EYE,NOSE,FACE<2.5CM
920044 SIMPLE REPAIR SCALP CLINIC
8211738 NASAL PACKING
20009 WELLNESS EXAM
8211735 INJECTION
8211736 IRRIGATION OF IMPLANTED VENOUS
99385 WELLNESS EXAM 18-39 YO
99386 WELLNESS EXAM 40-64 YO
920005 CLINIC NEW PATIENT
20000 URGENT CARE NEW PATIENT
20001 URGENT CARE ESTAB. PATIENT
2002 URGENT CARE NEW PT PROF FEE
219803 EST WELLNESS EXAM 18-39 YO
219806 EST WELLNESS EXAM 40-64 YO
28016 NEW WELLNESS EXAM 12-17 YR OL
99383 WELLNESS EXAM 5-11 YRS
99384 WELLNESS EXAM 12-17 YRS
99423 E/M ONLINE DIGITAL EVAL 21-30
9200015 CLINIC ESTAB PT
2007 URGENT CARE NEW PT PROF FEE
920004 CLINIC NEW PATIENT
2006 URGENT CARE NEW PT PROF FEE
2003 URGENT CARE ESTAB. PT PROF FEE
20007 URGENT CARE NEW PATIENT
20014 URGENT CARE ESTAB. PATIENT
2004 URGENT CARE NEW PT PROF FEE
2014 URGENT CARE ESTAB. PT PROF FEE
920003 CLINIC NEW PATIENT
20003 URGENT CARE NEW PATIENT
20013 URGENT CARE ESTAB. PATIENT
9200014 CLINIC ESTAB PT
2013 URGENT CARE ESTAB. PT PROF FEE

434
434
434
434
439
440
444
444
446
448
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456

276.36
251.24
251.24
107.53
564.1
545.64
773
595.27

6,042.74
3,169.46
3,169.46
1,780.61
1,780.61
1,780.61
1,780.61
1,074.51
620.03
602.96
564.1
524.75
524.75
430.66
430.66
430.66
416.12
409.4
409.4
404.36
404.36
404.36
396.51
382.8
374.5
343.29
343.29
336.85
332.87
332.87
312.09
312.09
301.66
301.66
301.66
291.26
280.85



99422 E/M ONLINE DIGITAL EVAL 11-20
920002 CLINIC NEW PATIENT
20004 URGENT CARE NEW PATIENT
20012 URGENT CARE ESTAB. PATIENT
20006 OSTEOPATHIC MANIPULATION 3-4
9200013 CLINIC ESTAB PT
2005 URGENT CARE NEW PT PROF FEE
2012 URGENT CARE ESTAB. PT PROF FEE
920001 CLINIC NEW PATIENT
9200012 CLINIC ESTAB PT
20005 URGENT CARE NEW PATIENT
20011 URGENT CARE ESTAB. PATIENT
2011 URGENT CARE ESTAB. PT PROF FEE
99443 TELEPHONE E/M 21-30 MIN
20008 WOUND CLOSURE W/ADHESIVE
9200011 CLINIC ESTAB PATIENT
92003 NP EXPANDED PHYS FEE
820001 URGENT CARE ESTAB. PATIENT
820007 URGENT CARE NEW PATIENT
28002 CDL PHYSICAL
20122020 VIRTUAL CHECK IN
820003 URGENT CARE NEW PATIENT
820014 URGENT CARE ESTAB. PATIENT
99442 TELEPHONE E/M 11-20 MIN
82015 SELF PAY EXPRESS CARE
99421 E/M ONLINE DIGITAL EVAL 5-10
820004 URGENT CARE NEW PATIENT
820013 URGENT CARE ESTAB. PATIENT
920012 EST PT FOCUSED PHYS FEE
820005 URGENT CARE NEW PATIENT
820012 URGENT CARE ESTAB. PATIENT
20102020 REMOTE EVAL OF RECORDED VIDEO
820011 URGENT CARE ESTAB. PATIENT
99441 TELEPHONE E/M 5-10 MIN
28015 PHYSICAL SPORT/SCHOOL
92002 NP FOCUSED PHYS FEE
490020 PFT SCREEN PRE/POST
490030 PFT SCREEN F/V LOOP
3700043 CARBON DIOXIDE, EXPIRED GAS
490015 PFT SCREEN-BEDSIDE
490130 OXYGEN EQUIPMENT STAND BY
490155 PULSE OX NITE SCREEN
490170 EQUIPMENT SET UP OR CHG
490175 OXYGEN EQUIPMENT CHANGE
490220 PULMONARY ASST 1ST 15MIN
490125 HOME O2 EVALUATION
490215 PULMONARY ASST ADDL 15MIN

456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
456
460
460
460
460
460
460
460
460
460
460
460

271.16
260.07
260.07
260.07
250.06
249.68
249.68
239.27
208.05
208.05
208.05
208.05
208.05
198.31
171.21
166.44
165

160

160
156.04
149.35
145

140
135.59
134.79
132

125

120

115

100

100
94.66

80

66

25

0
2,546.13
2,546.13
1,371.92
1,371.92
1,371.92
1,371.92
1,371.92
1,371.92
178.33
156.04
146.64



490150 PULSE OX MULTIPLE EXERCISES
490145 PULSE OX SPOT CHECK

7955 ANGIOCATH IV IAG 18GA X 1.88IN
219701 ELECTROPHYSIOLOGIC EVAL DEVICE
219691 ELECTROPHYSIOLOGY EVALUATION

219693 ELECTROPHYSIOOLOGY EVALUATION

219331 CARDIOVERSION ELECTRIC EXT
219243 ECHO TRANSESOPHAGEAL

490240 CARDIOPULMONARY RESUSCITATION

219237 ECHO TRANSESOPHAGEAL
219738 VALVE STUDY
6725 12 LEAD EKG CHARGE $83.00

219142 PERC D-E COR REVASC CHRO ADD
219113 OPEN PERQ PLACE STENT 1ST
219401 PRQ CARD REVASC CHRONIC 1 VSL
219250 PRQ CARDIO REVASC MI 1 VSL
219141 R&I HRT ART/VENT ANGIO
219144 RIGHT HEART CATHERIZATION
219179 R&I HRT ART/VENT ANGIO
219402 L HRT ART/GRAFT ANGIO
219676 ILIAC ARTERY CARDIAC CATH
219661 ENDOLUMINAL IVUS OCT 1ST VSL
221059 TRANSCATH STENT CCA W/EPS
219403 DISSOLVE CLOT HEART VESSEL
219177 INJECT SUPRAVALV AORTOGRAPHY
219187 STRESS TEST TRACING ONLY
219273 ECHO TRANSESOPHAGEAL

28001 SCHOOL PHYSICAL EXAM
216430 OMT- ONE OR TWO BODY REGIONS
460353 MRA BILAT CAROTIDS W/WO
460080 MRI ORB/FC/NCK W/O & W
460146 MRI BILAT HIPS WO CONT
460225 MRI ABD W/O & W CONTRAS
460230 MRI BRAIN W W/O
460290 MRI GUIDANCE FOR NEEDLE PLC
737222 MRIJT LE LT W/CONTRAST
460025 MRI JT UE LT W/CONTRAST
460060 MRI JT LE LT W/CONTRAST
460140 MRI LE JNT RT W/ CONTRA
460190 MRI UE JNT RT W/ CONTRA
460351 MRA BILAT CAROTIDS W/
460120 MRI CHEST W&W/O CNTRST
460345 MRI T-SPINE W&W/0 CONT
460320 MRI L-SPINE W&W/O CONTRAST
460170 MRI PELVIS W&W/O CNTRST
460305 MRI C-SPINE W&W/O CNTRST

460352 MRA BILAT CAROTIDS WO CONTRAST

460
460
470
480
480
480
480
480
480
480
480
480
481
481
481
481
481
481
481
481
481
481
481
481
481
482
483
500
530
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610

126.81
18.95
13.43

17,221.61
7,929.60
6,099.68
4,541.20
4,291.05
2,176.28
2,097.24

422.65

0
132,438.74

83,399.36

83,399.36

73,217.76

24,240.92

24,240.92

24,240.92

24,240.92

17,781.60

17,416.68

16,142.45
2,072.88

383.17

2,546.13
5,020.30
47.18
312.09
8,927.44
8,357.27
7,980.78
7,357.16
7,231.82
7,044.59
6,980.63
6,980.63
6,980.63
6,980.63
6,980.63
6,961.35
6,948.86
6,711.69
6,678.41
6,520.28
6,391.29
6,091.71



460075 MRI ORBIT/FC/NCK W/CONT
460030 MRIJT UE LT W/O &W CON
460185 MRI UE JNT RT W&W/O CNT
460291 MR IMAGE GUIDED PLA LOC CLIP
460050 MRI LE LT W/O & W CONTR
460150 MRI LE RT W & W/O CONTR
460153 MRI LT FOOT W/WO
460154 MRI RT FOOT W/WO
460065 MRI JT LE LT W/O & W CN
460135 MRI LE JNT RT W&W/O CNT
460235 MRI BRAIN W/ CONTRAST
460165 MRI ORBIT FACE NECK
460110 MRI ABDOMEN W/O CNTRST
460223 MRCP
460330 MRI L-SPINE W/O
460335 MRI T-SPINE W/CONTRAST
460015 MRI UE LT W/O & W CONTR
460200 MRI UE RT W & W/O CONTR
460325 MRI L-SPINE W/ CONTRAST
460220 MRI ABDOMEN W/CONTRAST
460130 MRI CHEST W/O CONTRAST
460180 MRI PELVIS W/O CONTRAST
460350 MRA HEAD W/ CONTRAST
460310 MRI C-SPINE WITH
70557 MRI BRAIN W/O CONT OPEN INTRCR
75552 GLOBAL MRI HEART/MORPH W/O CON
460240 MRI BRAIN W/O
460355 MRA HEAD W/O (W MRI)
460356 ONLY MRA HEAD
460045 MRI LE LT W/CONTRAST
460155 MRI LE RT W/ CONTRAST
460315 MRI C-SPINE W/O
460316 MRI C-SPINE LIMITED VIEWS
460010 MRI UE LT W/CONTRAST
460205 MRI UE RT W/ CONTRAST
460020 MRI JT UE LT W/O CONTRA
460195 MRI UE JNT RT W/O CONT
460323 MRI RT WRIST WO
460324 MRI LT WRIST WO
460326 MRI RT ELBOW WO
460327 MRI LT ELBOW WO
460444 MRI LT SHOULDER WO
460555 MRI RT SHOULDER WO
460040 MRI LE LT W/O CONTRAST
460055 MRI JT LE WO CONT
460145 MRI JT LE RT WO
460160 MRI LE RT W/O CONTRAST

610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610

5,885.73
5,852.44
5,852.44
5,846.27
5,752.58
5,752.58
5,752.58
5,752.58
5,650.65
5,650.65
5,592.38
5,544.52
5,452.99
5,452.99
5,296.96
5,296.96
5,259.50
5,259.50
5,230.37
5,163.80
5,159.64
5,159.64
5,120.11
5,024.41
5,020.30
4,913.94
4,872.54
4,649.90
4,649.90
4,539.65
4,539.65
4,523.01
4,523.01
4,246.29
4,246.29
4,044.48
4,044.48
4,044.48
4,044.48
4,044.48
4,044.48
4,044.48
4,044.48
3,990.42
3,990.42
3,990.42
3,990.42



460222 MRIRT FOOT WO
460333 MRI LT FOOT WO
460400 MRI LT HIP WO
460411 MRI LT KNEE WO
460422 MRI LT ANKLE WO
460433 MRI RT ANKLE WO
460511 MRI RT KNEE WO
460612 MRI LT FEMUR WO
460666 MRI LT LOWER LEG
460712 MRI RT FEMUR WO
460777 MRI RT LOWER LEG
460500 MRIRT HIP WO
70543 MRI ORB/FC/NCK W/O & W
70552 MRI BRAIN W/ CONTRAST
70553 MRI BRAIN W&W/O CNTRST
72142 MRI C-SPINE W/ CONTRAST
72149 MRI L-SPINE W/ CONTRAST
72156 MRI CSPINE W&W/O CNTRST
72157 MRI T-SPINE W&W/0 CONT
72158 MRI LSPINE W&W/O CNTRST
72197 MRI PELVIS W&W/O CNTRST
732192 MRI UE LT W/CONTRAST
732201 MRI UE RT W & W/O CONTR
732202 MRI UE LT W/O & W CONTR
732231 MRI UE JNT RT W&W/O CNT
732232 MRIJT UE LT W/O &W CON
737191 MRI LE RT W/ CONTRAST
737192 MRI LE LT W/CONTRAST
737202 MRI LE LT W/O & W CONTR
74182 MRI ABDOMEN W/CONTRAST
74183 MRI ABD W/O & W CONTRAS
737252 MRA LOWER EXTREMITY, W OR W/O
460035 MRA UE LT W & W/O CONTR
460105 MRA UE RT W & W/O CONTR
460365 MRI TMJ
460005 MRI UE LT W/O CONTRAST
460008 MRI RT HAND
460009 MRI LT HAND
460210 MRI UE RT W/O CONTRAST
460328 MRI RT FOREARM WO
460329 MRI LT FOREARM WO
460331 MRI RT HUMERUS WO
460332 MRI LT HUMERUS WO
70540 MRI ORBIT FACE NECK
70544 MRA HEAD W/O CONTRAST
70551 MRI BRAIN W/O CONTRAST
71550 MRI CHEST W/O CONTRAST

610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610

3,990.42
3,990.42
3,990.42
3,990.42
3,990.42
3,990.42
3,990.42
3,990.42
3,990.42
3,990.42
3,990.42
3,990.24
3,894.02
3,894.02
3,894.02
3,894.02
3,894.02
3,894.02
3,894.02
3,894.02
3,894.02
3,894.02
3,894.02
3,894.02
3,894.02
3,894.02
3,894.02
3,894.02
3,894.02
3,894.02
3,894.02
3,894.02
3,834.07
3,834.07
3,764.71
3,563.88
3,563.88
3,563.88
3,563.88
3,563.88
3,563.88
3,563.88
3,563.88
2,326.63
2,326.63
2,326.63
2,326.63



72141 MRI C-SPINE W/O CNTRST

72146 MRI T-SPINE W/O CONTRAS

72148 MRI L-SPINE W/O CNTRST

72195 MRI PELVIS W/O CONTRAST
732181 MRI UE RT W/O CONTRAST
732182 MRI UE LT W/O CONTRAST
732211 MRI UE JNT RT W/O CONT
732212 MRIJT UE LT W/O CONTRA
737181 MRI LE RT W/O CONTRAST
737182 MRI LE LT W/O CONTRAST
737211 MRI LE JNT RT W/O CNTRS
737212 MRI LT LE JT WO CONT

74181 MRI ABDOMEN W/O CNTRST
460340 MRI T-SPINE W/O

70559 MRI BRAIN W/W/0 CONT OPEN INCR
460123 MR-SAG/COR MULT 3D
460280 MRI BREAST BILATERAL
460281 MRI BREAST W/O CONTRAST
460282 MRI BREAST W AND W/O
460070 MRA LT LE W OR WO CONTRAST
460095 MRA LE RT W & W/O CONTR
460227 MRA RUNOFF
460221 MRA CHEST W/WO (NONCARDIAC)
460226 MRA ABDOMEN WITH & WITHOUT
460228 MRA PELVIS W/ & W/O CONTRAST
601612 digoxin immune fab
610925 ONABOTULINUM TOXIN A
601503 DAPTOmycin
601664 bupivacaine liposomal 1.3% 20M
600675 INSULIN GLARGINE 10ML VIAL
600674 INSULIN ASPART
600676 INSULIN LISP & LISP PROT
601632 HUMALOG 50/50 10ML VIAL
601584 micafungin sodium
600589 GLUCAGON (HUMAN RECOMBINANT)
601306 OMNISCAN 20CC
600907 NEOSTIGMINE METHYL10MG/10ML(1M
610782 ISOVUE 370 100CC
601602 ropivacaine 0.2%
600273 cefTRIAXone sodium
600677 insulin lispro 3ML VIAL
600410 DICYCLOMINE 20MG/2ML AMP
601559 dorzolamide/timolol
600748 LIDOCAINE HCL 4% 50ML
601502 IRON SUCROSE 100MG/5ML VIAL
601187 SULFACETAMIDE SODIUM 10% 15ML
601337 IOHEXOL 240MGI/1ML 10ML

610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
610
614
614
614
616
616
618
618
618
618
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636

2,326.63
2,326.63
2,326.63
2,326.63
2,326.63
2,326.63
2,326.63
2,326.63
2,326.63
2,326.63
2,326.63
2,326.63
2,326.63
2,326.63
2,035.81
1,250.38
7,706.16
2,484.00
2,484.00
4,115.23
4,115.23
12,497.57
4,267.10
4,267.10
4,267.10
38,146.87
5,946.21
4,163.03
3,395.67
2,679.72
2,273.18
2,264.49
2,264.49
2,016.48
2,010.90
1,110.00
1,064.87
1,054.14
876.89
821.43
730.26
615.01
606.46
553.21
539.17
500.08
469.51



90653 HIGH DOSE FLU VACCINE
6000041 TETANU-DIPHT-A.PERT 0.5ML
6000973 SUPREP BOWEL PREP KIT
601504 IOHEXOL 240MGI/1ML 50ML
600678 insulin NPH human recomb 3ML
600679 INSULIN NPH-REG 70/30 3ML VIAL
600680 INSULIN REGULAR HUMAN 3ML VIAL
601029 pneumococcal 23 vaccine
601439 CEFEPIME HCL 2GM VIAL
600170 BETAMETHASONE ACET & SOD PHOS

601257 TRIMETHOBENZAMIDE HCL200MG/2ML

600128 ATROPINE SULFATE 0.4MG/ML 20ML
601560 BRIMONIDINE 0.2% OPHTH 5ML

601016 PHYTONADIONE AMP 10MG/1ML AMP

600823 methylPREDNISolone 4MG 21 CT
601545 OXACILLIN 2GM VIAL
600454 DOLASETRON MESYLATE 12.5MG SYR
601181 SUCCINYLCHOLINE 100MG/5ML SYR
601078 PROCHLORPERAZINE 10MG/2ML VIAL
601315 DIAZEPAM 10MG/2ML SYR
600152 eye stream purified water
600479 ENOXAPARIN 120MG/0.8ML SYRG
600478 ENOXAPARIN 40MG/0.4ML SYRG
600830 methylPREDNISolone sod succ
600794 meperidine hcl PCA
601310 MORPHINE SULF PCA 1IMG/ML 30ML
601330 HYDROmorphone PCA 1IMG/ML 30ML
600480 ENOXAPARIN 100MG/1ML SYRG
600824 methylPREDNISolone acetate 80M
601223 TIMOLOL MALEATE 0.5% 5ML
600723 LEVOFLOXACIN/D5W IVPB
600026 ACYCLOVIR SODIUM 500MG VIAL
610832 INFLUENZA VACCINE 2015-2016
600724 LEVOFLOXACIN/D5W 750MG/150ML
600093 AMPICILLIN-SULBACTAM 3GM
601005 PHENYLEPHRINE HCL 10MG/ML 1ML
600481 ENOXAPARIN 80MG/0.8ML SYRG
600267 CEFOXITIN 1GM VIAL

6000158 OLANZAPINE 5MG TAB
600089 AMPICILLIN SODIUM
600449 DOBUTamine in d5w
600625 hydrALAZINE hcl 20MG/1ML SDV
600458 DOPamine in d5w
600186 BUDESONIDE 0.5MG/2ML
600482 ENOXAPARIN 60MG/0.6ML SYR
600957 oxyCODONE hcl XR 40MG TAB
601248 TRIAMCINOLONE ACET 40MG/1ML

636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636

446.09

436.3
429.81
422.49
395.22
395.22
395.22
386.56
384.53
359.46
315.72
301.71
293.39
282.12
269.68
241.98
230.17
209.68

199.5
195.47
193.74
190.44
180.75
177.16
161.76
161.76
161.76
158.72
154.95
152.77
148.59
143.77
142.88
141.48
131.53

129.4
126.96
122.77
118.62
118.62
112.56
112.34

103.3

99.57

95.23

95.06

92.21



600612 HEPARIN SOD IN D5W BAG
600487 EPINEPHrine 1:10,000 3.5"
600825 methylPREDNISolone ace 40MG/ML
600646 HYDROCORTISONE SOD 100MG/2ML
600755 LIDOCAINE-EPI 1:100000 1% 50ML
601099 PROTAMINE SULFATE
601213 THIAMINE HCL 100MG/ML 2ML
601651 ceFAZolin in dex IVPB 2GM/50ML
600722 LEVOFLOXACIN/D5W 250MG/50ML
600126 ATROPINE SULFATE 1IMG/10ML
600826 methylPREDNISolone sod succ
600092 AMPICILLIN-SULBACTAM 1.5GM
600414 DIGOXIN 500MCG/2ML
600027 ADENOSINE 6MG/2ML VIAL
600535 FLUCONAZOLE IVPB 200MG/100ML
600649 HYDROmorphone
600754 LIDOCAINE-EPI1:200000 0.5%50ML
600264 CEFEPIME HCL 1GM VIAL
601391 MEMANTINE 5MG TAB
601270 VANCOMYCIN HCL 1000MG VIAL
600018 ACETYLCYSTEINE 20% 4ML
600534 FLUCONAZOLE IVPB
601579 LUBIPROSTONE 8MCG CAP
600090 AMPICILLIN SODIUM
601556 ropivacaine 0.2% 10ML

6001234 VARENICLINE 0.5MG TAB
600226 CALCIUM GLUC. 10% 10ML VL
600483 ENOXAPARIN 30MG/0.3ML SYRG
600827 methylPREDNISolone sod succ
600734 LIDOCAINE HCL 100MG/5ML SYR
600558 FUROSEMIDE 100MG/10ML VIAL
600616 HEPARIN SODIUM 5000U/ML 1ML
600488 EPINEPHrine 1:10,000
601027 PIPERAC/TAZOBACTAM3.375GM VIAL
600574 gentamicin in ns IVPB 100MG

1 PILL SPLITER

600575 gentamicin in ns IVPB 80MG
600560 FUROSEMIDE 10MG/ML 4ML VIAL
601628 oxyMORPHone
600746 lidocaine hcl-MPF 2ML

6000151 PRAMIPEXOLE 0.25MG TAB
601046 POTASSIUM PREMIX 20MEQ/100ML
601271 VANCOMYCIN HCL 500MG VIAL
601043 POTASSIUM CHLORIDE 20MEQ/10ML
601607 lidocaine hcl-PF
600705 KETOROLAC TROMETHAMINE 60MG VL
601094 PROPRANOLOL HCL 1IMG/1ML

636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636

91.78
91.33
89.29
88.01
84.97
84.82
84.54
78.72
77.86
74.55
74.27
69.51
67.17
66.84
66.76
62.77
62.73
61.48
60.94
60.73
58.87
58.29
56.52
52.95
52.18
51.76
50.88
47.63
43.17
43.13
43.03
42.06
41.43
39.48
37.63
36.12
35.14
32.26
31.27

27.5

26.5
22.26
21.82

21.7
20.77
20.49
20.17



600738 LIDOCAINE HCL 1% 50ML

600485 EPINEPHrine

600706 KETOROLAC TROMETHAMINE 30MG VL

601569 dexamethasone sod phos-PF

600866 MORPHINE SULFATE 4MG/ML SYR

600522 FENTNAYL (PF) 50MCG/ML 5ML

601521 LEVALBUTEROL 1.25MG/3ML NEB

601230 TOBRAMYCIN SULFATE 8OMG/2ML

600788 MANNITOL 25% 50ML

600274 cefTRIAXone sodium 1GM VL

600686 IPRATROPIUM BROMIDE 0.02%
6000154 TERAZOSIN HCL 5MG CAP

601341 LIDOCAINE HCL 2% 20ML

600797 MEPERIDINE HCL

600376 DEXAMETHASONE SOD PHOS

600523 fentaNYL cit. (pf) 100MCG/2ML

600772 LORazepam 2MG/ML 1ML VIAL

601582 MORPHINE SULFATE

600127 ATROPINE SULFATE 0.4MG/1ML

600615 HEPARIN SODIUM 1000U/ML 10ML

601061 prednisoLONE

600609 HALOPERIDOL LACTATE 5MG/1ML

600737 LIDOCAINE HCL 1% 20ML

600262 ceFAZolin sodium 1GM VIAL

600378 DEXAMETHASONE SOD PHOS 4MG/ML

600833 METOCLOPRAMIDE HCL 10MG/2ML

600951 ONDANSETRON HCL 4MG/2ML

600037 ALBUTEROL SULFATE 2.5MG/0.5ML

600063 AMIODARONE HCL 150MG/3ML

601082 PROMETHAZINE HCL 25MG/ML VIAL
6000198 METHIMAZOLE 5MG TAB

600372 DEXAMETHASONE

600374 DEXAMETHASONE

600427 diphenhydrAMINE hcl 50MG/ML VL

600577 GENTAMICIN SULFATE 80MG/2ML

600853 MIDAZOLAM HCL 2MG/2ML

601460 PHENYTOIN SOD 100MG/2ML

600815 METHOTREXATE SODIUM 2.5MG TAB

222740 RCVRY ROOM-LEVEL 3 FIRST HR

222730 RCVRY ROOM-LEVEL 2 FIRST HR

222710 RCVRY ROOM-LEVEL 1 FIRST HR

222745 RCVRY ROOM-LEVEL 3 ADDL 15 MIN

222735 RCVRY ROOM-LEVEL 2 ADDL 15 MIN

222711 RCVRY ROOM-LEVEL 1 ADDL 15 MIN

44703 ECHO COMPLETE W/COLORFLOW MAP
219182 STRESS TTE ONLY
219183 STRESS TTE COMPLETE

636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
636
637
710
710
710
710
710
710
730
730
730

19.34
18.88
18.88
16.81
16.42
14.05
13.92
13.89
13.67
13.4
11.86
10.3
9.89
9.72
9.44
8.99
8.99
8.88
8.71
8.65
8.65
8.59
8.54
8.48
8.35
8.33
8.29
8.11
8.06
7.25
7.19
7.19
7.19
7.19
7.19
7.19
7.19
56.06
1,196.30
884.21
728.18
239.27
156.04
104.03
5,020.30
5,020.30
5,020.30



219184 STRESS TEST
219186 STRESS TEST
219188 STRESS TEST INTERPRETATION ONL
30001 ELECTROCARDIGRAM

370012 UNLISTD CARDIOVASCULAR SERVICE
541321 TELEMETRY
541322 TELEMETRY
550115 PLACE OF INFUSION PUMP
550160 NEUROSTIM INS/REP GEN/RECEIVER
550145 NEUROSTIM PERC IMP ELECTRODES
550305 NEUROSTIM PERC IMP PERIPHERAL
550135 LAM LUM
550165 NEUROSTIM REV/REM GEN/RECEIVER
550260 BLOCK TRANSFOR CERV/THORACIC
550270 BLOCK TRANSFOR LUMBAR/SACRAL
550350 DEST NEURO AGT OTHER PERI
550020 INJ SI JNT W/ARTHRO &/OR ANES
550235 BLOCK OTHER PERIPHERAL
550325 DEST BY NEURO AGT PARAVER
550005 TRIGGER PNT INJ 1- 2 MUSC GRPS
550015 INJ ARTHRO MAIJOR JOINT
550330 DEST NEURO AGT LUM/SAC EA LEV
550245 INJ FACET CERV/THORACIC ADD
550255 BLOCK PARA FACET LUM/SAC ADD
550070 INJ DISCOGRAM LUMBAR
550240 INJ PARAVERT FACET CERV/THOR
550250 BLOCK PARAVERT FACET LUM/SAC
550265 BLOCK TRANSFOR CERV/THORACIC
550275 BLOCK TRANSFOR LUM/SACRAL ADD
550420 INJECTION SUBQ OR IM
550465 IV INFUSION UP TO 1 HOUR
222763 DIRECT ADMIT
222762 OP OBSERVATION PER HR

2000 ADMINSTRATION OF VACCINE/TOX.
219453 ADMINISTRATION OF FLU VACCINE
200010 ADMIN VACCINE UNDER 18 YRS
550365 NEUROSTIM SIMPLE ANALYSIS PROG
490245 ABG DRAW
219628 TRLUML PERIP ATHRC BRCHIOCPH
219707 INTRAVASC US NONCORONARY 1ST
219708 INTRVASC US NONCORONARY ADDTL
219736 INTRAVASC US NONCORONARY EA AD
470475 US-CAROTID
470545 US-VENOUS BILAT LOWER
470546 US-VENOUS BILAT UPPER
470490 UPR/LWR EXT ARTERIAL STUDY 3
470595 US-DUPLEX DIALYSIS SHUNT

730
730
730
730
732
732
732
761
761
761
761
761
761
761
761
761
761
761
761
761
761
761
761
761
761
761
761
761
761
761
761
762
762
771
771
771
920
920
921
921
921
921
921
921
921
921
921

2,027.96
2,027.96
2,027.96
564.1
1,371.92
1,371.92
514.51
162,140.05
279,505.94
60,340.94
60,340.94
57,516.00
29,060.79
7,718.19
7,718.19
7,718.19
6,042.74
6,042.74
3,731.03
2,497.39
2,497.39
1,866.51
1,745.63
1,745.63
1,620.81
1,620.81
1,620.81
1,620.81
1,620.81
271.46
259.57
5,300.94
815.53
602.96
382.26
53.92
2,228.23
1,074.51
154,946.10
19,406.25
15,525.00
9,703.13
2,746.25
2,677.29
2,328.09
1,371.92
1,258.71



470495 US-BILAT,ABI OR WBI 921 1,167.17

219173 NCV 9-10 STUDIES 922 4,594.25
219174 NCV 11-12 STUDIES 922 4,594.25
219176 NCV 13/> STUDIES 922 4,594.25
219169 NCV 3-4 STUDIES 922 2,546.13
219171 NCV 5-6 STUDIES 922 2,546.13
219172 NCV 7-8 STUDIES 922 2,546.13
218665 NEUROPHYSIOLOGY TESTING PER HR 922 1,560.37
219153 EMG 3 EXTREMITIES 922 1,371.92
219154 EMG 4 EXTREMITIES 922 1,371.92
219157 EMG HEMIDIAPHRAGM 922 1,371.92
219158 EMG CRANIAL NERVE MUSCLES BIL 922 1,371.92
219159 EMG THORACIC PARASPINAL MUSC 922 1,371.92
219168 NCV 1-2 STUDIES 922 1,371.92
219161 LIMITED STUDY MUSC 1 EXT OR NO 922 1,111.02
219162 NEEDL EMG EA EXT W REL PARASPI 922 1,111.02
219151 NEEDLE EMG 1 EXTREMITY 922 1,074.51
2191562 2 EXTREMITIES EMG 922 1,074.51
219156 EMG LARNYX 922 1,074.51
219167 MOTOR SENSORY NCV 922 1,074.51
219163 EMG COMPLETE 5 OR MORE MUSC 922 1,008.32
219164 EMG NON EXT MUSCLE W NCV 922 1,008.32
370021 ANEST.ESOPHAGUS 964 2,229.11
3700068 ANEST.LUM.LAM./SPINE FUSION 964 1,931.90
370016 ANEST EXTENSIVE SPINE/SPINAL 964 1,931.90
37114 ANEST. FOR THORACOTOMY PROC. 964 1,783.28
370025 ANEST.FOR GASTRIC RESTRICT 964 1,634.68
3700086 ANTERIOR CERV.DIST./FUSION 964 1,486.06
3700077 ANEST. CVP (CVPO1) 964 1,410.51
3700080 ANEST.LUMBAR NOT SPECIFIED 964 1,188.87
3700089 CHOLEYSTECTOMY/HEMICOLECTOMY 964 1,188.87
3700103 ANEST.TOTAL HIP ARTHROPLASTY 964 1,188.87
3700090 TOTAL KNEE ARTHOSCOPY 964 1,040.26
3700051 ANEST FOR INTRAP.UP ABD/LAP 964 1,040.26
3700085 TOTAL ANKLE REPLACEMENT 964 1,040.26
370022 ANEST.INTHRATHORACIC OR JUGULA 964 1,040.26
37122 ANEST. LITHOSTRIPSY-WATER BATH 964 1,040.26
37000011 TOTAL ABD HYSTERECTOMY 964 891.66
3700038 LYMPHATIC SYS OF NECK >1YR 964 891.66
3700063 ANEST.BONY PELVIS 964 891.66
3700065 ANS.INTRAPERITONEAL ABD/LAP 964 891.66
3700092 EXCISION OF MASS RIGHT THIGH 964 891.66
3700093 LAPAROSCOPIC HITAL HERNIA RP 964 891.66
3700095 REMOVAL OF INTESTINE,SLING REP 964 891.66
370013 ANEST. BRONCHOSCOPY 964 891.66
370020 ANEST.OPEN HIP JOINT 964 891.66

370122 ANEST PERINEAL PROSTATECTOMY 964 891.66



37000012 TRANSURETHRAL RESEC.TUMOR BLAD 964 743.04

37000017 BREAST PROCEDURE 964 743.04
37000018 ANEST.COLON RESECTION 964 743.04
3700006 ANEST.ALLSHOULDER AND AXILLA 964 743.04
3700020 NOSE AND ACCESORY SINUSES 964 743.04
3700027 FACIAL BONES OR SKULL 964 743.04
3700054 ENDOSCOPIC CHOLEY 964 743.04
3700055 URETHRA STONE REMOVAL 964 743.04
3700062 ANS.LW INTESTINAL ENDOSCOPIC 964 743.04
3700066 ANS.OPENARTHOR HEAD/NECK/JOINT 964 743.04
3700067 ANS.RUPTURED ACHILLES TENDON 964 743.04
3700075 ANEST.ARTERIAL LINE 964 743.04
3700084 SHOULDER ARTHRO.DIST.ELAVID 964 743.04
3700097 | & D OF POSTER TORSO ABD 964 743.04
3700100 WID EXC.OF DECUB.ULCER FLPA 964 743.04
3700102 EXC,MASS SHOULDER 964 743.04
370099 ANES PROSTATE RESECTION-TRANSU 964 743.04
370124 ANEST LOWER POSTERIOR ABD WALL 964 743.04
3700057 ANEST. ET001 964 653.88
370017 ANEST. FOR PT OF EXTREME AGE 964 624.14
3700044 PHYSICAL STATUS IV 964 594.42
3700061 ANEST.CLSED SYMP PUB/SAC JOINT 964 594.42
3700082 PARTIAL MEDIAL MEN.KNEE ARTH 964 594.42
3700087 DTC HYSTEROSCOPY ENDO ABLASION 964 594.42
3700088 LT SHOULDER ARTHROSCOPY 964 594.42
3700098 HIP CORE DECOMPRESSION 964 594.42
3700104 OPEN OR SURGICAL ARTHOSCOCOPIC 964 594.42
3700110 ANEST.OSTEOPLASTY/OSTEOTOMY 964 594.42
370014 ANEST HERNIA REPAIR UP ABD 964 594.42
370024 ANEST ALL NER.MUS.TEN.FA.BUR 964 594.42
370199 ANES. INTERIOR ABD WALL(LOWER) 964 594.42
37113 ANEST. FOR KNEE/POLITEAL 964 594.42
370050 ANEST. PERINEUM VASECTOMY 964 521.11
3700073 ANEST. CONTINUOUS EKG 964 490.41
37000010 ANESTD & C 964 445.8
37000016 HARDWARE REMOVAL/HAND 964 445.8
3700042 PHYSICAL STATUS llI 964 445.8
3700050 ANEST.TRANSURETHARL CYTO PROD. 964 445.8
3700052 ANEST.FOR WRIST AND HAND 964 445.8
3700053 ANEST.CHEST WALL NON SPECIFIED 964 445.8
3700056 ANSEST.FASCIA ANKLE AND FOOT 964 445.8
3700058 ANEST.ARTHROSCOPIC KNEE 964 445.8
3700059 ANEST.OPEN PROC.BONE LOWER EXT 964 445.8
3700060 ANEST.ESI FOR CERV,LUMB,THOR 964 445.8
3700064 ANEST.ARTHROSCOPIC ANKLE/FOOT 964 445.8
3700074 ANEST.INTUBATION/DIFFICULTY 964 445.8

3700091 EXCISION OF GOUTY 964 445.8



3700096 ANEST PROC.ON MALE GENITILIA
370010 RADIUS/ULNA/WRIST OR HAND BONE
3700106 2ND OR 3RD DEGREE BURN EXCISIO
370015 ANES FOREARM,WRIST, OR HAND
37012 ANEST. FOR UPPER ARM/ELBOW

370123 ANEST FORARM/WRIST/HAND-NERVES

3700105 ANES. COMPLICATED BY EMERGENCY
3700041 PHYSICAL STAUS I
3700072 ANEST.OTHER THAN PRONE POST.
3700007 SALIVARY GLANDS INCLUD BIO.
3700011 EXTERNAL,MIDDLE,INNER EAR/BIO.
3700013 TYMPANOTOMY
3700021 RADICAL SURGERY
3700023 ITRAORAL/INCLUDING BIOPSY
3700037 INTEGUMENTARY POSTERIER TRUNK
3700040 PHYSICAL STATUS 1
3700069 PRONE POSITION
3700071 LATERIAL POSITION
3700078 ANEST.PULSE OX

200013 CONSULTATION

964
964
964
964
964
964
964
964
964
964
964
964
964
964
964
964
964
964
964
988

445.8
445.8
445.8
445.8
445.8
445.8
366.49
297.23
297.23
148.6
148.6
148.6
148.6
148.6
148.6
148.6
148.6
148.6
148.6
495.35



	Sheet1

